F. No. 28-2/2021-IS-9

Government of India Ministry of Education Department of School Education& Literacy IS-9 Section

New Delhi, dated 3rd September, 2021

Subject: Samagra Shiksha – Meeting of the Project Approval Board (PAB) held on 3rd
June 2021 – Circulation of Minutes in respect of Tamil Nadu.

The meeting of the PAB of Samagra Shiksha was held under the chairpersonship of Secretary (SE&L) on 3rd June 2021, to consider the Annual Work Plan & Budget (AWP&B) 2021-22 in respect of Tamil Nadu.

2. A copy of the PAB minutes approving the AWP&B, 2021-22 for Tamil Nadu under Samagra Shiksha is enclosed.

Sunit.

(Sunita Sharma) Under Secretary to the Govt. of India Tel No. 2338 7265

To

- 1. Shri Ram Mohan Mishra, Secretary, Ministry of Women & Child Development
- 2. Shri Apurva Chandra, Secretary, Ministry of Labour & Employment
- 3. Mr. R. Subrahmanyam, Secretary, Department of Social Justice & Empowerment, Ministry of Social Justice & Empowerment
- 4. Shri. Anil Kumar Jha, Secretary, Ministry of Tribal Affairs
- 5. Shri Pankaj Kumar, Secretary, Department of Drinking Water & Sanitation, Ministry of Jal Shakti
- 6. Shri Pramod Kumar Das, Secretary, Ministry of Minority Affairs
- 7. Ms. Shakuntala D. Gamlin, Secretary, Department of Empowerment of Persons with Disabilities, Ministry of Social Justice & Empowerment
- 8. Dr. Prem Singh, Adviser (HRD), Niti Aayog.
- 9. Dr. Sridhar Srivastava, Director, NCERT
- 10. Prof. N.V. Varghese, Vice Chancellor, NIEPA

- 11. The Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110002.
- 12. Prof Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 13. Ms. Rupali Banerjee Singh, Member Secretary, NCPCR, 5th floor, Chanderlok Building, Janpath, New Delhi 110001
- 14. Shri Santosh Kumar Sarangi, AS, DoSEL, Ministry of Education
- 15. Shri Santosh Kumar Yadav, JS (SS.I), DoSEL, Ministry of Education
- 16. Ms. L. S. Changsan, JS (Inst.), DoSEL, Ministry of Education
- 17. Shri Vipin Kumar, JS (AE & Coord.), DoSEL, Ministry of Education
- 18. Ms. Darshana M Dabral, JS & FA, Ministry of Education
- 19. Shri R. C. Meena, JS (MDM), DoSEL, Ministry of Education
- 20. Shri P.K. Banerjee, DDG (Statistics), MHRD
- 21. Ms. Geetu Joshi, EA, DoSEL, Ministry of Education
- 22. Ms. Kakarla Usha, Prinicipal Secretary, School Education Department, Tamil Nadu
- 23. Shri Thiru R.Sudhan, State Project Director, Samagra Shiksha, Tamil Nadu

Copy to:

- 1. All Divisional Heads of SS-I & SS-II Bureau
- 2. All Under Secretaries of SS-I & SS-II Bureau
- 3. Ms. Kajri Nigam, Consultant, TSG, EdCIL for circulation among the appraisal Team for the State of Tamil Nadu.
- 4. NIC- with a request to upload minutes on the Shagun portal/ Samagra Shiksha Portal.

Copy for information to:-

PPS to Secretary (SE&L) PPS to JS (SS-II)

Sunits

(Sunita Sharma) Under Secretary to the Govt. of India



Government of India Ministry of Education Department of School Education and Literacy

SAMAGRA SHIKSHA

(An Integrated Scheme for School Education)

Minutes of the meeting of the Project Approval Board held on 3rd June, 2021 through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2021-22 of Samagra Shiksha for the State of Tamil Nadu.

INDEX

Sl. No.	Content	Page Number
(1)	Introduction	3
	Section I: State specific initiatives, Review of Performance	e & Issues
(2)	Initiatives of the State	3
(3)	Review of Commitments and Expected Outcomes & Action Taken during 2020-21	4-9
(4)	Review of performance during 2020-21	9-10
(5)	Appraisal issues/ Commitments for 2021-22	10-11
	Section II: New Approaches and COVID Action Plan	
(6)	New Approaches 2021-22:	11-20
	Section III: Financial Estimation	
(7)	Total Estimated Budget (2021-22)	20
(8)	Actual Releases by GOI during 2021-22	20-22
(9)	Release of Funds	22-25
	Section IV: Component-wise Recommendations	
(10)	Activity wise details and estimates approved	25-58
	Annexures	
i.	Annexure-I :List of participant	59
ii	Annexure-II :Check list to be submitted by the States/UTs	60-62
	along with proposal for release of instalment in 2021-22	
iii	Annexure-III : Strengthening under civil works	63-100
iv	Annexure- IV : KGBV	101-102
v	Annexure-V(a) :List of school approved for sanitary and vending machines and incinerator, elementary	103-116
vi	Annexure-V(b): List of school approved for sanitary and	117-126
**	vending machines and incinerator, secondary	
vii	Annexure - VI : List of 413 schools in which the Resource Center is attached	127-138
vii	Annexure-VII: Vocational Education	139-141
viii	Annexure-VIII(a): School approved under ICT (Elementary)	142-186
ix	Annexure-VIII(b): School approved under ICT (Secondary)	187-189
X	Annexure-VIII(c): Smart classrooms under ICT (Secondary)	190-212
xi	Annexure IX: Spill over (2020-21)	213-222
xii	Annexure-X : Cost-sheet (2021-22)	223-314



1) Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2021-22 for SAMAGRA SHIKSHA for the State of Tamil Nadu was held on 03.06.2021 through Video Conference. The list of participants who attended the meeting is at *Annexure-I*.

Section: I - State specific initiatives, Review of Performance & Issues

2) Initiatives of the State:

Ms. Anita Karwal, Secretary (SE&L) invited Tamilnadu to give a presentation on status of School Education in the State. Ms. Kakarla Usha, Principal Secretary (School Education), Tamil Nadu gave a presentation which included the following major points:

- a) Action taken for Multi-level strategies was planned and executed at field level to address the learning loss during the COVID 19 period:
 - i) An exclusive channel for School Education (Kalvi TV): During Covid -19 induced school closure and lockdown, Digital Content was telecast in Partnership with 14 Private Channels in order to prepare secondary students (classes 9 12) for their examination and for Classes 2-8. Regular telecast schedule has been widely communicated through different medium including personal SMS to students.
 - Online digital Platform (DIKSHA, E-learn Platforms): Tamil Nadu e-learn Platform (https://e-learn.tnschools.gov.in/) is a customized content repository helps students to access and utilize digital resources to improve their learning outcomes. It hosts more than 8,000 E-Learning Contents 390 Digital Textbooks and 1332 aggregated YouTube videos in one place. The content is aligned and is made available class-wise, term, medium, subject and chapter-wise with the updated curriculum.
 - of the students who are learning remotely during the pandemic assessments are conducted for all the students in the Grades IX, X, XI and XII for core subjects through online State-owned assessment platform powered by EMIS. The Students login, exam progress and completion were monitored from Centralized online platform. The results of these assessments were automatically calculated against the Learning Outcomes, these results were directly shared with the teachers through their EMIS school login so that they can identify the areas where students need extra attention and support them accordingly.
 - iv) **District level Whatsapp and Instagram groups:** Groups on different e platforms were formed especially for teachers, where Class and subject specific Worksheets containing various activities were circulated, in turn, teachers utilized them to its maximum among students.
 - v) Telecast of Audio Lessons through All India Radio: Audio lessons are also being aired though All India Radio for all classes to reach out all the students during pandemic school closure.

3) Review of Commitments and Expected Outcomes & Action Taken during 2020-21

The progress made in implementing the commitments and expected outcomes given by the State in 2020-21 was reviewed and the status in respect of pending items is as under:-

Sl.			Comments of
No	Commitments	Action Taken	the PAB
100		Action ranch	2021-22
1.	Educational Indicators	There has been an increase in Enrollment in 2020-2021 of around 1,61,701.	State has to make more
	a) Total enrolment in Government and Aided management schools decreased by 3.20 lakh. State should give more focus on quality education in Government and Government aided schools to increase the enrolment.	of energized text books, providing support to strengthen the concept and make understanding the concept more easily, QR Code has been provided in the text book at appropriate places against hard to understand concepts. To provide equal opportunity i.e., English Medium Sections are started in Primary and Upper Primary Schools. In Govt Schools, students can opt English or Tamil medium as their choice. Skill based assessment survey has been conducted to know the competence level of the children and the findings are shared with the Head Masters/Concerned Teachers and necessary remedial measures were implemented. Class wise/Subject wise work sheets were prepared and distributed to all the children. Through all these activities increase in the enrolment in Govt. and Govt. Aided Schools is seen. In addition, cost free benefits like bus pass, text books, uniforms, school bags, note books, geometry box, bi-	efforts on quality education in Government and Government aided schools to increase the enrolment in the year 2021-22.
	h) Potentian vate et	cycles and laptops are also provided which help the children hailing from weaker and down-trodden families.	
	measures to improve retention rate.	 The State is implementing the following activities focusing on enhancing the Retention Rate at Secondary Level: Providing Remedial teaching for class 9 to 12. Providing Bicycle and Laptop for the students studying in class 12. Providing Bus Pass to all the students. Providing NEET Coaching for students studying 12th std. in Govt. School. Innovative projects from class 9 to 12 like SCOPE Creation of Interest through RAA in Science and Maths Subjects. 	State should focus on enhancing retention rate during the current academic year.

140%	Commitments	Action To	aken				Comments of the PAB 2021-22
		Student Providir Seconda Providir Establis section	s ng ICT nry Sch ng Voca hment and d	f facilities ools ational Edu of Girls Ho own-troddo	for Seconda cation in relate ostel to facilita en girl childre and Higher Se	ry & Higher d schools te the weaker n to continue	
2	Surplus Teachers at Elementary level: There are 12,811 surplus teachers at Elementary Level. State need to go for a rationalization of deployment of teachers, to ensure availability of required number of teachers in all schools including pre-primary	schools During been de pre-sche After the secondarin-posite Sl. No. The sur where the	schools from the surplus post. During 2019-20 and 2020-21, 2381 teachers have also been deployed to pre-primary schools to handle the pre-schools. After the rationalization the following numbers of secondary grade and BT assistant surplus teachers are in-position in Government Primary / Middle Schools. Sl. No. Name of the post Surplus 1 Secondary Grade Teacher 1094 2 B.T. Assistant Teacher 64				
3.	KGBV: 394 (4.2%) seats are lying vacant in KGBVs (Type I-III: 189 seats vacant and Type IV: 205 seats vacant). State needs to fill up all vacant posts in KGBVS.	 During I-III, has For Gi increas 21. Counse 	 Schools reopened. During the academic year 2020-21, enrolment in Type I-III, has been increased to 5000 out of 5010 (99.8%) For Girls Hostel Type IV, enrolment has been increased to 4215 out of 4400 (95.8%) During 2020-21. Counselling is also given to the parents to send their wards to continue their studies and Special attention 				Noted with appreciation.
4	Out of School Children: Mainstreaming of out of school children is comparatively low as targeted. State may devise plan for mainstreaming the OoSC under COVID situation, and share the same with the MHRD.	• The c Sl. No 2019- 20 2020- 21 · Nariku during	Tar get 315 12 295 68 ravas, specia	No. of children identifie d 30,863 33,591 Kurivikara l survey for	No. of children mainstream ed 23,070 30,633	% mainstream ed 75% 92% were identified of out of school	State must ensure that all out of school and data of out of school children school children should be updated on PRABANDH Portal

Sl. No	Commitments	Action Taken	Comments of the PAB 2021-22
		 After identification, all were enrolled in schools. But when the enrolment process had been started, they left the place from which they were identified to some other places (migrated) in search of employment. When Children move from Tamil Nadu Schools to the Schools in their native State, Post Card along with TC is given to the children with instructions to send the Post Card duly filled in by the Head of schools of their State to ascertain the continuity of children in education. As far as inter- district migrants are concerned, their details are collected through Survey/ verification of attendance. Every year, current year enrolment is verified with previous year enrollment. After verification at field level, migration details are communicated to district Chief Educational officer concerned with instruction to ascertain the children's continuity in School. Besides, needy children were provided education in their native places (Parents migrate to some other places for job purpose) through Residential Special Training Centre, Kasturba Gandhi Balika Vidyalayas (61 schools in 14 districts) and Residential Schools under Access (13 Schools+1 hostel in 7 districts) where boarding and lodging facilities are available. Due to COVID -19 Pandemic, during the year 2020-21, door-to-door survey has been conducted from 21.11.2020 to 10.12.2020(20 days) to identify out of school children in the age group of 6-17 years. Second level survey has been conducted from 02.02.22021 to 15.2.2021 to identify the children of migrant labourers. As per MoE guidelines third level survey has been conducted from 16.2.2021 to 15.03.2021, to verify any out of school children left out in the habitations during first and second level survey. Based on the survey 33,591 (6-14 years) out of school children have been identified and enrolled in neighbourhood schools as per RTE Act, 2009. In the age group 15-18 years 11,490 out of school 	
5.	Implementation of Section 12:	 children have been identified. There is no private school that received land and other assistance from the Government in the State. 	-
	a) State is yet to collect information about private schools which are under		

Sl. No	Commitments	Action Taken	Comments of the PAB 2021-22
	obligation of providing education to children of disadvantaged groups and weaker sections on account of having received land or other assistance from the Government. b) State must also ensure that schools which are under obligation for providing free education to disadvantaged groups and weaker sections on account of receiving land or any other assistance from Govt. are not reimbursed as per Section 12 (2) of RTE Act 2009.		
7	All executive agencies and schools to be registered on PFMS portal	 In the year 2018-19 agencies upto school level were registered on PFMS portal and SSA & RMSA implemented PFMS under the scheme code (SSA - TN-4) & (RMSA - TN-1) Upto the year 2020-21. The new Scheme code for Samagra Shiksha has also been created and interventions / Activities on PFMS have also been coming to effect under the new scheme. 	State needs to make sure that all executive agencies and schools to be registered on PFMS portal by Sept., 2021.
8	Teacher Education: a) Vacancy of academic positions in SCERT is 15 and in position are 30. These vacant posts need to be filled up	Recruitment Board has initiated process of Recruitment of candidates and the vacant posts will be filled up as soon as the recruitment process is over.	State must ensure that all the vacant posts will be filled up by this academic year and state

Si. No.	Commitments	Action Taken	Comments of the PAB 2021-22
	on priority as it is also directly impacting PGI indicator # 2.1.12.	 The new scheme code for Samagra Shiksha was created by PFMS Tamil Nadu. The separate bank account was created for Teacher Education component. 	also needs to inform to MOE for same.
	c) Vacancy of academic positions in 32 Functional DIETs is 266 with only 534 faculties in position as against a total sanctioned post of 800. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicator # 2.1.72.		
	State was requested to take all necessary steps to ensure the registration of all TEIs on PFMS portal within a month. State Finance Department can be involved for the same and the State has to complete the process before the release of second installment.		
9	Public Grievances received from the State: MHRD has received more than 500 PGs from the contractual staff working under Samagra Shiksha is Tamil Nadu. Some of the issues mentioned in these grievances includes non-payment of salary approved by the PAB,	 The public Grievances (PGs) made by the contractual staff were reviewed. In this regard the committee has been formed to consider pay hike to the contractual staff and based on the recommendations of the committee, the pay of the contractual staff was restructured by raising the minimum consolidated pay and the pay hike of 20% has been effected to all the contractual staff from 01.11.2020. A communication in this regard has been intimated to MoE, State Government. 	The state should resolve the just issues of contractual employees as soon as possible and send a report to Ministry of Education.

Sl. No	Commitments	Action Faken	Comments of the PAB 2021-22
	non-payment of		
	increment, diversion		
	of funds means for		
	salary of contractual		
	staff of Samagra		
	Shiksha for paying		
	salaries of		
	Physiotherapists,		
	Engineers, etc. The		
	MHRD has already		
	written to the State		
	on numerous		
	occasions, to take		
	necessary action and		
	redress these		
}	grievances. As no		
İ	response received		!
	from the matter and		
	intimate the status to		
	MHRD. State need to		
	resolve these issues		
	and appraise to	•	
	MHRD by July, 2020		

4) Review of performance during 2020-21:

State has secured a score of 906 in Performance Grading Index (PGI) and was placed in Grade I. The Domain-wise Gaps in 2019-20 as compared to 2018-19 are shown below:

		Categ	ory 1		Category 2	Total
Year	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2018-19	132	72	116	201	270	791
GAP	48	8	34	29	90	209
2019-20	132	77	142	219	336	906
GAP	48	3	8	11	24	94

State has shown good improvement over last period. State was requested to examine its score in each domain and take measures to improve its overall PGI score.

- a) Learning Outcomes and Quality (C-1, D-1): State still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): State needs to focus on the Adjusted Net Enrolment Rate (ANER) at Secondary level and take steps to identify Out-of-school-children and mainstream them.
- c) Infrastructure & Facilities (C-1, D-3): State has shown maximum improvement under this and was encouraged to further take measures to reach the top grade.

d) Equity Outcomes (C-1, D-4): State needs to ensure that 100% of schools are having separate functional toilets for both boys and girls.

1

e) Governance Processes (C-2, D-1): State needs to focus on % of academic positions filled in state and district academic institutions, Average number of days taken to release funds, % of teachers evaluated (during the given year) and funds (including value of goods and services in kind) arranged through PPP, CSR as a percentage of State budget on school education.

5) Appraisal issues/ Commitments for 2021-22

• Net Enrolment Ratio (NER): NER has declined at primary, Upper Primary, Elementary and Secondary level from year 2018-19 to 2019-20.

Year	Primary	Upper Primary	Elementary	Secondary	Higher Secondary
2019-20	83.48	70.72	87.60	54.86	43.36
2018-19	89.49	78.60	91.75	67.51	55.69

Source -Udise

State should focus on improving the NER at these levels by bringing back children to the age appropriate classes.

- Dropout Rate: The SC dropout rate is 14% at Secondary level and in all districts; boy's
 dropout rate (13.3) is much higher than girls (5.6) at secondary level. State need to
 further examine the data and take adequate measures to reduce the dropout rate and
 improve the retention rate.
- Surplus Teachers at Elementary level: There are still 13,232 surplus teachers at
 elementary level, while there are a large number of single teacher schools and schools
 having adverse PTR. State needs to go for a further rationalization of teachers, to ensure
 availability of required number of teachers in all schools.
- **RTE related issue:** The State Government of Tamil Nadu has not constituted the State Advisory Council so far as per requirement of the Act, in pursuance to Section 34 of RTE Act, 2009 and the notification No. S.O. 1188(E) dated 30th April, 2014.

The state has also not issued the notification on decentralized grievance redressal mechanism as per requirement of the act and in pursuance to section 32 of the RTE Act.

• Teacher Education

- Vacancy of academic positions in SCERT is 35.55 % with only 29 faculties in position as against total recommended posts of 45 as per the norms. These vacant post needs to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12.
- Vacancy of academic positions in 32 Functional DIETs is 45.87% with only 433 faculties in position as against total recommended posts of 800 (25 Academic posts per DIET). These vacant post needs to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12

- o Vacancy of academic positions in 7 Functional BITEs is 48.98% with 5 regular faculties and 20 Contractual Lectures (Retired) in position as against a total recommended posts of 49 (7 Academic posts per BITE). These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12
- PGs / special reference: MoE has received many PGs / special reference and mails from the contractual staff working under Samagra Shiksha in Tamil Nadu, Member of Parliament and Others. Some of the issues mentioned in theses grievances include non-payment of salary approved by PAB, non-payment of increment, diversion of funds meant for salary of contractual staff of Samagra Shiksha for paying salaries of Physiotherapists, Engineers, data entry operators etc. and misappropriation of library fund. MoE has already written to the State on numerous occasions. State has to resolve these issues as soon as possible and provide a written clarification to MoE in this regard.

Section: II - New Approaches and COVID Action Plan

6) New Approaches 2021-22:

The Samagra Shiksha Scheme has been aligned with the recommendations of the National Education Policy 2020 (NEP 2020). During the year 2021-22, the focus will be on enhancing the qualitative outcomes as envisaged in NEP 2020 and increase the effectiveness of the implementation of the Scheme. For this purpose, **Key Performance Indicators (KPIs) have been developed for each intervention so that qualitative assessmentof each intervention can be made**. The scheme being an integrated scheme for school education also aims to ensure that all children have access to quality education with an equitable and inclusive classroom environment which should take care of their diverse background, multilingual needs and different academic abilities, thereby making them active participants in the learning process.

The following are the focus areas of the schemes identified for the year 2021-22:

6.1 Foundational Literacy and Numeracy:

As a part of announcements under 'Atamnirbhar Bharat' and recommendations of NEP 2020, it has been decided to launch a National Mission under Samagra Shiksha to ensure that by 2026-27 every child achieves the desired learning competencies in reading, writing and numeracy at the end of grade III. States and UTs may identify this as one of the major focus areas, for which they have been provided funds for the following activities:

- Provision of Teaching Learning Materials (TLMs)/Supplementary graded materials to all children upto grade V such as, worksheets, workbooks and various locally contextualised Toys, Puzzles, puppets, games, board games, Story books, local rhymes, local folk songs/lore, art and craft, online access, etc. This also includes the 3-month play-based-school readiness/ preparation module for all students who enter Grade 1. NCERT will be launching the school preparation module (SPM) which can be adopted/adapted by the states and UTs as per their local requirements and needs.
- Funds have also been provided for Teacher Resource Material/Activity Handbook for teachers to align their innovative pedagogies with learning outcomes and grade level competencies.

11 | Page

- Specific Teacher Training Modules under NISHTHA focusing on FL&N will be designed by NCERT. SCERTs will be the nodal agency in the State to conduct NISHTHA as well as all other supplementary in-service teachers' training.
- Independent, periodic and holistic assessment of students
- Funds have also been provided for Setting-up of State and District PMU including subject experts/IT personnel/data analysts etc. to ensure effective implementation and monitoring of FL&N goals.

State is advised to prepare an Implementation Framework consisting of roadmaps and annual action plans for implementing of activities covering all the focus areas of FL&N Mission by following the guidelines of MoE.

6.2 NISHTHA:National Initiative for School Heads' and Teachers' Holistic Advancement (In-service Teacher Training)

The Department of School Education and Literacy launched a National Mission to improve learning outcomes at the Elementary level through an Integrated Teacher Training Programme called NISHTHA – National Initiative for School Heads' and Teachers' Holistic Advancement on 21st August, 2019. In the wake of the COVID-19 pandemic, the NISHTHA programme has been contextualised to the needs of teaching and learning during the pandemic and made 100% online. NISHTHA Online for elementary teachers was launched on 6th October, 2020 and it has been created by customizing Modules for Online delivery in the format compatible with DIKSHA Platform of NCERT. Nearly, 23 lakh teachers have completed NISHTHA online training by March, 2021 besides the 17 lakh provided training in face to face mode in 2019-20.

The National Education Policy (NEP, 2020) recommends 50 hours of Continuous Professional Development programme or in-service training for every teacher and school leader.

Consequently, in 2021-22, NISHTHA training modules will be launched for teachers of pre-primary to primary grade for a specialised training on Foundational Literacy and Numeracy. Further, NISHTHA training will also be extended to secondary/senior secondary levelteachers with a focus on improvement in quality of teachers and learning outcomes of students, which will also be conducted in online mode.

6.3 State Curriculum Framework (SCF):

As per the strategy finalized by the D/o SE&L and NCERT, it has been decided that the National Curriculum Framework (NCF) should be framed by incorporating and integrating the local and indigenous flavour from across the country through wider consultations. Consequently, the State Curriculum Frameworks may be developed first and these may then feed into the preparation of the NCFs. The entire process of developing the NCFs and SCFs will be paperless and conducted using the Tech platform to be developed by NIC, MoE in close collaboration with NCERT.

For the purpose of developing the SCFs, following steps are required to be taken by the States and UTs:

- Ensuring that State/UT nominates SCERT (wherever it is available) as the nodal agency for developing the SCFs in collaboration with the concerned State/UT agencies, such as, School Examination Boards, SIEMATs, DIETs etc., or other nominated agency under DSE may lead this task.
- 2) Nominate two nodal officers from the SCERT to coordinate with the nodal officers of the NCERT for taking forward the development of the SCFs.
- 3) Setting up of 25 State Focus Groups, as per template provided by NCERT, for developing State position papers in the identified areas.
- 4) Setting up of three separate Steering Committees, one jointly for State Curriculum Framework for School Education and State Curriculum Framework for ECCE, second for SCF for Teacher Education and third for SCF for Adult Education (as per template provided by NCERT).
- 5) Consultations at district level for taking inputs on the survey questionnaires developed at the National level.

SCERTs and DIETs are expected to play a pivotal role in conducting intensive consultation process and prepare SCF thereafter. In this regard, SCERTs and DIETs may utilise the funds provided under Programme and Activity/Research/Annual grants for developing SCF.

6.4 Promotion of Menstrual Hygiene Management (MHM)

In order to emphasize the importance of Menstrual Hygiene Management, the following major focus areas have been identified:

1) Awareness:

- Develop and incorporate Module on Menstrual Health in Curriculum
- Make available Awareness materials and FAQs in Schools

2) Standards, Technology and Outcome Monitoring:

- Appropriate ratio of girls' toilets and incinerators
- Standard low-cost mechanical incinerators for residential and non-residential schools
- Quality low cost sanitary pads vending machines and incinerators

Towards this end, NCERT will be developing a Module on Health and Well Being as part of the position papers for formulating the new National Curriculum Framework on School Education (NCFSE). Under this, States and UTs are also required to formulate modules on Menstrual Health and Hygiene based on State-specific socio-cultural perceptions for inclusion in their curriculum or adopt the module developed by NCERT. For this purpose, under special projects for equity, Rs. 10 Lakh as a onetime grant will be given to all states and UTs for developing a module on menstrualhealth and hygiene and its appropriate inclusion in curriculum.

6.5 Strengthening of BRCs/CRCs

The Block Resource Centres and Cluster Resource Centres are the most critical units for training and on-site support to schools and teachers. Periodic inspection and supervision of schools to observe the infrastructure and facilities and the administrative aspects is critical. In

addition, a proper system of academic and curricular support has to be developed to serve the purpose of continuous professional up gradation of teachers. In this context, each Block and Cluster Resource Coordinator will visit the schools and provide onsite academic support and send reports on a periodic basis. It is expected that the periodic visits by BRCs/CRCs will be monitored at state level through technological intervention, preferably through a mobile app. MoE will develop a comprehensive framework on the role of BRCs/CRCs.

6.6 Key Performance Indicators (KPIs) - For every component of Samagra Shiksha, measurable Key Performance Indicators have been developed for effective monitoring of scheme implementation. The KPIs have been developed in such a manner that qualitative impact of the scheme against each intervention can be measured. These KPIs will be monitored on a regular basis.

6.7 COVID- 19 Response: Ensuring safety and security in schools and Digital learning in view of the Covid-19 situation

The COVID-19 pandemic has impacted over 240 million children of our country who are enrolled in schools. Moreover, extended school closures may cause loss of learning. To mitigate the impact of the pandemic, schools will not only have to remodel and re-imagine the way teaching and learning have happened so far, but will also need to introduce a suitable method of delivering quality education through a healthy mix of schooling at home and schooling at school.

With the present COVID wave, that is more virulent and faster spreading, an urgent need was felt to plan for the challenges ahead and prepare to make progress for the sake of students, parents, community and all stakeholders involved in this pursuit. Hence, taking a holistic view, the Department has prepared a comprehensive COVID Response document consolidating all the previous guidelines and intervention to mitigate the impact of the pandemic. This guideline was issued on 4th May, 2021 and it delineates detailed action plan and timelines for all Stakeholders involved on Access, Retention, Continuous Learning, Capacity Building and Stakeholder engagement.

In this regard, the following are the major areas that require interventions:

- 1) Identifying OoSC, Mainstreaming, Enrolment, retention, transition,
- 2) Academic learning & cognitive development of students
- 3) Capacity building with specific focus on response to blended and home-based learning including student assessments and data use,
- 4) Nutritional, socio-emotional support to systems' actors and students,
- 5) Digital education and systems' development for monitoring, tracking and remediation.

Accordingly, various interventions under Samagra Shiksha have been realigned to manage the crisis with specific emphasis on access to quality education, learningprocesses and safety & security of children. The funding provided for various components under Samagra Shiksha may be utilised to deal with the current situation by focusing on the following areas which are as follows:

14 | Page

1) Access to Textbooks

- All states/UTs will ensure that relevant textbooks (Covering Class I to VIII) are printed and distributed through the school (if required, then at the doorstep) to every elementary level school going child, in the beginning of the academic session 2021-22.
- System for distribution of textbooks for students of secondary and senior secondary level may also be overseen by State/UT to ensure their timely distribution.

2) Availability of Supplementary Graded Material and Resource Kits:

- Since availability of devices and internet is still a major issue, workbooks, worksheets, activity material and additional books for higher classes becomes all the more important for continuity of learning. States and UTs may prepare grade wise material and ensure their delivery to the students.
- Activity and play based kits can also be prepared specially for ECCE to class 5 students to productively engage them in learning. SCERTs may prepare such material which will be useful for home-based learning.
- Learning Kits for different age groups will be particularly useful for children located in remote areas, who have no access to digital formats.
- Funds provided for Teaching Learning Materials (TLMs) under Support to preschool, Foundational Literacy and Numeracy and Learning enhancement/Enrichment Programmes may be utilised for this purpose.

3) School Library Books should be made accessible

- It is noticed that though most schools now have libraries, the books remain unborrowed during the pandemic. E-books in liabraries may be developed for issuing to students during pandemic situation.
- States/UTs must ensure that each and every Library Book in the school reaches
 the homes of children at least one new book a month and children get into the
 habit of reading. Teachers can review the knowledge acquired either online or as
 and when the schools reopen.

4) Alternative Academic Calendar:

States and UTs may also continue to plan the Alternative Academic Calendar in its present form gives learning solutions for grades 1 to 12 for both - a child with device and one without device. This can be strengthened by connecting item banks/assessment and role of parents with the Alternative Academic Calendar.

5) Helping Teachers to Reach the Last Child in the last Mile

- States may establish a Control and Command Centre (CCC) for teachers and schoolsto keep track of enrolled students, learning at home, Drop outs, information on child labour mainstreamed, Out of School Children, textbook delivery, support required by teachers and schools, etc. and provides feedback to the district level.
- The States/UTs may also consider having a helpline or IVRS for students and parents for some time. This helpline could be of great help to students and parents w.r.t tracking textbooks, worksheets, solving queries, getting information on digital modes, etc.
- Teachers may visit students at least once in a week, with a brief plan of interaction with students and parents, particularly in far-flung and remote areas where access to digital devices is minimal.
- 6) Digital teaching learning process to be undertaken under Teacher training, DIKSHA/Digital content creation and Learning Enhancement Programmes (LEP) components.
 - (i) Training of Teachers on Safety and e-learning aspects.
 - Teachers may be sensitized and oriented about the safety measures such as social distancing norms, sanitization requirements, tracking of students' health etc. A letter dated 30th April, 2021 regarding a course on COVID 19 Responsive Behaviour has been shared with all States and UTs. This course has been designed & developed in collaboration with UNICEF and uploaded on DIKSHA platform with the objective of providing essential knowledge and action plan with demarcation of responsibilities, for prevention of transmission of COVID 19 in the school environment. The course is available at the following link:

https://diksha.gov.in/explorecourse/course/do 31326644727903027212744

It is requested that the States/UTs may use the above course for the training of school authorities to ensure safety of school staff, students and nearby communities from the COVID pandemic.

- Periodic check-ins and mentoring sessions between teachers and academic resource persons may be organized by State SCERTs/SIEs and DIETs, by collaborating with NCERT if required.
- Strategy for online training of teachers may be designed, where teachers are guided on teaching methodologies through live-streaming of online tutorials and MOOCs through NISHTHA and DIKSHA platform.
- States/UTs also need undertake their own capacity building programs in online mode for their teachers on various aspects related to teaching and learning in pandemic times. States/UTs can utilize DIKSHA platform for this purpose if they do not have their own Learning Management System (LMS) platforms.
- Teachers may be provided with a platform to share their experiences, ideas, best practices, issues and concerns related to e-learning.



(ii) Promotion of e-learning platforms

- Use of e-learning Platforms like DIKSHA, e-Pathshala, SWAYAM, SWAYAM Prabha,
 NROER and NISHTHA may be promoted among teachers and students.
- Digital and Online education guidelines 'PRAGYATA' prepared by MOE may be referred.
- Academicians, NGOs, Teachers may be encouraged to develop and contribute content in line with the State/UT curriculum (Vidyadaan). The content to be further uploaded on DIKSHA after requisite curation and approvals by SCERTs.
- SCERTs to develop guidelines on the usage of various available e-learning platforms, regarding the sample schedule of the sessions to be conducted online (time table) and number of hours of usage. Guidelines should also include how study @home can be undertaken and daily or weekly timetables may be issued.
- The teachers can conduct virtual classrooms/discussions. The classroom sessions should be either live streamed or recorded. Queries and doubts of students should be adequately answered.
- The planning of the access should be done such that no child is left behind. State/UT governments may ensure that learning content is accessible to the needs of CwSN. In areas with low internet connectivity, the State Government should deliver the content through Radio and TV to reach the remotest location. Use of mother tongue/local language may be enabled where possible. The State Government may tie up with telecom services to increase access by improving connectivity, lowering costs and increasing coverage to mitigate access inequities.
- There may be cases where parents / guardians are not in a position to support learning of students. Adequate remedial measures should be adopted after opening of school accordingly.

7) Community Mobilization and SMC training

Funding under community mobilisation and SMC training can be utilised to ensure safety and security measures for children. SMC members may be made fully aware about the present COVID situation to create awareness among the Students and parents.

8) Focused approach under Samagra Shiksha

- (a) Support to Schools, Teachers and Students: Various components of Samagra Shiksha can be built into special and focused interventions in view of the present pandemic situation which are given below:
 - **a.** Learning enhancement/enriching programme to provide supplementary material to children.
 - b. Library Grant to be utilized for ensuring availability of reading material to students.
 - c. Special Training for OoSC and CWSN.

- d. Support for out of school children (OoSC) of age group 16 to 19 years belonging to SEDG through NIOS/State open schools.
- e. **SMC training** to be utilized for ensuring community participation, parental support and awareness creation about inclusion.
- f. **Teaching learning Material** at ECCE and primary grade may be utilized for FLN kit which can be prepared by the NCERT/SCERT.
- g. MMMER funds can also be utilized for setting-up a help desk at Panchayat level and creating awareness among masses, through use of mass media. It can also be used for conducting online learning and content dissemination over electronic media.
- h. Child tracking funds may be utilized for preparing student registry in NDEAR compliant mode.
- i. Special Grants to schools for sanitization and hygiene even for limited opening/attendance of teachers etc.
- j. Teachers grants for awareness on safety and security in online mode and for enabling them to use online means of education.
- k. Grants for online content development and dissemination.
- In-service training grants for teachers for accessing NISHTHA training modules over DIKSHA platform.
- m. Composite school grants to be used by the schools flexibly to ensure continuity of learning and at least 10% of it to be used for Water, sanitation and hygiene in schools.

(b) Ensuring Equity and Inclusion

- a. **Identification/ mapping children with special needs** should become an integral part of the micro-planning and household surveys. A concerted drive to detect children with special needs at an early age should be undertaken at different levels.
- b. Assessment of each identified CWSNshould be carried out. A team should be constituted at the block/cluster level to carry out this assessment. The assessment team will ascertain the extent and type of the disability, the developmental level of the child, the nature of support services required, assistive devices required by the child and the most appropriate form of special training to be given to the child.
- c. Under Samagra Shiksha, **stipend is given to CWSN girl child**. This will need to be tracked regularly and ensured.
- d. **No child, including CWSN, should be left behind** in terms of textbooks, enrolment, learning resources and learning guidance.
- e. In Aspirational Districts and remote areas where digital modes or even teachers are not able to reach very often, local level volunteers, including parents, maybe identified and trained if necessary, to guide the children.

f. States can consider pre-loading existing devices available in schools with educational material and sending them to remote areas, where trained volunteers can lead the process of guidance.

9). States and UTs may also give special attention to the following points:

- (i) Prepare own plan of action/roadmap by following NEP Implementation Plan for School Education, called 'Students' and Teachers' Holistic Advancement through Quality Education (SARTHAQ)' released by the Department of SE&L in April 2021.
- (ii) **Regular updation of NEP Google tracker** so that the department will be appraised on a monthly basis about the initiatives taken by States/UTs. https://docs.google.com/spreadsheets/d/10ZXip4QUZK9nHMhbPRSJWPTkq4ag OrviG1VA05-vHLg/edit#gid=629451567
- (iii) Initiate the process for setting up **State School Standards Authority (SSSA)** as an independent, State-wide body to ensure transparency and online public disclosure of all schools in the state based on prescribed benchmarks.
- (iv) Convergence architecturewith other Ministries may be explored by States and UTs:
 - a) Convergence with Minsitry of Women and Child Development for ECCE through the Anganwadi centres under the Umbrella of Integrated Child Development Scheme (ICDS) and for identification and mainstreaming of adolescent girls through special training centres or Open schools.
 - b) National Rural Drinking Water Programme under the Ministry of Drinking Water and Sanitation for providing drinking water facilities in schools.
 - c) National Child Labour Project (NCLP) of the Ministry of Labour to promote successful mainstreaming into regular schools of all children who have been withdrawn from child labour and rehabilitated and avoiding overlap between children covered under Special training in Samagra Shiksha and those covered under NCLP centres.
 - d) Residential facilities for SC and ST children by the Ministry of Social Justice & Empowerment and Ministry of Tribal Affairs.
 - e) Scheme of Assistance to Disabled Persons for Purchase/Fitting of Aids/Appliances (ADIP Scheme) and Scheme for Implementation of Persons with Disabilities Act, 1995 (SIPDA by Ministry of Social Justice and Empowerment.
 - f) School Health Programme (SHP) under Ayushman Bharat, which is a joint initiative of the Ministry of Health & Family Welfare (MoHFW) and the Ministry of Education (MoE). The SHP programme will be implemented in government and government aided schools in 191districts (including 117 aspirational districts) of the country in the first phase of the implementation.

- g) Convergence with Department of Rural Development for provision of playgrounds, boundary walls in schools through MNREGS and provision of school uniforms through SHGs.
- h) Convergence with Department of Panchayati Raj for use of Finance Commission funds for maintenance of school premises as required locally.
- (v) Online monitoring and regular data updation on **PRABANDH** including physical and financial progress component wise and school wise
- (vi) Action plan for covid response and OoSC survey may be shared with MoE by end of June.

Section: III - Financial Estimation & Fig. 1982

7) Total Estimated Budget (2021-22)

The estimates for the AWP&B for 2021-22 under Elementary, Secondary and Teacher Education are as under:

(Rs. in lakh)

Head	Spill over	Non- Recurring (Fresh)	Recurring * (Fresh)	Grand Total Including spill over (2+3+4)
1	2	3	4	5
Elementary	0.0010	13511.08	217297.38	230808.461
Secondary	4368.47	5991.06	57933.05	68292.58
Teacher Education	202.03	0.00	6238.91	6440.94
Total	4570.501	19502.14	281469.34	305541.981

^{*}Includes Programme Management (MMER)

8) Actual Releases by GOI during 2021-22:

Against the above estimates, Central Government shall provide to the State Government, Rs. 164996.08 lakh as its share (Rs. 122688.53 lakh for elementary, Rs. 38355.43lakh for secondary & senior secondary and Rs. 3952.12 lakh for Teacher Education). The State would contribute Rs. 109997.38 lakh as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha. The State will also be able to utilise their unspent balances as on 31st March, 2021 for the activities approved in 2020-21 including spill over.

Based on the demand of funds projected for 2021-22, the tentative share of recurring and non-recurring grants is given below:

(Rs. in lakh)

Component '	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	114581.88	34759.83	3743.35	153085.06
Non-recurring	8106.65	3595.60	208.77	11911.02
Total	122688.53	38355.43	3952.12	164996.08

The Balance of the outlay (i.e. Rs.4570.501 lakh) approved under Non-recurring components in previous years, which is not spent fully, is the outlay saved/spill over for the subsequent year (i.e. 2021-22). Against the above Spill over, the committed liability of Department of SE&L is Rs. 1210.66 lakh (Rs. 1001.89 lakh for Elementary, Rs.NIL for Secondary and Rs. 208.77 lakh under Teacher Education after surrender) keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

The following activities may be prioritised while incurring the expenditure:

- i) RTE entitlements
- ii) Foundational Literacy and Numeracy
- iii) Quality initiatives including ICT, VE and TE
- iv) School Grants including library and sports grants
- v) Gender, Equity and inclusive education
- vi) Completion of pending civil works/spill over.

There are likely to be savings under the scheme. Therefore, supplementary PAB meetings may be considered separately sometime in the month of October-November, 2021, to consider the additional requirements of States and UTs, based on funds utilisation by the State/UT.

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 15th Finance Commission.

The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2020-21.

The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2021-22 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and CRCs which forms the portion of Teacher Education activities as well as for Secondary Education,

the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha.

Fund flow to SCERTs, DIETs etc. will be as decided by the concerned State/UT by adopting any of the following options:

- i. Option 1: Directly through State Treasury to SCERTs and DIETs, etc.
- ii. Option 2: Adopt the present system.

However, there will a single UC for the component and states will be responsible to ensure proper management of accounts and auditing of the same.

9) Release of Funds:

The release of funds under the scheme will be further guided by the instructions contained in MoE D.O. letter No. 4-4/2021-IS-2 dated 24.05.2021 read with D.O. letter No. 1(13)PFMS/FCD/2020dated 12.04.2021 from Dr. T.V. Somanathan, Secretary (Expenditure), Dept. of Expenditure, and Department of Expenditure OM No. 1(13)PFMS/FCD/2020 dated 23.03.2021, conveying the modified procedure for release of funds to States/UTs for the Centrally Sponsored Schemes [CSS) and monitoring utilization of the funds released. The aim of the revised procedure is to ensure effective cash management and improve transparency in public expenditure management. The revised procedure will be effective from the 1st July,2021.

Accordingly, the preparatory activities need to be completed by the State/UT Governments and Implementing Agencies for smooth implementation of the revised procedure from the stipulated date. These inter-alia include:

- (i) A Single Nodal Agency [SNA) is designated for each CSS by every State Government.
- (ii) Each SNA is registered in the **Public Financial Management System (PFMS)** and the bank account of each SNA is opened and mapped in PFMS.
- (iii) Funds available in the bank account of all the IAs below the SNA are transferred to the bank account of the SNA concerned with clear bifurcation of the Central and the State share.
- (iv) Zero balance bank accounts of the IAs down the ladder are opened. Only banks having a robust IT Systems and extensive branch network should be chosen for opening the Single Nodal Account of each CSS. The bank chosen should have the facility to open the required number of subsidiary zero balance accounts and a robust MIS for handling accounting and reconciliation at each level. The bank should also provide a user friendly dashboard to officers at various levels to monitor utilization of funds by IAs.
- (v) All the IAs are registered in PFMS and their zero balance bank accounts are mapped in PFMS.
- (vi) All zero balance subsidiary accounts will have allocated drawing limits to be decided by the SNA concerned from time to time and will draw on real time basis from the Single Nodal Account of the scheme as and when payments are to be made to

Runita

- beneficiaries, vendors etc. The available drawing limit will get reduced by the extent of utilization.
- (vii) Separate budget lines for Central and State shares are opened by every State Government in the State budget for every CSS having a State share and necessary provision of funds is made in the State budget for both the components.
- (viii) State GIFMIS is enabled to capture scheme component-wise expenditure along with PFMS scheme codes and Unique Code of the agencies incurring the expenditure.

It may further be pointed out that the Dept. of Expenditure OM No. 1(13)PFMS/FCD/2020 dated 23.03.2021, inter-alia provides as under:

- a) Funds will be released to the States strictly on the basis of balance funds of the Samagra Shiksha (Central and State share) available in the State treasury and bank account of the SNA as per PFMS in consonance with rule 232(V) of the General Financial Rules. 2017.
- b) The SNAs shall ensure that the interest earned from the funds released should be mandatorily remitted to the respective Consolidated Funds on pro-rata basis in terms of Rule 230(8) of GFR, 2017. Interest earned should be clearly and separately depicted in PFMS, scheme-specific portals integrated with PFMS and in MIS provided by the banks.
- c) States will maintain separate budget lines for Central and State Share in their Detailed Demand for Grants (DDG), and make necessary provision of the State share in the State's budget. While releasing funds to SNA, State's Integrated Financial Management Information System (IFMIS) should provide these budget heads and the same should be captured in PFMS through treasury integration.
- d) In the beginning of a financial year, the Ministries/Departments will release not more than 25% of the amount earmarked for the State for the financial year. Additional central share will be released upon transfer of the stipulated State share to the Single Nodal Account and utilization of at least 75% of the funds released earlier (both Central and State share) and compliance of the conditions of previous sanction.
- e) After opening of Single Nodal Account of the scheme and before opening zero balance subsidiary account of IAs or assigning them drawing rights from SNA's account, the IAs at all levels shall return all unspent amounts lying in their accounts to the Single Nodal Account of the SNA. It will be the responsibility of the State government concerned to ensure that the entire unspent amount is returned by all the IAs to the Single Nodal Account of the SNA concerned. For this, the State Governments will work out the modalities and the timelines and will work out Central and state share in the amount so available with IAs. SNAs will keep a record of unspent balance lying in the account of IAs and the amount refunded by IAs.
- f) The State Government will transfer the Central share received in its account in the RBI to the concerned SNA's account within a period of **21 days** of its receipt. The Central share shall not be diverted to the Personal Deposit (PD) account or any other account by the State Government. Corresponding State share should be released as early as possible and not later than **40 days** of release of the Central share. The funds will be maintained by the SNA in the Single Nodal Account of each CSS. State

Sun ta

- Governments/SNAs/IAs shall not transfer scheme related funds to any other bank account, except for actual payments under the Scheme.
- g) State Governments will register the SNAs and all IAs on PFMS and use the unique PFMS ID assigned to the SNA and IAs for all payments to them. Bank accounts of the SNAs, IAs, vendors and other organizations receiving funds will also be mapped in PFMS.
- h) Payments will be made from the zero balance subsidiary accounts up to the drawing limit assigned to such accounts from time to time. Transactions in each Subsidiary Account will be settled with the Single Nodal Account daily through the core banking solution (CBS) on the basis of payments made during the day.
- i) SNAs and IAs will mandatorily use the **Expenditure**, **Advance and Transfer (EAT)** module of PFMS or integrate their systems with the PFMS to ensure that information on PFMS is updated by each IA at least once every day.
- j) SNAs will keep all the funds received in the Single Nodal Account only and shall not divert the same to Fixed Deposits/Flexi-Account/Multi-Option Deposit Account/Corporate Liquid Term Deposit (CLTD) Account etc.
- k) The State IFMIS should be able to capture scheme component-wise expenditure along with PFMS Scheme Code and Unique Code of the Agencies incurring the expenditure. State Governments will ensure daily uploading/sharing of data by the State IFMIS/Treasury applications on PFMS. PFMS will act as a facilitator for payment, tracking and monitoring of fund flow.
- 1) All releases by the Centre would be subject to fulfilment of provisions of GFR by the State. The procurement guidelines as prescribed in the FM&P Manual should be adhered to and all procurement activities by the States and UTs should be routed through GEM portal.
- m) All guidelines issued by MoE regarding utilisation of funds under the scheme will be followed.
- n) The release of central share of funds to all the States and UTs is subject to fulfilling the submission of documents, reports, financial statements as prescribed in the Samagra Shiksha FMP Manual.

Accordingly, as regards the balance of funds to be released towards 1^{st} instalment and 2^{nd} instalment, the above said conditions and the details to be fulfilled areat Annexure II.

These minutes have been designed as a working document to be implemented and monitored throughout the year. They include the focus areas and new approaches of MOE which have been deliberated in detail in the PAB meetings. The objective of this is to have emphasis on quality of education and real time monitoring of activities under Samagra Shiksha through UDISE+, PGI, Mobile Apps, and Field Inspections. Many activities are shown separately for elementary and secondary due to different budget sub-heads. State specific projects are shown separately for clarity and monitoring purposes. **State will provide details of the Districts, Blocks and Schools, along with UDISE code where the activities have been conducted.** The minutes also include expected outcomes for each activity which will help States and UTs in assessing their performance.

In order to ensure effective implementation, States and UTs will prepare yearly reports on the progress of following themes/subjects:

- Progress on Foundational Literacy and Numeracy
- Progress on Early Childhood Care and Education (ECCE)
- Report on E-Governance and Digital education
- Convergence initiatives with various line ministries
- Progress on Vocational Education.
- Progress on Teacher Education.
- State Innovations and Quality initiatives

These reports will be submitted in the month of June every year for the previous year.

Section: IV - Component-wise Recommendations

10) Activity wise details and estimates approved:

1) <u>Support at Pre-Primary Level (Elementary)</u>: At pre-school level, support is provided for TLM to children, designing of State specific curriculum and revision of Pre-Primary Textbooks in alignment with NCERT curriculum and training of pre-primary teachers. An amount of Rs. 488.61 lakh was estimated for support for existing pre-primary classes in primary schools in the state.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Early Childhood Care and Education	(ECCE)- Pre-Pr	imary (Recurr	ing)
TLM for Children	47620	0.005	238.10
Support to Pre-Primary (Existing)	2381	0.10521	250.50501
Total for Pre-Primary (Recurring)			488.61

Outcome: This would enable to improve the transition rate by emphasising that every child acquires all cognitive/transversal/affective/psychomotor skills required for being school ready/grade-1 ready.

2) Foundational Literacy and Numeracy: At primary level, all children in the age group of 6-9years should have access to foundational schooling and achieve foundational skills by grade 3. An outlay of Rs. 6670.37 lakh was estimated for various interventions for foundational literacy and numeracy as per detail given below:

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial		
Foundation Literacy & Numeracy (Elementary)					
Teaching Learning Materials for implementation of Innovative pedagogies	1672018 (Children)	0.003	5016.054		
Teacher Resource Material/Activity Handbook	83133 (Teachers)	0.0005	41.5665		
Capacity building of Teachers of Grades I to V (New)	108275 (Teachers)	0.01	1082.75		
Independent, periodic and holistic assessment	16	10	160		

Activity Master	Physical	Unit Cost	Financial
of Students	(Districts)	3334 347 7 348 7 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	
Total for FLN (Elementary)			6300.37
Formation of P	MU (Elementary)		
State Level	1 (State)	50	50
District Level	16 (Districts)	20	320
Total for Formation of PMU (Elementary)			370
Grand Total			6670.37

Outcome: This would enable all children in the age group of 6-9 years to achievefoundational skills by grade 3 and creates for a joyful learning environment and and is covered under PGI Indicators 1.1.2, 1.1.3, 1.1.4, 1.1.6 and 1.2.3.

3) Netaji Subhash Chandra Bose Awasiya Vidyalaya (Previous year): An outlay of Rs. 617.98lakh was estimated for Netaji Subhash Chandra Bose Awasiya Vidyalayafor non-recurring and recurring grant (for existing 3 residential schools for 50 capacity(elementary), 10 existing residential schools of 100 capacity(elementary), 01 residential hostels (existing) at secondary level) for various activities.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
a signal and the sign	In A December 1	-io Voor)(Co	
Netaji Subhash Chandra Bose Avasiya Vidya	т.		
Furniture/ Equipment (including kitchen)	100	0.02	2
Total) in (n		2
Netaji Subhash Chandra Bose Avasiya Vidyal			
Furniture / Equipment (including kitchen	900	0.02	18
equipment)	<u> </u>		
Total	<u></u>		_18
Netaji Subhash Chandra Bose Avasiya Vidyalay			pgrd till XII)
Furniture/ Equipment (including kitchen)	50	0.02	1
Total			1
	*		
Netaji Subhash Chandra Bose Avasiya Vidyala	- Recurring (P	revious Year)(Capacity 50)
Food/Lodging per child per month	150	0.11	16.5
Stipend per child per month	150	0.024	3.6
Supplementary TLM, Stationery and other	150	0.01	1.5
educational material			
1 Warden	3	3.24	9.72
4 Fulltime teachers as per RTE Norms	12	2.64	31.68
3 Part time teachers	9	0.84	7.56
1 Full Time Accountant	3	1.44	4.32
2 Support staff - (Accountant/Assistant, Peon,	6	0.78	4.68
Chowkidar)			
1 Head Cook	3	0.96	2.88
2 Assistant Cook	3	0.66	1.98
Specific Skill training	150	0.005	0.75
Electricity / water charges	3	0.5	1.5
Medical care/contingencies	150	0.015	2.25
Maintenance	3	1.5	4.5

Activity Master	Physical	Unit Cost	Financial
Miscellaneous	3	1.25	3.75
Preparatory camps	Q	0	0
P.T.A / school functions	0	0	0
Capacity Building	0	Q	0
Physical / Self Defence Training	0	0	0
1 Sweeper cum Scavenger	3	0.48	1.44
Total			98.61
Netaji Subhash Chandra Bose Awasiya Vidyal 100	•	(Previous Yea	·
Food/ Lodging per Child	1000	0.11	110
Stipend per child per month	1000	0.024	24
Supplementary TLM, Stationery and other	1000	0.014	14
educational material			
1 Warden	10	3.24	32.4
4 - 5 Fulltime teachers as per RTE Norms	50	2.64	132
3 Part time teachers	30	0.84	25.2
1 Full time Accountant	10	1.44	14.4
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	20	0.78	15.6
1 Head Cook	10	0.96	9.6
2 Assistant Cook	20	0.66	13.2
Specific Skill training	1000	0.005	5
Electricity / water charges	10	1	10
Medical care/contingencies	1000	0.015	15
Maintenance	10	3	30
Miscellaneous	10	2.5	25
Preparatory camps	0	0	0
P.T.A / school functions	0	0	0
Provision of Rent	1	1.8	1.8
Capacity Building	0	0	0
Physical / Self Defence Training	0	0	0
1 Sweeper cum Scavenger	10	0.48	4.8
Total	10	0.10	482
Netaji Subhash Chandra Bose Avasiya Vidyala	ya (Hostel) -(F	lec) (Existing)	(Upgradation till
XII) Stipend per child per month	50	0.024	1.2
	50	0.024	0.5
Supplementary TLM, Stationery and other	30	0.01	0.5
educational Materials	1	0.9	0.9
1 Warden			0.54
1 Head Cook	1	0.54	
2 Assistant Cook	1	0.42	0.42
Electricity / Water Charges	1	0.5	0.5
Medical Care / Contingencies	50	0.015	0.75
Miscellaneous	1	1 25	1 0 5
Maintenance	1	0.5	0.5
Food/Lodging per child per month	50	0.11	5.5
3 Part Time Teachers	3	0.6	1.8
1 Full Time Accountant	1	1.44	1.44
2 Support Staff (Accountant / Assistant, Peon,	2	0.54	1.08

Activity Master	Physical	#Unit Cost	Financial
Chowkidar)			
Preparatory Camps	0	0	0
P.T.A. / School Camps	0	0 .	0
1 Sweeper cum scavenger	1	0.24	0.24
Capacity Building	0	0	0
Total			16.37
Grand total of Residential School/Hostels			617.98

Outcome: This would enable to provide access and increase in the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

4) Opening of New/Upgraded schools (previous year) (Secondary & Hr. Secondary): An outlay of Rs. 85.00 lakh was estimated for Opening of New/Upgraded schools (previous year Secondary & Hr. Secondary (2 Stream)) with its recurring cost as per unit cost given below:

(Rs. in lakh)

			(11011111111111)
Activity Master	Physical	Unit Cost	Financial
Opening of New / Upgraded Schools - Recurring	(Secondary)		
Recurring Cost - Secondary (Previous) (Samagra)	2	25	50
Total (Secondary)			50
Opening of New / Upgraded Schools - Recurring	(Hr. Seconda	ry)	
Recurring Cost - Hr. Sec. (Previous) (2 Stream)	1	35	35
(Samagra)			
Total (Hr. Secondary:			35
Grand total of Opening of New / Upgraded			85
Schools			

Outcome:This would enable to maintain the enrolment and retention at secondary and higher secondary level and is covered under PGI Indicators 1.2.1,1.2.3,1.2.4 and 1.2.6.

5) Infrastructure and Civil Works

(i) Strengthening of existing schools at Elementary: An outlay of Rs.1305.90 lakhwas estimated for various civil construction activities for elementary level. List of schools is at *Annexure-III*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Strengthening of Existing Schools (up to Highest Class	VIII) - NR		
Boys Toilets	115	3.00	345
Girls Toilets (Upto Class VIII)	51	3.10	158.10
CWSN Toilets (Upto Class VIII)	446	1.80	802.80
Total			1305.90

Sunits

Outcome: This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

(ii) Strengthening of existing schools (Secondary): An outlay of Rs. 2078.70 lakh was estimated for Boys and Girls toiletsat secondary and higher secondary level. List of schools is attached at *Annexure-III*

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Strengthening of Exist	ing Schools (IX - X)	NR	•
Boys Toilet	25	4.1	102.5
Toilets for CWSN	451	1.8	811.8
Girls Toilet	169	4.1	692.9
Total			1607.20
Strengthening of Exist	ing Schools (XI - XII)	- NR	
Boys Toilet	25	4.1	102.5
Girls Toilet	90	4.1	369
Total			471.5
Grand Total			2078.70

Outcome: This would enable to maintain the enrolment and retention at secondary and senior secondary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

6) Transport and Escort facility

(i) Transport and Escort facility (Elementary): An outlay of Rs. 691.29 lakh was estimated for provision of transport/escort facility for 23043 children in remote habitations and Urban deprived children/children without adult protection. State was further advised to effectively monitor the use of this facility.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Transport / Escort Fac	ility (Element	tary)	
Urban deprived children/children without adult protection	3635	0.03	109.05
Children in remote habitation	19408	0.03	582.24
Total of Transport / Escort Facility (Elementary)	23043		691.29

(ii) Transport and Escort facility (Secondary): An outlay of Rs. 69.09lakh was estimated for provision of transport/escort facility for 2303 children. State was further advised to effectively monitor the use of this facility.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Transport / Es	cort Facility (Second	ary)	
Transport & Escort Facility	2303	0.03	69.09

Outcome: This would enable to maintain the enrolment and retention at all level of school education and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

7) RTE Entitlements (Elementary)

a) Free Uniforms: An outlay of Rs. 17589.49 lakh was estimated for providing free uniforms to 2931582 children at elementary level @ Rs.600/- each, thereby covering all eligible children, as per norms of Samagra Shiksha. The details are as under:

(Rs. in lakh)

Activity Master	Physical (Ghildren)	Unit Cost	Financial
All Girls	1486363	0.006	8918.178
ST Boys	44887	0.006	269.322
SC Boys	482735	0.006	2896.41
BPL Boys	917597	0.006	5505.582
Total	2931582		17589.492

Outcome: 100% coverage of all eligible children within 3 months of start of academic year. This is covered under PGI Indicator 1.3.10.

b) Free Textbooks: An outlay of Rs. 13631.05 lakh was estimated as per the unit costs mentioned below for free textbooks including Braille and large print books at elementary level as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Text Books (Class I - II)	836783	0.0025	2091.9575
Braille Books (Class I – II)	387	0.0025	0.9675
Large Print Books (Class I – II)	5002	0.0025	12.505
Text Books (Class III - V)	1485920	0.0025	3714.8
Braille Books (Class III - V)	514	0.0025	1.285
Large Print Books (Class III - V)	6455	0.0025	16.1375
Text Books (Class VI - VIII)	1943284	0.004	7773.136
Braille Books (Class VI – VIII)	386	0.004	1.544
Large Print Books (Class VI - VIII)	4680	0.004	18.72
Total	4283411		13631.05

Outcome: 100% coverage of all eligible children within 1 month of start of academic year. This is covered under the PGI Indicator 1.3.11.

c) Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry Level): An outlay of Rs.18499.08 lakh was estimated for reimbursement of Fee against 25% admission under Section 12(1)(C) of RTE Act 2009 for admission of 209343 children, as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Reimbursement of Fee against 25% admission	209343	0.08837	18499.0803
under Section 12(1)(c) of RTE Act 2009			!

Outcome: This would facilitate equity among various socially disadvantaged groups and weaker sections as well as access to quality education to children belonging to weaker section and disadvantaged group.

d) Special Training for age appropriate admission of out-of-school children (OoSC)-An outlay of Rs. 757.95lakh was estimated for age appropriate admission of 17493 OOSC including migrant children, as per norms of the scheme. Initially, only 70% of the total funds may be released and balance 30% of the funds may be released on mainstreaming of the children after completion of their special training.

(Rs. in lakh)

Activity Master	Physical	Unit	Financial
	(Children)	Cost	e sagréneus e
Special Training for OoSC - Non-Residential (Fresh)			<u> </u>
6 Months (Non-Residential - Fresh)	135	0.03	4.05
12 Month (Non-Residential - Fresh)	11371	0.045	511.695
Total			515.745
Special Training for OoSC - Residential (Fresh)			
12 Months (Residential - Fresh)	2016	0.045	90.72
Total			90.72
Special Training for OoSC - Non-Residential			
(Previous year)			
12 Month (Non-Residential - Prev Year)	1357	0.045	61.065
Total			61.06
Special Training for OoSC - Residential (Previous			
year)			
12 Month (Residential - Prev. Year)	800	0.045	36
Total			36
Intervention for Migrant Children/ Seasonal Hostel			
(Non-Residential)			
6 Months (Non-Residential -Migrant)	1485	0.03	44.55
12 Month (Non-Residential - Migrant)	329	0.03	9.87
Total			54.42
Grand Total	17493		757.95

Outcome: Mainstreaming of out of School Children and improving enrolment rate at elementary level. This is covered under PGI Indicator 1.2.1 and 1.2.8.

8) Open Schooling System: An outlay of Rs. 111.68lakh was estimated for open schooling system for OoSC (NIOS/SIOS) for support to age group 16-19 years (Upto Highest Class XII).

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial			
Open Schools System for OoSC (NIOS/SIOS)						
Support to Age Group 16-19 (Upto Highest 5584 0.02 111.68						
Class XII)						

Outcome:Mainstreaming of out of School Children special for SEDGS through NIOS/SIOS and improving enrolment rate at secondary and higher secondary level. This is covered under PCI Indicator 1.2.1 and 1.2.8.

9) Media and Community Mobilization (Elementary)

An outlay of Rs. 468.21 lakh is meant for Community Mobilization activities @ Rs. 1500/- per school to be utilised as per guidelines given in para 7of Section II above.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization	31214	0.01500	468.21

10) Training and meetings of SMC (Elementary)

An outlay of Rs.936.42 lakh @ Rs 3000/- per school was estimated under SMC training. This includes provision for conducting/convening of SMC meetings on a single notified date by the State once in every quarter and incentivising nominated parents for attending the SMC meeting regularly.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Training of SMC	31214	0.03000	936.42

Outcome: The SMCs will hold quarterly meetings. This will also help to generate awareness about the scheme, and making the members aware about the precautions to be taken by schools for safety and security of children in schools for prevention of spread of any infection. The guidelines and training modules for safety have been prepared and uploaded on DIKSHA.

11) <u>Media & Community Mobilisation (Secondary):</u>

An outlay of Rs. 92.65 lakh is meant for community mobilization activities @ Rs.1500/- per school to be utilised as per guidelines given in para 7of Section II above.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization	6177	0.01500	92.65

12) Training and Meetings of SMDCs (Secondary)

A total outlay of Rs. 185.31lakh @ Rs.3000/- per school was estimated under SMDC training. This includes provisions for conducting/convening of SMDC meetings on a single notified date by the State once in every quarter, incentivising nominated parents for attending the SMDC meeting regularly.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial .
SMDC Training	6177	0.03000	185.31

Outcome: The SMCs will hold quarterly meetings which will also help to generate awareness about the scheme.

13) Quality and Innovation Interventions:

a) Learning Enhancement/Enrichment Programme (Elementary): An outlay of Rs. 1579.96 lakh as per the unit cost given below was estimated for reading enhancement programme, remedial material and teaching activities. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial :
LEP (Class VI – VIII)	[Students]		
Learning Enhancement/Enrichment Programme (Remedial Teaching)	315991	0.005	1579.955

b) Learning Enhancement Programme/ Enrichment Programme (Secondary): An outlay of Rs. 1898.25 lakh as per unit cost given below was estimated for providing LEP/Remedial teaching and for classes IX to XII. The main objective of LEP is to identify the learning gaps and equip students with core learning prerequisites appropriate to the particular grade.

(Rs. in lakh)

Activity Master LEP (Class IX – XII)	Physical (Students)	Unit Cost	Financial
Learning Enhancement/Enrichment Programme (Remedial Teaching)	379651	0.005	1898.255

Outcome: The interventions at (a) and (b) above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

c) Holistic Progress Card for Students (Elementary): An outlay of Rs. 25.12 lakh @ Rs. 5/- per child given for developing Holistic Progress Card for Students focusing on multi-dimensional report showing progress/uniqueness of each learner in the cognitive, affective, and psychomotor domains.

(Rs. in lakh)

Activi	ty Master				Physical (Schools)	Unit Cost	Financial
Holist	ic Progres	s Card fo	or Students (Elem	entary)	502443	0.00005	25.12

Outcome: The interventions above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

d) Composite School Grant (Elementary): An outlay of Rs. 7790.30 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 31214 schools including at least 10% for Swachhta Action Plan (SAP). These funds should be utilized as per the guidelines laid down for utilization of composite school grant including SAP.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class VIII)			
School Grant - (Enrol > 30 and <=100)	12796	0.25	3199.00
School Grant - (Enrol > 100 and <= 250)	5765	0.50	2882.50
School Grant - (Enrol > 250 and <= 1000)	674	0.75	505.50
School Grant - (Enrol > 1000)	6	1.00	6.00
School Grant (Enrol >= 1 and <= 30)	11973	0.10	1197.30
Total	31214		7790.30

e) Composite School Grant (Secondary): An outlay of Rs. 3837.85lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 6177 schools including at least 10% for Swachhta Action Plan (SAP). These funds should be utilized as per the guidelines laid down for utilization of composite school grant including SAP.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class X or XII)			
School Grant - (Enrol > 30 and <=100)	613	0.25	153.25
School Grant - (Enrol > 100 and <= 250)	2279	0.50	1139.50
School Grant - (Enrol > 250 and <= 1000)	2902	0.75	2176.50
School Grant - (Enrol > 1000)	367	1.00	367.00
School Grant (Enrol >= 1 and <= 30)	16	0.10	1.60
Total	6177		3837.85

Outcome: This would facilitate in improving school environment and adopt the Swachhta Action Plan effectively and is covered under PGI indicators 1.3.9, 1.4.15 and 1.4.16.

f) Library Grant (Elementary): An outlay of Rs. 2116.54 lakh as per unit cost given below was estimated for library grants in 31214 schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class VIII)			
Upper Primary Schools (VI – VIII)	6948	0.13	903.24
Primary Schools (I – V)	24266	0.05	1213.3
Total	31214		2116.54

g) Library Grant (Secondary): An outlay of Rs. 1079.4 akh as per unit cost given below was estimated for library grants in 6177 Secondary/Higher Secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools).	Unit Cost	Financial
Library (upto Highest Class XII)			
Secondary Schools (Upto Class X)	3120	0.15	468

Activity Master	Physical (Schools)	Unit Cost	Financial !
Senior Secondary School (Upto Class XII)	3057	0.2	611.4
Total	6177		1079.4

The funds for both (f) and (g) should be utilized in accordance with the detailed guidelines issued by MoE dated 03.10.2018 as amended by letter dated 21.01.2020.**Best stories and best initiatives developed by States and UTs will be recognized and rewarded**.

Outcome: The above intervention is meant for improving the reading habits of children as emphasized in Padhe Bharat Badhe Bharat and is covered under PGI indicators 1.3.4 and 1.3.6, 1.1.2 to 1.1.9).

h) Sports and Physical Education (Elementary): An outlay of Rs. 1908.10lakh as per unit cost given below was estimated for 24266 primary schools and 6948 upper primary schools for sports grants.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Clas	ss VIII)		
Sports & Physical Education (Primary Schools)	24266	0.05	1213.3
Sports & Physical Education (Upper Primary	6948	0.1	694.8
Schools)			
Total			1908.10

i) Sports and Physical Education (Secondary): An outlay of Rs. 1544.25 lakh as per unit cost given below was estimated for sports & physical education for 3120 Secondary and 3057 Sr. Secondary level schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Cla	ass XII)		
Sports & Physical Education (Secondary)	3120	0.25	780
Sports & Physical Education (Sr. Secondary)	3057	0.25	764.25
Total			1544.25

The utilization of the funds for sports and physical education at paras (h) and (i) above needs to be in accordance with the detailed guidelines issued by MoE in 24.12.2018. The following points need to be kept in mind:

- Age appropriate sports equipment for government schools may be procured as per the
 guidelines issued by this Department to the States & UTs. The States & UTs may if they so
 desire, procure items from beyond this list subject to its actual requirement being
 certified by the head of school.
- Age appropriate sports activities may be organized in the Government schools of States &
 UTs as per the guidelines to be issued by this Department.

- Schools may include traditional/regional games of the respective State/Region. For
 maintaining workable stock position of sports equipments, periodic record may be
 maintained including workable equipment, repairable equipment, write-off equipment
 and new items to be purchased to maintain the required stock position.
- One responsible person/PET/Teacher-in-charge may be given the responsibility to take care of the equipment and maintaining the stock position of sports equipment in the school.

Outcome: The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

j) Rashtriya Avishkar Abhiyan (Elementary): An outlay of Rs. 27.79lakh @ Rs.400/- per school was estimated for Rashtriya Aavishkar Abhiyan (RAA) for conducting quiz competition. The state may also refer to detailed guidelines issued by MOE for Rashtriya Avishkar Abhiyan.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Elementary)			
Quiz Competition	6948	0.004	27.792

Outcome: This will help in improving overall performance in terms of PGI indicators 1.1.7 and 1.1.8.

k) Rashtriya Avishkar Abhiyan (Secondary): An amount of Rs. 234.08 lakh as per unit cost given below was estimated for Rashtriya Avishkar Abhiyan (RAA) for conducting various activities, such as, conducting science exhibition/book fair, quiz competition, science kit, mentoring by higher education institutions etc. The state may also refer to detailed guidelines issued by MoE for RAA.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Secondary)		<u> </u>	
Science Exhibition / Book Fair	32	1.00	32.00
Quiz Competition	6177	0.005	30.885
Science Kit	1509	0.10947	165.19023
School Mentoring by Higher Education Institutes	120	0.05	6.00
Total for RAA			234.08

Outcome: This would strengthen student's ability to handle competitions and develop scientific temper. This is covered under PGI indicator No.1.2.5, 1.2.7, 1.3.2.

l) <u>Innovative Activities (Elementary & Secondary) - National Initiatives:</u>

(a) School Safety Programme (Elementary): An outlay of Rs. 624.28 lakh @ Rs. 2000/per school was estimated for safety and security measures for children in every school in this regard. Further, an outlay of Rs.725.69lakh @ Rs. 500 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level

counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Quality Components			
Funds for Safety & Security	31214	0.02	624.28
	(School)		
Orientation Programme for Teachers on Safety	145138	0.005	725.69
and Security	(Teacher)		
		Total	1349.97

(b) School Safety Programme (Secondary): An outlay of Rs. 123.54 lakh @ Rs. 2000/- per school was estimated for safety and security measures for children in every school in this regard. Further, an outlay of Rs. 398.385 lakh @Rs.500 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Quality Components			•
Funds for Safety & Security	6177	0.02	123.54
	(Schools)		
	79677	0.005	398.385
Orientation of teachers on safety and security	(Teachers)		
		Total	521.925

(c) Shaala Siddhi (Elementary): National Program on School Standards and Evaluation known as Shaala Siddhi for enabling schools to evaluate their performance in a focussed and strategic manner and facilitate them to make professional judgement for improvement. An outlay of Rs. 99.12lakh @ Rs. 600/-per school for 16520elementary schools was estimated for implementing Shaala Siddhi.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Shaala Siddhi	16520	0.006	99.12

Outcome: Improve Governance Processes of schoolsat Elementary and secondary level. This is covered under PGI indicator No. 2.1.19.

(d) Aptitude Test at SchoolLevel(Secondary & Sr. Secondary): An outlay of Rs. 759.30 lakh @ Rs.50/- per student for 1518605students wasestimated to meet out the printing cost of the questionnaire.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Aptitude Test at School Level (Secondary & Sr.	1518605	0.0005	759.3025
Secondary)	<u> </u>		

(e) Talent Search at school level (Secondary & Sr. Secondary): The objective of talent search at school level is to adopt child centred approach to build up overall personality of students and to improve academic excellence. The schools will be organizing five rounds of inter-group-classroomquiz competition/oral tests/declamation/debates/seminar/presentation of students at various levels from school to District and State level. An outlay of Rs.96.00 lakh @ Rs. 100/- per students for 96000 students was estimated for talent search at school level

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Talent Search at school level (Secondary & Sr.	96000	0.001	96.00
Secondary)			

Outcome: Improve Governance Processes of schools at Elementary and secondary level. This is covered under PGI indicator No. 2.1.19.

m) Innovative Activities (Elementary): State Specific Interventions:

(i) Quality Monitoring Tool (QMTs): An amount of Rs. 6.24 lakh @ Rs.20/- per school for 31214schools was estimated for external evaluation format for govt. elementary schools.

(Rs. in lakh)

Activity Master	Physical (School)	Unit Cost	Financial
Quality Monitoring Tool (QMTs)	31214	0.0002	6.2428

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to1.1.9.

(ii) Teacher Appraisal Format (PINDICS): An amount of Rs. 19.15 lakhwas estimated @ Rs.10/- per teacher for 191506 teachers including head teacher for teacher self-evaluation at elementary level.

(Rs. in lakh)

Activity Master	Physical(teachers)	Unit Cost	Financial
Teacher Appraisal Format (PINDICS)	191506	0.0001	19.1506

Outcome: Improve quality of education at Elementary level. This is covered under PGI indicator No. 1.1.2 to 1.1.9.

(iii) Twinning of schools:An amount of Rs. 164.32 lakh @ Rs.1000/- for each school was estimated to cover exchange of ideas, sharing of best practices, etc., and other activities among students/Teachers of different schools.

(Rs. in lakh)

Activity Master	Physical (schools)	Unit Cost	Financial
Twining of School	16432	0.01	164.32

(iv) No Bag Day: An amount of Rs.126.36 lakhwas estimated @ Rs. 10/- per student for 1263550 students forconducting activity to assess the attainment and improvement level of the students.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
No Bag Day	1263550	0.0001	126.355

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No. 1.1.2 to 1.1.9.

(v) MAUNAM - Mana Valamum Udal Nalamum: An amount of Rs.171.14 lakhwas estimatedforconductingyoga classes for upper primary students all over the state for three months.

(Rs. in lakh)

Activity Master	Physical (Yoga trainer)	Unit Cost	Financial
MAUNAM - Mana Valamum Udal nalamum	5697	0.03004	171.13788

Outcome: The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

(vi) Geographical Skill: An amount of Rs.10.56 lakh @ Rs. 700/- per school for 1509 schools was estimated foressential items i.e. wall maps (world, India and State), globe and toposheet etc. as per syllabus of elementary schools.

(Rs. in lakh)

	Activity Master	Physical (Schools)	Unit Gost	Financial
-	Geographical Skill	1509	0.007	10.563

(vii) Magizh Kanitham: An outlay of Rs. 104.22 lakh @ Rs. 1500/- per school for 6948 govt. upper primary school was estimated for Magizh Kanitham - A Gate Way to Fun Math'.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Magizh Kanitham	6948	0.015	104.22

Outcome: The activity is aimed at bringing about a pedagogical transition in the regular teaching of math with an intention of amplifying the conceptual comprehension of primary students on basic math skills.

(viii) Individualized therapeutic and Academic support for Home based CWSN students: An outlay of Rs. 778.6 lakh @ Rs.10000/- per CWSN for 7786 CWSNs was estimated for conducting home based education to provide specialized material to Children with profound disability.

(Rs. in lakh)

Activity Master	Physical(CwSN)	Unit Cost	Financial
Individualized therapeutic and Academic	7786	0.10	778.6
support for Home based CWSN students		× .	<u> </u>

Outcome: The activities under this intervention would provide Access and increase retention of CWSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.

n) Innovative Activities (Secondary): State Specific Interventions:

(i) **Teacher Appraisal Format (PINDICS):** An amount of Rs. 11.09 lakh @ Rs.10/- per teacher for 110889 teachers including head teacher was estimated for teacher self-evaluation at secondary level.

(Rs. in lakh)

Activity Master	Physical (teachers)	Unit Cost	Financial
Teacher Appraisal Format (PINDICS)	110889	0.0001	11.0889

Outcome:Improve quality of education at Elementary level. This is covered under PGI indicator No. 1.1.2 to 1.1.9.

(ii) **Geographical Skill:** An amount of Rs.13.8 lakh @ Rs. 1000/- per school for 1380 schools was estimated foressential items i.e. wall maps (world, India and State), globe and toposheet etc. as per syllabus of secondary schools to enhance the interest of children in acquiring skills in Geography.

(Rs. in lakh)

Activity Master	Physical (School)	Unit Cost	Einancial
Geographical skills	1380	0.01	13.8

(iii) SCOPE (Specific Concept Oriented programme): An outlay of Rs. 32 lakh @ Rs. 1.00 lakh per district was estimated for project.

(Rs. in lakh)

Activity Master	Physical (District)	Unit Cost	Financial
SCOPE	32	1	32

Outcome:Enhance Higher Secondary Students' understanding of concepts through experimentation learning & promoting scientific inquiry.

(iv) 14417 Helpline: An amount of Rs.112.00 lakh @ Rs. 3.5 lakh per district was estimated for helpline to redress every child's query on career guidance, counselling and psychological support.

(Rs. in lakh)

(v) Community Radio: An amount of Rs.21.79 lakh was estimated for implementation of Community Radio in Salem District on pilot basis

(Rs. in lakh)

Activity Master	Physical (District)	⇒Unif Cost	Financial
Community Radio	1	21.79	21.79

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.l.l.2tol.l.9.

(vi) Career Guidance & Counselling: An amount of Rs.308.85 Lakh @Rs. 5000/- per school for 6177 secondary and senior secondary schoolswas estimated for various activities under the project in 32 districts.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Pinandal
Career Guidance / Counselling	6177	0.05	308.85

Outcome: This would help in raising awareness about future career prospects; improve enrolmentand retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5,1.2.7,1.3.5.

(vii) Vagupparai Nokkin (TNVN) Mobile app: An amount of Rs. 106.0 lakh was estimated for CRC mobile app.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Vagupparai Nokkin (TNVN) Mobile app	1	106.0	106.0

(viii) Documentation of Best Practices on Shagun Portal-Shagun Repository: An amount of Rs 25.00 lakh was estimated for uploading the best practices on the Shagun Portal and documentation of the best practices. Shagun has been designed to change the narrative on school education by show casing the multitude of innovative & successful models being implemented by all States and UTs in diverse circumstances.

- Enables the successful initiatives to be replicated & taken to scale.
- Sustains the institutional memory of these institutions.
- State to document their best practices, innovative practices and success stories through good quality case studies, videos, photographs and testimonials.
- All States and UTs to upload high resolution videos, photos, testimonials and case studies.

(Rs. in lakh)

Activity Master ***	Physical (State)	Unit Cost	Emanola
Documentation of Best Practices on Shagun Portal	1	25	25

o) Training for in-service Teachers and Head Teachers (Secondary):

An outlay of Rs. 1084.12lakh was estimated for online NISHTHA Phase-II training @ Rs. 1000/-per teacher for procuring pen-drives, printing of modules and high-speed data-pack for Government/Government aided teachers at secondary level on reimbursement basis and subject to successful completion of the training.

(Rs. in lakh)

1			- 1 1.15 Augusta (174 d. 1
- 1	「在本語」を行う。 これをおります	Physical	1.75 (30) (1.15) (1.15) (1.15) (1.15) (1.15)
- 1	- 1992/11	riivdicai	it Cost Financial
- 1	Activity Master		itianet kaskinaneiai i
- 1	ACTIVITY MASTER		TO COURSE T STREET, THE
- 1	Theritical remotes	(Teachers)	
ì		THE PROPERTY OF THE PROPERTY O	

Activity Master	Physical (Teachers)	Unit Cost	Financial	
In-Service Training (IX - XII)				
Teachers Class IX to X (Government Schools)	46900	0.01	469	
Teachers Class XI to XII (Government Schools)	31046	0.01	310.46	
Teachers Class IX to X (Government Aided	16935	0.01	169.35	
Schools)				
Teachers Class XI to XII (Government Aided	13131	0.01	131.31	
Schools)				
Total of In	-Service Trainin	g (IX - XII)-A	1080.12	
School Leadership Training of Head Teachers	/ Principals/RPs	(Secondary)		
KRPs Training at State level (Class IX to X)	400	0.01	4	
Total of Training of Resource Persons & Master Trainers -B				
Total of Training for In-service Teac	her and Head Tea	achers (A+B)	1084.12	

Outcome: This activity would help in overall improvement in Teacher Performance and consequent improvement in Quality including Learning Outcomes and covered under PG1 2.1.18 and 2.1.20.

p) Academic support through BRC/URC & CRC (Elementary): States/UTs will prepare detailed guidelines for the roles, responsibilities, selection criteria, functioning and reporting by CRC/BRC based on the requirements of the National Education Policy, 2020. These guidelines will lay down rubrics of Key performance Indicators for assessing the performance of BRC/URC/CRC.

Strengthening of CRCs - Mobility support to CRCs: Each Cluster Resource Coordinator will visit the schools under his/her jurisdiction at least once in 2 months. It is expected that in remote and rural areas, the CRC will have five schools while in urban areas this can go upto 10 schools.

- Cluster Resource Coordinator would visit the schools and provide onsite academic support.
- Assess school performance and design Strategies for improvement of various interventions at School Level.
- Will review the status of implementation at the cluster level so as to ensure better outcomes.

BRC will also do similar exercise and send report periodically likewise indicating the outcome of the various task performed at the BRC level.

An outlay of Rs.42571.26 lakh was estimated for Academic support through BRC/URC & CRC including Rs.16510.03 lakh for BRC/URC and Rs.26061.03 lakh for CRCs.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Provision for BRCs/URCs			
Financial Support for 1 Accountant-cum-support staff	773	1.94	1499.62

Activity Master	Physical 💡	Unit Cost	Financial		
Financial Support for 1 Data Entry Operator in position	343	1.64	562.52		
Financial Support for 1 MIS Coordinator in position	402	2.18	876.36		
Financial Support for 2 Resource Persons for CWSN	804	1.92	1543.68		
Financial Support for 6 Resource Persons at BRC	1910	6.2	11842		
Maintenance Grant	0	0	0		
Meeting, TA	413	0.2	82.6		
Contingency Grant	413	0.25	103.25		
Total			16510.03		
Provisions for CRCs					
Furniture Grant / Computer	0	0	0		
Meeting, TA	4088	0.04	163.52		
Contingency Grant	4088	0.08	327.04		
Financial Support for CRC Coordinator (one)	4074	6.2	25258.8		
Mobility Support for CRC(Strengthening of CRC)	31187	0.01	311.87		
Total			26061.23		
Total of Academic support through BRC/URC/CRC	Total of Academic support through BRC/URC/CRC				

Outcome: The strengthening of BRCs and CRCs would enable them to play a pivotal role in monitoring and improving the quality of education. This is covered under PGI indicator 2.1.15.

q) Kala Utsav (Secondary): An outlay of Rs. 12.00 lakh was estimated for Kala Utsav at State level and participation in national level competition.

(Rs. in lakh)

Activity Master	Physical (State)	Unit Cost	Financial
Kala Utsav (Secondary)	1	12.00	12.00

14) Financial Support for Salary of Teachers

An outlay of Rs. 117821.50 lakh (Both Elementary and Secondary) was estimated for financial support for salary of teachers as a lumpsum grant and not on the basis of number of teachers. The support for salary of teacher will be calculated as per following formulation which is (i) 2021-22: 100 % of central share of expenditure in 2019-20 (ii) 2022-23: 95% of central share of expenditure incurred in 2019-20 (iii) 2023-24: 90% of central share of expenditure in 2019-20 (iv) 2024-25: 85% of central share of expenditure in 2019-20 and (v) 2025-26: 75% of central share of expenditure in 2019-20. This is further subject to the state maintaining the requisite level of filled up posts.

a) Elementary:

Sar	nctioned P	ost		Working			Vacancies	Violania de
By State	Under SS	Total	By State	Under SS	Total	By State	Under SS	Total
109996	35020	145016	104162	35020	139182	5834	0	5834

An outlay Rs.78869.50lakh was estimated as support for teacher salary at elementary level as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster

Cenita

posts and rationalize deployment of teachers as all teachers are the responsibility of the State. There is no dual cadre of teachers – only financial support for additional teacher salary would be provided under the Samagra Shiksha. Any additionally as per terms and conditions for recruitment of teachers in the State is to be borne by the State.

Outcome: Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher-pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

b) Secondary:

Sar	ictioned P	ost		Working			Vacancies	
By State	Under SS	Total	By State	Under SS	Total	By State	Under SS	Total
52646	13415	66061	5044 2	13415	63857	2204	0	2204

An amount **Rs. 38952.00** lakh was estimated as financial support for salary of teachers as per norms of the Scheme. This grant will be further subject to the State/UT maintaining the same percentage of vacancies as in 2021-22 and will be reduced in case the percentage of vacancies increases.

Outcome: Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher-pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

15) Gender & Equity:

(a) Kasturba Gandhi Balika Vidyalaya (KGBV)Type – I(Previous Year) (Classes VI - VIII): An outlay of Rs. 1899.18 lakh (Non-Recurring + Recurring grant) as per unit costs given below is estimated for replacement of bedding and recurring costs, under Elementary component for Type-I KGBVs. The State may also refer to the detailed guidelines issued by MoE for KGBV under Samagra Shiksha.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial	
KGBV - Type - I (NR) (Previous	Year) (Classe	s VI -VIII)		
Replacement of bedding (once in 3 years)	50 (girls)	0.02	1	
Total			1	
KGBV - Type - I (Recurring) (Previ	ous Year) (Cla	asses VI -VIII)		
Food/Lodging per child per month	3500	0.162	567	
Stipend per girl per month	3500	0.018	63	
Supplementary TLM, Stationery and other educational material	3500	0.005	17.5	
1 Warden	47	3.24	152.28	
4 - 5 Full Time Teachers	211	2.64	557.04	
3 Part Time Teachers	141	0.84	118.44	
1 Full Time Accountant	47	1.44	67.68	
2 Support Staff - (Accountant/ Assistant, Peon,	94	0.78	73.32	

Chowkidar)			
1 Head Cook	47	0.96	45.12
2 Assistant Cook	70	0.72	50.4
Specific skill training per girl	3500	0.002	7
Electricity / Water Charges	47	0.67	31.49
Medical care / Contingencies	3500	0.015	52.5
Maintenance	47	1	47
Miscellaneous	47	0.5	23.5
Physical / Self Defence	47	0.05	2.35
1 House Keeping	47	0.48	22.56
Total			1898.18
Total KGBV Type-I(Previous year)((recurri	1899.18		

(b) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type-II (Class VI to X): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs. 497.16lakh (Recurring and Non-Recurring) as per unit costs given below was estimated, under Elementary component for Type-II KGBVs.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - II (NR) (New) (Classes VI -X)			
Construction of building (new)	1	94.71	94.71
Furniture/ Equipment (including kitchen)	30	0.02	0.6
Bedding	30(girls)	0.02	0.6
Total			95.91
KGBV - Type - II (Recurring) (New) (Classes VI -X)			
Food/Lodging per child per month	130	0.162	21.06
Stipend per child per month	130	0.018	2.34
Supplementary TLM, Stationery and other educational material	130	0.005	0.65
1 Warden	1	3.24	3.24
4 - 5 Fulltime teachers	6	2.64	15.84
3 Part time teachers	3	0.84	2.52
1 Full time Accountant	1	1.44	1.44
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	2	0.78	1.56
1 Head Cook	1	0.96	0.96
2 Assistant Cook	3	0.72	2.16
Specific Skill training	130	0.002	0.26
Electricity / Water Charges	1	1	1
Medical care / Contingencies	130	0.015	1.95
Maintenance	1	1	1
Miscellaneous	1	0.5	0.5
Physical / Self Defence	1	0.05	0.05
1 House Keeping	1	0.48	0.48
Total			57.01
KGBV - Type - II (NR) (Previous Year) (Classes VI - X)			

Activity Master	Physical	Unit Cost	Financial
Construction of building	1	94.71	94.71
Furniture/ Equipment (including kitchen)	210	0.02	4.2
Replacement of bedding (once in 3 years)	100(girls)	0.02	2
Total			100.91
KGBV - Type - II (Recurring) (Previous Year) (Classes VI -X)			
Food/Lodging per child per month	510	0.162	82.62
Stipend per child per month	510	0.018	9.18
Supplementary TLM, Stationery and other educational material	510	0.005	2.55
1 Warden	5	3.24	16.2
4 - 5 Fulltime teachers	26	2.64	68.64
3 Part time teachers	15	0.84	12.6
1 Full time Accountant	5	1.44	7.2
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	10	0.78	7.8
1 Head Cook	5	0.96	4.8
2 Assistant Cook	11	0.72	7.92
Specific Skill training	510	0.002	1.02
Electricity / Water Charges	5	1	5
Medical care / Contingencies	510	0.015	7.65
Maintenance	5	1	5
Miscellaneous	5	0.5	2.5
Physical / Self Defence	5	0.05	0.25
1 House Keeping	5	0.48	2.4
Total Type - II (Recurring) (Previous Year)			243.33
Grand TotalKGBV Type - II (Recurring+Non Recurring)			497.16

Outcome: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

c) Kasturba Gandhi Balika Vidhayalaya (KGBV)- Type-III(Classes VI-XII): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs. 831.42lakh (Recurring and Non-Recurring) as per unit costs given below was estimated, under Elementary component for Type-IV KGBVs.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - III (NR) (New) (Classes VI -XII)			
Construction of building (new) / Upgradation	4	94.71	378.84
Furniture/ Equipment (including kitchen)	120	0.02	2.4
Bedding	120(girls)	0.02	2.4
Replacement of bedding (once in 3 years)	50(girls)	0.02	1
Total of KGBV - Type - III (NR) (New) (Classes VI - XII)			384.64
KGBV - Type - III (Recurring) (New) (Classes VI -			

XII)			
Food/Lodging per child per month	520	0.162	84.24
Stipend per girl per month	520	0.018	9.36
Supplementary TLM, Stationery and other educational	520	0.005	2.6
material	 	ļ <u>.</u>	
1 Warden	4	3.24	12.96
3 Part time teachers	12	0.84	10.08
1 Full time Accountant	4	1.44	5.76
2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	8	0.78	6.24
1 Head Cook	4	0.96	3.84
2 Assistant Cook	12	0.72	8.64
Specific skill training per girl	520	0	0
Electricity / Water Charges	4	1	4
Medical care / Contingencies	520	0.015	7.8
Maintenance	4	1	4
Miscellaneous	4	0.5	2
Physical / Self Defence	4	0.05	0.2
4 Full Time Teachers	24	2.64	63.36
1 HouseKeeping	4	0.48	1.92
Total			227
KGBV - Type - III (NR) (Previous Year) (Classes VI -			
XII)			
Furniture/ Equipment (including kitchen)	200	0.02	4
Total			4
KGBV - Type - III (Recurring) (Previous Year) (Classes VI -XII)			
Food/Lodging per child per month	500	0.162	81
Stipend per girl per month	500	0.018	9
Supplementary TLM, Stationery and other educational material	500	0.005	2.5
1 Warden	4	3.24	12.96
3 Part time teachers	12	0.84	10.08
1 Full time Accountant	4	1.44	5.76
2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	8	0.78	6.24
1 Head Cook	4	0.96	3.84
2 Assistant Cook	10	0.72	7.2
Specific skill training per girl	500	0.002	1
Electricity / Water Charges	4	1	4
Medical care / Contingencies	400	0.015	6
Maintenance	4	1	4
Miscellaneous	4	0.5	2
Physical / Self Defence	4	0.05	0.2
4 Full Time Teachers	22	2.64	58.08
1 House Keeping	4	0.48	1.92
Total			215.78
Grand Total KGBV - Type - III (Recurring+Non-			831.42
recurring)			

Outcome: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

d) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type-IV (Classes IX - XII): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs. 1172.16lakh (Recurring) as per unit costs given below is estimated, under Elementary component for Type-IV KGBVs.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)			
Food/Lodging per child per month	4400	0.162	712.8
Stipend per girl per month	4400	0.018	79.2
Supplementary TLM, Stationery and other educational material	4400	0.005	22
1 Warden	44	1.2	52.8
1 Chowkidar	44	0.66	29.04
1 Head Cook	44	0.72	31.68
2 Assistant Cook	88	0.54	47.52
Electricity / Water Charges	44	1	44
Medical care / Contingencies	4400	0.015	66
Maintenance	44	1	44
Miscellaneous	44	0.5	22
Preparatory Camps	0	0	0
P.T.A.	0	0	0
House Keeping	44	0.48	21.12
TotalKGBV - Type - IV (Recurring)			1172.16

Outcome: This activity would help in addressing issues of drop out of girls and improve retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

The list of upgraded KGBVs, list of KGBVs for replacement of bedding, list of KGBVs for additional construction, list of KGBVs for Furniture/Equipment and list of Type III KGBVs are at Annexure-IV.

e) Special Projects for Equity (Elementary and Secondary level)

(i) Sanitary pad Vending & incinerator machines (NR)-Elementary level: An amount of Rs. 181.12 lakh @ Rs.0.32 lakh was estimated for 566 Govt. elementary schools of SFD and aspirational districts (as per U-DISE 2019-20) where girl enrolment is more than 35. List of schools is attached at Annexure -V(a).

(Rs. in lakh)

			(1151 111 14111)
Activity Master	Physical (Schools)	Unit Cost	Financial
Sanitary pad Vending & incinerator machines	566	0.32000	181.12

(ii) Sanitary pad Vending & incinerator machines (NR)-Secondary level: An amount of Rs. 101.76 lakh @ Rs. 0.32 lakh was estimated for 318 Govt schools in aspirational and special focus districts, where minimum girl enrolment is 40. Out of this, two machines were considered for 5 schools where enrolment of girls is more than 1000. List of schools is attached at Annexure -V(b).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Sanitary pad Vending & incinerator machines	318	0.32000	101.76

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

f) Project - Equity

(i) Evening care Centre for Tribal students (Secondary): An amount of Rs. 93.67 lakh @ Rs. 332/- was estimated for 28215 ST students from class 6 to 12in Secondaryschools of the State for special learning enhancement classes.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Project -Equity secondary			
Evening care Centre for Tribal students	28215	0.00332	93.6738

Outcome: The project will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

(ii) Adolescent Programme for Secondary students (Students overcoming Substance Abuse) (Secondary): An amount of Rs.78.20 lakh @ Rs. 2558/- per school was estimated for adolescent programme for secondary and higher secondary students of the State.

(Rs. in lakh)

Activity Master	Physical(Schools)	vilit Cost	Financial
Project - Girls Empowerment (Secondary)			
Adolescent Programme for Secondary students	3057	0.02558	78.19806
(Students overcoming Substance Abuse)			

Outcome: This activity would help in addressing issues of drop out of girls and improve retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

16) <u>Inclusive Education:</u>

The following action points have been identified to facilitate implementation of the Inclusive Education Component under Samagra Shiksha:

(I) State capacity

Prepare Data base of Inclusion Nodal officers at State/District/ block level

- Exemplar schools to become Model Inclusive Schools (MIS) states to also include
- Neighbourhood/cluster schools of exemplar schools
- Selection of 2 teachers from these schools for training in early identification and screening

(II) Enlisting/Mapping infrastructure/resources

- Mapping the disability wise existing facilities for assessment, hospitals/clinics (both Govt and Non Govt)
- Enlist Number of available Resource Rooms, including public and private status and condition

(III) Enlist human resources/professionals/organisations

- Enlist availability of professionals at all levels working with special needs
- Enlist NGOs/CSOs/ Experts/volunteers in the state working in the field of Inclusion

(IV) Interventions for students

- Enlist accommodations /exemptions provided by State Boards to disabled students and criteria for availing them
- Enlist Bright/ Gifted Students with special needs based on anecdotes, experience of teachers
- and Parents and other sources
- Identify CWSN who are performing outstanding in Academics

Information for these points (1 to IV) may be sent to MoE by 31 July 2021.

a) Elementary: An outlay of Rs.3808.85lakh as per unit cost given below was estimated for various activities (Students Oriented) at elementary level for Children with Special Needs such as, identification and assessment camps, distribution of aids and appliances, Braille stationary material, assistive devices, provision of transportation and escort allowances, Stipend for Girls:

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Student Oriented Components (Pre-Prima	ry) (District l	Level) (Recu	rring)
Purchase/Development of age appropriate TLMs	429	0.05	21.45
Orientation of Principals, Pre-Primary teachers,	32	0.03	0.96
Anganwadi workers, parents / guardians et		1	
Total (Pre-Primary) (District Level)			22.41
(Recurring)			
Student Oriented Components (Pre-Primary) (Bl	ock Level) (R	lecurring)	
Assistive Devices, Equipments and TLM	1538	0.01	15.38
Total (Pre-Primary) (Block Level) (Recurring)			15.38
Student Oriented Components (Pre-Primary)			
(Student Specific) (Recurring)			
Escort Allowance	3803	0.005	19.015
Braille Stationary Material (Inc. Embossed Charts, globes etc)	130	0.005	0.65
Providing Aids & Appliances	1408	0.01	14.08
Story tellers for CWSN including the usage of sign	32	0.6	19.2
language			
Total (Pre-Primary) (Student Specific) (Recurring)			52.945

Activity Master	Physical	Unit Cost	Financial	
Stipend for Girls (Pre-Primary) (Recurring)				
Stipend for Girls	1200	0.02	24	
Total (Pre-Primary)			24	
Student Oriented Components (Upto Highest Cla	ass - VIII) (Di	strict Level)(Recurring)	
Purchase/Development of instructional & Training materials	429	0.5	214.5	
Sports & Exposure Visit	429	0.2	85.8	
Therapeutic Services	429	0.5	214.5	
Orientation of Principals, Educational administrators, parents / guardians etc.	32	0.1	3.2	
In-service Training of Special Educators	2196	0.015	32.94	
Total for (District Level) Upto Highest Class - VIII)			550.94	
Student Oriented Components (Upto Highest C	lass - VIII) (B	lock Level) (Recurring)	
Identification and Assessment (Medical Assessment Camps)	416	0.1	41.6	
Teacher Need Analysis for Training	2196	0.2	439.2	
Gap Identification for OoSCwSN	413	0.05	20.65	
Assistive Devices, Equipment and TLM	429	0.5	214.5	
Environment Building programme	413	0.05	20.65	
Helper/Ayas/Attendant	413	0.02	8.26	
Total for (Block Level) Upto Highest Class - VIII)			744.86	
Student Oriented Components (Student Spec	ific) (Recurr	ing) - 72051		
Escort Allowance	10358	0.015	155.37	
Transport Allowance	32370	0.015	485.55	
Home Based Education	0	0	0	
Braille Stationary Material (Inc. Embossed Charts, globes etc)	1220	0.015	18.3	
Providing Aids & Appliances	9406	0.02	188.12	
Total for Students Specific			847.34	
Stipend for Girls (Upto Highest Class - VIII) (Re	curring)			
Stipend for Girls	. 77549	0.02000	1550.98	
Total of Stipend for Girls (Upto Highest Cla	ss - VIII) (Red	curring)	1550.98	
	Gra	ınd Total	3808.85	

b) Secondary: An outlay of Rs. 5503.28lakh as per unit cost given below was estimated for various activities (Students Oriented) at secondary/ senior secondary level for Children with Special Needs such as, providing aids and appliances, braille stationary material, reader allowance, assistive devices and home-based education. List of 413 schools in which the Resource Center is attached is at Annexure –VI.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Student Oriented Components (District Level) (Re	ecurring)		
Purchase/Development of instructional & Training materials	413	0.1	41.3
Sports & Exposure Visit	120	0.1	12
Therapeutic Services	32	5.25	168
In-service Training of Special Educators	205	0.01	2.05

Total for District Level			223.35
Student Oriented Components (Upto Highest Class	XII) (Block I	evel) recur	ring
Teacher Need Analysis for Training	205	0.01	2.05
Assistive Devices, Equipments and TLM	413	0.1	41.3
	(Blocks)		
Helper/Ayas/Attendant for 6 months	413	0.015	6.195
	(Blocks)		
Total for Students (Block Level)			49.545
Student Oriented Components (Upto Highest Class	XII) (Studen	t Specific) (Recurring)
Escort Allowance	1010	0.01	10.1
Transport Allowance	7935	0.01	79.35
Braille Stationary Material (Inc. Embossed Charts,	4923	0.01	49.23
globes etc)			
Providing Aids & Appliances	3270	0.01	32.7
Reader Allowance- For only VI and Low vision	907	0.01	9.07
Total Student Oriented Components			180.45
Stipend for Girls (Upto Highest Class-XII) (Recurring	ıg)		
Stipend for Girls	13407	0.02	268.14
Total Stipend for Girls		"-	268.14
Resource Support towards Salary (Upto Highest Cla	ss VIII) (Reci	urring)	
Financial Support (Previous Spl. Educators)	1392	2.4	3340.8
TotalResource Support towards Salary			3340.80
Strengthening Components under Inclusive Educat	ion (Upto Hig	hest Class -	XII) (NR)
Equipments for Resource Rooms	413	2	826
TotalStrengthening Components under Inclusive			826
Education]		
Resource Support towards Salary (Upto Highest Cla	ss XII) (Recu	rring)	
Financial Support (Previous Spl. Educators)	205	3	615
TotalResource Support towards Salary			615
Grand Total (Recurring)			5503.285

Outcome: The activities under this intervention would provide Access and increase retention of CWSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.

- **STRENGTHENING OF TEACHER EDUCATION:** An amount of Rs. 3674.2 lakh was estimated for the Teacher Education component. The following activities are part of the said component:
- **a)** Assessment Cell (SCERT): An outlay of Rs. 40.00 lakh was estimated for setting up of an assessment cell at the state level at SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Assessment Cell			<u> </u>
SCERT	1	40.00	40.00

Outcome: This would enable States and UTs in improving the learning outcomes of students and helpthem to prepare plan of action to improve the quality of education.

b) Support for Teachers Educator Salary: An amount of Rs. 3872.11 lakh as per unit cost given below was estimated for Salary of academic posts in DIETs, CTEs, IASEs, BITEs and para academic posts in DIETs. Total amount of salary for teacher educators is worked out as per the scheme, @ 60% of total salary estimate.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Financial Support for Salary in TEIs			
DIETs	433	7.754	3357.482
BITEs	5	4.87	24.35
SCERT/SIEs	19	7.4879	142.2701
Total			3524.1021
Para Academic Posts (Salary)	-		
DIETs	69	5.04362	348.00978
Grand Total			3872.11

Outcome: State to ensure 100% of academic positions are filled in the SCERT/SIE and DIETs at the beginning of the given academic year. This is covered under PGI Indicator 2.1.12.

c) DIKSHA: An outlay of Rs. 50.00 lakh was estimated for DIKSHA for Creation of Digital Content and Capacity Building of Teachers and other functionaries on usage of DIKSHA.

Outcome:This online platform would enable users accessing variousteaching learning materials as e- contents on class wise and subject wise themes for students and teachers.

d) Programme & Activities and Capacity Building (SCERTs & DIETs): An outlay of Rs. 1490.00 lakh as per unit cost given below was estimated for Programme & Activities for SCERT and DIETs for a range of activities such as, exposure visits, short term professional courses, etc.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Program & Activities (DIET)	32	40	1280
Specific projects for Research activities (DIET)	32	5	160
Program & Activities (SCERT)	1	40	40
Specific programme for Research activities (SCERT)	1	10	10
Total			1490.00

Outcome:

- Dissemination of the findings and impact of the research studies would be shared by the States and UTs.
- The SCERT/SIE would conduct an impact assessment study of the in-service/induction training programmes.

e) Technology Support to TEIs (Recurring): An amount of Rs. 76.8 lakh @Rs. 2.40 lakh per TEI was estimated for recurring grant for 32 DIETsfor activities such as, e-content and digital resources, internet connectivity and maintenance, etc.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Technology Support to TEIs (Recurring)			
DIETs (Technology Support)	32	2.4	76.8
	Total		76.8

Outcome: Introduction of innovative methods and good quality e-content developed would help in improving the quality of teacher training.

e) Annual Grants to TEIs: An outlay of Rs.710.00 lakh as per unit cost given below for SCERT, DIETs and BITEs was estimated under Annual Grant for TEIs for meeting day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationary periodicals, small office and library equipment's, office expenses, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
BIETs	7	5	35
DIETs	32	20	640
SCERT	1	35	35
		Total	710.00

Outcome: State to ensure that SCERT/SIE and DIETs utilise the annual grants optimally and are registered under PFMS. This is covered under PGI indicator 2.1.26.

18) <u>Vocational Education (Secondary):</u>

The aim of introducing vocational education in schools is to prepare educated and employable youth. Under vocationalisation of school education, vocational courses are introduced along with academic subjects from classes 9 to 12. Under this component, there is greater involvement of industry in design, delivery and assessment of vocational skills.

(i) New Secondary Schools: An amount of Rs. 282.24 lakhfor new introduction of VE in 42 schools as per unit cost given below was estimated for support for Vocational Education towards non recurring and recurring cost for 42 new schools. List is at Annexure-VII.

(Rs. in lakh)

7.77.77.700.7000.7000.700.7000.7000.7000.700.7000.7000.7000.7000.7000.7000.7000.7000.7000.7000.7000.7000				
Activity Master	Physical	Unit Cost	Financial	
Introduction of VE in schools - NR	:• <u>·</u> ···			
Tools, Equipment & Furniture (New)	42 (Schools)	5.00	210.00	
Total VE in schools - NR			210.00	
Recurring Support VE - New	<u> </u>			
Financial Support for Vocational Teacher/ Trainer (New)	84 (Trainers)	0.6	50.4	
Financial Support for Resource Persons (New)	42 (Schools)	0.1	4.20	
Raw material Grant for new school per course (New)	42	0.25	10.50	

Activity Master	Physical	Unit Cost	Financial
	(Schools)		
Cost of providing Hands on Skill Training to Students (New)	42 (Schools)	0.05	2.10
Office Expenses / Contingencies for New School (New)	42 (Schools	0.1	4.20
Induction training of Teachers VE - Teachers (10 Days)	84 (Trainers)	0.01	0.84
Total of Recurring Support VE - New			72.24
Grand Total			282.24

(ii) Recurring Support VE Existing Schools: An amount of Rs. 1204.88 lakh as per unit cost given below was estimated for support for Vocational Education towards recurring cost for 184 existing Schools.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Financial Support for Vocational Teacher/ Trainer	367	2.4	880.8
(Existing)	(Trainers)		
Financial Support for Resource Persons (Existing)	184	0.099	18.216
	(Schools)		
Raw material grant for new school per course	184	0.743	136.712
(Existing)	(Schools)		
Cost of providing Hands Training Students (Existing)	184	0.1	18.4
	(Schools)		
Assessment and Certification Cost (Existing)	19971	0.006	119.826
·	(Students)	<u> </u>	
Office Expenses / Contingencies for School (Existing)	184	0.1581	29.0904
	(Schools)		
In-service Training of VE - Teachers (5 - Days) -	367	0.005	1.835
(Existing)	(Trainers)		
Grand Total			1204.879

Outcome: The activities under this intervention would enhance the employability of youth and bridge the divide between the academic & applied learning. This is covered under PGI indicator 1.3.5.

- 19) ICT and Digital Initiatives: An outlay of Rs. 17062.80 lakh as per detail given below was estimated for ICT and Digital Initiatives including smartclassrooms.
- (i) ICT and Digital Initiatives (Elementary): An outlay of Rs. 11417.60 lakh as per detail given below was estimated for ICT and Digital Initiatives. List is at Annexure-VIII(a).

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Non-Recurring Components (upto Highest Cl	ass VIII)- New	u.e. w	
Digital Hardware & Software (Option- I)	1784	6.4	11417.60
(Elementary)			

(ii) ICT and Digital Initiatives (Secondary): An outlay of Rs. 3569.20lakh as per detail given below was estimated for ICT and Digital Initiatives. List is at Annexure-VIII(b).

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Digital Hardware & Software (upto Highest Class)	XII) - NR		
Digital Hardware & Software (Option - I)	109	6	654
(Secondary & Sr. Secondary)			
Operating System / Softwares	109	0.2	21.80
Furniture	109	0.2	21.80
Total for non-recurring (utpto Highest class XII)			697.60
Recurring Components (Digital Hardware &	·		
Software upto Highest Class XII)			
Recurring Cost (ICT & Digital Initiatives)	4786	0.6	2871.6
(Secondary & Sr. Secondary) (Option - I) (Existing)			
Total for recurring components (upto highest class XII)			2871.6
Grand Total (non-recurring & recurring) upto Highest Class XII)		·	3569.20

(iii) Smart Classrooms (Secondary/Senior Secondary): An outlay of Rs. 2076.00 lakh non-recurring was estimated for ICT and Digital Initiatives as per detail given below for 865 schools Secondary and Senior Secondary Schools. List is at Annexure-VIII(c).

(Rs. in lakh)

Activity Master ** Non-Recurring Components (Digital Hardware & S	Physical (Schools) Software upto	# Pring to the Control of the Contro	Financial ss XII)
Smart Classroom (Type - II)	865	2.4	2076
Total for smart classroom upto Highest Class XII			2076

The utilization of these funds needs to be in accordance of the detailed guidelines issued by MoE.

All purchase from central fund should be made through GEM to ensure effective prices and standardized equipment's.

The following points need to be kept in mind during procurement:

- Inventory of each item will be maintained by the school and the concerned school Principal
 will be the in-charge for ensuring that all hardware and software has been marked as
 inventory items. The record of ICT inventory, school wise, has to be maintained online and
 made available to MoE as and when required.
- The funds may be utilised for setting up ICT labs/ smart classrooms.
- Teachers should be encouraged to make use of e-learning platforms like DIKSHA, E-Pathshala, Swayam, Swayam Prabha, NROER, NISHTHA, O-labs etc.
- Teachers to be encouraged to contribute content to DIKSHA Portal.

- States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- In order to ensure that computers installed in the schools are being used regularly, software
 which indicates when the computers are turned on or off, linked to the State server must be
 put in place.
- As per IT Act 2000, it has to be ensured that effective firewalls and appropriate control
 filters and monitoring software mechanism are installed in all computers in schools. Please
 consult local NIC for installing a govt. approved, free firewall.

Outcome: Number of schools having ICT coverage and functioning as a percentage of number of Secondary/Higher Secondary schools. This will improve PGI indicator No. 1.3.3.

20) Monitoring Information System (MIS)

An outlay of Rs.602.89 lakh was estimated for support to States for various MIS of the Department like UDISE+, Shagun and child tracking etc. An outlay of Rs. 241.16lakh @ Rs. 2 per student was estimated for MIS/UDISE+ activities and an outlay of Rs. 361.73 lakh @ Rs. 3 per student was estimated for child tracking of students'.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Monitoring of the Scheme			
Student Management Information System	12057823	0.00003	361.73469
Management Information System (UDISE +)	12057823	0.00002	241.15646
	Grand Total		602.8911

21) Management, Monitoring, Media, Evaluation & Research (MMMER):

An outlay of Rs.8766.21lakh (@3% of outlay)was estimated for Management, Monitoring, Media, Evaluation & Research (MMMER) for activities such as, Staffing cost, Media, Advertising & Publicity, Research Studies, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
MMMER - Program Management			
MMMER	1	8766.20600	8766.20600
	Grand Total		8766.21

22) Spill Over

An outlay of **Rs.4570.50lakh** as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during current year 2021-22. The detail is enclosed at **Annexure-IX**.

Sunita

57 | Page

23) Costing Sheet

The details of State consolidated item-wise estimate for 2021-22 is at Annexure-X.

The meeting ended with a vote of thanks to the Chair.

Annexure: I

List of Participants

- 1. Smt. Anita Karwal, Secretary (SE&L), MoE..... in Chair
- 2. Shri S.K. Sarangi, Addl. Secretary, MoE
- 3. Smt, Kakarla Usha, Principal Secretary, School Education (Tamil Nadu)
- 4. Shri Maneesh Garg, Joint Secretary (SS-II), MoE
- 5. Shri Santosh Kumar Yadav, Joint Secretary (SS-I), MoE
- 6. Shri. Purnendu Kishore Banerjee, DDG Statistics, MoE
- 7. Smt.G. Latha, State Project Director, Tamil Nadu
- 8. Shri PK. Singh, Deputy Secretary, Samagra Shiksha, MoE
- 9. Shri Shobhit Gupta, Director (Finance), MoE
- 10. Shri Alok Jawahar, Under Secretary, MoE
- 11. Ms Kajri Nigam, State Coordinator for Tamil Nadu, MoE
- 12. All TSG Consultants, Samagra Shiksha, MoE

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
1	PAB minutes	PAB minutes indicating Budget Estimates and actual releasable amount (pg. No.)	Whether the commitments given by States/UTs in the PAB meeting were fulfilled
2	Confirmation from state Government towards provision of matching state share in the State Budget	State government letter (Page no) A B C D Proposed Matching state Released share (if Budget any) in State Budget B-C	Central share as Estimated by PAB Amount of State share required to be provisioned by State government Provision made by State Government Whether there is any deficit in state share yes/No
3	Confirmation from State regarding transfer of GOI share alongwith matching state share of last year 2020-21	State Government letter (Page No.) Note: States/Uts should certify that there is no shortfall in GOI share and matching share from start of Samagra Shiksha Format at Annexure A	Year to year release of central share since beginning of Samagra Shiksha i.e. for 2018-19, 2019-20, 2020-21 with cumulative release Last year release of Central share – Rs.—Actual Central share transferred to SIS – Rs. – Whether entire central share transferred to SIS Yes/No Matching State Share in respect of above central share – Rs. – Matching State share transferred to SIS – Rs. – whether any deficit in State share – Yes/No

4	Ad-hoc release of current year (2021-22) alongwith matching state share from State Treasury to SIS	State Government letter regarding confirmation of Receipt of Central share and State share (Page No.)	Total ad-hoc release – Rs. – Actual of ad-hoc release transferred to SIS – Rs Whether entire central share of adhoc release was transferred to SIS Yes/No Matching State Share – State share transferred to SIS – Rs Whether entire matching state share transferred to SIS – State Share transferred to SIS – Rs Whether entire matching state share transferred to SIS-Yes/No
5	Confirmation that there is no deficit of State share Cumulative GOI & State upto 2017-18 in above tabular Form. Note Any excess release by state upto 2017-18 shall be taken as zero opening balance from 2018-19 onwards.	Cumulative State share statement alongwith declaration by State Government that there is no deficit in State share	
6	Provisional UC 2020-21 for balance of 1st instalment under Samagra Shiksha	Provisional UC (page no.)	
7	Consolidated Audited UC of 2020-21 for 2nd instalment under Samagra Shiksha	Consolidated Audited UC (Page No.)	
8	Expenditure statement	Expenditure statement upto last month	Expenditure position in all components separately. States/UTs should

			also certify that pace of expenditure is satisfactory and there is no possibility of parking of funds after release as per proposal of States/UTs.
9	Statement of outstanding advances	Outstanding advances Report (Page No)	How many advance are unsettled for more than one year old and timeline by which they would be settle these advances are to be reported.
10	Physical Progress Report	Physical Progress Report (Page No.)	The projects which are under progress and not even started till yet clearly indicated and what efforts are being made to complete these projects.
11	PRABANDH Portal	Document/ Data updation on PRABANDH portal	,

Annexure A.

(State share Statement)

Α	В	С	D	Е	F	G	Н	I	J
Year	Approve	GOI	GOI	GOI	Cumulativ	State	State	Stste share	Cumulativ
	d Outlay	releas	share	Shortfall/Exce	e Cenral	shar	share	Shortfall/Exce	e State
		e	receive	ss for the year	share	e	receive	ss for the year	share
			d	only (+/-)	Shortfall/	Due	d	only (+/-)	Shortfall/
					Excess				Excess
2018									
-19									
2019									
-20									
2020									
-21									

Annexure -III

	Strengthening under civil works				
S. No.	District	UDISE	School Name	Physical	
			Elementary Level		
		В	Boys Toilets (115 schools)		
1	Villupuram	33071203101	PANCHAYAT UNION MIDDLE SCHOOL DEVANUR	1	
2	Cuddalore	33180703201	PUMS KILIMANGALAM	1	
3	Virudhunagar	33260307002	PANCHAYAT NION PRIMARY SCHOOL KALKURICHI	1	
4	Tiruchirappalli	33150800401	PUMS,THIRANIPALAYAM	1	
5	Salem	33081000703	PUMS PARAKKALLUR	1	
6	Villupuram	33072101803	PANCHAYAT UNION MIDDLE SCHOOL KUNJARAM (H)	1	
7	Villupuram	33071702101	PANCHAYAT UNION MIDDLE SCHOOL VEERACHOLAPURAM	1	
8	Cuddalore	33180706601	PUMS A.MARUR	1	
9	Cuddalore	33180702202	PUMS PASIKULAM	1	
10	Theni	33250100215	PUMS - T. RAJAGOPALANPATTY	1	
11	Villupuram	33071402601	PANCHAYAT UNION PRIMARY SCHOOL PERANGIYUR	1	
12	Cuddalore	33180706901	PUMS NALLUR	1	
13	Ariyalur	33320100301	PUES VENMANKONDAN	1	
14	Kancheepuram	33030605801	PUPS SIRUDHAVOOR	1	
15	Vellore	33042202902	PUMS, KUNICHI MOTTUR	1	
16	Villupuram	33070702302	PANCHAYAT UNION MIDDLE SCHOOL KILIYANUR (C)	1	
17	Madurai	33240502201	P.U.M.S ATTAPATTI	1	
18	Kancheepuram	33030702504	PUMS, REDDIPALAYAM	1	
19	Vellore	33041800202	PUMS, MATHAKADAPPA	1	
20	Tiruchirappalli	33151102402	PANCHAYAT UNON MID SCHOOL,CHINNASURIYUR	1	
21	Villupuram	33070805302	PANCHAYAT UNION PRIMARY SCHOOL SANIMEDU	1	
22	Virudhunagar	33260303201	PANCHAYAT UNION PRIMARY SCHOOL, S.KALLUPPATTI	1	
23	Tiruvannamalai	33061503101	PUPS-MELNATCHIPATTU	1	
24	Villupuram	33070902901	PANCHAYAT UNION PRIMARY SCHOOL KUNDALAPULIYUR	1	
25	Kanniyakumari	33300500506	GOVERNMENT PRIMARY SCHOOL, KUMARAPURAM	1	
26	Ariyalur	33320800501	PUMS THAVADANALLUR	1	
27	Vellore	33041302002	PUMS Sevoor	1	
28	Krishnagiri	33311003001	PUMS GOLLAHALLI	1	
29	Dharmapuri	33050804401	PUPS KOTTAPATTI	1	
30	Ariyalur	33320701801	PUMS MANNUZHI	1	
31	Kancheepuram	33030801001	PUPS-SOGANDI	1	
32	Ariyalur	33320702004	PUES K.AMBAPUR	1	
33	Tiruvannamalai	33061205602	PUMS-PORKUNAM	1	
34	Dharmapuri	33050707501	GTRMS VELLAMPALLI	1	
35	Villupuram	33070703401	PANCHAYAT UNION PRIMARY SCHOOL THAILAPURAM	1	
36	Erode	33101601303	PANCHAYAT UNION PRIMARY SCHOOL, GUJJAMPALAYAM	1	

Strengthening under civil works				
S. No.	District	UDISE	School Name	Physical
37	Dharmapuri	33050611901	PUPS KETHUREDDIPATTY	1
38	Kanniyakumari	33300201501	GPS VETTOORNIMADAM	1
39	Villupuram	33071504901	PANCHAYAT UNION PRIMARY SCHOOL BRAMMAKUNDAM	1
40	Villupuram	33071404303	PANCHAYAT UNION PRIMARY SCHOOL THULUKKAPALAYAM	1
41	Dharmapuri	33050412201	PUMS GUMMANUR	1
42	Tiruchirappalli	33150100301	PUPS,PANAYAPURAM	1
43	Cuddalore	33180100203	PANCHAYAT UNION MIDDLE SCHOOL - VAZHISOTHANAIPALAYAM	1
44	Kancheepuram	33030500601	PUPS Malayambakkam South	1
45	Sivagangai	33230501101	PUMS KEELANETTUR	1
46	Villupuram	33071201302	PANCHAYAT UNION PRIMARY SCHOOL VILANDAI COLONY	1
47	Salem	33080602301	PUMS,JARUGUMALAI	1
48	Dindigul	33130200601	PUPS, KARUPPAMOOPANPATTI	1
49	Villupuram	33071402002	PANCHAYAT UNION PRIMARY SCHOOL KANNARAMPATTU COLONY	1
50	Thoothukkudi	33281203303	PUPS SETHUPURAM	1
51	Ariyalur	33320703103	PUES SUNDAGUDI	1
52	Virudhunagar	33261003103	P.U.M.S KANGARSEVAL	1
53	Theni	33250600505	PUPS, THULUKKAPATTY	1
54	Tiruvallur	33011402401	PUPS,SANCHEEVIPURAM	1
55	Tiruvallur	33011104401	PUPS - V C R KANDIGAI	1
56	Salem	33080300402	PUMS, KANNAPADI	1
57	Krishnagiri	33311703601	PUPS D.KOTHANUR -TEL	1
58	Villupuram	33070300301	PANCHAYAT UNION MIDDLE SCHOOL THALAVANUR	1
59	Kancheepuram	33031100601	PUPS BUKKATHURAI	1
60	Ariyalur	33320100903	PUPS-SILAL	1
61	Dindigul	33130601507	PUPS MUSLIM STREET	1
62	Cuddalore	33180100602	PANCHAYAT UNION MIDDLE SCHOOL - EDAIYARKUPPAM	1
63	Ariyalur	33320702502	PUMS KARUVIDACHERY	1
64	Salem	33080802701	PUES SEVAMPALAYAM	1
65	Thoothukkudi	33281002402	PUMS,OSANOOTHU	1
66	Tiruvarur	33201000507	PUMS,JAMBUVANODAI THARKA	1
67	Villupuram	33072103001	PANCHAYAT UNION PRIMARY SCHOOL S.MALAIYANUR	1
68	Villupuram	33071905004	PANCHAYAT UNION PRIMARY SCHOOL KASTURIBAI NAGAR (COLONY)	1
69	Madurai	33240803803	PANCHAYAT UNION PRIMARY SCHOOL, MATTANGIPATTI.	1
70	Perambalur	33160605001	PUES ZAMINE ATHUR	1
71	Ariyalur	33320702305	PUMS VELIPRINKIUM	1
72	Villupuram	33071401001	PANCHAYAT UNION PRIMARY SCHOOL KEERIMEDU	1
73	Salem	33080202401	PUPS ARIYAPALAYAM	1

Strengthening under civil works				
S. No.	District	UDISE	School Name	Physical
74	Kancheepuram	33031104501	PUPS KATHIRICHERY	1
75	Salem	33080602701	GOVERNMENT TRIBAL RESIDENTIALPRIMARY SCHOOL KONAMADUVU	1
76	Thanjavur	33210603402	PUPS-SADURKADU	1
77	Tiruchirappalli	33150801703	PUES,SATHAPPADI	1
78	Tiruvannamalai	33061411316	MPS CHETTY STREET	1
79	Villupuram	33071402201	PANCHAYAT UNION PRIMARY SCHOOL KOORANUR	1
80	Salem	33080301801	PUES, KURAVANKADU	1
81	Pudukkottai	33221301902	PANCHAYAT UNION MIDDLE SCHOOL. SIDDHAKUR	1
82	Madurai	33240501607	P.U.P.S KUNNAKUDIPATTI	1
83	Madurai	33241002301	P.U.P.S. VAGAIKULAM	1
84	Nagapattinam	33190703501	PUPS-KEELATHUKUDI	1
85	Krishnagiri	33311411502	PUMS SHOOLAGIRI URUDU	1
86	Nagapattinam	33190702302	PANCHAYAT UNION PRIMARY SCHOOL- MANNIPPALLAM	1
87	Cuddalore	33181305701	PUMS NANTHIMANGALAM	1
88	Villupuram	33071701103	ADI DRAVIDAR WELFARE PRIMARY SCHOOL PARIGAM	1
89	Ramanathapura m	33271105401	PANCHAYAT UNION PRIMARY SCHOOL, SATHANKULAM	1
90	Tiruvallur	33011105001	PUMS - L N KANDIGAI	1
91	Tirunelveli	33290504603	P.U.ELE.SCHOOL,KAMMAPACHERI	1
92	Tiruchirappalli	33151601302	PUPS, NALLAMPILLAI PUDUR	1
93	Kanniyakumari	33300900102	GPS MARTHANDANTHURAI	1
94	Kancheepuram	33030100106	PUPS, SIRUNAIPERUNGAL	1
95	Virudhunagar	33260904102	P.U.P.S. KALPOTHU	1
96	Pudukkottai	33220201401	PANCHAYAT UNION PRIMARY SCHOOL.POMMADIMALAI	1
97	Krishnagiri	33311307606	PUPS THALIKOTTUR	1
98	Tirunelveli	33291003301	PUPS PERIYAKOILANKULAM	1
99	Madurai	33240101801	PUPS A.KOVILPATTI	1
100	Perambalur	33160403601	PUMS THIRUPEYAR	1
101	Dindigul	33130200802	PUPS, KEELATHEPPATHUPATTI	1
102	Perambalur	33160300302	Panchayat Union Elementary School, Perunila	1
103	Pudukkottai	33221302801	PANCHAYAT UNION PRIMARY SCHOOL PONBETHI	1
104	Krishnagiri	33310902301	PUMS JOTHINAGAR	1
105	Pudukkottai	33220604001	PANCHAYAT UNION PRIMARY SCHOOL,MELATHOPPU	1
106	Kancheepuram	33030501704	Panchayath Union Primary School, MANIMEDU	1
107	Pudukkottai	33220200501	PANCHAYAT UNION PRIMARY SCHOOL, PUNGINIPATTY	1
108	Villupuram	33070905201	PANCHAYAT UNION PRIMARY SCHOOL VADAKUCHIPALAYAM	1
109	Krishnagiri	33311507701	PUPS PANCHAKSHIPURAM -TEL	1
110	Krishnagiri	33311601201	PUPS CHAPARAGANAPALLI TAMIL-TELUGU	1
111	Villupuram	33070700901	PANCHAYAT UNION PRIMARY SCHOOL ARUVADAI	1

Strengthening under civil works					
S. No.	District	UDISE	School Name	Physical	
112	Cuddalore	33181401801	PANCHAYAT UNION PRIMARY SCHOOL SRINEDUNJERI	1	
113	Kancheepuram	33031101001	PUPS NELLI	1	
114	Virudhunagar	33260906503	P.U.P.S.A.MEENATCHIPURAM	1	
115	Ramanathapura m	33270902901	PANCHAYAT UNION MIDDLE SCHOOL, VANI	1	
			Total	115	

	Girls Toilets (51 schools)				
S. No.	UDISE	School Name	Physical		
1	33041205102	PUPS MULLUVADI	1		
2	33120900301	PUPS CHETTIYAKKAPALAYAM	1		
3	33080501001	PUES AMMANKATTUR	1		
4	33041900901	PUPS SUNDAMPATTI	1		
5	33042100705	PUPS ARUNTHATHIYAR COLONY	1		
6	33042102003	SRI RAMANILAYAM MPS SENGUNTHAR STREET	1		
7	33311409201	PUPS MURUKKANAPALLI	1		
8	33072205701	PANCHAYAT UNION PRIMARY SCHOOL ODAPPANKUPPAM	1		
9	33220206301	PANCHAYAT UNION PRIMARY SCHOOL.VELLANPATTI	1		
10	33050409401	PUPS PALAYAM	1		
11	33041601101	PUPS CHERALAPALLI	1		
12	33041604301	PUPS GOVINDAPURAM	1		
13	33072101901	PANCHAYAT UNION PRIMARY SCHOOL POONDI	1		
14	33040100102	PUPS ALLIYAPPANTHANGAL	1		
15	33040101001	PUMS VELUR	1		
16	33041302201	PUPS Karnambut	1		
17	33311501101	PUPS BADTHEPALLI	1		
18	33030103406	PUPS, ASIRIYAR NAGAR	1		
19	33041801305	PUPS BHARATH NAGAR	1		
20	33151400801	PUPS KAARUGUDI	1		
21	33121501701	PANCHAYAT UNION PRIMARY SCHOOL, NALLICHETTIPALAYAM	1		
22	33270800501	PANCHAYAT UNION PRIMARY SCHOOL, THEVARKURICHI	1		
23	33121203501	MPS,T.KOTTAMPATTI	1		
24	33071400302	PANCHAYAT UNION PRIMARY SCHOOL PUDUR ARUNGURUKKAI	1		
25	33050109601	PUPS VAGUTHUPATTI	1		
26	33071003201	PANCHAYAT UNION PRIMARY SCHOOL THIRUVAMATHUR	1		
27	33311400801	PUPS ANCHALAM	1		
28	33082101901	MMS ARISIPALAYAM	1		
29	33070904601	PANCHAYAT UNION PRIMARY SCHOOL MUNDIYAMPAKKAM	1		
30	33311701501	PUPS BALATHOTTANAPALLY -TAM-TEL	1		
31	33010407001	PUPS, SENJIAGARAM	1		

	Girls Toilets (51 schools)				
S. No.	UDISE	School Name	Physical		
32	33280604308	PUPS ,PARAMANKURICHI	1		
33	33030803001	PUPS-THATHALUR	1		
34	33050802001	PUPS H DHOTTAMPATTI	1		
35	33311509601	PUPS THOTTAGIRI	1		
36	33151100501	PANCHAYAT UNION PRIMARY SCHOOL, MANJATHIDAL	1		
37	33042201001	PUPS, VENGATESAPURAM	1		
38	33050206301	PUPS MANIYAKARANOOR	1		
39	33030702804	Pups Athurvadapathi	1		
40	33200700404	PUPS, AGRAHARAM SSA	1		
41	33291205601	PANCHAYAT UNION PRIMARY SCHOOL, ALANGULAM	1		
42	33101704001	PANCHAYAT UNION PRIMARY SCHOOL, SUJILKARAI	1		
43	33311700404	PUMS KADAGANATHAM	1		
44	33180704502	ADWS SIRUMANGALAM	1		
45	33181103001	PUPS MELANUVAMPATTU	1		
46	33061505001	PUPS SENDAMANGALAM	1		
47	33041901608	PUPS KALIKANOOR	1		
48	33310906701	PUPS OONAMPALAYAM	1		
49	33231000207	PUPS ANIAMPATTI	1		
50	33041703304	PUPS,PUDUR	1		
51	33010801301	PUPS MELPAKKAM	1		
		Total	51		

		CWSN '	Toilets (446)	
S. No.	District	UDISE	School Name	Physi cal
1	Tiruvannamalai	33061502001	PUMS KALLARAPADI	1
2	Chennai	33020301201	C.M.S. 130 AMMAN KOIL STREET	1
3	Tiruvallur	33011200601	PUMS, ATHIPATTU	1
4	Tiruvarur	33200802301	PUPS, NEMMELI	1
5	Thoothukkudi	33280401802	PUMS,PURAIYUR	1
6	Tiruvallur	33010613402	ADW MID SCHOOL, PONNERI	1
7	Tiruvarur	33201001701	PUMS,OVARUR	1
8	Ariyalur	33320701801	PUMS MANNUZHI	1
9	Cuddalore	33181105201	PUPS VADAKKUTHITTAI	1
10	Nagapattinam	33190902502	PUPS KEEZHAVELI	1
11	Thanjavur	33210503701	PANCHAYAT UNION MIDDLE SCHOOL- PEIKKARAMBANKOTTAI	1
12	Vellore	33040902203	PUMS VOC NAGAR, SATHUVACHARI	1
13	Ariyalur	33321006601	PUES KARAIPAKKAM	1
14	Kancheepuram	33030203201	ADWMS THALAYAMPATTU	1
15	Tiruppur	33331302715	MMS PADDY BAZAAR STREET	1
16	Namakkal	33090100414	MMS RAMAPURAMPUDUR	1
17	Dindigul	33130300401	PUPS,NALLAMPATTI	1

CWSN Toilets (446)							
S. No.	District	UDISE	School Name	Physi cal			
18	Ariyalur	33320100603	PUES T.PALUR	1			
19	Vellore	33041402302	PUPS K.V.KUPPAM	1			
20	Dindigul	33130500901	PUPS,ALADIPATTI	1			
21	Tiruvallur	33010613501	PUMS,CHINNAKAVANAM	1			
22	Kancheepuram	33030903343	MMS IRUMBULIYUR	1			
23	Erode	33100802608	JAYARAM MUNCIPAL MIDDLE SCHOOL, GOBI	1			
24	Tiruvallur	33011006001	MUNICIPAL. MIDDLE SCHOOL THIRUVOTRIYUR WEST	1			
25	Namakkal	33091000702	MUNICIPAL MIDDLE SCHOOL, NESAVALAR COLONY	1			
26	Salem	33082102404	MMS CAR STREET	1			
27	Namakkal	33091101102	PUMS VILANKATTUR	1			
28	Tiruvannamalai	33060503401	PUMS KILSEMBEDU	1			
29	Theni	33250100602	P.U.MDL SCL MARAVAPATTI	1			
30	Nagapattinam	33191103001	PUPS THANDAVANKULAM	1			
31	Vellore	33040100501	PUPS, VALARPURAM	1			
32	Thoothukkudi	33281003505	PUMS, VEERANSUNDARALINGAMNAGAR	1			
33	Virudhunagar	33260907904	PANCHAYAT UNION PRIMARY SCHOOL, ASARI COLONY	1			
34	Tiruvallur	33011004701	MUN MIDDLE SCHOOL, NEHRU NAGAR	1			
35	Nagapattinam	33190702602	PUMS PALAKUDI	1			
36	Perambalur	33160600401	PUES NAKKASALEM	1			
37	Villupuram	33072102601	PANCHAYAT UNION PRIMARY SCHOOL ELAVANASUR (H)	1			
38	Kancheepuram	33030506001	PUMS MANGADU	1			
39	Villupuram	33070500601	PANCHAYAT UNION PRIMARY SCHOOL RETTANAI	1			
40	Salem	33081000701	PUPS SANNATHI STREET	1			
41	Salem	33081100810	PUMS NORACHIVALAVU	1			
42	Nagapattinam	33190301601	PUMS KUTHUR	1			
43	Tiruvallur	33011006605	T.M.P SCHOOL, KARGIL VETRI NAGAR	1			
44	Cuddalore	33180504703	PUMS ELLAPPANPETTAI	1			
45	Cuddalore	33180801001	PANCHAYAT UNION PRIMARY SCHOOL, KORAKKAVADI	1			
46	Cuddalore	33180805401	PANCHAYAT UNION MIDDLE SCHOOL, THONDANKURICHI	1			
47	Madurai	33240803508	PANCHAYAT UNION MIDDLE SCHOOL, PALAIYURPATTI	1			
48	Salem	33081701503	P.U.E.S.KAMANDAPATTI	1			
49	Madurai	33240502401	P.U.M.S ETTIMANGALAM	1			
50	Chennai	33020100701	CPS SENNIAMMAN KOIL ST	1			
51	Kancheepuram	33030702504	PUMS, REDDIPALAYAM	1			
52	Vellore	33041601901	PUMS MEL KOTHAKUPPAM	1			
53	Salem	33081902501	PUPS, NEERMULLIKUTTAI	1			
54	Salem	33080804703	PUES CHINNASEERAGAPADI THERKKU	1			
55	Krishnagiri	33311611903	PUMS BOLLAKOLLAI	1			

CWSN Toilets (446)						
S. No.	District	UDISE	School Name	Physi cal		
56	Nagapattinam	33190901301	PUMS KADALANGUDI	1		
57	Salem	33080700402	PUMS, MANIVILUNDAN NORTH PUDUR	1		
58	Pudukkottai	33220205501	PANCHAYAT UNION PRIMARY SCHOOL.PULVAYAL	1		
59	Ariyalur	33320800801	PUMS AGARAM	1		
60	Vellore	33040501903	PUPS VOC NAGAR, SIPCOT	1		
61	Chennai	33020101304	CUGMS WASHERMENPET	1		
62	Kancheepuram	33030500801	Panchayat union middle school,PARANIPUTHUR	1		
63	Cuddalore	33180808301	PANCHAYAT UNION MIDDLE SCHOOL, LAKKUR	1		
64	Pudukkottai	33221302105	PANCHAYAT UNION PRIMARY SCHOOL R. PUDUPATTINAM	1		
65	Tirunelveli	33291702103	MPL,13th WARD MS,TENKASI	1		
66	Ariyalur	33320501801	PUES PARANAM-N	1		
67	Tiruvallur	33011007601	MUN.MS,TSM NAGAR	1		
68	Thanjavur	33211203101	PUPS T.VADAKADU	1		
69	Virudhunagar	33260204201	PUPS, AMATHUR	1		
70	Ariyalur	33320700810	PUES ARIYALUR EAST	1		
71	Salem	33080600403	PUMS,KATTUR	1		
72	Erode	33100707406	CPS, VINAYAGARKOIL STREET	1		
73	Pudukkottai	33221204501	PANCHAYAT UNION PRIMARY SCHOOL, KATTUMAVADI	1		
74	Namakkal	33090102001	PUMS KONDICHETTIPATTI	1		
75	Tiruvannamalai	33061411318	MMS KANA NAGAR	1		
76	Tiruvarur	33200405402	PUPS PERALAM	1		
77	Villupuram	33071201401	PANCHAYAT UNION MIDDLE SCHOOL KULADEEPAMANGALAM	1		
78	Pudukkottai	33220505101	MUNICIPAL.PRIMARY SCHOOL,RAJAGOPALAPURAM.	1		
79	Nagapattinam	33191001101	PUMS VALLUVAKUDI	1		
80	Tiruppur	33331801206	PUMS MANICKAPURAM	1		
81	Tiruppur	33332201604	PUMS, ANUPPARPALAYAMPUDUR	1		
82	Tiruvannamalai	33061201501	PUMS KAMALAPUTHUR	1		
83	The Nilgiris	33110400819	GTRMS THORAPALLY	1		
84	Namakkal	33090700431	PUPS CHANDRASEKARAPURAM	1		
85	Ramanathapura m	33270810702	PANCHAYAT UNION MIDDLE SCHOOL, ERVADI	1		
86	Thoothukkudi	33281003702	PUMS MUPPILIVETTI	1		
87	Madurai	33240202601	PANCHAYAT UNION PRIMARY SCHOOL, N.SEMPATTI	1		
88	Nagapattinam	33190601202	PUMS,THOPPUTHURAI(MUSILIM)	1		
89	Tiruvallur	33010613201	PUMS,PONNERI NORTH	1		
90	Karur	33140701101	PUMS, V. PUDUR	1		
91	Salem	33080301702	PUES, DEEVATTIPATTI	1		
92	Kancheepuram	33030705009	PUPS KAMARAJAPURAM	1		

CWSN Toilets (446)						
S. No.	District	UDISE	School Name	Physi		
93	Coimbatore	33120601603	PANCHYAT UNION MIDDLE SCHOOL PERUR	cal 1		
93	Combatore	33120001003	CHETTIPALAYAM	1		
94	Ariyalur	33320903901	PUMS-VANGUDI	1		
95	Tiruppur	33332201610	PUMS, SAMUNDIPURAM	1		
96	Namakkal	33090100405	PUMS MUDALAIPATTI	1		
97	Dharmapuri	33050803901	PUMS KOLAGAMPATTY	1		
98	Tiruvallur	33010810301	PUMS SIRUPUZHALPETTAI	1		
99	Villupuram	33071604402	ADHI DIRAVIDAR WELFARE MIDDLE SCHOOL PASAR	1		
100	Dindigul	33131502402	SOWRASHTRAPURAM MUNICIPAL PS,WARD- 27, DINDIGUL	1		
101	Tiruvarur	33201002502	PUMS,GOPALASAMUTHIRAM	1		
102	Vellore	33040101525	MMS GANDHI NAGER ARAKKONAM	1		
103	Villupuram	33070203801	PANCHAYAT UNION PRIMARY SCHOOL KANAKKANKUPPAM	1		
104	Villupuram	33071702101	PANCHAYAT UNION MIDDLE SCHOOL VEERACHOLAPURAM	1		
105	Ariyalur	33321005501	PUMS PUTHUR	1		
106	Namakkal	33090602605	PUMS MIN ANNANAGAR	1		
107	Erode	33100702701	PUMS, ELLAPPALAYAM	1		
108	Salem	33081000202	PUMS MALLIKUTTAI	1		
109	Tirunelveli	33291502106	PUMS, THIRUVETTANALLUR	1		
110	Ariyalur	33320702503	PUES KARU.POYYUR	1		
111	Virudhunagar	33260608101	P.U.M.S, DEVADANAM	1		
112	Coimbatore	33120400403	PANCHAYAT UNION PRIMARY SCHOOL SUGUNAPURAM	1		
113	Salem	33080801601	PUES ATTAVANAI POOLAVARI	1		
114	Vellore	33041505139	MMS GANGADARASAMY	1		
115	Krishnagiri	33310904201	PUMS KOMMAMPATTU	1		
116	Thanjavur	33211505701	PUMS UMATHANADU	1		
117	Salem	33081902001	PUMS, MUTHAMPATTY COLONY	1		
118	Namakkal	33091001604	MUNICIPAL MIDDLE SCHOOL, SANARPALAYAM WARD 29	1		
119	Tiruvannamalai	33060706518	MMS SARPANAPET	1		
120	Villupuram	33071304001	PANCHAYAT UNION MIDDLE SCHOOL SIVANARTHANGAL	1		
121	Thanjavur	33211501202	PUMS KALANIVASAL	1		
122	Kancheepuram	33031401910	PUPS Kannaginagar	1		
123	Perambalur	33160303601	PANCHAYAT UNION ELEMENTARY SCHOOL, THAZHUTHAZHAI	1		
124	Theni	33250201501	IST WARD MPL.PS, BODI	1		
125	Tiruvallur	33010104101	PUMS, THANEERKULAM	1		
126	Nagapattinam	33190302401	PUMS IRUKKAI	1		
127	Villupuram	33071601501	PANCHAYAT UNION MIDDLE SCHOOL SEERPANANTHAL	1		
128	Ariyalur	33320101401	PUMS-VEMBUKUDI	1		

CWSN Toilets (446)				
S. No.	District	UDISE	School Name	Physi cal
129	Tiruchirappalli	33150904401	MUNICIPAL MIDDLE SCHOOL BEEMANAGAR	1
130	Coimbatore	33120700401	PUPS KAMBALAPATTI	1
131	Villupuram	33071902301	PANCHAYAT UNION MIDDLE SCHOOL EYYANUR	1
132	Ramanathapura m	33270908501	M.S.K. MUNICIPAL PRIMARY SCHOOL, VELIPPATTINAM	1
133	Salem	33081201102	MMS KAVANDAMPATTI	1
134	Madurai	33240501301	P.U.P.S KOTTAMPATTI	1
135	Madurai	33241103201	P.U.P.S VALAYANKULAM	1
136	Villupuram	33071603701	PANCHAYAT UNION PRIMARY SCHOOL KEELPADI	1
137	Coimbatore	33122001002	PUMS SENJERI	1
138	Thanjavur	33211003603	PANCHAYAT UNION MIDDLE SCHOOL- MURUGANKUDI	1
139	Madurai	33240301702	P.U.M.S AGATHAPATTI	1
140	Salem	33081201002	MMS ALACHAMAPALAYAM	1
141	Kancheepuram	33030507401	P.U.P.S , Kundrathur Mixed .	1
142	Nagapattinam	33190902604	PUPS T PANDARAVADAI	1
143	Chennai	33020100204	CPS ERUKKANCHERY	1
144	Cuddalore	33180707401	PUMS NAGAR	1
145	Nagapattinam	33191102603	PUPS MADAVAMEDU	1
146	Kancheepuram	33030803601	PUPS-KUZHIPANTHANDALAM	1
147	Tiruvannamalai	33061504201	PUMS PADIAGRAHARAM	1
148	Nagapattinam	33191102801	PUMS NALLUR	1
149	Coimbatore	33120101101	CPS RAMANATHAPURAM	1
150	Pudukkottai	33220702504	PANCHAYAT UNION PRIMARY SCHOOL, KARAMBAKKUDI	1
151	Cuddalore	33181103201	PUMS LALPURAM	1
152	Salem	33080901601	PUMS,KANNANKURICHI	1
153	Perambalur	33160400301	PUMS,K.ERAIYUR	1
154	Chennai	33020501501	C. M. S PULLAPURAM	1
155	Ariyalur	33320503201	PUMS NAKKAMBADI	1
156	Kancheepuram	33031401502	PUPS MEDAVAKKAM	1
157	Madurai	33241104401	P.U.M.S NALLUR	1
158	Tiruvarur	33200902502	PUMS MELAKORUKKAI	1
159	Ariyalur	33320904401	PUES-MELANIKUZHI	1
160	Tirunelveli	33291501414	MMS KRISHNASAMI NAGAR SANKARANKOVIL	1
161	Nagapattinam	33190701001	PUMS, KALI	1
162	Tiruvarur	33200605328	MPS,PENTLAND MODEL	1
163	Kancheepuram	33030500203	PUPS PERIYAR NAGAR NANDHAMBAKKAM	1
164	Madurai	33240302502	P.U.M.S. AVALSOORAM PATTI	1
165	Salem	33080500901	PUMS NACHIYUR	1
166	Salem	33080901702	PUMS,KOMBAIPATTI	1
167	Nagapattinam	33191002702	PUPS RADHANALLUR	1

		CWSN '	Toilets (446)	
S. No.	District	UDISE	School Name	Physi cal
168	Tiruvallur	33010910104	PUMS, MUGAPAIR SECTOR-4	1
169	Tiruvannamalai	33061708401	PUMS(MUSLIM) THIRUVADATHANUR	1
170	Chennai	33020501502	CPS SUBBARAYAN STREET	1
171	Chennai	33020101007	CPS ANNA NAGAR, KORRUKPET	1
172	Chennai	33020101203	CMS 540 T H ROAD	1
173	Tiruvannamalai	33060305101	PUMS PAIYUR	1
174	Ariyalur	33320900301	PUMS - SOORIYAMANAL	1
175	Dindigul	33130101701	PANCHAYAT UNION MIDDLE SCHOOL ,PITHALAIPATTI	1
176	Virudhunagar	33260906201	PANCHAYAT UNION PRIMARY SCHOOL MUNEESWARAN COLONY	1
177	Salem	33081001002	PUMS KATHIMARANVALAVU	1
178	Erode	33100707203	PUMS PERIYAVALASU	1
179	Nagapattinam	33190902901	PANCHAYAT UNION PRIMARY SCHOOL, THIRUVAVADUTHURAI	1
180	Chennai	33020100301	CPS PATEL NAGAR	1
181	Tiruppur	33332201603	PUMS PERIYAR COLONY	1
182	Nagapattinam	33191103601	PUPS KUNNAM	1
183	Karur	33140601105	PUMS, VEERANAMPATTY	1
184	Madurai	33240802202	PANCHAYAT UNION MIDDLE SCHOOL, VELLARIPATTI	1
185	Madurai	33241300804	P.U.P.S. T.VADIPPATTI	1
186	Villupuram	33071605101	PANCHAYAT UNION MIDDLE SCHOOL VELANANDAL	1
187	Thanjavur	33211204706	MPLPS KADAITHERU	1
188	Pudukkottai	33220102603	PANCHAYAT UNION PRIMARY SCHOOL KULATHUR	1
189	Salem	33080703003	PUMS, THENKARAI	1
190	Nagapattinam	33190304201	PUMS VADAKKUPANAIYUR	1
191	Cuddalore	33180607317	MUNICIPAL MIDDLE SCHOOL BOODHAMUR	1
192	Coimbatore	33122000804	PUMS SELAKKARICHAL	1
193	Vellore	33042203701	PUPS KURUMBERI	1
194	Tiruvallur	33010405901	PUMS, 82 PANAPAKKAM	1
195	Salem	33081800302	PUES ARA. CHETTIPATTI	1
196	Salem	33081001201	PUMS ARIYAMPATTI	1
197	Nagapattinam	33190303101	PUPS SIGAR	1
198	Madurai	33241302702	P.U.M.S. C.PUDUR	1
199	Cuddalore	33181002201	PUMS KEEZHAMANAKUDI	1
200	Salem	33080800901	PUES MURUNGAPATTY	1
201	Sivagangai	33230103201	PUMS PILLUR	1
202	Krishnagiri	33311214701	PUMS MADHEPALLI	1
203	Perambalur	33160302902	PUMS KALLAPATTI	1
204	Thoothukkudi	33281005003	PUPS,EPPODUMVENDRAN	1
205	Tiruppur	33331900404	PANCHAYAT UNION MIDDLE SCHOOL, KASTHURIPALAYAM	1

		CWSN '	Toilets (446)	
S. No.	District	UDISE	School Name	Physi cal
206	Kancheepuram	33030500803	PUMS ANNAI INDRA NAGAR PARANIPUTHUR	1
207	Chennai	33020101005	CPS M.G.R. NAGAR	1
208	Kancheepuram	33030503101	PUMS Karasangal	1
209	Tiruvannamalai	33061608301	PUMS THEETHANDAPATTU	1
210	Vellore	33040500801	PUPS AMMOOR	1
211	Salem	33080400809	PUMS, E.METTUKADU	1
212	Coimbatore	33120102901	CORPORATION PRIMARY SCHOOL OKKILIYAR COLONY	1
213	Kancheepuram	33030202601	PUMS, PUTHAGARAM	1
214	Salem	33080901607	PUMS CHINNATHIRUPATHI	1
215	Salem	33081000901	PUMS ARURPATTY	1
216	Dharmapuri	33050511101	PUMS SONNAMPATTI	1
217	Perambalur	33160303401	PANCHAYAT UNION ELEMENTARY SCHOOL, POOLAMBDAI	1
218	Ariyalur	33320901001	PUPS T. CHOZHANKURICHI	1
219	Kancheepuram	33030105480	MMS VAIGUNDAM, KANCHIPURAM	1
220	Tiruvannamalai	33060207519	MPS GIRITHARANPETTAI	1
221	Kancheepuram	33030310801	PUMS, 1-3 WARD, UTHIRAMERUR	1
222	Villupuram	33070904301	PANCHAYAT UNION MIDDLE SCHOOL PAPPANAPATTU	1
223	Tiruvarur	33200701902	PUMS, KALACHERI WEST	1
224	Cuddalore	33180303301	PANCHAYAT UNION PRIMARY SCHOOL POONGUNAM	1
225	Madurai	33240302801	P.U.M.S T.KOKKULAM	1
226	Salem	33080301503	PUMS, KARUVALLI	1
227	Salem	33081701903	P.U.M.S.REDDIPATTI KATTUVALAVU	1
228	Cuddalore	33181105407	PUMS ADHIVARAGANATHAM	1
229	Madurai	33241102802	P.U.M.S PRASANNA COLONY	1
230	Tiruchirappalli	33151600906	PUMS, KUMARAVADI	1
231	Thoothukkudi	33280306103	PUPS UMARIKADU	1
232	Kancheepuram	33030705214	MUNICIPAL MIDDLE SCHOOL, VADAMALAI	1
233	Nagapattinam	33190703302	PUMS NIDUR	1
234	Madurai	33241119306	COR.P.SCHOOL PONMENI	1
235	Tiruvarur	33201000502	PUMS,KALLADIKOLLAI	1
236	Kancheepuram	33030801401	PUMS-PONPATHARKOODAM	1
237	Salem	33080700502	PUMS, SIRUVACHUR 4TH WARD	1
238	Villupuram	33070803901	PANCHAYAT UNION PRIMARY SCHOOL MALLIGAIPATTU	1
239	Tiruchirappalli	33150802901	PUPS.PUNJAISANGENTHI	1
240	Salem	33080100602	PUPS, THAMMAMPATTI 8th WARD	1
241	Thanjavur	33210801502	PUMS - PONPETHI	1
242	Cuddalore	33181101901	PUPS ERUMBUR	1
243	Nagapattinam	33191004003	PUMS KAVERIPOOMPATTINAM (FISHER)	1
244	Virudhunagar	33260214617	K.C.S.DHANUSHKODI NADAR MUNICIPAL MIDDLE SCHOOL,VIRUDHUNAGAR	1

CWSN Toilets (446)				
S. No.	District	UDISE	School Name	Physi cal
245	Nagapattinam	33190204401	PUMS-THIRUPPAYATHANGUDI	1
246	Ariyalur	33320702501	PUMS KARU.SENAPATHI	1
247	Dindigul	33131301813	PUPS THANGAMMAPATTI	1
248	Thanjavur	33210707801	KAMARAJAR MPL PS KUMBAKONAM	1
249	Cuddalore	33180502105	ADWMS KOTHANDARAMAPURAM	1
250	Dindigul	33130400307	PUMS, CCC QUARRY	1
251	Thoothukkudi	33281202301	PUMS THAPPATHI	1
252	Erode	33100501406	PANCHAYAT UNION MIDDLE SCHOOL,MELAPALAYAM	1
253	Nagapattinam	33190402102	PUMS THIRUVASAL	1
254	Vellore	33040600323	Municipal Primary school(North) Walajapettai	1
255	Tiruppur	33331302739	MPS UKC NAGAR	1
256	Dharmapuri	33050705601	PUMS ODDUPATTI	1
257	Tiruvannamalai	33061708201	PUPS THENKARIMBALUR	1
258	Tiruvarur	33200701301	PUMS, RISHIYUR	1
259	Dindigul	33130200203	PUMS, M.VADIPATTI	1
260	Tiruvallur	33010803701	PUPS A N KANDIGAI	1
261	Madurai	33240804101	PANCHAYAT UNION MIDDLE SCHOOL, KURICHIPATTI	1
262	Ariyalur	33320901402	PUPS-MUTHUSERVAMADAM	1
263	Sivagangai	33230104404	PUPS MARUTHUPANDIYAR NAGAR	1
264	Tiruvallur	33010506003	AVADI MUNICIPAL MIDDLE SCHOOL GOVARTHANAGIRI	1
265	Nagapattinam	33190805301	PUMS THIRUVIDAIKAZHI	1
266	Tiruvallur	33010509001	PANCHAYAT UNION MIDDLE SCHOOL VEERARAGAVAPURAM	1
267	Theni	33250800907	P.U. MS, G.K.S., UTAMAPALAYAM	1
268	Salem	33081000704	PUMS ARUNACHALAMPUDUR	1
269	Ariyalur	33320902201	PUMS-VEERABOGAM	1
270	Perambalur	33160300701	Adi Dravida Welfare Elementary School, Pasumbalur	1
271	Tiruvarur	33200505104	MMS,GOWRISAMY , THIRUVARUR	1
272	Madurai	33240200405	P.U.P.S. VAIYATHAN	1
273	Pudukkottai	33220703701	PUMS.KANNAKKANKADU	1
274	Coimbatore	33120500501	CMS KRISHNARAYAPURAM	1
275	Tiruvarur	33200801101	PUPS, KOTTUR	1
276	Vellore	33040600305	MMS MIXED WALAJAH	1
277	Salem	33080101201	PUMS, VALAKKOMBAI	1
278	Dharmapuri	33050403701	PUMS ERRANAHALLI	1
279	Dharmapuri	33050604801	PUMS KONGARAPATTY	1
280	Villupuram	33071405501	PANCHAYAT UNION PRIMARY SCHOOL ERALUR	1
281	Pudukkottai	33220501001	PANCHAYAT UNION MIDDLE SCHOOL,KAMMANGADU.	1
282	Chennai	33020401401	CPS SRINIVASA NAGAR	1

CWSN Toilets (446)				
S. No.	District	UDISE	School Name	Physi cal
283	Perambalur	33160604301	PUMS, PILIMISAI	1
284	Thanjavur	33211504801	PUPS MALLIPATTINAM	1
285	Ariyalur	33320501401	PUES NALLAMPALAYAM	1
286	Tiruvallur	33010307401	PUPS ONDIKUPPAM	1
287	Cuddalore	33180705701	PUMS VEPPUR	1
288	Chennai	33020200904	CPS ANJANEYA NAGAR	1
289	Salem	33080600301	PUPS,PARA NATTAMANGALAM	1
290	Nagapattinam	33190502704	PANCHAYAT UNION MIDDLE SCHOOL ORADIYAMBULAM	1
291	Salem	33081901701	PUMS, KAVARKALPATTY	1
292	Madurai	33241517305	COR.P.S MUNICHALAI	1
293	Salem	33080401304	PUMS, GUDALUR	1
294	Salem	33081500407	PUMS,GOVINDAPADI	1
295	Krishnagiri	33311504466	PUMS HOSUR -TEL&KAN	1
296	Theni	33250100409	P.U.MDL SCL C.R.CAMP-1	1
297	Villupuram	33071504301	PANCHAYAT UNION MIDDLE SCHOOL PORASAPATTU	1
298	Thanjavur	33211003702	GOVERNMENT MIDDLE SCHOOL - THEPERUMANALLUR	1
299	Salem	33080500204	PUMS MANICKAMPATTI	1
300	Ramanathapura m	33270812001	PANCHAYAT UNION MIDDLE SCHOOL, OPPILAN	1
301	Chennai	33020300901	CPS TVK NAGAR	1
302	Salem	33081000705	PUMS M.G.R COLONY	1
303	Salem	33082004501	PUMS, NALLUR	1
304	Salem	33081703901	P.U.E.S.THEKKAMPATTI	1
305	Villupuram	33071704101	PANCHAYAT UNION MIDDLE SCHOOL ALATHUR	1
306	Ariyalur	33320703101	PUMS ANDIPATTAKADU	1
307	Cuddalore	33180708901	PUMS SOZHANNAGAR	1
308	Ramanathapura m	33270305401	PANCHAYAT UNION PRIMARY SCHOOL, PARTHIBANUR	1
309	Nagapattinam	33190200802	PUPS THITTACHRY	1
310	Thoothukkudi	33281303202	PUMS BHARATHI NAGAR	1
311	Perambalur	33160302901	PUMS UDUMBIYAM	1
312	Cuddalore	33180604801	PANCHAYAT UNION PRIMARY SCHOOL PARAVALUR (NORTH)	1
313	Nagapattinam	33191001001	PUPS 56 NIMMELI	1
314	Chennai	33020401403	CPSKM COLONY II	1
315	Pudukkottai	33221105502	PANCHAYAT UNION MIDDLE SCHOOL, DURAIYARASAPURAM	1
316	Thoothukkudi	33280702202	PUMS, USARATHUKUDIYERUPU	1
317	Villupuram	33072204904	PANCHAYAT UNION MIDDLE SCHOOL NAINAKUPPAM	1
318	Ramanathapura m	33270305701	PANCHAYAT UNION MIDDLE SCHOOL, PARALAI	1

CWSN Toilets (446)				
S. No.	District	UDISE	School Name	Physi cal
319	Erode	33100709902	PUPS, VEERAPPAN CHATRAM	1
320	Madurai	33240610803	COR.M.S SATHAMANGALAM	1
321	Tiruvannamalai	33061410601	PUMS VELAYAMBAKKAM	1
322	Villupuram	33070605902	PANCHAYAT UNION MIDDLE SCHOOL EKKIYARKUPPAM	1
323	Krishnagiri	33311402801	PUPS BERIGAI(TAMIL)	1
324	Cuddalore	33180902001	PUMS- KEEZHAPALAIYUR	1
325	Perambalur	33160301202	PANCHAYAT UNION ELEMENTARY SCHOOL, VALIKANDAPURAM	1
326	Chennai	33020301007	CUMS PERAMBUR BARRACKS	1
327	Cuddalore	33180304214	MUNICIPAL MIDDLE SCHOOL GANDHIROAD	1
328	Tiruvallur	33010911302	PUMS,POOTHAPEDU	1
329	Salem	33080802601	PUMS K.PUDHUPALAYAM	1
330	Tiruchirappalli	33150402101	PUPS, THAYANUR	1
331	Namakkal	33090100402	MPS FORT NAMAKKAL	1
332	Sivagangai	33230801001	M.M. SCHOOL, KALANIVASAL	1
333	Salem	33080600201	PUES NEIKKARAPATTI	1
334	Karur	33140102302	PUPS.SCHOOL,SOMUR	1
335	Coimbatore	33120200902	PUMS-BODIPALAYAM	1
336	Krishnagiri	33310902002	PUPS GOVINDAPURAM	1
337	Cuddalore	33180504201	PUMS VADAKUMELUR	1
338	Theni	33250500212	PUMS - SOLAITHEVANPATTI	1
339	Madurai	33241301001	P.U.M.S IRUMBADI	1
340	Salem	33081100705	PUMS SEERANGANOOR	1
341	Tiruvallur	33011007701	MUNICIPAL MIDDLE SCHOOL,RAMANATHAPURAM	1
342	Tiruvannamalai	33060305702	PUPS PURISAI	1
343	Madurai	33241004001	PANCHAYAT UNION PRIMARY SCHOOL, MELAKOTTAI	1
344	Kancheepuram	33030500901	PUPS-IYYAPPANTHANGAL	1
345	Nagapattinam	33190600702	PANCHAYAT UNION MIDDLE SCHOOL CHETTIYAKADU	1
346	Villupuram	33071202401	PANCHAYAT UNION PRIMARY SCHOOL VEERAPANDI	1
347	Tiruvannamalai	33061709001	PUMS VARAGUR	1
348	Ariyalur	33320101101	PUMS-EDANKANNI	1
349	Cuddalore	33180202504	PUMS MELPATTAMPAKKAM GIRLS	1
350	Krishnagiri	33311612102	PUMS KOTTAIYUR	1
351	Namakkal	33091001502	MUNICIPAL MIDDLE SCHOOL, SEETHARAMPALAYAM	1
352	Sivagangai	33230904001	PUPS ACHUKKATTU	1
353	Ariyalur	33320103502	PUMS-ARANKOTTAI	1
354	Villupuram	33071602801	PANCHAYAT UNION MIDDLE SCHOOL KADUVANUR	1
355	Perambalur	33160402601	PUMS-ESANAI(N)	1
356	Theni	33250301304	PUMS, AYYAMPATTY	1

		CWSN	Toilets (446)	
S. No.	District	UDISE	School Name	Physi cal
357	Tiruvannamalai	33061604701	PUPS MELAPALAYAM	1
358	Sivagangai	33230801113	V.O.C MPL MID SCHOOL KARAIKUDI	1
359	Villupuram	33070106001	PANCHAYAT UNION MIDDLE SCHOOL PERUVALUR	1
360	Cuddalore	33180803501	PANCHAYAT UNION MIDDLE SCHOOL, VINAYAGANANDAL	1
361	Dindigul	33130702502	PUMS SADAYAMPATTI	1
362	Nagapattinam	33190400304	PUPS THIRUPOONDI NORTH	1
363	Kancheepuram	33030209001	PUPS IYYAMPETTAI	1
364	Ariyalur	33320702201	PUES NAGAMANGALAM	1
365	Tiruvallur	33011203701	PUMS, NABALUR	1
366	Vellore	33042102008	MUNICIPAL OLD MUSLIM GIRLS' MIDDLE SCHOOL, MOSQUE STREET,	1
367	Cuddalore	33180501303	PUMS THONDAMANATHAM	1
368	Pudukkottai	33220303202	PANCHAYAT UNION MIDDLE SCHOOL RAJAGIRI	1
369	Kancheepuram	33031403603	PUPS PEERKANKARANAI	1
370	Vellore	33040804701	ADWMS KRISHNAPURAM	1
371	Theni	33250500310	PUMS - KAMANKALLUR	1
372	Sivagangai	33230212701	PUMS, PANANGADI	1
373	Tiruvarur	33200605301	MPS,JAINATHERU	1
374	Kancheepuram	33030101901	PUMS, SIRUKAVERIPAKKAM	1
375	Vellore	33040900301	PUMS USSOOR	1
376	Namakkal	33090900301	PUMS NAMAGIRIPETTAI-I	1
377	Salem	33081800707	PUMS DEVANNAGOUNDANUR	1
378	Salem	33081703104	P.U.M.S.P.NALLAGOUNDAMPATTI	1
379	Coimbatore	33121102601	GPS PURAVIPALAYAM	1
380	Salem	33081100704	PUES KULLANOOR	1
381	Tiruvannamalai	33060705801	PUPS VADUGASATHU	1
382	Ariyalur	33320501203	PUES MARUNGOOR	1
383	Salem	33082102604	MMS. THEETTUKKAL STREET	1
384	Coimbatore	33120500443	CPS NESAVALAR COLONY	1
385	Nagapattinam	33190706703	MPL,PS, THAMPIKKUNALLANPATTINAM	1
386	Salem	33080301901	PUMS, DASASAMUTHIRAM	1
387	Salem	33081802102	P.U.M.S.PULLAGOUNDAMPATTI	1
388	Thanjavur	33211403604	PUMS PONNANKANNIKADU	1
389	Thoothukkudi	33280100117	MPS, SAMUELPURAM	1
390	Dharmapuri	33050316301	PUPS ALAMARATHUPATTI	1
391	Cuddalore	33180503801	PUPS PONNANKUPPAM	1
392	Krishnagiri	33311009513	MMS OLD SUB JAIL ROAD	1
393	Villupuram	33070205602	PANCHAYAT UNION MIDDLE SCHOOL MEENAMBUR (B) URUDU	1
394	Nagapattinam	33190601301	PUPS,ARUKATTUTHURAI	1
395	Karur	33140601605	PUMS, ARASAGOUNDANOOR	1
	1		I	

S. No. District UDISE School Name 396 Villupuram 33070204502 PANCHAYAT UNION MIDDLE SCHOOL ANANTHAPURAM 397 Karur 33140701901 PUMS, NANGAVARAM 398 Pudukkottai 33220504601 MUNICIPAL PRIM.	1 ARY 1 DLE 1
ANANTHAPURAM 397 Karur 33140701901 PUMS, NANGAVARAM 398 Pudukkottai 33220504601 MUNICIPAL PRIM.	(G) 1 1 ARY 1 DLE 1
398 Pudukkottai 33220504601 MUNICIPAL PRIM.	ARY 1 DLE 1
	DLE 1
SCHOOL,THIRUKKOKARANAM.	
399 Pudukkottai 33220202302 PANCHAYAT UNION MID SCHOOL.VEERAPATTI	
400 Villupuram 33070501102 PANCHAYAT UNION MIDDLE SCHO	00L 1
401 Thoothukkudi 33280203301 PUPS RAMANUJAMPUDUR	1
402 Nagapattinam 33190304302 PUMS VALLAVINAYAGAN KOTTAGAM	1
403 Tiruchirappalli 33150302803 PUMS, VEERANI	1
404 Ramanathapura 33270902701 PANCHAYAT UNION MIDDLE SCHOOL VAIRAVANKOVIL	L , 1
405 Tiruvallur 33011001301 PUMS, SANMUGAPURAM	1
406 Madurai 33241002401 P.U.M.S GANGEIYANATHAM	1
407 Madurai 33240302201 P.U.M.S. CHITHUR	1
408 Kancheepuram 33030903138 MPL PS PALAVANTHANGAL	1
409 Krishnagiri 33311712101 PUPS PANDURANGAN DODDY	1
410 Dindigul 33131301001 PUPS, VADAMADURAI	1
411 Coimbatore 33120500412 C.M.S SIHS COLONY	1
412 Chennai 33020300902 CMS H&S FACTORY	1
413 Salem 33080300601 PUMS, DANISHPET	1
414 Tiruvallur 33010206101 PUMS, RAMANJERI	1
415 Nagapattinam 33190700403 PUMS- ELUPPAPATTU.	1
416 Tiruvannamalai 33061709301 PUMS VEPPUR CHEKKADI	1
417 Vellore 33042200704 PUPS ADIYUR	1
418 Vellore 33041300803 PUMS Kalinjur	1
419 Vellore 33041703403 MMS GOVINDHAPURAM	1
420 Vellore 33041802403 PUMS, KALLARAPATTI	1
421 Coimbatore 33120102501 CORPORATION MIDDLE SCHOOL KOTTAI	1
422 Nagapattinam 33190801901 PUPS ARUPATHY	1
423 Tiruvannamalai 33061805101 PUMS THUMBAIKADU	1
424 Coimbatore 33120501405 PUMS VATTAMALAIPALAYAM	1
425 Salem 33081500409 PUPS,SETTIPATTY	1
426 Vellore 33041101605 PUPS SABTHALIPURAM	1
427 Salem 33081800301 PUES ARA. KULLAMPATTI	1
428 Tiruchirappalli 33151103012 PANCHAYAT UNION PRI SCHOOL, NEHI	RUJI 1
	S. 1
430 Tiruvallur 33010800601 PUMS - NOCHIKUPPAM	1
431 Dindigul 33130902401 PUMS,PERIYAKALAYAMPUTHUR	1
432 Cuddalore 33180502201 PUMS AYIKUPPAM	1
433 Cuddalore 33180500404 PUMS ALAPAKKAM	1

	CWSN Toilets (446)					
S. No.	District	UDISE	School Name	Physi cal		
434	Salem	33080601901	PANCHAYAT UNION PRIMARY SCHOOL MALLUR	1		
435	Ariyalur	33320101303	PUMS KODALI	1		
436	Namakkal	33090401507	PUMS NAVALADIPATTI	1		
437	Tiruvannamalai	33061104301	PUMS OGHUR	1		
438	Chennai	33020201304	C.M.S.SALAI VINAYAGAR KOIL ST	1		
439	Dindigul	33130900704	PUPS, CHINNAGANDHIPURAM	1		
440	Salem	33081100701	PUMS PERIYASORAGAI	1		
441	Coimbatore	33120200103	PUPS KANNAMANAICKANUR	1		
442	Tiruchirappalli	33150803402	PUES, KOLAKKUDI	1		
443	Dindigul	33130701401	PANCHAYATH UNION PRIMARY SCHOOL, KONGARKULAM	1		
444	Vellore	33042100402	PUMS, VELANNAGAR	1		
445	Tiruvallur	33010406401	PUMS, SEMBEDU	1		
446	Thoothukkudi	33280908601	PU MS, KAYATHAR SOUTH	1		
	Total					

Secondary Level

			Boys Toilets(25)	
S. No.	District	UDISE	School Name	Physi cal
1	Krishnagiri	33311409702	GHS NERIGAM -TEL	1
2	Tiruchirapp alli	33150500109	GHS,KARUMPULIPATTY	1
3	Thoothukku di	33281006502	GHS KOLLANKINARU	1
4	Virudhunaga r	33260600108	GOVERNMENT HIGH SCHOOL, SIVAKAMIPURAM	1
5	Theni	33250201409	GOVT HS, RASINGAPURAM	1
6	Tiruvallur	33011400602	GHS, KONDAPURAM	1
7	Tiruvallur	33010400102	GOVT HIGH SCHOOL, ATHIVAKKAM	1
8	Vellore	33041503009	GHS GANDHI NAGAR, GUDIYATTAM	1
9	Kancheepur am	33031101204	GOVERNMENT HIGH SCHOOL ONAMBAKKAM	1
10	Nagapattina m	33190702603	GHS VILLIYANALLUR	1
11	Tiruvannam alai	33060500501	GHS AMUDUR	1
12	Ariyalur	33320901002	GOVERNMENT HIGH SCHOOL T.CHOZHANKURICHI	1
13	Ariyalur	33320500105	GHS SANNASINALLUR	1
14	Tiruchirapp alli	33150203203	GHS, PUDHUR UTHAMANUR	1
15	Pudukkottai	33220606704	GOVERNMENT HIGH SCHOOL S.KULAVAIPATTI	1
16	Villupuram	33070504602	GOVERNMENT HIGH SCHOOL PULIYANUR	1
17	Vellore	33040401407	GHS THATHIREDDIPALLI	1

	Boys Toilets(25)					
S. No.	District	UDISE	School Name	Physi cal		
18	Krishnagiri	33311007702	GHS SOKKADI	1		
19	Thanjavur	33210502304	GOVERNMENT HIGH SCHOOL- 34 KOVILUR	1		
20	Cuddalore	33181202102	GOVERNMENT HIGH SCHOOL- MAZHAVARAYANALLUR	1		
21	Sivagangai	33231106101	GOVT HS VALASAIPATTI	1		
22	Ramanathap uram	33270204702	GOVERNMENT HIGH SCHOOL, VETTUKKULAM	1		
23	Sivagangai	33230600905	GOVT HIGH SCHOOl, PULIYAL	1		
24	Coimbatore	33121104003	GOVERNMENT HIGH SCHOOL GOLLAPATTI	1		
25	Tirunelveli	33291002705	GHS PANDIYAPURAM	1		
Total						

			Girls Toilets	
S. No.	District	UDISE	School Name	Physi
1	Pudukkottai	33220704004	GHS.MOLUDAIYANPATTI	cal 1
2	Kancheepur am	33030502502	GHS NALLUR	1
3	Karur	33140801203	GOVERNMENT HIGH SCHOOL, PATHIRIPATTY	1
4	Vellore	33040302703	GOVT HS PUDHUPATTU	1
5	Kancheepur am	33030503002	GHS, THUNDALKAZHANI.	1
6	Pudukkottai	33221103804	GOVT HIGH SCHOOL,PERUNGADU	1
7	Tiruvannam alai	33060506402	GHS SALUKKAI	1
8	Tiruvannam alai	33061605401	GHS MELRAVANDAVADI	1
9	Vellore	33041602703	GHS GOLLAKUPPAM	1
10	Madurai	33240705410	GOVT HIGH SCHOOL, ANAIYUR	1
11	Kancheepur am	33030403202	GHS, KUNNAM	1
12	Tirunelveli	33290401508	GHS, MYLAPPAPURAM	1
13	Tiruvannam alai	33060802602	GHS MELNAGAR	1
14	Villupuram	33071104003	GOVERNMENT HIGH SCHOOL KUMALAM	1
15	Pudukkottai	33220205605	GOVT HIGH SCHOOL PERUMANADU	1
16	Thanjavur	33211000802	ADI DRAVIDAR WELFARE HIGH SCHOOL - NALLADAI	1
17	Ariyalur	33320700818	GOVT G HS ARIYALUR	1
18	Krishnagiri	33311001702	GHS CHIKKAPOOVATHI	1
19	Pudukkottai	33221201114	GOVT HIGH SCHOOL PONNAGARAM	1
20	Kancheepur am	33031400402	GHS COWLBAZAR	1
21	Ramanathap uram	33270800702	GOVERNMENT HIGH SCHOOL, APPANOOR	1
22	Villupuram	33071600202	GOVERNMENT HIGH SCHOOL SEERPADANALLUR	1
23	Pudukkottai	33220704407	GOVT.HIGH SCHOOL, PONNANVIDUTHI	1
24	Dharmapuri	33050803502	GHS KELAPPARAI	1

	Girls Toilets					
S. No.	District	UDISE	School Name	Physi cal		
25	Nagapattina m	33190401803	GOVERNMENT HIGH SCHOOL PERIYATHUMBUR	1		
26	Krishnagiri	33311003902	GHS KAMMAMPALLI	1		
27	Vellore	33041203405	GOVT HS KAZHANIPAKKAM	1		
28	Tiruvannam alai	33060704902	GHS-SANGEETHAVADI	1		
29	Cuddalore	33181002003	GHS KAVARAPATTU	1		
30	Tiruvannam alai	33060903605	GHS(GIRLS)-KELUR	1		
31	Tiruvallur	33010701002	GOVT.HS ,ANDARKUPPAM	1		
32	Kancheepur am	33031101204	GOVERNMENT HIGH SCHOOL ONAMBAKKAM	1		
33	Sivagangai	33230400702	GOVT HIGH SCHOOL POOVANTHI	1		
34	Vellore	33040204003	GGHS, THIRUMALPUR	1		
35	Pudukkottai	33221001204	GOVERNMENT HIGH SCHOOL, POSAMPATTI	1		
36	Sivagangai	33230801502	GOVT HIGH SCHOOL ILUPPAIKUDI	1		
37	Ariyalur	33320703003	GHS ARUNGAL	1		
38	Dindigul	33130600311	GHS,MANAKATTUR	1		
39	Dharmapuri	33050805302	GHS MAMPATTI	1		
40	Dindigul	33131001507	GHS,KARISALPATTI	1		
41	Ariyalur	33320803806	GHS ELAIYUR	1		
42	Salem	33080800102	GHS,KEERAIPAPPAMPADI	1		
43	Kancheepur am	33030403106	GHS, SANTHAVELLORE	1		
44	Tiruvannam alai	33061604802	GHS MELCHENGAM	1		
45	Tiruvannam alai	33061701701	GHS EDATHANUR	1		
46	Ariyalur	33320801914	GHS (GIRLS) ANDIMADAM	1		
47	Villupuram	33070903402	GOVERNMENT HIGH SCHOOL (GIRLS) VIKARAVANDI	1		
48	Ramanathap uram	33270812103	GOVERNMENT HIGH SCHOOL, VALINOKKAM	1		
49	Tiruvarur	33200404505	GHS, MAPPILAIKUPPAM	1		
50	Pudukkottai	33220600904	GOVERNMENT HIGH SCHOOL, PULLANVIDUTHY	1		
51	Salem	33080801602	GHS, ATTAVANAIPOOLAVARI	1		
52	Tiruvarur	33200704311	GHS, NEEDAMANGALAM	1		
53	Salem	33080900902	GHS KAMINAICKENPATTY	1		
54	Theni	33250101602	GOVT HS, THEKKAMPATTI	1		
55	Vellore	33040100108	GHS THANIGAI POLUR	1		
56	Tiruvallur	33010808801	GGHS PATHIRVEDU MADHARPAKKAM	1		
57	Pudukkottai	33221101903	GOVT HIGH SCHOOL, VALLAVARI EAST	1		
58	Tiruchirapp alli	33150702902	GHS VELLUR	1		
59	Pudukkottai	33220200706	ADWHS.ENNAI	1		
60	Ariyalur	33320503502	GHS-CHOLANKUDIKKADU	1		
61	Coimbatore	33120300606	GHS NARASIMMANAICKENPALAYAM	1		

	Girls Toilets					
S. No.	District	UDISE	School Name	Physi cal		
62	Villupuram	33071301502	GOVERNMENT HIGH SCHOOL PONNIYANDHAL	1		
63	Villupuram	33070500402	GOVERNMENT HIGH SCHOOL ASOOR	1		
64	Thanjavur	33210904611	GHS AMMAPETTAI	1		
65	Madurai	33240901904	GOVT HIGH SCHOOL, T.RAMANATHAPURAM	1		
66	Tiruchirapp alli	33150601806	GHS,VEMBANUR	1		
67	Dindigul	33130600310	GHS, KUDAGIPATTY	1		
68	Pudukkottai	33220501303	GOVT HIGH SCHOOL MANTHANGUDI	1		
69	Dharmapuri	33050501303	GHS MEKKANAMPATTI	1		
70	Karur	33140801409	G.H.SCHOOL, A.UDAYAPATTY	1		
71	Tiruppur	33332201110	GGHS PERUMANALLUR	1		
72	Salem	33081703311	GHS PALAKUTTAPATTY	1		
73	Tiruchirapp alli	33150302504	GHS,POONAMPALAYAM	1		
74	Villupuram	33071302102	GOVERNMENT HIGH SCHOOL THAGADI	1		
75	Krishnagiri	33311714417	GHS-GIRLS THALLY	1		
76	Nagapattina m	33190500101	GHS AYMOOR	1		
77	Sivagangai	33230301303	GOVT HIGH SCHOOL MELANETTUR	1		
78	Dindigul	33130602105	GHS, MOONGIL PATTI	1		
79	Krishnagiri	33311201302	GHS BALETHOTTAM	1		
80	Kancheepur am	33031402606	GOVT HIGH SCHOOL SITHALAPAKKAM.	1		
81	Pudukkottai	33221301506	GOVT.GIRLS HIGH SCHOOL, AVUDAIYARKOIL	1		
82	Ramanathap uram	33271101303	GOVERNMENT HIGH SCHOOL, RAMESWARAM ROAD	1		
83	Tiruppur	33332200503	GHS GURUVAYURAPPAN NAGAR	1		
84	Dharmapuri	33050304902	GHS HALEPURAM	1		
85	Tiruppur	33332202114	GHS K.CHETTIPALAYAM	1		
86	Tiruvannam alai	33060401001	GHS AVANIYAPURAM	1		
87	Villupuram	33070504602	GOVERNMENT HIGH SCHOOL PULIYANUR	1		
88	Krishnagiri	33310902509	GHS- GIRLS KALLAVI	1		
89	Ariyalur	33320702202	GHS NAGAMANGALAM	1		
90	Cuddalore	33181305902	GHS VELLUR	1		
91	Ramanathap uram	33270612002	GOVERNMENT HIGH SCHOOL, VAZHIMARICHAN	1		
92	Tiruvarur	33200501802	GHS PAZHAYAVALAM	1		
93	Ramanathap uram	33270900405	GOVERNMENT HIGH SCHOOL, DEVIPATTINAM SOUTH	1		
94	Vellore	33040204104	GHS, PALLUR	1		
95	Kancheepur am	33031003802	GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM.	1		
96	Kancheepur am	33030100603	GHS, Vishar	1		
97	Salem	33081901903	GHS, SESANCHAVADI	1		

Girls Toilets				
S. No.	District	UDISE	School Name	Physi cal
98	Nagapattina m	33190400602	GHS KARAPPIDAGAI	1
99	Nagapattina m	33190204002	GHS Vazhgudi	1
100	Kanniyakum ari	33300200702	GHS ERAVIPUTHOOR	1
101	Vellore	33041204104	GOVT HS ELAVAMBADI	1
102	Tiruchirapp alli	33150203203	GHS, PUDHUR UTHAMANUR	1
103	Tiruvannam alai	33061708801	GHS (GIRLS) VANAPURAM	1
104	Cuddalore	33180300605	GOVERNMENT HIGH SCHOOL-KATTUKOODALUR	1
105	Tiruvallur	33011400903	GOVT HS, AYYANERI	1
106	Cuddalore	33180603903	GOVERNMENT HIGH SCHOOL ERUMANUR	1
107	Villupuram	33071503002	GOVERNMENT HIGH SCHOOL PALAYANUR	1
108	Thanjavur	33211505405	GHS PUTHUTHERU	1
109	Thanjavur	33210501405	GHS - KANNANTHANGUDI MELAIYUR	1
110	Salem	33081802403	GHS VADUGAPATTI	1
111	Tiruvallur	33010900410	GOVT GIRLS HS AYAPPAKKAM	1
112	Salem	33081902502	GHS, NEERMULLIKUTTAI	1
113	Tiruppur	33331903702	GOVERNMENT HIGH SCHOOL, KARUMANCHIRAI	1
114	Villupuram	33071604508	GOVERNMENT GIRLS HIGH SCHOOL RISHIVANDIYAM	1
115	Namakkal	33091100408	GHS AVATHIPALAYAM	1
116	Dharmapuri	33050317002	GHS OOTAMALAI	1
117	Tirunelveli	33291002905	GHS VENTRILINGAPURAM	1
118	Kancheepur am	33031105603	GOVERNMENT HIGH SCHOOL ZAMIN ENDATHUR	1
119	Villupuram	33071304408	GOVERNMENT GIRLS HIGH SCHOOL G.ARIYUR	1
120	Dharmapuri	33050812602	GHS SIKKALURE	1
121	Krishnagiri	33311600502	GHS BAIRAMANGALAM	1
122	Villupuram	33071702703	GOVERNMENT HIGH SCHOOL VILAMBAR	1
123	Salem	33080701702	GHS, NAVALUR	1
124	Salem	33081601104	GHS BUKKAMPATTY	1
125	Vellore	33041901544	MUNCIPAL MUSLIM BOYS HIGH SCHOOL GANDHI NAGAR VANIYAMBADI	1
126	Dharmapuri	33050703301	GTRHS KALASAPADI	1
127	Vellore	33041901702	GHS THIMMAMPET	1
128	Tiruvallur	33010702302	GHS, JAGANATHAPURAM	1
129	Pudukkottai	33220603805	GOVERNMENT HIGH SCHOOL,KOTHAKKOTTAI	1
130	Vellore	33041802603	GHS MALAIREDDIYUR	1
131	Nagapattina m	33190302801	GOVERNMENT HIGH SCHOOL, KILLUKUDI	1
132	Ramanathap uram	33270202104	GOVERNMENT HIGH SCHOOL, SHOLANDUR	1
133	Salem	33081500417	GOVT. HIGH SCHOOL, KARUNGALLUR	1
134	Tirunelveli	33291204704	GHS, THARUVAI	1

Girls Toilets					
S. No.	District	UDISE	School Name	Physi cal	
135	Tiruvallur	33011404102	GOVT HS,SENGATANUR	1	
136	Pudukkottai	33221104903	GOVT HIGH SCHOOL, THIRUNALLUR SOUTH	1	
137	Dharmapuri	33050316302	GHS ALAMARATHUPATTI	1	
138	Tirunelveli	33291403103	GHS KASTHURIRENGAPURAM	1	
139	Salem	33081100217	GHS KONUR	1	
140	Tiruvallur	33011307203	GOVT HS, VELIAGARAM	1	
141	Vellore	33041801108	FOREST HS NELLIVASALNADU	1	
142	Tiruvannam alai	33061405701	GHS MEYYUR	1	
143	Ariyalur	33320503104	GHS NAMAGUNAM	1	
144	Tiruppur	33331801111	GHS ARIVOLINAGAR	1	
145	Salem	33081600202	GHS M.N.PATTI	1	
146	Tiruvallur	33011200902	GHS, CHIVADA	1	
147	Cuddalore	33180602504	GOVERNMENT HIGH SCHOOL- EDAICHITHUR	1	
148	Kancheepur am	33030803104	GHS VALLIPURAM	1	
149	Dharmapuri	33050212702	GHS THAMMANAMPATTI	1	
150	Pudukkottai	33221002904	GOVERNMENT HIGH SCHOOL, MIRATTUNILAI	1	
151	Tiruvarur	33200501403	GHS MANGUDI	1	
152	Villupuram	33070802802	GOVERNMENT HIGH SCHOOL KANJANUR	1	
153	Salem	33081401904	GHS, KARIPATTI	1	
154	Namakkal	33090800303	GHS NO-3 KOMARAPALAYAM	1	
155	Villupuram	33071102303	GOVERNMENT HIGH SCHOOL PAKKAM	1	
156	Tiruchirapp alli	33151600206	GHS,ARASUNILAIPALAYAM(GIRLS)	1	
157	Pudukkottai	33220607002	GOVERNMENT HIGH SCHOOL KEELAIYUR	1	
158	Vellore	33041000139	SERVAI K MASILAMANI MUNICIPAL HIGH SCHOOL KASBA, VELLORE	1	
159	Vellore	33041802006	GGHS NIMMIYAMPATTU	1	
160	Tiruchirapp alli	33150701103	GHS NORTH SITHAMBUR	1	
161	Dharmapuri	33050212303	GHS NARTHAMPATTI	1	
162	Krishnagiri	33311001102	GHS BELLARAMPALLI	1	
163	Sivagangai	33231202104	GOVT HS KOVILUR	1	
164	The Nilgiris	33110401206	GHS PADANTHORAI	1	
165	Nagapattina m	33190200103	GHS GANAPATHIPURAM	1	
166	Tiruvannam alai	33060502802	GHS(GIRLS) KILKODUNGALORE	1	
167	Ariyalur	33320804402	GHS NAGAMPANTHAL	1	
168	Villupuram	33071800402	GOVERNMENT HIGH SCHOOL PAITHANTHURAI	1	
169	Nagapattina m	33190701604	GHS THIRUVALAPUTHUR	1	
	Total 169				

S. No.	District	UDISE	oilets at secondary level (451) School Name	Physi
1	Tiruvallur	33010706603	GOVT (B) HSS, ARANI	cal 1
2	Dindigul	33130802108	GHS,PARAPPALARU	1
3	Villupuram	33070904702	GOVERNMENT HIGHER SECONDARY SCHOOL	1
3	viiiupuraiii	33070904702	PANAYAPURAM	1
4	Dharmapuri	33050701602	GHSS BAIRNATHAM	1
5	Tiruvallur	33010405202	GOVT HSS, PERIYAPALAYAM	1
6	Dharmapuri	33050608802	GHSS JALIPUDUR	1
7	Tiruvannam alai	33061708001	GHS THARADAPET	1
8	Ramanathap uram	33270310902	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, PARAMAKUDI	1
9	Tiruvarur	33200402103	GHS, KOLLAPURAM	1
10	Ramanathap uram	33270309204	S.N.V. GOVERNMENT HIGHER SECONDARY SCHOOL, EMANESWARAM - MODEL	1
11	Salem	33081600104	GHSS CHINTHAMANIYUR	1
12	Kanniyakum ari	33300600410	GHS. THIRUVATTAR	1
13	Chennai	33020900502	CHSS BOYS SAIDAPET	1
14	Tiruvallur	33010800403	GHS ATHUPAKKAM	1
15	Vellore	33042000405	GOVT HSS PONNERI	1
16	Ariyalur	33320802803	GHS KOOVATHUR	1
17	Coimbatore	33120901303	GHSS KALIANNANPUDUR	1
18	Vellore	33041201708	GOVT BOYS HSS ODUGATHUR	1
19	Coimbatore	33121103808	GHSS Negamam	1
20	Salem	33082004402	GHS VELLAKKADAI	1
21	Kancheepur am	33030507703	GHSS (Boys), Kundrathur	1
22	Salem	33080600105	GOVT GIRLS HSS JARI KONDALAMPATTI -MODEL	1
23	Villupuram	33070604402	GOVERNMENT HIGHER SECONDARY SCHOOL VEPPERY	1
24	Dharmapuri	33050311403	GHSS GIRLS PAUPARAPATTI	1
25	Salem	33082104602	MHS., KALARAMPATTI	1
26	Dharmapuri	33050802206	GHSS HARUR BOYS	1
27	Tirunelveli	33290804704	GOVT HIGH SCHOOL ALAMANAICKERPATTI	1
28	Kancheepur am	33030801103	PP GHSS PON VILAINTHA KALATHUR	1
29	Cuddalore	33181200104	GOVERNMENT HIGH SCHOOL- K.ADOOR	1
30	Krishnagiri	33311304102	GOVT HS, KORALNATHAM	1
31	Kancheepur am	33030105440	GHSS(Girls)., Big Kanchipuram	1
32	Madurai	33241200302	GOVT KALLAR HIGH SCHOOL, SULIOCHANPATTI	1
33	Thoothukku di	33280907701	GHSS, KALUGUMALAI	1
34	Nagapattina m	33190100703	ADW HS AZHINJAMANGALAM	1
35	Theni	33250101409	GOVT HS, ASARIPATTI	1
36	Pudukkottai	33220607105	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL,ALANGUDI	1

		CWSN To	oilets at secondary level (451)	
S. No.	District	UDISE	School Name	Physi cal
37	Kancheepur am	33031401904	GHSS, OKKIYAM THURAIPAKKAM	1
38	Nagapattina m	33190400701	GHSS KEEZHAIYUR	1
39	Pudukkottai	33220103405	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL KEERANUR	1
40	Virudhunaga r	33261003306	GHSS,VEMBAKOTTAI	1
41	Nagapattina m	33190901510	GHSS,KUTHALAM	1
42	Tiruvannam alai	33061307901	GHSS (BOYS) VETTAVALAM	1
43	Madurai	33240301701	GOVT HR SEC SCHOOL, KALLIKUDI	1
44	Ariyalur	33320702505	GOVT HR SEC SCHOOL KARU.POYYUR	1
45	Vellore	33042200714	GHS ADIYUR	1
46	Karur	33140800305	GOVERNMENT HIGHER SECONDARY SCHOOL, NEITHALUR	1
47	Erode	33100400903	GOVT. HIGHER SEC.SCHOOL, BHAVANISAGAR	1
48	Namakkal	33091502204	GHS KONDALAM	1
49	Cuddalore	33180602403	GOVERNMENT HIGH SCHOOL PUDHUKOORAIPETTAI	1
50	Tirunelveli	33291401606	NVC GOVT HR.SECONDARY SCHOOL RADHAPURAM	1
51	Kancheepur am	33030200902	GHSS, NAICKENPETTAI	1
52	Thoothukku di	33280201304	VTVD GHSS VALLANADU	1
53	Nagapattina m	33191003505	GHS AGARAPERUNTHOTTAM	1
54	Vellore	33041702702	GHSS MADANUR	1
55	Krishnagiri	33311804502	GHSS MATHUR-BOYS	1
56	Madurai	33241516104	CORPORATION KASTHURIBAI GANDHI GIRLS HR SEC SCHOOL, SIMMAKKAL	1
57	Salem	33081901302	GHSS, SINGIPURAM	1
58	Vellore	33040101703	GHSS MOSUR	1
59	Dharmapuri	33050612302	GHSS NAVALAI	1
60	Tiruvallur	33010704702	G.H.S.S,PADIANALLUR	1
61	Krishnagiri	33311806902	GHSS SAMALPATTI	1
62	Tiruvallur	33011002701	GOVT (B) HSS, NARAVARIKUPPAM	1
63	Salem	33081100106	GHS KUNJANDIYUR	1
64	Kancheepur am	33031403602	GHSS PEERKANKARANAI	1
65	Tiruchirapp alli	33151303505	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, THURAIYUR	1
66	Vellore	33040404805	GOVT HS VELAM	1
67	Salem	33080200504	GHSS PANAIMADAL	1
68	Coimbatore	33122100305	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL, SULUR	1
69	Tiruvarur	33200400802	ADWHSS, NEDUNGULAM	1
70	Perambalur	33160302603	GHSS ARUMBAVUR	1
	1	l		

		CWSN To	oilets at secondary level (451)	
S. No.	District	UDISE	School Name	Physi cal
71	Kancheepur am	33030903255	MPL HSS ZAMIN ROYAPET	1
72	Villupuram	33071402802	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL SITHALINGAMADAM	1
73	Theni	33250100211	GOVT HSS, T.SUBBULAPURAM	1
74	Karur	33140200308	GOVERNMENT.HIGH SCHOOL, ANDANKOIL EAST	1
75	Villupuram	33072102612	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL ELAVANASUR	1
76	Cuddalore	33180302102	GOVERNMENT HIGHER SECONDARY SCHOOL SIRUGRAMAM	1
77	The Nilgiris	33110200621	ARIGNAR ANNA GHSS,COONOOR	1
78	Tiruvallur	33010911102	GOVT HIGHER SECONDARY SCHOOL, ALAPAKKAM	1
79	Pudukkottai	33221001102	GOVERNMENT HIGHER SECONDARY SCHOOL, KALANIVASAL	1
80	Nagapattina m	33190706303	GOVT G HSS MAYILADUTHURAI	1
81	Virudhunaga r	33261100610	GOVERNMENT HIGH SCHOOL, N.G.O.COLONY	1
82	Tiruppur	33331800715	GHSS ARULPURAM	1
83	Namakkal	33090902108	GHSS MANGALAPURAM	1
84	Nagapattina m	33190706407	KITTAPPA MHSS MAYILADUTHURAI	1
85	Tiruvallur	33010101402	GOVT.HR.SEC.SCHOOL,KAKKALUR	1
86	Kancheepur am	33030807901	GGHSS THIRUKAZHUKUNDRAM	1
87	Coimbatore	33122100306	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, SULUR	1
88	Villupuram	33070400802	GOVERNMENT HIGHER SECONDARY SCHOOL VELLIMEDUPETTAI	1
89	Kancheepur am	33030808705	GHSS PUDHUPATTINAM	1
90	Pudukkottai	33220305001	GOVERNMENT HIGHER SECONDARY SCHOOL, AVOOR	1
91	Villupuram	33070801904	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL ANNIYUR	1
92	Ramanathap uram	33270501002	GOVERNMENT HIGHER SECONDARY SCHOOL, NAINARKOIL	1
93	Madurai	33241301504	GOVT HIGH SCHOOL, KADUPATTI	1
94	Coimbatore	33120200805	GHSS -CHETTIPALAYAM	1
95	Krishnagiri	33311411503	GHSS-GIRLS SHOOLAGIRI	1
96	Villupuram	33070804502	GOVERNMENT HIGHER SECONDARY SCHOOL KANAI	1
97	Nagapattina m	33190101407	GHSS AKKARAIPETTAI	1
98	Salem	33080102305	GBHSS GANGAVALLI	1
99	Pudukkottai	33220404503	GHS PALLAVARAYANPATTI	1
100	Perambalur	33160401502	GHSS-SIRUVACHUR	1
101	Chennai	33020100404	CHS CPT COLONY	1
102	Tiruvallur	33011107801	GOVT(G) HSS-TIRUTTANI	1
103	Thanjavur	33211300503	GHS - ATHIVETTI	1
104	Virudhunaga	33260702808	GOVERNMENT HIGH SCHOOL,	1

		CWSN To	oilets at secondary level (451)	
S. No.	District	UDISE	School Name	Physi cal
	r		LAKSHMIAPURAMPUTHUR	
105	Cuddalore	33180104932	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL - THIRUPATHIRIPULIYUR	1
106	Krishnagiri	33311107302	GHSS NEDUNGAL	1
107	Villupuram	33070607505	GOVERNMENT HIGH SCHOOL MUDALIYARKUPPAM	1
108	Pudukkottai	33220403404	GOVERNMENT HIGH SCHOOL, VELADIPATTI	1
109	Namakkal	33091402215	GOVERNMENT HIGH SCHOOL KUPPUCHIPALAYAM	1
110	Salem	33080400815	G.H.S.S., K.K.NAGAR	1
111	Tiruvannam alai	33061104101	GHSS NAMBEDU	1
112	The Nilgiris	33110400305	GOVERNMENT HR. SEC SCHOOL, SREEMADURAI	1
113	Ramanathap uram	33271104605	GOVERNMENT HIGH SCHOOL (GIRLS), PUDUMADAM	1
114	Tiruvallur	33010804002	GHSS KAVARAIPETTAI	1
115	Namakkal	33090501404	GHS POTTANAM	1
116	Tiruvannam alai	33060407801	GHS VALLAM	1
117	Dindigul	33130900510	GHSS,BALASAMUDRAM	1
118	Karur	33140202209	GOVERNMENT HIGHER SECONDARY SCHOOL, THAMMANAICKANPATTI	1
119	Coimbatore	33120401003	CHSS VENKITTAPURAM	1
120	Kancheepur am	33031401912	GHSS, KANNAGI NAGAR	1
121	Salem	33081703306	GHSS MUTHUNAICKENPATTY	1
122	Ariyalur	33320101305	GHSS-UDHAYANATHAM	1
123	Dharmapuri	33050303302	GHSS ERIYUR	1
124	Coimbatore	33120600308	GBHSS THONDAMUTHUR	1
125	Chennai	33020100408	CHS ARATHOON ROAD NEW MARKET FARM	1
126	Krishnagiri	33310908802	GHS UPPARAPATTI	1
127	Tiruvannam alai	33060402805	GHSS(BOYS) KOLAPPALUR	1
128	Perambalur	33160403202	GHS LADAPURAM	1
129	Coimbatore	33120400902	CHS KOVILMEDU	1
130	Madurai	33241517807	CORPORATION HIGH SCHOOL, ANUPPANADI	1
131	Coimbatore	33121400187	GOVERNMENT HIGH SCHOOL ROTTIKADAI	1
132	Kancheepur am	33030903209	MMA GHSS, Pallavaram	1
133	Namakkal	33091201802	GOVERNMENT HR SEC SCHOOL VAIYAPPAMALAI	1
134	Salem	33081200509	GHSS CHITTUR	1
135	Tiruvarur	33200902505	GHSS, THALAIKKADU	1
136	Chennai	33020801206	PCKG GOVT HSS KODAMBAKKAM	1
137	Madurai	33240903002	GOVT HR SEC SCHOOL, SAPTUR	1
138	Dindigul	33130800907	K.R GOVERNMENT MODEL HIGHER SECONDARY SCHOOL, ODDANCHATHRAM	1
139	Vellore	33041801806	GHS KOTHAKOTTAI	1
140	Salem	33082101105	GOVT HIGH SCHOOL AR LINES	1

		CWSN To	oilets at secondary level (451)	
S. No.	District	UDISE	School Name	Physi cal
141	Vellore	33042102027	GOVT MGHSS TIRUPATTUR	1
142	Ariyalur	33320102202	GHS-GUNAMANGALAM	1
143	Tiruvallur	33010800503	GOVT HSS ARAMBAKKAM	1
144	Thanjavur	33211403606	GHSS BOYS - PERAVURANI	1
145	Tiruvannam alai	33060305701	GHSS PURISAI	1
146	Namakkal	33091100138	MHS CHINNAPPANAYAKENPALAYAM	1
147	Kancheepur am	33030805504	GHS-SOORADIMANGALAM	1
148	Vellore	33041404206	GGHSS, LATHERI	1
149	Salem	33081702409	GHSS,KARUPPUR	1
150	Namakkal	33090100420	MHS FORT NAMAKKAL	1
151	Tiruchirapp alli	33150303707	GHSS, SIRUGAMBUR	1
152	Perambalur	33160300504	GHSS V. KALATHUR	1
153	Madurai	33240300903	GOVT HIGH SCHOOL, T. PUDUR	1
154	Vellore	33040503603	GOVT HS BAGAVELI	1
155	Perambalur	33160200702	GHSS - S.ADUTHURAI	1
156	Villupuram	33070504102	GOVERNMENT HIGH SCHOOL KATTUCHIVIRI	1
157	Theni	33250600507	GOVT HS, BOMMINAICKENPATTY	1
158	Vellore	33040502202	GOVT HS CHETTITHANGAL	1
159	Ariyalur	33320903302	GHS ERAVANGUDI	1
160	Tirunelveli	33291002704	GHSS VELLALANKULAM	1
161	Virudhunaga r	33261002002	GHSS,SEVALPATTI	1
162	Ariyalur	33320501503	GHSS-PONPARAPPI	1
163	Villupuram	33070306203	GOVERNMENT HIGHER SECONDARY SCHOOL MELSITHAMUR	1
164	Sivagangai	33230104405	GOVT HSS MARUTHUPANDIYAR NAGAR	1
165	Thanjavur	33211104904	GOVT HR SEC SCHOOL, ANAIKKARAI	1
166	Ramanathap uram	33270200404	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, R.S.MANGALAM	1
167	Salem	33080100403	GBHS SENTHARAPATTI	1
168	Pudukkottai	33220501408	GOVERNMENT MODEL HIGHER SECONDARY SCHOOL PERUNGALUR	1
169	Salem	33080101503	GOVT HSS GUDAMALAI	1
170	Tirunelveli	33290900907	GOVT HSS,VADAKKU CHELIYANALLUR	1
171	Madurai	33241000104	GOVT KALLAR HR SEC SCHOOL, CHECKANURANI	1
172	Coimbatore	33120100305	CORPORATION HIGHER SECONDARY SCHOOL R.S. PURAM	1
173	Vellore	33040101512	G(G)ADWHSS ARAKKONAM	1
174	Coimbatore	33121102810	GOVERNMENT HIGHER SECONDARY SCHOOL MANNUR RAMANATHAPURAM	1
175	Vellore	33041401603	GHS, PANAMADANGI	1
176	Theni	33250101303	GOVT HSS, S.KATHIRNARASINGAPURAM	1
177	Pudukkottai	33220506302	RANEES GOVT GIRLS HIGH SCHOOL, PUDUKKOTTAI	1

S. No. District UDISE School Name 178 Cuddalore 33180303703 GOVERNMENT ADIDIRAVIDAR WELFARE HIGHER SECONDARY SCHOOL, SEMAKOTTAI 179 Pudukkottai 33220403506 GHS-THUVAR 180 Salem 33080802102 GGHSS, ELAMPILLAI	Physi cal 1 1 1 1 1 1
SECONDARY SCHOOL, SEMAKOTTAI 179 Pudukkottai 33220403506 GHS-THUVAR	1 1 1
	1
180 Salem 33080802102 GGHSS, ELAMPILLAI	1
181 Salem 33080700310 GHSS, KATTUKOTTAI	1
182 Tirunelveli 33291500507 AMC Govt Hr. Sec. School, Karivalamvanthanallur	1
183 Tiruvallur 33010613403 GOVT (B) HSS, PONNERI	1
184 Tiruchirapp 33150204629 GHS, LALGUDI alli	1
185 Virudhunaga 33260612786 SSG(G)HSS,RAJAPALAYAM	1
186 Vellore 33040902003 Govt Hr. Sec.School, Thorapadi	1
187 Tiruvannam 33061002102 GHSS (GIRLS) KALASAPAKKAM alai	1
188 Dharmapuri 33050101419 Adhiyaman Govt. (B) Hr. Sec. School	1
189 Villupuram 33070201903 GOVERNMENT HIGHER SECONDARY SCHOOL ALAMPOONDI	1
190 Thanjavur 33210505802 GOVERNMENT HIGH SCHOOL - ORATHANADU PUDUR	1
191 Villupuram 33071701313 GOVERNMENT HIGHER SECONDARY SCHOOL (GIRLS) KALLAKURICHI	1
192 Krishnagiri 33310900102 GHS A.PALLATHUR	1
193 Tiruvallur 33011003701 J.G.CARODIA GOVT HSS, MADHAVARAM	1
194 Villupuram 33070800402 GOVERNMENT HIGHER SECONDARY SCHOOL ATHIYURTHIRUKKAI	1
195 Tiruvallur 33010908102 MUN.HSS KORATTUR	1
196 Tiruvallur 33011007710 MHS, ERNAVUR	1
197 Karur 33140403402 GOVT HR SEC SCHOOL,ELAVANUR	1
198 Ariyalur 33320801102 GHS SILAMBUR	1
199 Dindigul 33131102607 GHSS,VEMBARPATTI	1
200 Perambalur 33160201603 GHSS KEELAPERAMBALUR	1
201 Tiruppur 33331000104 GHSS MADATHUKULAM	1
202 Tiruvallur 33010803702 GOVT HSS A N KANDIGAI	1
203 Villupuram 33070504204 GOVERNMENT HIGH SCHOOL KOOTERIPATTU	1
204 Tiruppur 33331203707 GHSS ELUGAMVALASU	1
205 Dharmapuri 33050210502 GHS T GANIGARAHALLI	1
206 Vellore 33042100304 GOVT HS ACHAMANGALAM	1
207 Kancheepur 33030308804 GHSS,SALAVAKKAM am	1
208 Coimbatore 33120301103 GBHSS CHINNATHADAGAM	1
209 Namakkal 33090300603 GOVT HIGH SCHOOL, S.VAZHAVANTHI	1
210 Salem 33082103504 MHS PUDHU STREET KITCHIPALAYAM	1
211 Vellore 33040102207 G(B)HSS THAKKOLAM	1
212 Salem 33081701303 PERARIGNAR ANNA G.H.S.S, THOLASAMPATTY	1
213 Tiruvallur 33011407106 Govt Girls High school, Vanganoor	1
214 Karur 33140100207 P.E.V.R. GOVT.HR.SEC.SCH,NOYYAL	1
215 Tiruchirapp 33151601205 GHSS, NADUPATTY	1

		CWSN To	oilets at secondary level (451)	
S. No.	District	UDISE	School Name	Physi cal
	alli			
216	Erode	33100102413	GHSS VELLITHIRUPUR	1
217	Tiruppur	33331203403	GHSS MOOLANUR	1
218	Coimbatore	33121200502	GOVERNMENT HIGHER SECONDARY SCHOOL,GOMANGALAMPUDUR	1
219	Madurai	33240103406	GOVT HR SEC SCHOOL, T METTUPATTI	1
220	Salem	33080901707	GHS ALAGAPURAM PUDUR	1
221	Villupuram	33070207005	GOVERNMENT HIGHER SECONDARY SCHOOL (G) GINGEE	1
222	Tirunelveli	33291101807	GOVT HS KARANTHANERI	1
223	Tiruvarur	33200303004	GHSS,AMMAIYAPPAN	1
224	Thanjavur	33210804005	GHSS - AYYAMPETTAI	1
225	Krishnagiri	33311711702	GHSS PEDDABELAGONDAPALLY	1
226	Salem	33080302308	GHSS,KANJANAICKENPATTI	1
227	Villupuram	33070903102	GOVERNMENT HIGHER SECONDARY SCHOOL THUMBUR	1
228	Villupuram	33070703902	GOVERNMENT HIGHER SECONDARY SCHOOL ERAIYUR	1
229	Tiruvannam alai	33060907702	GHSS SENGUNAM	1
230	Chennai	33020501504	CHSS SUBBARAYAN ST	1
231	Tiruvallur	33010207606	GHS,THIRUPACHUR	1
232	Salem	33080102410	GHS NADUVALUR	1
233	Pudukkottai	33220501804	GOVERNMENT HIGH SCHOOL, SEMBATTUR.	1
234	Kancheepur am	33030208601	GGHSS, WALAJABAD	1
235	Dharmapuri	33050612202	GHSS NATHAMEDU	1
236	Cuddalore	33180204516	GGHSS, NELLIKUPPAM	1
237	Cuddalore	33181100902	GHSS MANJAKOLLAI	1
238	Krishnagiri	33310903502	GHSS KEELKUPPAM	1
239	Villupuram	33070804004	GOVERNMENT HIGHER SECONDARY SCHOOL MAMBALAPATTU	1
240	Madurai	33241200107	GOVT KALLAR HR SEC SCHOOL, VELLAIMALAIPATTI	1
241	Salem	33080902329	GHS FOR DEAF SURAMANGALAM	1
242	Pudukkottai	33220702506	GOVT.BOYS HR.SEC.SCHOOL, KARAMBAKKUDI	1
243	Vellore	33040302004	GOVT BOYS HSS BANAVARAM	1
244	Pudukkottai	33220505102	MUNICIPAL HIGH SCHOOL, RAJAGOPALAPURAM.	1
245	Thanjavur	33210206502	GOVT BOYS HR SEC SCHOOL-VALLAM	1
246	Tiruvarur	33200801103	GHSS,KOTTUR	1
247	Sivagangai	33230903805	SATHAPPA GOVT HSS NERKKUPPAI	1
248	Villupuram	33071500109	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL SANKARAPURAM	1
249	Nagapattina m	33190400308	GHS THIRUPOONDI NORTH	1
250	Madurai	33241516702	CORPORATION HR SEC SCHOOL, SUNDHARAJAPURAM	1
251	Thanjavur	33211103103	GHSS (GIRLS) - PANDHANALLUR	1
252	Coimbatore	33120500428	R.C GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL ONDIPUDUR	1

S. No. District UDISE School Name Physical	CWSN Toilets at secondary level (451)				
253 Villupuram 33071605303 GOVERNMENT HIGHER SECONDARY SCHOOL 1	S. No.	District	UDISE	School Name	-
am	253	Villupuram	33071605303		1
256 Vellore 33040707107 GBHSS KALAVAI 1 1 257 Pudukkottai 33220301904 GOVERNMENT HIGHER SECONDARY SCHOOL(SPL) 1 1 1 1 1 1 1 1 1	254	_	33030503602	GOVERNMENT HIGH SCHOOL VADAKUPATTU	1
257	255	Salem	33081800308	GHSS ARA CHETTIPATTI	1
MATHUR	256	Vellore	33040707107	GBHSS KALAVAI	1
259 Krishnagiri 33310907202 GHSS PERIYATHALLAPADI 1	257	Pudukkottai	33220301904		1
260 Theni 33250500520 GOVT HSS, VAIKKALPARAI 1 261 Thanjavur 33211201402 GHSS-NATTUCHALAI 1 262 Tirunelveli 33291600303 GOVERNMENT HIGHER SECONDARY 1 263 Kancheepur am 33030503304 G(B)HSS, Padappai 1 1 264 Kancheepur am 33031003802 GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM. 1 265 Kancheepur am 33031003802 GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM. 1 266 Tirunelveli 33291009612 GHS KOOVACHIPATTI 1 267 Tirupur 33332000133 G.HS, DURAI RAMASAMY NAGAR, VELLAKOVIL 1 268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33306130202 GHSS (BOYS) KILPENNATHUR 1 273 Tiruvannam alai 330612001	258	Villupuram	33071001204	ADI DRAVIDA WELFARE HIGH SCHOOL KAPPUR	1
261 Thanjavur 33211201402 GHSS-NATTUCHALAI 1 262 Tirunelveli 33291600303 GOVERNMENT SCHOOL, PULLIYARAI 1 263 Kancheepur am 33030503304 G(B)HSS, Padappai 1 264 Kancheepur am 33031003802 GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM. 1 265 Kancheepur am 33031003802 GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM. 1 266 Tirunelveli 33291009612 GHS KOOVACHIPATTI 1 267 Tiruppur 33332000133 GHS, DURAI RAMASAMY NAGAR, VELLAKOVIL 1 268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33061303202 GHSS (BOYS) KILPENNATHUR 1 273 Tiruvarunam alai 33061200102 GHSS (BOYS) KILPENNATHUR 1 275 Vellore 33040706301 GHSS VALAPANDAL	259	Krishnagiri	33310907202	GHSS PERIYATHALLAPADI	1
262	260	Theni	33250500520	GOVT HSS, VAIKKALPARAI	1
SCHOOL, PULIYARAI 1 1 264 Kancheepur am 33030503304 G(B)HSS, Padappai 1 1 264 Kancheepur am 33030808501 GHSS MAMALLAPURAM 1 265 Kancheepur am 33031003802 GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM. 1 266 Tirunelveli 33291009612 GHS KOOVACHIPATTI 1 1 267 Tiruppur 33332000133 G.H.S., DURAI RAMASAMY NAGAR, VELLAKOVIL 1 1 268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 1 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33319098903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS, PANNAPPATTI 1 1 273 Tiruvannam 33061303202 GHSS (BOYS) KILPENNATHUR 1 1 274 Tirunelveli 3329103209 GHSS (BOYS) KILPENNATHUR 1 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 3329103209 GHSS VALAPANDAL 1 277 Tirunelveli 3329103209 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 278 Pudukkottai 33220601003 GOVT (B) HSS NANDUNAKURICHI 1 278 Pudukkottai 33220601003 GHSS VEPPUR 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY SCHOOL, THIRUVARANKULAM 283 Dindigul 33131301704 GHSS NANDANADARKULAM 1 285 Salem 33080803003 GHSS VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM	261	Thanjavur	33211201402	GHSS-NATTUCHALAI	1
Am	262	Tirunelveli	33291600303		1
Am		-			1
266 Tirunelveli 33291009612 GHS KOOVACHIPATTI 1 267 Tiruppur 33332000133 G.H.S., DURAI RAMASAMY NAGAR, VELLAKOVIL 1 268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33310908903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS (BOYS) KILPENNATHUR 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 3329103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 3329103209 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS NADUVAKURICHI 1 279		am			
267 Tiruppur 33332000133 G.H.S., DURAI RAMASAMY NAGAR, VELLAKOVIL 1 268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33310908903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS, PANNAPPATTI 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 277 Tirunelveli 33291003003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GHSS BARUR 1 281 Krishnagiri		am		·	
268 Coimbatore 33121202203 ADW HSS THONDAMUTHUR 1 269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33310908903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS, PANNAPPATTI 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS VEPPUR 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003	266	Tirunelveli	33291009612	GHS KOOVACHIPATTI	1
269 Nagapattina m 33190401301 GHSS PALAKKURICHI 1 270 Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1 271 Krishnagiri 33310908903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS, PANNAPPATTI 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 276 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003	267	Tiruppur	33332000133	G.H.S, DURAI RAMASAMY NAGAR, VELLAKOVIL	1
Tiruvarur 33200503203 GHSS, THIRUNEIPAIR 1	268	Coimbatore	33121202203	ADW HSS THONDAMUTHUR	1
271 Krishnagiri 33310908903 GHSS UTHANGARAI BOYS 1 272 Salem 33080302003 GHSS, PANNAPPATTI 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS VEPPUR 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHSS ANANDANADARKUDY 1 1 284	269				
272 Salem 33080302003 GHSS, PANNAPPATTI 1 273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 1 285 Salem 33040302006 GOVT GIRLS HSS BANAVARAM 1	270	Tiruvarur	33200503203	GHSS, THIRUNEIPAIR	1
273 Tiruvannam alai 33061303202 GHSS (BOYS) KILPENNATHUR 1 274 Tiruvannam alai 33061200102 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT SCHOOL,THIRUVARANKULAM 1 283 Dindigul 33131301704 GHSS ANANDANADARKUDY 1 284 Kanniyakum ari 33080803003 GHSS, VEMBADITHALAM 1 285 Salem 33040302006 GOVT GIRLS HSS BANAVARAM 1	271		33310908903		1
alai 33061200102 GHS ANANDAL 1 274 Tiruvannam alai 33040706301 GHS ANANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 1 284 Kanniyakum ari 333080803003 GHSS, VEMBADITHALAM 1 1 285 Salem 33040302006 GOVT GIRLS HSS BANAVARAM 1	272	Salem	33080302003		1
alai GHSS VALAPANDAL 1 275 Vellore 33040706301 GHSS VALAPANDAL 1 276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT SCHOOL,THIRUVARANKULAM SECONDARY SCHOOL,THIRUVARANKULAM 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33080803003 GHSS ANANDANADARKUDY 1 285 Salem 33040302006 GOVT GIRLS HSS BANAVARAM 1	273			,	1
276 Tirunelveli 33291103209 GOVT (B) HSS NANGUNERI 1 277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	274				1
277 Tirunelveli 33291003003 GHSS NADUVAKURICHI 1 278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	275	Vellore	33040706301	GHSS VALAPANDAL	1
278 Perambalur 33160202003 GHSS VEPPUR 1 279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT SCHOOL,THIRUVARANKULAM SECONDARY SCHOOL,THIRUVARANKULAM 1 283 Dindigul 33131301704 GHSS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	276	Tirunelveli	33291103209		1
279 Dharmapuri 33050609702 GHS T.AYYAMPATTY 1 280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY SCHOOL,THIRUVARANKULAM 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	277	Tirunelveli	33291003003		1
280 Salem 33081301408 GBHSS ATTUR 1 281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY SCHOOL,THIRUVARANKULAM 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	278	Perambalur	33160202003	GHSS VEPPUR	1
281 Krishnagiri 33311101302 GHSS BARUR 1 282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY SCHOOL, THIRUVARANKULAM 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	279	_			1
282 Pudukkottai 33220601003 GOVERNMENT HIGHER SECONDARY 1 283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	280	Salem	33081301408		1
283 Dindigul 33131301704 GHS, V.KURUNTHAMPATTY 1 284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	281	Krishnagiri	33311101302	GHSS BARUR	1
284 Kanniyakum ari 33300300806 GHSS ANANDANADARKUDY 1 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1				SCHOOL,THIRUVARANKULAM	
ari 285 Salem 33080803003 GHSS, VEMBADITHALAM 1 286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	283	Dindigul	33131301704	GHS, V.KURUNTHAMPATTY	1
286 Vellore 33040302006 GOVT GIRLS HSS BANAVARAM 1	284		33300300806	GHSS ANANDANADARKUDY	1
	285	Salem	33080803003	GHSS, VEMBADITHALAM	1
287 Ariyalur 33321006303 GHSS KEELAKOLATHUR 1	286	Vellore	33040302006	GOVT GIRLS HSS BANAVARAM	1
	287	Ariyalur	33321006303	GHSS KEELAKOLATHUR	1

CWSN Toilets at secondary level (451)					
S. No.	District	UDISE	School Name	Physi cal	
288	Cuddalore	33180303205	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL PERPERIYANKUPPAM	1	
289	Pudukkottai	33220506701	GOVT HIGH SCHOOL, GANDHINAGAR	1	
290	Tirunelveli	33291302703	GHSS,MARUTHAMPUTHUR	1	
291	Krishnagiri	33311110202	GHS THIMMAPURAM	1	
292	Nagapattina m	33190400106	GHS SERUTHUR	1	
293	Chennai	33020901203	CHSS MADUVANKARAI	1	
294	Nagapattina m	33190803002	GGHSS,SEMBANARKOVIL	1	
295	Villupuram	33070302704	GOVERNMENT HIGHER SECONDARY SCHOOL NEGANUR	1	
296	Dindigul	33131102905	GHS,SAKKILIANKODAI	1	
297	Tiruvannam alai	33061708104	GBHSS- THANIPADI	1	
298	Tiruvallur	33011204302	GHS, NEMILI	1	
299	Namakkal	33090400202	GHSS MUTHUKAPATTI	1	
300	Erode	33101500105	GHSS,VIJAYAMANGALAM	1	
301	Virudhunaga r	33260104403	GHSS, VELLAIYAPURAM	1	
302	Dharmapuri	33050606302	GHSS MORAPPUR - BOYS	1	
303	Namakkal	33090100205	GHS MARURPATTI	1	
304	Tiruvallur	33011002003	ADW (B) HSS, VADAKARAI		
305	Coimbatore	33121701008	GHSS S.PUNGAMPALAYAM	1	
306	Kancheepur am	33030903140	G(B)HSS,NANGANALLUR	1	
307	Thoothukku di	33281004604	GHSS KURUKKUSALAI	1	
308	Cuddalore	33180304230	GOVERNMENT HIGHER SECONDARY SCHOOL PANRUTI	1	
309	Dindigul	33131301006	GBHSS VADAMADURAI	1	
310	Krishnagiri	33311504407	RV GHSS-BOYS HOSUR	1	
311	Salem	33082103706	MPL GHSS, GUGAI	1	
312	Namakkal	33090401502	GHS PAVITHRAMPUDUR	1	
313	Villupuram	33071604508	GOVERNMENT GIRLS HIGH SCHOOL RISHIVANDIYAM	1	
314	Tirunelveli	33291009607	GHSS VANNICONENDAL	1	
315	Vellore	33040707105	GGHSS KALAVAI	1	
316	Tiruvannam alai	33060800901	GHSS DEVIKAPURAM	1	
317	Krishnagiri	33311211103	GHSS GIRLS POCHAMPALLI	1	
318	Villupuram	33071004405	GOVERNMENT HIGHER SECONDARY SCHOOL PILLUR	1	
319	Salem	33082001512	GHSS YERCAUD	1	
320	Villupuram	33071304408	GOVERNMENT GIRLS HIGH SCHOOL G.ARIYUR		
321	Karur	33140302105	GOVT.HIGHER.SEC.SCHOOL,ESANATHAM		
322	Salem	33081101306	GBHSS JALAKANDAPURAM		
323	Nagapattina m	33190400105	GHSS-P.R.PURAM	1	
324	Tiruchirapp	33151600204	GHSS, ARASUNILAIPALAYAM	1	

CWSN Toilets at secondary level (451)					
S. No.	District	UDISE	School Name	Physi cal	
	alli				
325	Tirunelveli	33290903405	GHS RASTHA	1	
326	Tiruvannam alai	33060507803	GHSS(GIRLS)-VANDAVASI	1	
327	Tirunelveli	33292104304	Jawahar Govt. HS, Tirunelveli	1	
328	Ramanathap uram	33270402202	GOVERNMENT HIGHER SECONDARY SCHOOL, SATHIRAKUDI	1	
329	Dharmapuri	33050311402	GHSS PAUPARAPATTI - MODEL BOYS	1	
330	Dindigul	33130801304	GHSS,PERIYAKOTTAI	1	
331	Kancheepur am	33031007102	MARVAR GOVERNMENT BOYS HIGHER SECONDARY SCHOOL, ACHARAPAKKAM.	1	
332	Thoothukku di	33280805001	G(G)HSS, KOVILPATTI	1	
333	Salem	33081800116	GHSS B SANKARI	1	
334	Thanjavur	33211303604	GHSS(GIRLS) -MADUKKUR	1	
335	Nagapattina m	33190501501	GHS SITHAIMOOR	1	
336	Tiruvallur	33010702302	GHS, JAGANATHAPURAM	1	
337	Kancheepur am	33030309502	GBHSS,UTHIRAMERUR		
338	Erode	33100802610	MUNICIPAL BOYS HR. SEC. SCHOOL, GOBI		
339	Nagapattina m	33190805703	GHS,CHANDIRAPADI	1	
340	Chennai	33021001912	CHSS VELACHERY	1	
341	Pudukkottai	33220500905	GOVT HIGHER SECONDARY SCHOOL,A.MATHUR.		
342	Kancheepur am	33030705008	GBHSS, NANDHIVARAM	1	
343	Ariyalur	33320802703	ADW HSS POOVANIPATTU	1	
344	Chennai	33020400805	CGHSS MKT ST	1	
345	Vellore	33041801207	GHSS GIRISAMUDHIRAM	1	
346	Tiruvarur	33201000304	GHSS EDAIYUR	1	
347	Krishnagiri	33311402804	GOVERNMENT HIGHER SECONDARY SCHOOL, BERIGAI	1	
348	Cuddalore	33180506301	GHSS POONDIYANKUPPAM	1	
349	Vellore	33042201006	GOVT HS KASINAICKANPATTI	1	
350	Perambalur	33160401803	GHS-VELLUR	1	
351	Tiruchirapp alli	33150604308	GHSS GIRLS,Thuvarankurichy	1	
352	Vellore	33041403104	GHSS, VADUGANTHANGAL	1	
353	Coimbatore	33120200204	GHS MYLERIPALAYAM	1	
354	Tiruvannam alai	33061007202	GHS THENMAHADEVAMANGALAM		
355	Thoothukku di	33281206902	GHSS SENKOTTAI		
356	Tiruppur	33331900106	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL, UTHUKULI		
357	Tirunelveli	33291204704	GHS, THARUVAI	1	
358	Tiruchirapp alli	33151201008	GHSS,ELURPATTI	1	

	CWSN Toilets at secondary level (451)				
S. No.	District	UDISE	School Name	Physi cal	
359	Vellore	33040500504	GOVT. HR.SEC.SCHOOL VALLUVAMPAKKAM	1	
360	Salem	33080800902	GHSS MURUNGAPATTI	1	
361	Tiruvallur	33011404102	GOVT HS,SENGATANUR	1	
362	Pudukkottai	33221104903	GOVT HIGH SCHOOL, THIRUNALLUR SOUTH	1	
363	Villupuram	33070702303	GOVERNMENT HIGHER SECONDARY SCHOOL KILIYANUR	1	
364	Cuddalore	33180600609	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL MANGALAMPETTAI	1	
365	Tirunelveli	33290602309	GOVT HR SEC SCHOOL KALAKAD	1	
366	Krishnagiri	33311510006	GHSS ZUZUVADI	1	
367	Vellore	33040205803	G(G)HSS NEMILI	1	
368	Madurai	33240102203	GOVT HR SEC SCHOOL, MUDUVARPATTI	1	
369	Ariyalur	33320100804	GHS-NAYAGANAIPRIYAL	1	
370	Salem	33080204302	GTRHSS, KARIYAKOILVALAVU	1	
371	Tiruppur	33332000603	GHSS, MUTHUR	1	
372	Thanjavur	33211403605	GHSS GIRLS PERAVURANI	1	
373	Erode	33101500902	GHSS,NALLAMPATTI	1	
374	Salem	33080102203	GHS KADAMBUR	1	
375	Chennai	33020900803	CHSS CIT NAGAR	1	
376	Salem	33080701202	GHSS, DEVIYAKURICHI	1	
377	Salem	33081704302	GHSS VELLALAPATTI		
378	Villupuram	33071002006	GOVERNMENT BOYS HIGHER SECONDARY SCHOOL VALAVANUR		
379	Sivagangai	33231000110	GOVT BOYS HSS SINGAMPUNARI	1	
380	Salem	33080803803	GBHSS ATTAYAMPATTY	1	
381	Ariyalur	33320101803	GHSS-VIKKARAMANGALAM	1	
382	Karur	33140702103	GHS, NACHALUR	1	
383	Salem	33081901503	GOVT BOYS HSS, VALAPPADI	1	
384	Perambalur	33160401102	GHSS_KURUMBALUR	1	
385	Salem	33080401111	G.G.H.S.S. MAGUDANCHAVADI	1	
386	Tiruvallur	33010911203	GOVT HSS,MADHURAVOYAL	1	
387	Salem	33081200405	GHSS CHETTIMANKURICHI	1	
388	Virudhunaga r	33260910579	G.H.S.S., NARANAPURAM	1	
389	Madurai	33240101102	GOVT HIGH SCHOOL, MANIYANJI	1	
390	Dharmapuri	33050504902	GHSS KANNIPATTI	1	
391	Nagapattina m	33191001202	ADW GHSS KONDAL		
392	Krishnagiri	33311104407	GHSS-BOYS KAVERIPATTINAM	1	
393	Nagapattina m	33191104210	GHSS THULASENTHIRAPURAM		
394	Karur	33140101730	GOVT.GIRLS HR.SEC SCHOOL,KARUR		
395	Coimbatore	33120400305	GHSS SUNDAKKAMUTHUR	1	
396	Krishnagiri	33311307610	GHSS-GIRLS, VEPPANAPALLI	1	
397	Tiruvannam	33061406302	GHS NARAIYUR	1	

CWSN Toilets at secondary level (451)				
S. No.	District	UDISE	School Name	Physi cal
	alai			
398	Salem	33081600202	GHS M.N.PATTI	1
399	Ariyalur	33320101202	GHSS-KODALIKARUPPUR	1
400	Villupuram	33072201404	GOVERNMENT HIGHER SECONDARY SCHOOL KALAMARUDUR	1
401	Vellore	33041701001	GHSS CHINNAPALLIKUPPAM	1
402	Tiruvallur	33010103603	GOVT. WEL (G) HSS, SEVVAPET	1
403	Pudukkottai	33220700803	GOVT.HR.SEC.SCHOOL, REGUNATHAPURAM	1
404	Ariyalur	33321006402	GHSS THIRUMANUR	1
405	Ramanathap uram	33271005702	GOVERNMENT HIGHER SECONDARY SCHOOL, THIRUPPULLANI	1
406	Salem	33080301707	GHS, DEEVATTIPATTI	1
407	Tiruppur	33332203502	CHINNASAMY AMMAL BOYS MHSS,TIRUPPUR	1
408	Karur	33140403103	GOVT HR SEC SCHOOL, THUMBIVADI	1
409	Tiruchirapp alli	33150703406	G(G)HSS MUSIRI	1
410	Ramanathap uram	33271104602	GOVERNMENT HIGHER SECONDARY SCHOOL, PUDUMADAM	1
411	Villupuram	33072103702	GOVERNMENT HIGH SCHOOL PINNALVADI	1
412	Salem	33080100305	GHSS KONDAIYAMPALLI	1
413	Virudhunaga r	33260704813	GOVERNMENT HIGHER SECONDARY SCHOOL, ULLOORPATTI	1
414	Salem	33080100606	GBHSS THAMAMPATTI	1
415	Salem	33080300607	GHSS,PERIYA VADAGAMPATTI	1
416	Tirunelveli	33292100501	GOVERNMENT HR SEC SCHOOL, TIRUNELVELI	1
417	Salem	33081100904	GHSS, SAVURIYUR	1
418	Vellore	33042203203	GOVT HSS KORATTI	1
419	Karur	33140801007	GOVERNMENT HIGHER SECONDARY SCHOOL,KEELAVELIYUR	1
420	Villupuram	33070106203	GOVERNMENT HIGHER SECONDARY SCHOOL SEVALAPURAI	1
421	Salem	33081201109	GGHSS EDAPPADI	1
422	Villupuram	33070304204	GOVERNMENT HIGHER SECONDARY SCHOOL ILLODU	1
423	Kancheepur am	33030901804	GHSS ANAKAPATHUR	1
424	Villupuram	33072205603	GOVERNMENT HIGHER SECONDARY SCHOOL SENDANADU	1
425	Namakkal	33090500110	GGHSS SENDAMANGALAM	1
426	Krishnagiri	33311501204	GHSS-BOYS BAGALUR	1
427	Dindigul	33131500902	G(G)HSS,KACHERITHERU	1
428	Nagapattina m	33190903704	GHSS KOMAL	1
429	Cuddalore	33180504006	GHS KO.CHATHIRAM	1
430	Villupuram	33070503703	GOVERNMENT HIGHER SECONDARY SCHOOL PERANI	1
431	Theni	33250101408	GOVT HSS, OKKARAIPATTI	1
432	Coimbatore	33121400186	GGHSS VALPARAI	1

	CWSN Toilets at secondary level (451)					
S. No.	District	UDISE	School Name	Physi cal		
433	Thoothukku di	33280700707	GHS PANNAMPARAI	1		
434	Tiruvallur	33011200103	GOVT HSS, ARCOT KUPPAM	1		
435	Theni	33250201536	10TH WARD MPL HS, BODINAYAKANUR	1		
436	Coimbatore	33120500212	CHSS,PEELAMEDU	1		
437	Coimbatore	33121204102	MUNICIPAL BOYS HR. SEC. SCHOOL, POLLACHI	1		
438	Madurai	33241200203	GOVT KALLAR HR SEC SCHOOL, K.PERUMALPATTI	1		
439	Krishnagiri	33311307604	GOVT. HSS-BOYS VEPPANAPALLI	1		
440	Tiruvallur	33010806402	GHS OBASAMUTHRAM	1		
441	Chennai	33020601203	CHS IRUSAPPA STREET	1		
442	Perambalur	33160204203	GGHSS KUNNAM	1		
443	Madurai	33240301803	GOVT HIGH SCHOOL, VADAKKAMPATTI	1		
444	Dharmapuri	33050503602	GHS GUNDAGANUR	1		
445	Tiruvannam alai	33060404101	GHS MELATHANGAL	1		
446	Tiruppur	33332202210	GHS MUDHALIPALAYAM	1		
447	Tiruvallur	33011405304	GOVT (B) HSS, R.K.PET	1		
448	Perambalur	33160400105	GHSS PERAMBALUR	1		
449	Coimbatore	33120401503	GHS GANDHIMANAGAR	1		
450	Nagapattina m	33190402701	AMGHSS THIRUKUVALAI	1		
451	Coimbatore	33121203802	MGHSS POLLACHI	1		
			Total	451		

Hr. Secondary Level

	Boys Toilets(25)					
S. No.	District	UDISE	School Name	Physi cal		
1	Kanniyakumar i	33300900208	GOVT HSS EZHUDESAPATTU	1		
2	Tiruvannamala i	33061500501	GHSS AMMAPALAYAM	1		
3	Coimbatore	33121701106	GHSS OOMAPALAYAM	1		
4	Salem	33080600105	GOVT GIRLS HSS JARI KONDALAMPATTI -MODEL	1		
5	Cuddalore	33180504104	GHSS KARUNKUZHI	1		
6	Namakkal	33090401205	GHSS POTTIREDDIPATTI	1		
7	Cuddalore	33180906603	GHSS SEPLANATHAM	1		
8	Krishnagiri	33311208002	GHSS MALLAPADI	1		
9	Madurai	33240803902	GOVT HR SEC SCHOOL, VELLALURE	1		
10	Theni	33250100307	GOVT HSS, RENGASAMUDRAM	1		
11	The Nilgiris	33110101017	GHSS KATHADIMATTAM	1		
12	Sivagangai	33230605402	GOVT. HR SEC SCHOOL, THIRUVEGAMPET	1		

Boys Toilets(25)					
S. No.	District	UDISE	School Name	Physi cal	
13	Perambalur	33160400802	GHSS-KAVULPALAYAM	1	
14	Sivagangai	33230504002	GOVT HIGHER SEC SCHOOL SATHANOOR	1	
15	Vellore	33041504306	GHSS KALLAPADI	1	
16	Ramanathapur am	33270806202	GOVERNMENT HIGHER SECONDARY SCHOOL, UCHINATHAM	1	
17	Dindigul	33131001610	GHSS,KONNUR	1	
18	Villupuram	33070100102	GOVERNMENT HIGHER SECONDARY SCHOOL ANNAMANGALAM	1	
19	Dindigul	33131203706	GHSS,KOKKARAKKAL VALASU	1	
20	Cuddalore	33180904403	P.RAMALINGA MDR GHSS, MUDHANAI	1	
21	Villupuram	33072201606	GOVERNMENT MODEL HIGHER SECONDARY SCHOOL VELUR	1	
22	Virudhunagar	33260108129	S T R N GHSS, ARUPPUKOTTAI	1	
23	Tirunelveli	33291600908	GOVERNMENT HIGHER SECONDARY SCHOOL AYIKUDI	1	
24	Thanjavur	33211202103	GHSS-PUDUKOTTAI ULLUR	1	
25	Theni	33250301710	GOVT KALLAR HSS, MUTHAIYANCHETTYPATTY	1	
	•		Total	25	

Girls Toilets(90)						
S. No.	District	UDISE	School Name	Physi		
1	Dharmaan	33050701602	GHSS BAIRNATHAM	cal		
1	Dharmapuri			1		
2	Coimbatore	33121701106	GHSS OOMAPALAYAM	1		
3	Tiruchirappalli	33151301403	GHSS,SENAPPANALLUR	1		
4	Theni	33250700202	GOVT HSS, K.LAKSHMIPURAM	1		
5	Tirunelveli	33290508403	GOVT.HSS,URMELAZHAGIAN	1		
6	Thoothukkudi	33280403402	GHSS MAVADIPANNAI	1		
7	Dharmapuri	33050608402	GHSS R.GOPINATHAMPATTY	1		
8	Perambalur	33160301403	GHSS RANJANKUDI	1		
9	Dindigul	33131100603	GHSS,SHANARPATTI			
10	Cuddalore	33180504104	GHSS KARUNKUZHI			
11	Cuddalore	33180800802	GOVERNMENT HIGHER SECONDARY SCHOOL ,	1		
4.0			KEELAKALPOONDI			
12	Tiruppur	33331202404	GHSS KANNIVAADI	1		
13	Dharmapuri	33050612302	GHSS NAVALAI	1		
14	Nagapattinam	33190203102	GHSS AMBAL	1		
15	Krishnagiri	33311801202	GHSS GERIGEPALLI	1		
16	Nagapattinam	33190900402	GHSS KILIYANUR	1		
17	Cuddalore	33181100102	GHSS KRISHNAPURAM	1		
18	Ramanathapur	33270806202	GOVERNMENT HIGHER SECONDARY SCHOOL,	1		
	am		UCHINATHAM	1		
19	Krishnagiri	33311208002	GHSS MALLAPADI			
20	Ariyalur	33320801302	GOVT.HR.SEC.SCHOOL,AYYUR			
21	Krishnagiri	33311803902	GHSS M.NADUPATTI			

Girls Toilets(90)				
S. No.	District	UDISE	School Name	Physi
22	Namakkal	33091100902	GHSS SOWDHAPURAM	cal 1
23	Dindigul	33130100903	GHSS,V.KOOTHAMPATTI	1
24	Madurai	33240803902	GOVT HR SEC SCHOOL, VELLALURE	1
25	Villupuram	33070301202	GOVERNMENT HIGHER SECONDARY SCHOOL	1
	-		THAIYUR	_
26	Dindigul	33131203706	GHSS,KOKKARAKKAL VALASU	1
27	Perambalur	33160302503	GHSS ANUKKUR	1
28	The Nilgiris	33110401129	GHSS PANDALUR	1
29	Dindigul	33131001610	GHSS,KONNUR	1
30	Ramanathapur am	33270506602	GOVERNMENT HIGHER SECONDARY SCHOOL, POTTAGAVAYAL	1
31	Villupuram	33070100102	GOVERNMENT HIGHER SECONDARY SCHOOL ANNAMANGALAM	1
32	Dindigul	33130903103	GHSS,PAPPAMPATTI	1
33	Ramanathapur am	33270900402	GOVERNMENT HIGHER SECONDARY SCHOOL, DEVIPATTINAM SOUTH	1
34	Virudhunagar	33260602502	GHSS, NALLAMANAICKERPATTI	1
35	Kancheepuram	33030100302	GHSS, Musaravakkam	1
36	Thanjavur	33210504303	GOVT. Hr.SEC.SCHOOL - POYYUNDARKOTTAI	1
37	Villupuram	33071902103	GOVERNMENT HIGHER SECONDARY SCHOOL KUTHAKUDI	1
38	Virudhunagar	33260108129	S T R N GHSS, ARUPPUKOTTAI	1
39	Tirunelveli	33291600709	GOVERNMENT HIGHER SECONDARY SCHOOL SEEVANALLUR	1
40	Villupuram	33070902302	GOVERNMENT HIGHER SECONDARY SCHOOL PONNANKUPPAM	1
41	Theni	33250101303	GOVT HSS, S.KATHIRNARASINGAPURAM	1
42	Vellore	33042002207	GHSS MALLAPALLI	1
43	Madurai	33240400401	GOVT HR SEC SCHOOL, T.KUNNATHUR	1
44	Thoothukkudi	33280305905	GHSS VALAVALLAN	1
45	Krishnagiri	33311202502	GHSS CHINTHAGAMPALLI	1
46	Pudukkottai	33220203803	GOVT HR SEC SCHOOL. MANNAVELAMPATTY	1
47	Karur	33140403402	GOVT HR SEC SCHOOL,ELAVANUR	1
48	Sivagangai	33230211103	GOVT HIGHER SECONDARY SCHOOL PAGANERI	1
49	Ariyalur	33320702003	GHSS K.AMBAPUR	1
50	Tiruvallur	33010306503	GHSS VIDAIYUR	1
51	Namakkal	33090400602	GHSS PALAYAPALAYAM	1
52	Coimbatore	33120600602	GHSS NARASIPURAM	1
53	Sivagangai	33230210902	GOVT ADW HSS MALLAL	1
54	Namakkal	33091000506	GOVERNMENT HIGHER SECONDARY SCHOOL ERAYAMANGALAM	1
55	Cuddalore	33181303902	ADWSHSS MELAVANNIYUR	1
56	Namakkal	33090200303	GTR HSS SENGARAI	1
57	Erode	33101401104	GOVERNMENT HIGHER SECONDARY SCHOOL, KOODAKARAI	1
58	Vellore	33042203504	GOVT HSS PERAMPATTU	1

			Girls Toilets(90)	
S. No.	District	UDISE	School Name	Physi cal
59	Salem	33081302604	GHSS MANJINI	1
60	Tiruvannamala i	33060608602	GHSS(BOYS)-THELLAR	1
61	Dindigul	33130702504	GHSS, MATTAPARAI	1
62	Tiruvannamala i	33060701301	GHSS- IRUMBEDU	1
63	Cuddalore	33180800203	GOVERNMENT BOYS' HIGHER SECONDARY SCHOOL, THOZHUTHUR	1
64	Theni	33250600712	GOVT HSS, VAIGAIDAM	1
65	Erode	33100301713	GHSS, AYYAMPALAYAM	1
66	Dindigul	33130100106	GTRHSS-PERUMPARAI	1
67	Kancheepuram	33030204802	GHSS, PULLALUR	1
68	Coimbatore	33121202203	ADW HSS THONDAMUTHUR	1
69	Villupuram	33070304903	GOVERNMENT HIGHER SECONDARY SCHOOL MELOLAKKUR	1
70	Krishnagiri	33311802302	GHSS KANNANDAHALLI	1
71	The Nilgiris	33110101908	GHSS YEDAKAD	1
72	Ariyalur	33320902502	GHSS KALLATHUR THANDALAI	1
73	Namakkal	33091002103	GOVERNMENT HIGHER SECONDARY SCHOOL, CHITTALANDUR	1
74	Tiruvannamala i	33060106401	GHSS PUNNAI PUDUPALAYAM	1
75	Tirunelveli	33291404316	GHSS KUTTAM	1
76	Villupuram	33070704602	ADI DRAVIDAR WELFARE HIGHER SECONDARY SCHOOL PULICHAPALLAM	1
77	Tiruchirappalli	33150204705	Govt. Hr. Sec. School, Poovalur, Lalgudi	1
78	Madurai	33240502702	GOVT HR SEC SCHOOL, MELAVALAVU	1
79	Krishnagiri	33311001902	GHSS CHINNAMELUPALLI	1
80	Tiruvannamala i	33061208401	GHSS VEDANTHAVADI	1
81	Nagapattinam	33190400105	GHSS-P.R.PURAM	1
82	Ramanathapur am	33270611002	GOVERNMENT HIGHER SECONDARY SCHOOL, MANDALAMANICKAM	1
83	Karur	33140301708	GHSS,ANDIPATTIKOTTAI	1
84	Thanjavur	33210803202	GOVERNMENT HIGHER SECONDARY SCHOOL - PULLAPUTHANKUDI	1
85	Thoothukkudi	33281301207	GHSS MUDIVAITHANENDAL	1
86	Tiruvarur	33200605352	MHSS CO_OPERATIVE URBAN,MANNARGUDI	1
87	Sivagangai	33230401603	GOVT HSS KEELADI	1
88	Dindigul	33131202706	GHSS,KEERANUR	1
89	Sivagangai	33231204004	GOVT HSS VISALAYAN KOTTAI	1
90	Pudukkottai	33220602905	GOVERNMENT HIGHER SECONDARY SCHOOL,MANGADU	1
	•		Total	90

KGBV

1. List of 01 KGBV, where KGBV upgraded from Type I to Type II with total capacity 130 girls (existing 100 girls + additional 30 girls). Details are given below:

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year
Viluppuram	Kallakurichi	33071700203	Pachery	2008-2009

2. List of 04 KGBVs, where upgradation is recommended from Type I to Type III with total capacity 520 girls [existing 400 girls + additional 120 girls (130 girls in each KGBV)].

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year
Viluppuram	Rishivandiyam	33071603003	Vanapuram	2004-2005
Erode	Nambiyur	33101402007	Sokkumari palayam	2004-2005
Erode	T.N.Palayam	33101800405	Nanjai Puliyam patti	2004-2005
Viluppuram	Kallakurichi	33071706002	Tharisukadu	2004-2005

3. List of 05 upgraded KGBVs, where additional construction is given:

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year	Upgraded Type
Viluppuram	Kallakurichi	33071700203	Pachery	2008-2009	II
Viluppuram	Rishivandiyam	33071603003	Vanapuram	2004-2005	III
Erode	Nambiyur	33101402007	Sokkumari palayam	2004-2005	III
Erode	T.N.Palayam	33101800405	Nanjai Puliyam patti	2004-2005	III
Viluppuram	Kallakurichi	33071706002	Tharisukadu	2004-2005	III

4. List of existing 01 KGBV under Type II, where additional construction is given which were upgraded under Type II from Type I with additional 30 seats in 2020-21.

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year	Type
Erode	Ammapettai	33100101906	Kurichi	2006-07	II

5. List of 04 KGBVs, where replacement of bedding given

District Name	Block Name	UDISE Code	Place of KGBV	Туре	No. of girls for replacement of bedding
Viluppuram	Tirukovilur	33071304705	GHSS, Thirupalapandal	I	50
Erode	Anthiyur	33100200111	GHS Pallipallayam	II	50
Erode	Ammapettai	33100101906	Kurichi	II	50
Erode	T.N.Palayam	33101800405	Nanjai Puliyam patti	III	50
					200

6. List of KGBVs where Furniture/ Equipment (including kitchen) is given [for additional 240 girls in 06 KGBVs (existing 05 + 01 newly upgraded) under Type II **Type II (newly upgraded + existing)**:

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year	Remarks
Erode	Ammapettai	33100101906	Kurichi	2006-2007	Existing

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year	Remarks
Erode	Anthiyur	33100200111	GHS Pallipallayam	2004-2005	
Erode	Thalavadi	33101701105	Pums Kunnanpuram	2010-2011	
Erode	Moolanur	33331203418	GHS Peramium	2006-2007	
Viluppuram	Kallakurichi	33071705302	GHS, Pukiravari	2004-2005	
Viluppuram	Kallakurichi	33071700203	Pachery	2008-2009	Newly Upgraded

7. **List of Type III KGBVs (newly upgraded + existing)** 08 KGBVs (existing 04 + 04 newly upgraded) under Type III].

District Name	Block Name	UDISE Code	Place of KGBV	Sanctioned Year	Remarks
Tiruvannamalai	Thandrampet	33061706204	Perungulathur	2004-2005	
Dharmapuri	Pennagaram	33050311406	Papparapatty	2004-2005	Evicting
Perambalur	Veppur	33160204606	Perali	2010-2011	Existing
Salem	Edappadi	33081200511	GHSS Chittur	2006-2007	
Viluppuram	Rishivandiyam	33071603003	Vanapuram	2004-2005	
Erode	Nambiyur	33101402007	Sokkumari	2004-2005	
			palayam		Newly
Erode	T.N.Palayam	33101800405	Nanjai Puliyam	2004-2005	Upgraded
			patti		
Viluppuram	Kallakurichi	33071706002	Tharisukadu	2004-2005	

 $\label{lem:annexure-V} Annexure-V(a)$ List of school approved for sanitary pad vending machine and Incinerator for Elementary schools

S.No.	District	UDISE	School Name
1	Kancheepuram	33031404305	PUMS SHOLINGANALLUR
2	Villupuram	33072101101	PANCHAYAT UNION MIDDLE SCHOOL ADHAIYUR
3	Kancheepuram	33030503303	PUMS MELPADAPPAI
4	Nagapattinam	33190901505	PUMS KUTTALAM
5	Kancheepuram	33030805301	PUMS-SADRAS
6	Cuddalore	33181105402	PUMS BHUVANAGIRI WEST
7	Villupuram	33071604401	PANCHAYAT UNION MIDDLE SCHOOL PASAR
8	Villupuram	33071701310	PANCHAYAT UNION MIDDLE SCHOOL KALLAKURICHI
9	Villupuram	33070204502	PANCHAYAT UNION MIDDLE SCHOOL (G) ANANTHAPURAM
10	Villupuram	33072107501	PANCHAYAT UNION MIDDLE SCHOOL ULUNDURPET(HINDU)
11	Kancheepuram	33031400601	PUMS JALLADIANPET
12	Nagapattinam	33190804004	PUMS THIRUKKADAIYUR
13	Cuddalore	33180304101	PANCHAYAT UNION MIDDLE SCHOOL NATHAM
14	Virudhunagar	33260802501	P.U.M.S.THAMBIPATTI
15	Kancheepuram	33030705017	PUMS GUDUVANCHERY
16	Ramanathapura m	33270810702	PANCHAYAT UNION MIDDLE SCHOOL, ERVADI
17	Kancheepuram	33030501804	PUMS PUDUVATTARAM KOVUR
18	Nagapattinam	33190802501	PUMS AKKUR
19	Villupuram	33071002301	PANCHAYAT UNION MIDDLE SCHOOLKOLIYANUR WEST
20	Kancheepuram	33031402302	PUMS Pozhichalur
21	Villupuram	33071300701	PANCHAYAT UNION MIDDLE SCHOOL KODIYUR
22	Cuddalore	33180607316	MUNICIPAL MIDDLE SCHOOL PUDUPET
23	Cuddalore	33180607318	MUNICIPAL MIDDLE SCHOOL SOUTH FORT STREET- VRIDHACHALAM
24	Kancheepuram	33031402001	PUMS OTTIYAMPAKKAAM
25	Kancheepuram	33030100102	PUMS, DAMAL
26	Villupuram	33071304001	PANCHAYAT UNION MIDDLE SCHOOL SIVANARTHANGAL
27	Kancheepuram	33031401802	PUMS NEELANKARAI
28	Villupuram	33071504001	PANCHAYAT UNION MIDDLE SCHOOL RANGAPPANUR
29	Villupuram	33071402101	PANCHAYAT UNION MIDDLE SCHOOL PAVANDUR
30	Villupuram	33072201505	PANCHAYAT UNION MIDDLE SCHOOL PILLAIYARKUPPAM
31	Kancheepuram	33030705301	PUMS SINGAPERUMAL KOIL
32	Villupuram	33072201302	PANCHAYAT UNION MIDDLE SCHOOL KILAPPALAYAM
33	Villupuram	33072100501	PANCHAYAT UNION MIDDLE SCHOOL T PALLAVADI
34	Villupuram	33070803501	PANCHAYAT UNION MIDDLE SCHOOL KOZHIPATTU
35	Villupuram	33071603001	PANCHAYAT UNION MIDDLE SCHOOL ARIYALUR
36	Kancheepuram	33030105457	MMS, MELPILLAIYAR PALAYAM, KANCHIPURAM
37	Kancheepuram	33030506001	PUMS MANGADU

38 Vi		UDISE	School Name
30 1	illupuram	33070207001	PANCHAYAT UNION MIDDLE SCHOOL GINGEE
39 Vi	irudhunagar	33260312601	PANCHAYAT UNION MIDDLE SCHOOL, KARIAPATTI
40 Vi	illupuram	33071904001	PANCHAYAT UNION MIDDLE SCHOOL MUDIYANUR
41 Vi	illupuram	33071203801	PANCHAYAT UNION MIDDLE SCHOOL ARUNAPURAM
42 Vi	illupuram	33071206701	PANCHAYAT UNION MIDDLE SCHOOL ALAMPADI
43 Vi	illupuram	33071603603	PANCHAYAT UNION MIDDLE SCHOOL KEELATHENUR
44 Vi	illupuram	33071602801	PANCHAYAT UNION MIDDLE SCHOOL KADUVANUR
45 Vi	illupuram	33071603601	PANCHAYAT UNION MIDDLE SCHOOL LA.GUDALUR
46 Vi	illupuram	33071206301	PANCHAYAT UNION MIDDLE SCHOOL VEERANGIPURAM
47 Vi	illupuram	33071605401	PANCHAYAT UNION MIDDLE SCHOOL SOOLANKURICHI
48 Vi	illupuram	33071704101	PANCHAYAT UNION MIDDLE SCHOOL ALATHUR
49 Ka	ancheepuram	33031402701	PUMS THIRUSULAM
50 Vi	illupuram	33071600101	PANCHAYAT UNION MIDDLE SCHOOL JAMBADAI
51 Vi	illupuram	33071404501	PANCHAYAT UNION MIDDLE SCHOOL
52 Vi	illupuram	33071301301	THIRUVENNAINALLUR PANCHAYAT UNION MIDDLE SCHOOL THURINJIPATTU
	illupuram	33071301301	PANCHAYAT UNION MIDDLE SCHOOL MELPATHY
	uddalore	33180301501	PANCHAYAT UNION MIDDLE SCHOOL
34 (0	uuuaiore	33100301301	MANAMTHAVIZHNTHAPUTHUR
55 Vi	illupuram	33072102501	PANCHAYAT UNION MIDDLE SCHOOL ELLAIGIRAMAM
56 Vi	illupuram	33072100701	PANCHAYAT UNION MIDDLE SCHOOL KOOVADU
57 Vi	illupuram	33070501102	PANCHAYAT UNION MIDDLE SCHOOL MAILAM
58 Ti	iruvarur	33200100601	PUMS AVOOR
59 Vi	illupuram	33072106501	PANCHAYAT UNION MIDDLE SCHOOL KANAIYAR
	amanathapura	33270102301	PANCHAYAT UNION MIDDLE SCHOOL, PASIPATTINAM
61 Cu	uddalore	33181101601	PUMS MARUDUR
	illupuram	33071700301	PANCHAYAT UNION MIDDLE SCHOOL MANMALAI
	ancheepuram	33030100301	PUMS MUSARAVAKKAM
	illupuram	33071702601	PANCHAYAT UNION MIDDLE SCHOOL KATTANANDAL
	ancheepuram	33031007107	PANCHAYAT UNION MIDDLE SCHOOL, VENGATESAPURAM.
	uddalore	33180708803	PUMS PENNADAM SOUTH
	iruvarur	33200605210	PUMS MARAKKADAI
	illupuram	33071600301	PANCHAYAT UNION MIDDLE SCHOOL ARKAVADI
	uddalore	33180202602	PUMS ORAIYUR COLONY
	illupuram	33070105601	PANCHAYAT UNION MIDDLE SCHOOL VADUKAPOONDI
	ancheepuram	33030500801	Panchayat union middle school,PARANIPUTHUR
	illupuram	33070202301	PANCHAYAT UNION MIDDLE SCHOOL ODHIYATHUR
	illupuram	33071600701	PANCHAYAT UNION MIDDLE SCHOOL ANTHIYUR
L	illupuram	33071400601	PANCHAYAT UNION MIDDLE SCHOOL AMOOR
	ancheepuram	33031107808	PUMS MALAIPALAYAM
	illupuram	33071204201	PANCHAYAT UNION MIDDLE SCHOOL S. KOLLUR
	agapattinam	33190103027	MMS SAMANTHANKUPPAM
	uddalore	33180200201	PUMS-REDDIKUPPAM
79 Vi	illupuram	33071903905	PANCHAYAT UNION MIDDLE SCHOOL PUDU UCHIMEDU

S.No.	District	UDISE	School Name
80	Villupuram	33071902902	PANCHAYAT UNION MIDDLE SCHOOL GURUPEEDAPURAM
81	Villupuram	33071901301	PANCHAYAT UNION MIDDLE SCHOOL VILAKKUR
82	Villupuram	33070905401	PANCHAYAT UNION MIDDLE SCHOOL PAGANDAI
83	Kancheepuram	33031401925	PUMS, Ezhil Nagar
84	Cuddalore	33181000101	PANCHAYAT UNION MIDDLE SCHOOL ARIYAGOSHTI
85	Nagapattinam	33190902605	PUMS THIRUVALANGADU
86	Ramanathapura m	33270808301	PANCHAYAT UNION MIDDLE SCHOOL, KAVAKULAM
87	Cuddalore	33180304240	PANCHAYAT UNION MIDDLE SCHOOL CHETTIPATTARAI COLONY PANRUTI
88	Kancheepuram	33030406807	PUMS SPR SOUTH
89	Cuddalore	33180607317	MUNICIPAL MIDDLE SCHOOL BOODHAMUR
90	Villupuram	33071204101	PANCHAYAT UNION MIDDLE SCHOOL ANTHILI
91	Kancheepuram	33030105403	MMS OLIMUGAMADUPETTAI
92	Kancheepuram	33030101802	PUMS, Kilambi
93	Nagapattinam	33190601004	PUMS THIRD STREET, VEDARANIYAM
94	Villupuram	33072103201	GOVERNMENT MIDDLE SCHOOL PARINTHAL
95	Villupuram	33071200101	PANCHAYAT UNION MIDDLE SCHOOL MELANDAL
96	Cuddalore	33180302901	PANCHAYAT UNION MIDDLE SCHOOL VISOOR
97	Tiruvarur	33200605333	MMS,GOPALA SAMUDRAM MANNARGUDI
98	Villupuram	33071104501	PANCHAYAT UNION MIDDLE SCHOOL NAVAMALMARUTHUR
99	Kancheepuram	33031402401	PUMS, NOOKAMPALAYAM
100	Villupuram	33071802501	PANCHAYAT UNION MIDDLE SCHOOL V MAMANDUR
101	Kancheepuram	33030100801	PUMS,Muttavakkam
102	Cuddalore	33181303702	PUMS VADAKKUKOLAKKUDI
103	Kancheepuram	33030101901	PUMS, SIRUKAVERIPAKKAM
104	Villupuram	33071904301	PANCHAYAT UNION MIDDLE SCHOOL KANANGUR
105	Villupuram	33071901101	PANCHAYAT UNION MIDDLE SCHOOL CHINNAMAMPATTU
106	Villupuram	33071401902	PANCHAYAT UNION MIDDLE SCHOOL AMAVASAIPALAYAM
107	Cuddalore	33181303703	PUMS JAHIR HUSSAIN NAGAR
108	Villupuram	33071705401	PANCHAYAT UNION MIDDLE SCHOOL SIRUMANGALAM
109	Nagapattinam	33191100801	PUMS VETTANGUDI
110	Villupuram	33072107504	PANCHAYAT UNION MIDDLE SCHOOL ULUNDANDAR KOIL
111	Cuddalore	33180707201	PUMS VALASAI
112	Villupuram	33071200801	PANCHAYAT UNION MIDDLE SCHOOL JAMBAI
113	Villupuram	33071502001	PANCHAYAT UNION MIDDLE SCHOOL THIYAGARAJAPURAM
114	Villupuram	33072106901	PANCHAYAT UNION MIDDLE SCHOOL PU.KILLANUR
115	Villupuram	33070707401	PANCHAYAT UNION MIDDLE SCHOOL PERIYAMUDALIYAR CHAVADI
116	Villupuram	33072202301	PANCHAYAT UNION MIDDLE SCHOOL KORATTUR
117	Nagapattinam	33190201901	PANCHAYAT UNION MIDDLE SCHOOL VAVVALADI
118	Kancheepuram	33030105430	MMS YAGASALAI
119	Ramanathapura	33270605401	PANCHAYAT UNION MIDDLE SCHOOL,
	m		THALAIVANAICKANPATTI

S.No.	District	UDISE	School Name
120	Villupuram	33070703802	PANCHAYAT UNION MIDDLE SCHOOL PERUMPAKKAM (C)
121	Nagapattinam	33190103101	MUNICIPAL MIDDLE SCHOOL NELLUKKADAI THERU
122	Cuddalore	33180703201	PUMS KILIMANGALAM
123	Villupuram	33071303001	PANCHAYAT UNION MIDDLE SCHOOL NEDUMUDAIYAN
124	Kancheepuram	33030501601	PUMS IRANTAMKATTALAI
125	Villupuram	33072202002	PANCHAYAT UNION MIDDLE SCHOOL KARUVEPPILAIAPALAYAM
126	The Nilgiris	33110400816	PUMS FIRSTMILE GUDALUR
127	Virudhunagar	33260905603	P.U.M.S.SENGAMALAMNATCHIYARPURAM
128	Villupuram	33071602701	PANCHAYAT UNION MIDDLE SCHOOL ATHIYUR
129	Cuddalore	33180807901	PANCHAYAT UNION MIDDLE SCHOOL, KOZHIYUR
130	Kancheepuram	33030406801	P.U.M.S.GOVT.EMPLOYERS QUARTERS.
131	Villupuram	33071900303	PANCHAYAT UNION MIDDLE SCHOOL PRITHIVIMANGALAM (COLONY)
132	Villupuram	33070205501	PANCHAYAT UNION MIDDLE SCHOOL JAYANKONDAN
133	Cuddalore	33180104801	PANCHAYAT UNION MIDDLE SCHOOL - VELLAPAKKAM
134	Tiruvarur	33200600601	PUMS.ARICHANDRAPURAM
135	Kancheepuram	33030705302	PUMS THIRUTHERI
136	Cuddalore	33180703601	PUMS MURUGANKUDI
137	Kancheepuram	33030310801	PUMS, 1-3 WARD, UTHIRAMERUR
138	Cuddalore	33180708901	PUMS SOZHANNAGAR
139	Villupuram	33071702802	PANCHAYAT UNION MIDDLE SCHOOL THACHUR KATTU KOTTAGAI
140	Villupuram	33071602301	PANCHAYAT UNION MIDDLE SCHOOL EDUTHANUR
141	Tiruvarur	33200305101	PUMS MUSIRIAM
142	Kancheepuram	33030601601	Panchayat Union Middle School, PADUR
143	Nagapattinam	33190103005	MMS MIYAH STREET NAGORE
144	Villupuram	33070106001	PANCHAYAT UNION MIDDLE SCHOOL PERUVALUR
145	Cuddalore	33180606401	PANCHAYAT UNION MIDDLE SCHOOL VILANKATTUR
146	Cuddalore	33181307303	MPLMS NORTH CAR STREET
147	Kancheepuram	33030502001	PUMS PAZHANTHANDALAM
148	Villupuram	33071801301	PANCHAYAT UNION MIDDLE SCHOOL PANDIANKUPPAM
149	Cuddalore	33180501501	PUMS - THANGALIKUPPAM
150	Villupuram	33071900301	PANCHAYAT UNION MIDDLE SCHOOL PRITHIVIMANGALAM (HINDU)
151	Villupuram	33070905102	PANCHAYAT UNION MIDDLE SCHOOL KAPPIYAMPULIYUR
152	Kancheepuram	33031403001	PUMS Santhoshapuram
153	Villupuram	33070904101	PANCHAYAT UNION MIDDLE SCHOOL THORAVI
154	Villupuram	33072203301	PANCHAYAT UNION MIDDLE SCHOOL SEMMANANDAL
155	Kancheepuram	33030101201	PUMS, KOORAM
156	Nagapattinam	33190703302	PUMS NIDUR
157	Villupuram	33071103901	PANCHAYAT UNION MIDDLE SCHOOL V.MATHUR
158	Kancheepuram	33031203502	PUMS KADALUR
159	Ramanathapura m	33270807601	PANCHAYAT UNION MIDDLE SCHOOL, KEELAMUNDAL
160	Perambalur	33160201803	PUMS V.KEERANUR

S.No.	District	UDISE	School Name
161	Villupuram	33071301701	PANCHAYAT UNION MIDDLE SCHOOL KOMALUR
162	Villupuram	33070803801	PANCHAYAT UNION MIDDLE SCHOOL KANGIYANUR
163	Cuddalore	33180202402	PUMS THATTAMPALAYAM
164	Villupuram	33072101701	PANCHAYAT UNION MIDDLE SCHOOL KALSIRUNAGALUR
165	Kancheepuram	33030806301	PUMS-NALVARPET
166	Villupuram	33070800901	PANCHAYAT UNION MIDDLE SCHOOL VELLAIYAMPATTU
167	Nagapattinam	33190704701	PANCHAYATH UNION MIDDLE SCHOOL CHOZHAMPETTAI
168	Virudhunagar	33260602703	P.U.M.S,ASILAPURAM
169	Villupuram	33070207201	PANCHAYAT UNION MIDDLE SCHOOL SAKKARAPURAM
170	Villupuram	33072202601	PANCHAYAT UNION MIDDLE SCHOOL PERUMPATTU
171	Perambalur	33160404301	PUMS, SENJERI
172	Kancheepuram	33030805901	PUMS-AYAPAKKAM
173	Virudhunagar	33260612765	VIII WARD MUNICIPAL MID SCH, RAJAPALAYAM
174	Villupuram	33071401901	PANCHAYAT UNION MIDDLE SCHOOL PENNAIVALAM
175	Villupuram	33070403201	PANCHAYAT UNION MIDDLE SCHOOL VAIRAPURAM
176	Kancheepuram	33030202001	PUMS KALIYANOOR
177	Nagapattinam	33190103006	MMS PATTINACHERY
178	Villupuram	33071502201	PANCHAYAT UNION MIDDLE SCHOOL SEMBARAMPATTU
179	Villupuram	33071200701	PANCHAYAT UNION MIDDLE SCHOOL
180	Cuddalore	33180606601	DEVARADIYARKUPPAM PANCHAYAT UNION MIDDLE SCHOOL SATHIYAVADI
181	Villupuram	33071503901	PANCHAYAT UNION MIDDLE SCHOOL SATHITAVADI
182	Villupuram	33070701201	PANCHAYAT UNION MIDDLE SCHOOL T. PARANGANI
183	Villupuram	33071303201	PANCHAYAT UNION MIDDLE SCHOOL ARUTHANGUDI
184	Villupuram	33070102803	PANCHAYAT UNION MIDDLE SCHOOL VALATHI
185	Villupuram	33071205201	PANCHAYAT UNION MIDDLE SCHOOL ODIYATHUR
186	Tiruvarur	33200302901	PUMS THIRUVIDAIVASAL
187	Virudhunagar	33260306601	PANCHAYAT UNION MIDDLE SCHOOL MILL COLONY
188	Villupuram	33071304901	PANCHAYAT UNION MIDDLE SCHOOL MOHALAR
189	Kancheepuram	33031305001	PANCHAYATH UNION MIDDLE SCHOOL-
	-		ALAMBARAIKUPPAM
190	Cuddalore	33180303302	PANCHAYAT UNION MIDDLE SCHOOL SOORAKUPPAM
191	Villupuram	33070804701	PANCHAYAT UNION MIDDLE SCHOOL AGARAM SITHAMOOR
192	Villupuram	33071303101	PANCHAYAT UNION MIDDLE SCHOOL MADAMPOONDI
193	Nagapattinam	33190802401	PANCHAYAT UNION MIDDLE SCHOOL KIDANGAL
194	Villupuram	33071702001	PANCHAYAT UNION MIDDLE SCHOOL MADUR
195	Villupuram	33071601501	PANCHAYAT UNION MIDDLE SCHOOL SEERPANANTHAL
196	Villupuram	33071604801	PANCHAYAT UNION MIDDLE SCHOOL PRIVIDAYAMPAT
197	Villupuram	33071403201	PANCHAYAT UNION MIDDLE SCHOOL MELTHANIYALAMPATTU
198	Villupuram	33071902001	PANCHAYAT UNION MIDDLE SCHOOL VELAKURICHI
199	Nagapattinam	33190700401	PANCHAYATH UNION MIDDLE SCHOOL MANALMEDU
200	Villupuram	33071601601	PANCHAYAT UNION MIDDLE SCHOOL PERIYAMANIYANDAL
201	Nagapattinam	33191102604	PUMS PALAIYAR
L		I .	l .

S.No.	District	UDISE	School Name
202	Kancheepuram	33030206501	PUMS KUNNAVAKKAM
203	Villupuram	33071104601	PANCHAYAT UNION MIDDLE SCHOOL C.B.SAMUDRAM
204	Kancheepuram	33030104901	PUMS,MAGARAL
205	Villupuram	33070702401	PANCHAYAT UNION MIDDLE SCHOOL KONJIMANGALAM
206	Cuddalore	33181203103	PANCHAYAT UNION MIDDLE SCHOOL, THERKUPALAYAM
207	Kancheepuram	33030500803	PUMS ANNAI INDRA NAGAR PARANIPUTHUR
208	Kancheepuram	33031006401	PANCHAYAT UNION MIDDLE SCHOOL, SEETHAPURAM.
209	Villupuram	33070902701	PANCHAYAT UNION MIDDLE SCHOOL ULAGALAMPOONDI
210	Virudhunagar	33260908501	P.U.M.S.VADAPATTI
211	Villupuram	33070904901	PANCHAYAT UNION MIDDLE SCHOOL MADURAPAKKAM
212	Cuddalore	33180503901	PUMS PETHANAYAKKANKUPPAM
213	Nagapattinam	33190901002	PANCHAYAT UNION MIDDLE SCHOOL ALANGUDI
214	Cuddalore	33181104501	PUMS C.ALAMBADI
215	Cuddalore	33180707001	PUMS VANNATHUR
216	Villupuram	33070106601	PANCHAYAT UNION MIDDLE SCHOOL THAYANUR
217	Kancheepuram	33030803901	PUMS-KADAMBADI
218	Villupuram	33071901601	PANCHAYAT UNION MIDDLE SCHOOL VENGAIVADI
219	Virudhunagar	33260301101	PANCHAYAT UNION MIDDLE SCHOOL, ARASAKULAM
220	Villupuram	33071404401	PANCHAYAT UNION MIDDLE SCHOOL CHINNASEVALAI
221	Kancheepuram	33031101203	PUMS NELVOY
222	Villupuram	33070200601	PANCHAYAT UNION MIDDLE SCHOOL KATTUCHITHAMUR
223	Villupuram	33072100101	PANCHAYAT UNION MIDDLE SCHOOL PERIYAKURUKKAI
224	Kancheepuram	33030903115	ALANDUR MUNICIPEL MIDDLE SCHOOL ADAMBAKKAM
225	Nagapattinam	33190702801	P.U.M.S SETHUR
226	Villupuram	33071206901	PANCHAYAT UNION MIDDLE SCHOOL SITHATHUR
227	Nagapattinam	33190803701	PUMS MATHUR
228	Villupuram	33071205801	PANCHAYAT UNION MIDDLE SCHOOL SATHIYAKANDANUR
229	Nagapattinam	33190805301	PUMS THIRUVIDAIKAZHI
230	Villupuram	33071700901	PANCHAYAT UNION MIDDLE SCHOOL PALRAMPATTU
231	Cuddalore	33180302601	PANCHAYAT UNION MIDDLE SCHOOL
232	Cuddalore	33180200503	VEERASINGANKUPPAM PUMS BANDARAKOTTAI
233	Virudhunagar	33260408901	PUMS PULIKURICHI
234	Villupuram	33072204001	PANCHAYAT UNION MIDDLE SCHOOL
	^		ESWARAKANDANALLUR
235	Nagapattinam	33190202401	PANCHAYAT UNION MIDDLE SCHOOL ATHALAIYUR
236	Nagapattinam	33191101302	PUMS KADAIKKAN VINAYAGA NALLUR
237	Villupuram	33071304801	PANCHAYAT UNION MIDDLE SCHOOL ALOOR
238	Villupuram	33072205201	PANCHAYAT UNION MIDDLE SCHOOL ELUPPAIYUR
239	Virudhunagar	33260203101	PUMS,CHINNAMOOPANPATTI
240	Cuddalore	33180707401	PUMS NAGAR
241	The Nilgiris	33110400619	PUMS CHERANGODE
242	Kancheepuram	33030308201	PUMS, EDAMACHI
243	Villupuram	33071803502	PANCHAYAT UNION MIDDLE SCHOOL THOTTAPADI

S.No.	District	UDISE	School Name
244	Villupuram	33071400701	PANCHAYAT UNION MIDDLE SCHOOL THULANGAMPATTU
245	Villupuram	33070504801	PANCHAYAT UNION MIDDLE SCHOOL SITHANI
246	Kancheepuram	33031101602	PUMS PAZHAYANUR
247	Nagapattinam	33191001401	PUMS PUNGANUR
248	Kancheepuram	33030202601	PUMS, PUTHAGARAM
249	Ramanathapura m	33270814801	PANCHAYAT UNION MIDDLE SCHOOL, MUTHARAIYAR NAGAR
250	Cuddalore	33180100302	PANCHAYAT UNION MIDDLE SCHOOL - M PUDHUR
251	Tiruvarur	33200801802	PUMS, MANNUKUMUNDAN
252	Kancheepuram	33031300201	PANCHAYATH UNION MIDDLE SCHOOL, SOTHUPAKKAM
253	Nagapattinam	33190401702	PUMS VAILANKANNI
254	Villupuram	33071403101	PANCHAYAT UNION MIDDLE SCHOOL KARAPPATTU
255	Villupuram	33071404801	PANCHAYAT UNION MIDDLE SCHOOL MAZHAYAMPATTU
256	Villupuram	33071405601	PANCHAYAT UNION MIDDLE SCHOOL SEMMAR
257	Villupuram	33071702101	PANCHAYAT UNION MIDDLE SCHOOL
258	Nagapattinam	33191003901	VEERACHOLAPURAM PUMS MANIGRAMAM
259	Villupuram	33071302801	PANCHAYAT UNION MIDDLE SCHOOL PADIYANDHAL
260	Nagapattinam	33190901402	PUMS KANDIYUR
261	Cuddalore	33181302501	PUMS MEYYATHUR
262	Nagapattinam	33190500602	PUMS NEERMULAI
263	Cuddalore	33181305801	PUMS N.POOLAMEDU
264	Tiruvarur	33201002401	PUMS,UDHAYAMARTHANDAPURAM
265	Perambalur	33160200101	PANCHAYATH UNION MIDDLE SCHOOL THIRUMANDURAI
266	Kancheepuram	33030700601	PUMS, UNAMANCHERI
267	Virudhunagar	33260507302	PUMS VEERACHOLAN WEST
268	Kancheepuram	33030204901	PUMS SAMANTHIPURAM
269	Cuddalore	33180800301	PANCHAYAT UNION MIDDLE SCHOOL, AVATTI
270	Tiruvarur	33200602001	PUMS.MARAVAKADU
271	Kancheepuram	33030808401	PUMS-MAMALLAPURAM
272	Villupuram	33072106801	PANCHAYAT UNION MIDDLE SCHOOL PU.KONALAVADI
273	Perambalur	33160203202	PUMS, Kothavasal
274	Cuddalore	33180605601	PANCHAYAT UNION MIDDLE SCHOOL ALICHIKUDI
275	Perambalur	33160402601	PUMS-ESANAI(N)
276	Perambalur	33160400401	PUMS,ARANARAI
277	Villupuram	33071903101	GOVERNMENT MIDDLE SCHOOL ERANJI
278	Villupuram	33070904401	PANCHAYAT UNION MIDDLE SCHOOL ORATHUR
279	Villupuram	33071701602	PANCHAYAT UNION MIDDLE SCHOOL PERUVANGUR COLONY
280	Kancheepuram	33031104901	PUMS ARUNGUNAM
281	Cuddalore	33180904901	PUMS PALLAKOLAI
282	Nagapattinam	33191000401	PANCHAYAT UNION MIDDLE SCHOOL SATTANATHAPURAM
283	Kancheepuram	33030501101	PUMS MATHANANTHAPURAM
284	Perambalur	33160300901	PUMS, PILLANGULAM

S.No.	District	UDISE	School Name
285	Kancheepuram	33030306401	PUMS VAYALAKKAVUR
286	Villupuram	33070703001	PANCHAYAT UNION MIDDLE SCHOOL NESAL
287	Virudhunagar	33261006702	P.U.M.S KOTHAINATCHIYARPURAM
288	Cuddalore	33180706901	PUMS NALLUR
289	Cuddalore	33180100602	PANCHAYAT UNION MIDDLE SCHOOL - EDAIYARKUPPAM
290	Kancheepuram	33030300201	PUMS, KARUVEPPAMPOONDI
291	Tiruvarur	33200703701	PUMS,THENKARAVAYAL
292	Kancheepuram	33030801401	PUMS-PONPATHARKOODAM
293	Kancheepuram	33030105306	PUMS COLLECTORS COLONY
294	Cuddalore	33181307316	MPLMS KOTHANGUDI STREET
295	Cuddalore	33180300901	PANCHAYAT UNION MIDDLE SCHOOL KEEZHKANGEYANKUPPAM
296	Villupuram	33070106701	PANCHAYAT UNION MIDDLE SCHOOL THAZHANGUNAM
297	Cuddalore	33181307315	MPLMS MALAIKATTI STREET
298	Nagapattinam	33190600901	PUMS,PERIYAKUTHAGAI
299	Kancheepuram	33030205901	PUMS NEERVALLUR
300	Villupuram	33070201401	PANCHAYAT UNION MIDDLE SCHOOL SO.KUPPAM
301	Nagapattinam	33190301601	PUMS KUTHUR
302	Kancheepuram	33031004601	PANCHAYAT UNION MIDDLE SCHOOL, KEEZHATHIVAKKAM.
303	Virudhunagar	33260205903	PUMS O.KOVILPATTI
304	Villupuram	33070902401	PANCHAYAT UNION MIDDLE SCHOOL VEMBI
305	Tiruvarur	33200200302	PUMS, RADHANALLUR
306	Villupuram	33071003202	PANCHAYAT UNION MIDDLE SCHOOL T METTUPALAYAM
307	Perambalur	33160300202	PUMS VELLUVADI
308	Villupuram	33072105401	PANCHAYAT UNION MIDDLE SCHOOL THAMAL
309	Cuddalore	33180104802	PANCHAYAT UNION MIDDLE SCHOOL - VILANGALPATTU
310	Cuddalore	33181306901	PUMS PAZHAYANALLUR
311	Villupuram	33070203202	PANCHAYAT UNION MIDDLE SCHOOL SERANUR
312	Villupuram	33070102901	PANCHAYAT UNION MIDDLE SCHOOL KODUKANKUPPAM
313	Cuddalore	33180104919	MUNICIPAL MIDDLE SCHOOL - BROOKEESPET
314	Cuddalore	33180503001	PUMS THAMBIPETTAI
315	Kancheepuram	33031303908	PANCHAYATH UNION MIDDLE SCHOOL- VILLIPAKKAM(M)
316	Cuddalore	33180103601	PANCHAYAT UNION MIDDLE SCHOOL - SEMMANKUPPAM
317	Kancheepuram	33030206201	PUMS AYMICHERY
318	Perambalur	33160400301	PUMS,K.ERAIYUR
319	Villupuram	33071000503	PANCHAYAT UNION MIDDLE SCHOOL ELANGADU
320	Villupuram	33070904301	PANCHAYAT UNION MIDDLE SCHOOL PAPPANAPATTU
321	Kancheepuram	33031400301	PUMS VENGAMBAKKAM
322	Tiruvarur	33200401301	PUMS,PAVATTAKUDI
323	Villupuram	33070201502	PANCHAYAT UNION MIDDLE SCHOOL PAKKAM
324	Cuddalore	33180202701	PUMS C.PAGANDAI
325	Cuddalore	33180102201	PANCHAYAT UNION MIDDLE SCHOOL - KUTTIYANKUPPAM
326	Villupuram	33070504401	PANCHAYAT UNION MIDDLE SCHOOL NADUVANANDAL

S.No.	District	UDISE	School Name
327	Nagapattinam	33190400801	PUMS VENMANACHERY
328	Villupuram	33072106203	PANCHAYAT UNION MIDDLE SCHOOL PALI PUTHUCOLONY
329	Nagapattinam	33190901301	PUMS KADALANGUDI
330	Kancheepuram	33030307301	PUMS, SATHANANCHERI
331	Kancheepuram	33030102901	PUMS, KURUVIMALAI
332	Cuddalore	33181103201	PUMS LALPURAM
333	Kancheepuram	33030204002	PUMS SIRUVAKKAM
334	Nagapattinam	33190502601	PUMS THALAINAYAR AGRAHARAM
335	Cuddalore	33180302803	PANCHAYAT UNION MIDDLE SCHOOLVEGAKOLLAI
336	Villupuram	33071600901	PANCHAYAT UNION MIDDLE SCHOOL PAKKAM
337	Ramanathapura m	33270604701	PANCHAYAT UNION MIDDLE SCHOOL. VEERAMAACHANPATTI
338	Villupuram	33071806102	PANCHAYAT UNION MIDDLE SCHOOL VENKATAMMAPETTAI
339	Villupuram	33070702302	PANCHAYAT UNION MIDDLE SCHOOL KILIYANUR (C)
340	Kancheepuram	33030101001	PUMS VATHIYUR
341	Nagapattinam	33190102701	PUMS VADUGACHERY
342	Cuddalore	33180502003	PUMS PERIYAKANNADI
343	Villupuram	33071305101	PANCHAYAT UNION MIDDLE SCHOOL KADIYAR
344	Cuddalore	33180602001	PANCHAYAT UNION MIDDLE SCHOOL KUPPANATHAM
345	Nagapattinam	33190802102	PUMS KUMARAKUDI
346	Cuddalore	33181205701	PANCHAYAT UNION MIDDLE SCHOOL, VALASAKADU
347	Kancheepuram	33030302901	PUMS KAVANURPUDHUCHERI
348	Cuddalore	33180504201	PUMS VADAKUMELUR
349	Cuddalore	33180202504	PUMS MELPATTAMPAKKAM GIRLS
350	Virudhunagar	33261010606	P U M S PARAIPATTI
351	Cuddalore	33180600602	PANCHAYAT UNION MIDDLE SCHOOL MANGALAMPETTAI (MUSLIM)
352	Cuddalore	33181002902	PUMS PUNJAIMAHATHUVAZHKKAI
353	Villupuram	33071502601	PANCHAYAT UNION MIDDLE SCHOOL VADASIRUVALLUR
354	Villupuram	33070701301	PANCHAYAT UNION MIDDLE SCHOOL NALLAVOOR
355	Tiruvarur	33200401701	PUMS,THIRUMEEACHUR
356	Perambalur	33160201901	PUMS KALLAI
357	Villupuram	33071704105	PANCHAYAT UNION MIDDLE SCHOOL A. PUTHANTHDUR
358	Kancheepuram	33031002601	PANCHAYAT UNION MIDDLE SCHOOL, GUDALORE.
359	Villupuram	33071902301	PANCHAYAT UNION MIDDLE SCHOOL EYYANUR
360	Villupuram	33071003301	PANCHAYAT UNION MIDDLE SCHOOL THIRUPACHANUR
361	Perambalur	33160604801	PUMS,ALLINAGARAM
362	Perambalur	33160202403	PUMS-LABBAIKUDIKADU-W
363	Cuddalore	33180805001	PANCHAYAT UNION MIDDLE SCHOOL, PULIVALAM
364	The Nilgiris	33110400111	PUMS VILLANGORE
365	Ramanathapura m	33271104401	PANCHAYAT UNION MIDDLE SCHOOL, NARAIYOORANI
366	Cuddalore	33180602301	PANCHAYAT UNION MIDDLE SCHOOL KO-PUVANUR
367	Tiruvarur	33200503801	PUMS VAIPPUR

S.No.	District	UDISE	School Name	
368	Tiruvarur	33200704001	PUMS, MELAPOOVANOOR	
369	Villupuram	33071303901	PANCHAYAT UNION MIDDLE SCHOOL KANAGANANDAL	
370	Ramanathapura m	33270100701	PANCHAYAT UNION MIDDLE SCHOOL, MULLIMUNAI	
371	The Nilgiris	33110400815	PUMS ATHIPALI	
372	Kancheepuram	33031200901	PUMS PERIYAVELIKADU	
373	Tiruvarur	33200405101	PUMS,MOONGILGUDI	
374	Villupuram	33071505101	PANCHAYAT UNION MIDDLE SCHOOL MANALUR	
375	Cuddalore	33180103501	PANCHAYAT UNION MIDDLE SCHOOL - SEDAPALAYAM	
376	Cuddalore	33181001001	PUMS PERIYAPATTU	
377	Cuddalore	33181202001	PANCHAYAT UNION MIDDLE SCHOOL, MADURANTHAGANALLUR	
378	Villupuram	33071000501	PANCHAYAT UNION MIDDLE SCHOOL ANANGUR	
379	Kancheepuram	33030302701	PUMS, AGARAMDULY	
380	Kancheepuram	33031305501	PANCHAYATH UNION MIDDLE SCHOOL - NALLUR	
381	Villupuram	33071800701	PANCHAYAT UNION MIDDLE SCHOOL VETTIPERUMALAGARAM	
382	Villupuram	33071200201	PANCHAYAT UNION MIDDLE SCHOOL KANGIYANUR	
383	Nagapattinam	33190502401	PUMS PRINJUMOOLAI	
384	Nagapattinam	33190906103	PUMS MANGAINALLUR	
385	Kancheepuram	33030300701	PUMS, AZHISOOR	
386	Cuddalore	33180804001	PANCHAYAT UNION MIDDLE SCHOOL , KOTTARAM	
387	Kancheepuram	33030304603	PUMS MALAYANKULAM	
388	Villupuram	33070903201	PANCHAYAT UNION MIDDLE SCHOOL KOTTIYAMPOONDI	
389	Nagapattinam	33190501802	PUMS KOLAPPADU	
390	Villupuram	33072204801	PANCHAYAT UNION MIDDLE SCHOOL ARINATHAM	
391	Villupuram	33070200501	PANCHAYAT UNION MIDDLE SCHOOL PUTHAGARAM	
392	Kancheepuram	33030705107	PUMS GUDALUR	
393	Kancheepuram	33030310301	PUMS, VADANALLUR	
394	Cuddalore	33180100501	PANCHAYAT UNION MIDDLE SCHOOL - SANRORPALAYAM	
395	Villupuram	33070201301	PANCHAYAT UNION MIDDLE SCHOOL PAZHAVALAM	
396	Virudhunagar	33260905601	P.U.M.S.VELLAIYAPURAM	
397	Kancheepuram	33031401001	PUMS MADIPAKKAM	
398	Virudhunagar	33261003901	PANCHAYAT UNION MIDDLE SCHOOL, AYAN SALVARPATTI	
399	Villupuram	33070302703	PANCHAYAT UNION MIDDLE SCHOOL NEGANUR PUDUR	
400	Tiruvarur	33200603801	PUMS.SUNDHARAKOTTAI	
401	Villupuram	33070403901	PANCHAYAT UNION MIDDLE SCHOOL KONERIKUPPAM	
402	Kancheepuram	33030100201	PUMS, KILAR	
403	Tiruvarur	33200604901	PUMS.VADAPATHI	
404	Cuddalore	33180603701	PANCHAYAT UNION MIDDLE SCHOOL RAJAPALAYAM	
405	Villupuram	33072203104	PANCHAYAT UNION MIDDLE SCHOOL PERIYAKUPPAM	
406	Villupuram	33070800301	GOVERNMENT MIDDLE SCHOOL UDAYANATHAM	
407	Villupuram	33070205201	PANCHAYAT UNION MIDDLE SCHOOL SITTAMPOONDI	
408	Kancheepuram	33031005501	PANCHAYAT UNION MIDDLE SCHOOL, ATHUR.	
409	Kancheepuram	33030301601	PUMS, VISOOR	

S.No.	District	UDISE	School Name
410	Kancheepuram	33031303905	PANCHAYATH UNION MIDDLE SCHOOL- CHUNAMBEDU -
	,	22221225	(M)
411	Kancheepuram	33031006801	PANCHAYAT UNION MIDDLE SCHOOL, UNAMALAI.
412	Cuddalore	33180200601	PUMS CHITARASUR
413	Virudhunagar	33260904303	P.U.M.S PETHULUPATTI
414	Villupuram	33070801002	PANCHAYAT UNION MIDDLE SCHOOL PANAMALAI
415	Cuddalore	33181200402	PANCHAYAT UNION MIDDLE SCHOOL, ALLUR
416	Villupuram	33071303801	PANCHAYAT UNION MIDDLE SCHOOL MELATHALANUR
417	Villupuram	33072104701	PANCHAYAT UNION MIDDLE SCHOOL SIRUPAKKAM
418	Villupuram	33071701503	PANCHAYAT UNION MIDDLE SCHOOL SALAI MAMANANDAL
419	Cuddalore	33181105102	PUMS KUMUDIMOOLAI
420	Cuddalore	33181101401	PUMS KATHAZHAI
421	Kancheepuram	33031306001	PANCHAYATH UNION MIDDLE SCHOOL- VILAMBUR
422	Cuddalore	33180704801	PUMS T.PUDAIYUR
423	Kancheepuram	33030402701	PUMS,PODAVOOR
424	Kancheepuram	33031005701	PANCHAYAT UNION MIDDLE SCHOOL,
405	77 1	22020504404	KADAMALAIPUTHUR.
425	Kancheepuram	33030504401	PUMS, Serappanancheri.
426	Cuddalore	33180202801	PUMS PAITHAMBADI
427	Perambalur	33160604001	PUMS, NOCHIKULAM
428	Cuddalore	33180104001	PANCHAYAT UNION MIDDLE SCHOOL - THIRUMANIKUZHI
429	Tiruvarur	33200500701	PUMS, KALLIKKUDI
430	The Nilgiris	33110401121	PUMS UPPATTY
431	Nagapattinam	33190700601	PUMS KESINGAN PANCHAYAT UNION MIDDLE SCHOOL AATHIPATTU
432	Villupuram	33070100501	
433	Cuddalore	33181405101	PUMS SHANDAN
434	Virudhunagar	33260307901	PANCHAYAT UNION MIDDLE SCHOOL, VAKKANANKUNDU
435	Villupuram	33072202401	PANCHAYAT UNION MIDDLE SCHOOL KOOVAGAM
436	Tiruvarur	33200104101	PUMS UTTHUKADU
437	Kancheepuram	33031001301	PANCHAYAT UNION MIDDLE SCHOOL, PERUMBAKKAM.
438	Villupuram	33070705201	PANCHAYAT UNION MIDDLE SCHOOL SIRUVAI
439	Kancheepuram	33030700801	PUMS, PERUMATTUNALLUR
440	Villupuram	33071405701	PANCHAYAT UNION MIDDLE SCHOOL MELAMANGALAM
441	Kancheepuram	33030804402 33030200701	PUMS-KUNNAVAKAM
442	Kancheepuram		PUMS VILLIVALAM PANCHAYAT UNION MIDDLE SCHOOL
443	Cuddalore	33181001301	SILAMBIMANGALAM
444	Kancheepuram	33030102301	PUMS, METTUKUPPAM
445	Ramanathapura m	33270901001	PANCHAYAT UNION MIDDLE SCHOOL, KALUGOORANI
446	Villupuram	33070803303	PANCHAYAT UNION MIDDLE SCHOOL ARIYALUR THIRUKKAI
447	Nagapattinam	33191100805	PUMS KOOZHAIYAR
448	Cuddalore	33180700801	PUMS, KOTHATTAI
449	Kancheepuram	33031004801	PANCHAYAT UNION MIDDLE SCHOOL, MINNAL CHITHAMUR.

S.No.	District	UDISE	School Name
450	Villupuram	33071305601	PANCHAYAT UNION MIDDLE SCHOOL SANGIYAM
451	Ramanathapura m	33270801201	PANCHAYAT UNION MIDDLE SCHOOL, K.SATHIRAM
452	Villupuram	33071403801	PANCHAYAT UNION MIDDLE SCHOOL KANTHALAVADI
453	Villupuram	33070501003	PANCHAYAT UNION MIDDLE SCHOOL PERAMANDUR
454	Perambalur	33160603601	PUMS, THIMMUR
455	Villupuram	33071805701	PANCHAYAT UNION MIDDLE SCHOOL MATTIKAIKURICHI
456	Villupuram	33071002305	PANCHAYAT UNION MIDDLE SCHOOL ANICHAMPALAYAM
457	Kancheepuram	33030105446	MMS MUTHUCETTIYAAR, KANCHIPURAM
458	Villupuram	33071401101	PANCHAYAT UNION MIDDLE SCHOOL ANAIVARI
459	Tiruvarur	33200500901	PUMS KALYANAMAHADEVI.
460	Cuddalore	33180204504	MMS MULLIGRAMPATTU
461	Kancheepuram	33030310701	PUMS, VEDAPALAYAM
462	Nagapattinam	33191000616	MMS OOZHIYAKARANTHOPPU
463	Kancheepuram	33030201701	PUMS NATHANALLUR
464	Nagapattinam	33190903401	PUMS PAZHAYAKUDALUR
465	Villupuram	33070305601	PANCHAYAT UNION MIDDLE SCHOOL ARUGAVOOR
466	Nagapattinam	33190204401	PUMS-THIRUPPAYATHANGUDI
467	Tiruvarur	33201000801	PUMS,T-KEELAKKADU
468	Perambalur	33160300503	PUMS-V.KALATHUR(G)
469	Villupuram	33070401201	PANCHAYAT UNION MIDDLE SCHOOL KEEZHMAVILANGAI
470	Villupuram	33070607002	PANCHAYAT UNION MIDDLE SCHOOL VANDIPALAYAM
471	Villupuram	33070104101	PANCHAYAT UNION MIDDLE SCHOOL MELACHERRY
472	Nagapattinam	33190300501	PUMS KOHUR
473	Nagapattinam	33190101201	PUMS ANTHANAPETTAI
474	Tiruvarur	33201002103	PUMS,THILLAIVILAGAM-EAST
475	Villupuram	33071302901	PANCHAYAT UNION MIDDLE SCHOOL KOLAPARAI
476	Villupuram	33071400401	PANCHAYAT UNION MIDDLE SCHOOL OTTANANDAL
477	Tiruvarur	33200903313	PUMS THIRUTHURAIPOONDI
478	Ramanathapura m	33270703601	PANCHAYAT UNION MIDDLE SCHOOL, KOLUNDURAI
479	Cuddalore	33181105403	PUMS ESWARAN KOIL ST
480	Nagapattinam	33190303102	PUMS NAGALUR
481	Nagapattinam	33190906201	PUMS PORUMBUR
482	Tiruvarur	33200401601	PUMS ,POZHAKUDI
483	Villupuram	33070905301	PANCHAYAT UNION MIDDLE SCHOOL VAKKUR
484	Nagapattinam	33190202701	PUMS-THIRUCHENKATTANGUDI
485	Cuddalore	33180700601	PUMS SATHANATHAM
486	Virudhunagar	33261010601	P U M S M.DURAISAMYPURAM
487	Villupuram	33070205801	PANCHAYAT UNION MIDDLE SCHOOL PALAPATTU
488	Nagapattinam	33190400306	PUMS KARAIMETTUTHIDAL
489	Nagapattinam	33190700403	PUMS- ELUPPAPATTU.
490	Kancheepuram	33030104401	PUMS, KAMMARASAPURAM
491	Kancheepuram	33030104701	PUMS, KAVANTHANDALAM

S.No.	District	UDISE	School Name
492	Kancheepuram	33030604701	PUMS MULLIPPAKKAM
493	Perambalur	33160604601	PUMS,KEEZHAMATHUR
494	Nagapattinam	33190503001	PUMS THALAINAYAR 4 SETHI
495	Perambalur	33160600701	PUMS NATTARMANGALAM
496	Villupuram	33070606801	PANCHAYAT UNION MIDDLE SCHOOL M.PUDUPAKKAM
497	Ramanathapura	33271101801	PANCHAYAT UNION MIDDLE SCHOOL, PIRAPPANVALASAI
498	m Villupuram	33071503101	PANCHAYAT UNION MIDDLE SCHOOL MANJAPUTHUR
499	Virudhunagar	33260905201	P.U.M.S, CHITHAMANAICKENPATTI
500	Villupuram	33070103101	PANCHAYAT UNION MIDDLE SCHOOL KOVILPURAIYUR
501	Kancheepuram	33030105001	PUMS THENAMPAKKAM
502	Kancheepuram	33031100501	PUMS PAZHAMATHUR
503	Villupuram	33070706703	PANCHAYAT UNION MIDDLE SCHOOL EDAYANCHAVADI
504	Ramanathapura	33270600901	PANCHAYAT UNION MIDDLE SCHOOL, UDAIKULAM
505	m Nagapattinam	33190806601	PUMS KARUGUDI
506	Ramanathapura	33271105301	PANCHAYAT UNION MIDDLE SCHOOL, SOGAYANTHOPPU
	m		
507	Tiruvarur	33200900902	PUMS THIRUPATHUR
508	Tiruvarur	33200802401	PUMS, NOCHIYUR
509	Nagapattinam	33190903803	PUMS NACHINARGUDI
510	Kancheepuram	33030206101	PUMS ALAPAKKAM
511	Kancheepuram	33030207304	PUMS, SANKARAPURAM
512	Cuddalore	33180903401	PUMS, A.KURAVANKUPPAM
513	Villupuram	33070503901	PANCHAYAT UNION MIDDLE SCHOOL VEMPOONDI
514	Virudhunagar	33260504901	PUMS. MANOOR
515	Cuddalore	33181103601	PUMS NELLIKOLLAI
516	Villupuram	33071203301	PANCHAYAT UNION MIDDLE SCHOOL VADAKARAITHAZHANUR
517	Villupuram	33071401402	PANCHAYAT UNION MIDDLE SCHOOL ARUMPATTU
	-		SAMATHUVAPURAM
518	Villupuram	33070800601	PANCHAYAT UNION MIDDLE SCHOOL VENGAMOOR
519	Tiruvarur	33200104201	PUMS VADAKKUPATTAM
520	Tiruvarur	33201001002	PUMS,PETHAVELANKOTTAGAM
521	Villupuram	33070302501	PANCHAYAT UNION MIDDLE SCHOOL MELKALAVAI
522	Kancheepuram	33030600201	PUMS KOLATHUR
523	Perambalur	33160303301	PUMS,BRAMMADESAM
524	Villupuram	33071505201	PANCHAYAT UNION MIDDLE SCHOOL POUNJIPATTU
525	Perambalur	33160201701	GMS, Velvimangalam
526	Kancheepuram	33030703101	PUMS, 73 KOLATHUR
527	Kancheepuram	33031301102	PANCHAYATH UNION MIDDLE SCHOOL - PERUKKARANAI
528	Tiruvarur	33200403101	PUMS SERUVALUR
529	Kancheepuram	33030400201	PUMS O M MANGALAM
530	Villupuram	33070901901	PANCHAYAT UNION MIDDLE SCHOOL KUTHAMPOONDI
531	Villupuram	33070800501	PANCHAYAT UNION MIDDLE SCHOOL ANUMANDHAPURAM

S.No.	District	UDISE	School Name
532	Kancheepuram	33030303802	PUMS, MARUTHAM
533	Nagapattinam	33191104201	PUMS THIRUMAYILADI
534	Nagapattinam	33190904502	PANCHAYAT UNION MIDDLE SCHOOL KONERIRAJAPURAM
535	Villupuram	33071601902	PANCHAYAT UNION MIDDLE SCHOOL SIRUPANAIYUR THAKKA
536	Villupuram	33070706801	PANCHAYAT UNION MIDDLE SCHOOL BOMMIYARPALAYAM
537	Nagapattinam	33190100901	PUMS,PORAVACHERRY
538	Cuddalore	33180200702	PUMS MUTHUKRISHNAPURAM
539	Cuddalore	33180303001	PANCHAYAT UNION MIDDLE SCHOOL VADAKKU MELMAMPATTU
540	Cuddalore	33180100203	PANCHAYAT UNION MIDDLE SCHOOL - VAZHISOTHANAIPALAYAM
541	Villupuram	33071002501	PANCHAYAT UNION MIDDLE SCHOOL SALAMEDU
542	Villupuram	33071802801	PANCHAYAT UNION MIDDLE SCHOOL V ALAMBALAM
543	Nagapattinam	33190502704	PANCHAYAT UNION MIDDLE SCHOOL ORADIYAMBULAM
544	Virudhunagar	33260604304	P.U.M.S, SOUTH VENGANALLUR
545	Cuddalore	33180501303	PUMS THONDAMANATHAM
546	Nagapattinam	33191101001	PUMS RADHANALLUR
547	Tiruvarur	33200703702	PUMS,VADAKARAVAYAL
548	Villupuram	33071004501	PANCHAYAT UNION MIDDLE SCHOOL PIDAGAM
549	Virudhunagar	33260710237	MUNICIPAL MIDDLE SCHOOL, PERUMALPATTI
550	Villupuram	33071104301	PANCHAYAT UNION MIDDLE SCHOOL PALLITHENNAL
551	Nagapattinam	33190601202	PUMS,THOPPUTHURAI(MUSILIM)
552	Virudhunagar	33260214612	MUNICIPAL MUSLIM MIDDLE SCHOOL, VIRUDHUNAGAR
553	Cuddalore	33180800901	PANCHAYAT UNION MIDDLE SCHOOL, KEEZHORATHUR
554	Virudhunagar	33260210402	PUMS THADANGAM
555	Ramanathapura m	33270805301	PANCHAYAT UNION MIDDLE SCHOOL, MELASIRUPOTHU
556	Villupuram	33070304802	PANCHAYAT UNION MIDDLE SCHOOL ARIYANALLUR
557	Kancheepuram	33030602003	PUMS KAYAR
558	Ramanathapura m	33271104801	PANCHAYAT UNION MIDDLE SCHOOL, PATTANAMKATHAN
559	Cuddalore	33180502201	PUMS AYIKUPPAM
560	Kancheepuram	33030805001	PUMS-KUNNATHUR
561	Kancheepuram	33031103601	PUMS Pudupattu
562	Nagapattinam	33190905302	PANCHAYAT UNION MIDDLE SCHOOL ELANTHANGUDI
563	Virudhunagar	33260402701	PUMS MELAKANDAMANGALAM
564	Cuddalore	33180103401	PANCHAYAT UNION MIDDLE SCHOOL - RAMAPURAM EAST
565	Kancheepuram	33031204103	PUMS AKKINAMBEDU
566	Kancheepuram	33030602101	PUMS PERUNTHANDALAM

Annexure - V (b)

List of school approved for sanitary pad vending machine and Incinerator for Secondary and senior secondary schools $\frac{1}{2} \left(\frac{1}{2} \right) = \frac{1}{2} \left(\frac{1}{2} \right) \left(\frac{$

S. No.	District	UDISE	School Name	No. of machines
1	Cuddalore	33181307333	GOVT GIRLS HR SEC SCHOOL-CHIDAMBARAM	2
2	Kancheepuram	33030105440	GHSS(Girls)., Big Kanchipuram	2
3	Villupuram	33071604506	GOVERNMENT HIGHER SECONDARY SCHOOL RISHIVANDIYAM	2
4	Kanniyakumari	33300900408	GHSS MUNCHIRAI	2
5	Villupuram	33072201404	GOVERNMENT HIGHER SECONDARY SCHOOL KALAMARUDUR	2
6	Cuddalore	33180708808	GHSS GIRLS PENNADAM	1
7	Nagapattinam	33190901510	GHSS,KUTHALAM	1
8	Kancheepuram	33031401508	GHSS Medavakkam	1
9	Virudhunagar	33260312610	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, KARIAPATTI	1
10	Cuddalore	33181004411	GHSS PARANGIPETTAI GIRLS	1
11	Villupuram	33071404502	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL THIRUVENNAINALLUR	1
12	Villupuram	33071304403	GOVERNMENT HIGHER SECONDARY SCHOOL G.ARIYUR	1
13	Nagapattinam	33191100905	GHSS THIRUMULLAIVASAL	1
14	Kancheepuram	33031003603	GOVERNMENT HIGHER SECONDARY SCHOOL, ORATHI.	1
15	Villupuram	33071504103	GOVERNMENT HIGHER SECONDARY SCHOOL PUDHUPATTU	1
16	Villupuram	33072203503	GOVERNMENT HIGHER SECONDARY SCHOOL THIRUNAVALUR	1
17	Villupuram	33071504202	GOVERNMENT HIGHER SECONDARY SCHOOL MOONGILTHURAIPATTU	1
18	Villupuram	33071903802	GOVERNMENT HIGHER SECONDARY SCHOOL VIRUGAVUR	1
19	Kancheepuram	33031403602	GHSS PEERKANKARANAI	1
20	Villupuram	33071705203	GOVERNMENT HIGHER SECONDARY SCHOOL PERUMANGALAM	1
21	Villupuram	33070804004	GOVERNMENT HIGHER SECONDARY SCHOOL MAMBALAPATTU	1
22	Villupuram	33072400902	MUNICIPAL HIGHER SECONDARY SCHOOL B.N.THOPE	1
23	Villupuram	33071603702	GOVERNMENT HIGHER SECONDARY SCHOOL KEELPADI	1
24	Nagapattinam	33190706407	KITTAPPA MHSS MAYILADUTHURAI	1
25	Villupuram	33071301202	GOVERNMENT HIGHER SECONDARY SCHOOL THIRUPALA PANDHAL	1
26	Nagapattinam	33190904903	GOVERNMENT HIGHER SECONDARY SCHOOL, SRIKANDAPURAM	1
27	Nagapattinam	33190101304	GHSS SIKKAL	1
28	Villupuram	33072205603	GOVERNMENT HIGHER SECONDARY SCHOOL SENDANADU	1
29	Virudhunagar	33260106708	GHSS (B), PANDALKUDI	1
30	Cuddalore	33180102503	GOVERNMENT HIGHER SECONDARY SCHOOL - NADUVEERAPATTU	1

S. No.	District	UDISE	School Name	No. of machines
31	Villupuram	33071208004	GOVERNMENT HIGHER SECONDARY SCHOOL ARAKANDANALLUR	1
32	Villupuram	33071704403	GOVERNMENT HIGHER SECONDARY SCHOOL PERIYASIRUVATHUR	1
33	Kancheepuram	33030903213	MPL HSS ZAMIN PALLAVARAM	1
34	Villupuram	33071602302	GOVERNMENT HIGHER SECONDARY SCHOOL EDUTHANUR	1
35	The Nilgiris	33110400504	GHSS AMBALAMOOLA	1
36	Nagapattinam	33190201202	GHSS THIRUMARUGAL	1
37	Villupuram	33071206703	GOVERNMENT HIGHER SECONDARY SCHOOL ALAMPADI	1
38	Perambalur	33160603502	GHSS KOLAKKANATHAM	1
39	Nagapattinam	33190700405	GHSS (G) MANALMEDU	1
40	Nagapattinam	33190402701	AMGHSS THIRUKUVALAI	1
41	Cuddalore	33181300903	GOVERNMENT HR.SEC.SCHOOL KUMARATCHI	1
42	Kancheepuram	33031403504	GOVERNMENT HIGHER SECONDARY SCHOOL, PALLIKARANAI, CHENNAI 600100	1
43	Villupuram	33071204703	GOVERNMENT HIGHER SECONDARY SCHOOL V. PUTHUR	1
44	Nagapattinam	33190604005	GHSS KARIYAPATTINAM	1
45	Cuddalore	33180605002	GOVERNMENT HIGHER SECONDARY SCHOOL THORAVALUR	1
46	Cuddalore	33181300204	GOVERNMENT HR.SEC SCHOOL LALPET	1
47	Kancheepuram	33030903331	MUNICIPAL HSS, SELAIYUR	1
48	Villupuram	33070400802	GOVERNMENT HIGHER SECONDARY SCHOOL VELLIMEDUPETTAI	1
49	Nagapattinam	33190703803	GHSS THIRUMANGALAM	1
50	Virudhunagar	33260504502	MARUTHUPANDIAR GOVERNMENT HR SEC SCHOOL, NARIKUDI	1
51	Tiruvarur	33200100602	GHSS - AVOOR	1
52	Virudhunagar	33260910576	GOVT GIRLS HR SEC SCHOOL, THIRUTHANGAL	1
53	Villupuram	33070406602	GOVERNMENT HIGHER SECONDARY SCHOOL AVANIPPUR	1
54	Ramanathapur am	33270908402	MUNICIPAL GIRLS HIGHER SECONDARY SCHOOL, RAMANATHAPURAM	1
55	Villupuram	33070702703	GOVERNMENT HIGHER SECONDARY SCHOOL KAZHUPERUMBAKKAM	1
56	The Nilgiris	33110401013	GHSS DEVARSHOLA	1
57	Virudhunagar	33260910578	G.H.S.S,VISWANATHAM	1
58	Nagapattinam	33191102103	GOVERNMENT HIGHER SECONDARY SCHOOL ACHALPURAM	1
59	Villupuram	33070905402	GOVERNMENT HIGHER SECONDARY SCHOOL PAGANDAI	1
60	Perambalur	33160202003	GHSS VEPPUR	1
61	Virudhunagar	33260709902	R.K.GOVERNMENT HIGHER SECONDARY SCHOOL, P.RAMACHANDRAPURAM	1
62	Tiruvarur	33200901603	GHSS, ALATHAMPADI	1
63	Cuddalore	33180706903	Govt Hr School , Nallur	1
64	Villupuram	33071103203	GOVERNMENT HIGHER SECONDARY SCHOOL RAMPAKKAM	1

S. No.	District	UDISE	School Name	No. of machines
65	Nagapattinam	33190301101	GHSS KURUKKATHI	1
66	Villupuram	33070500603	GOVERNMENT HIGHER SECONDARY SCHOOL RETTANAI	1
67	Kancheepuram	33031003204	GOVERNMENT HIGHER SECONDARY SCHOOL, ELAPAKKAM.	1
68	Villupuram	33070801102	GOVERNMENT HIGHER SECONDARY SCHOOL PANAMALAI PETTAI	1
69	Perambalur	33160201603	GHSS KEELAPERAMBALUR	1
70	Villupuram	33071504902	GOVERNMENT HIGHER SECONDARY SCHOOL BRAMMAKUNDAM	1
71	Villupuram	33072105102	GOVERNMENT HIGHER SECONDARY SCHOOL M.KUNNATHUR	1
72	Nagapattinam	33190303003	GHSS ANTHAKUDI	1
73	Cuddalore	33181405612	GHSS THIRUMUTTAM	1
74	Villupuram	33070503205	GOVERNMENT HIGHER SECONDARY SCHOOL PERIYATHACHUR	1
75	Cuddalore	33180808103	GOVERNMENT HIGHER SECONDARY SCHOOL, ADARI	1
76	Villupuram	33070106203	GOVERNMENT HIGHER SECONDARY SCHOOL SEVALAPURAI	1
77	Villupuram	33070607102	GOVERNMENT HIGHER SECONDARY SCHOOL NADUKUPPAM	1
78	Kancheepuram	33031300202	GOVERNMENT HIGHER SECONDARY SCHOOL, SOTHUPAKKAM	1
79	Ramanathapur am	33270801603	GOVERNMENT HIGHER SECONDARY SCHOOL, KADALADI	1
80	Cuddalore	33180104954	GOVERNMENT HIGHER SECONDARY SCHOOL - MANJAKUPPAM	1
81	Nagapattinam	33190503301	GHSS VELLAPALLAM	1
82	Kancheepuram	33031204104	GHSS, ANAICUT	1
83	Tiruvarur	33200901702	GHSS VILAKKUDI	1
84	Ramanathapur am	33270305403	GOVERNMENT HIGHER SECONDARY SCHOOL, PARTHIBANUR	1
85	Ramanathapur am	33270108204	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, THONDI	1
86	Ramanathapur am	33270402202	GOVERNMENT HIGHER SECONDARY SCHOOL, SATHIRAKUDI	1
87	Nagapattinam	33190502701	GHSS THALAINAYAR	1
88	Ramanathapur am	33271107302	GOVERNMENT HIGHER SECONDARY SCHOOL, MANDAPAM CAMP	1
89	Perambalur	33160204903	GHSS KEELAPULIYUR	1
90	Cuddalore	33180303204	GOVERNMENT GIRLS HIGHER SECONDARY 1 SCHOOL PERPERIYANKUPPAM	
91	Kancheepuram	33030808501	GHSS MAMALLAPURAM 1	
92	Virudhunagar	33260409311	GOVT HIGHER SECONDARY SCHOOL 1 TAMILPADI	
93	Kancheepuram	33031402804	GHSS, THIRUVANCHERY	1
94	Perambalur	33160601902	GHSS KARAI	
95	Villupuram	33070800402	GOVERNMENT HIGHER SECONDARY SCHOOL ATHIYURTHIRUKKAI	1
96	Villupuram	33071700105	GOVERNMENT HIGHER SECONDARY SCHOOL EDUTHAVAINATHAM	1

S. No.	District	UDISE	School Name	No. of machines
97	Villupuram	33072202903	GOVERNMENT HIGHER SECONDARY SCHOOL PADUR	1
98	Tiruvarur	33200603003	GHSS,PULLAMANGALAM	1
99	Nagapattinam	33190302202	GOVERNMENT HIGHER SECONDARY SCHOOL, THEVUR	1
100	Virudhunagar	33260704813	GOVERNMENT HIGHER SECONDARY SCHOOL, ULLOORPATTI	1
101	Nagapattinam	33191000602	MPL HSS SIRKALI	1
102	Kancheepuram	33031403301	GHSS MADAMBAKKAM	1
103	Virudhunagar	33260910530	MUNICIPAL HR SEC SCHOOL., AMMANKOVILPATTI	1
104	Villupuram	33070704703	GOVERNMENT HIGHER SECONDARY SCHOOL VANUR	1
105	Villupuram	33071000902	GOVERNMENT HIGHER SECONDARY SCHOOL EDAPALAYAM	1
106	Kancheepuram	33030203103	GHSS, THENNERI	1
107	Tiruvarur	33200902202	GHSS,KATTIMEDU	1
108	Cuddalore	33180706304	MODEL SCHOOL, NALLUR	1
109	Villupuram	33071903803	GOVERNMENT MODEL HIGHER SECONDARY SCHOOL VIRUGAVUR	1
110	Cuddalore	33180300414	MODEL SCHOOL,PANRUTI	1
111	Villupuram	33070801906	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL ANNIYUR	1
112	Villupuram	33070607403	GOVERNMENT HIGHER SECONDARY SCHOOL KOONIMEDU	1
113	Kancheepuram	33030105476	CSMHSS,Pillayarpalayam, Kanchipuram	1
114	Kancheepuram	33030806003	GHSS VAYALUR	1
115	Ramanathapur am	33270807902	GOVERNMENT HIGHER SECONDARY SCHOOL, T.MARIYUR	1
116	Ramanathapur am	33270302102	GOVERNMENT HIGHER SECONDARY SCHOOL, MELAIKUDI	1
117	Villupuram	33071304406	GOVERNMENT HIGHER SECONDARY SCHOOL G.ARIYUR (MODEL)	1
118	Virudhunagar	33260401102	GOVT HIGHER SECONDARY SCHOOL MUTHURAMALINGAPURAM	1
119	Cuddalore	33180800203	GOVERNMENT BOYS' HIGHER SECONDARY SCHOOL, THOZHUTHUR	1
120	Kancheepuram	33030104802	GHSS ARPAKKAM	1
121	Villupuram	33072204903	GOVERNMENT HIGHER SECONDARY SCHOOL SENGURICHI	1
122	Villupuram	33071004405	GOVERNMENT HIGHER SECONDARY SCHOOL PILLUR	1
123	Virudhunagar	33260805402	GOVERNMENT HIGHER SECONDARY SCHOOL, S.AMMAPATTI	1
124	Nagapattinam	33190400701	GHSS KEEZHAIYUR	1
125	Villupuram	33071604002	GOVERNMENT MODEL SCHOOL SITHAL	1
126	Kancheepuram	33031107801	GHSS KARUNKUZHI	1
127	Virudhunagar	33260406303	GOVT HIGHER SECONDARY SCHOOL POOLANGAL	1
128	Villupuram	33071902103	GOVERNMENT HIGHER SECONDARY SCHOOL KUTHAKUDI	1
129	Villupuram	33072106603	MODEL SCHOOL - GOVERNMENT HIGHER	1

S. No.	District	UDISE	School Name	No. of machines
1101			SECONDARY SCHOOL A.KUMARAMANGALAM	
130	Villupuram	33070704002	GOVERNMENT HIGHER SECONDARY SCHOOL KARASANUR	1
131	Villupuram	33071001403	GOVERNMENT HIGHER SECONDARY SCHOOL KANDAMANADI	1
132	Perambalur	33160200503	GHSS OGALUR	1
133	Villupuram	33071702703	GOVERNMENT HIGH SCHOOL VILAMBAR	1
134	Kancheepuram	33031402404	GHS, Perumbakkam	1
135	Cuddalore	33180500504	GOVT HR SEC SCHOOL, THEERTHANAGIRI	1
136	Ramanathapur am	33271105102	GOVERNMENT HIGHER SECONDARY SCHOOL, RETTAIYURANI	1
137	Villupuram	33070800703	GOVERNMENT HIGHER SECONDARY SCHOOL KARUVATCHI	1
138	Virudhunagar	33260102902	G H S S, SEMPATTI	1
139	Cuddalore	33181305602	GHSS VALLATHURAI	1
140	Virudhunagar	33261100102	GOVERNMENT HIGHER SECONDARY SCHOOL, CHINNAKKAMANPATTI	1
141	Villupuram	33071201303	GOVERNMENT HIGHER SECONDARY SCHOOL VILANDAI	1
142	Villupuram	33070703902	GOVERNMENT HIGHER SECONDARY SCHOOL ERAIYUR	1
143	Virudhunagar	33261103703	S.R.GOVERNMENT HIGHER SECONDARY SCHOOL, N.METTUPATTI	1
144	Kancheepuram	33030300603	GHSS, Kaliyampoondi	1
145	Villupuram	33071700402	GOVERNMENT HIGHER SECONDARY SCHOOL KARADICHITHOOR	1
146	Ramanathapur am	33270812502	GOVERNMENT HIGHER SECONDARY SCHOOL, MELAKIDARAM	1
147	Virudhunagar	33260403603	GOVT HIGHER SECONDARY SCHOOL THUMMUCHINNAMPATTI	1
148	Villupuram	33070103202	GOVERNMENT HIGHER SECONDARY SCHOOL KOTTAPOONDI	1
149	Villupuram	33070904602	GOVERNMENT HIGH SCHOOL MUNDIYAMPAKKAM	1
150	Villupuram	33071506003	MODEL HIGHER SECONDARY SCHOOL MOOLAKKADU	1
151	Cuddalore	33181202802	GOVERNMENT HIGHER SECONDARY SCHOOL, T.NEDUNCHERI	1
152	Nagapattinam	33190500301	VGHSS MANAKKUDI	1
153	Cuddalore	33180804902	GOVERNMENT HIGHER SECONDARY SCHOOL, E.KEERANUR	1
154	Kancheepuram	33030204602	GHSS, GOVINDAVADI	1
155	Cuddalore	33181100902	GHSS MANJAKOLLAI	1
156	Villupuram	33071704404	GOVERNMENT MODEL HIGHER SECONDARY SCHOOL PERIYASIRUVATUR	1
157	Kancheepuram	33031401407	GHS NANMANGALAM	1
158	Villupuram	33072201606	GOVERNMENT MODEL HIGHER SECONDARY 1 SCHOOL VELUR	
159	Villupuram	33070502802	GOVERNMENT HIGHER SECONDARY SCHOOL NEDIMOZHIYANUR	1
160	Cuddalore	33180805803	GOVERNMENT HIGHER SECONDARY SCHOOL, KAZHUDHUR	1

S. No.	District	UDISE	School Name	No. of machines
161	Virudhunagar	33260501802	P.K.M.I. GHSS A MUKKULAM	1
162	Virudhunagar	33261008805	GOVT HSS KALLAMANAICKERPATTI	1
163	Nagapattinam	33190600107	GHSS PUSHPAVANAM	1
164	Villupuram	33071903302	GOVERNMENT HIGHER SECONDARY SCHOOL ASAKALATHUR	1
165	Villupuram	33070406202	GOVERNMENT HIGHER SECONDARY SCHOOL ONGUR	1
166	Villupuram	33071304408	GOVERNMENT GIRLS HIGH SCHOOL G.ARIYUR	1
167	Ramanathapur am	33271106202	GOVERNMENT HIGHER SECONDARY SCHOOL, UCHIPULI	1
168	Villupuram	33070703403	GOVERNMENT HIGHER SECONDARY SCHOOL THAILAPURAM	1
169	Ramanathapur am	33270605702	GOVERNMENT HIGHER SECONDARY SCHOOL, KOVILANGULAM	1
170	Ramanathapur am	33270401002	GOVERNMENT HIGHER SECONDARY SCHOOL, KAMANKOTTAI	1
171	Nagapattinam	33191003304	GHSS KONAYAMPATTINAM	1
172	Ramanathapur am	33271102502	GOVERNMENT HIGHER SECONDARY SCHOOL, IRUMENI	1
173	Kancheepuram	33031303909	GOVERNMENT HIGHER SECONDARY SCHOOL- CHUNAMBEDU	1
174	Kancheepuram	33030601510	GHS(G), Kelambakkam	1
175	Virudhunagar	33261000704	GHSS,SIPPIPARAI	1
176	Nagapattinam	33190200904	GHSS PURAGRAMAM	1
177	Nagapattinam	33190203102	GHSS AMBAL	1
178	Villupuram	33070901702	GOVERNMENT HIGHER SECONDARY SCHOOL CHINNATHACHUR	1
179	Nagapattinam	33190703203	GOVT GIRLS HR SEC SCHOOL NIDUR	1
180	Tiruvarur	33200502102	GHSS, PUDHUR	1
181	Virudhunagar	33260100504	GHSS, SOOLAKKARAI	1
182	Villupuram	33070500102	GOVERNMENT HIGHER SECONDARY SCHOOL AGOOR	1
183	Kancheepuram	33030505806	Government High School,Madambakkam	1
184	Nagapattinam	33190700206	GHS KADALANGUDI	1
185	Villupuram	33071601304	GOVERNMENT HIGH SCHOOL PERIYAKOLLIYUR	1
186	Cuddalore	33180702203	GHSS PELANDURAI	1
187	Nagapattinam	33190704904	MMRA GHS MOOVALUR	1
188	Nagapattinam	33190900402	GHSS KILIYANUR	1
189	Villupuram	33070503703	GOVERNMENT HIGHER SECONDARY SCHOOL PERANI	1
190	Ramanathapur am	33270109103	GOVERNMENT HIGH SCHOOL, NAMBUTHALAI 1	
191	Kancheepuram	33031300702	GOVERNMENT HIGHER SECONDARY SCHOOL- POLAMBAKKAM	1
192	Perambalur	33160404208	GHSS-ELAMBALUR	1
193	Villupuram	33070502702	GOVERNMENT HIGHER SECONDARY SCHOOL PATHIRAPULIYUR	1
194	Villupuram	33070600402	GOVERNMENT HIGHER SECONDARY SCHOOL OMANDUR	1

S. No.	District	UDISE	School Name	No. of machines
195	Nagapattinam	33190301215	GHS KILVELUR	1
196	Nagapattinam	33190602205	GHSS SARABOJIRAJAPURAM	1
197	Villupuram	33071403702	GOVERNMENT HIGHER SECONDARY SCHOOL ARASUR	1
198	Villupuram	33070404303	GOVERNMENT HIGHER SECONDARY SCHOOL SARAM	1
199	Cuddalore	33180304223	MUNICIPAL HIGH SCHOOL THIRUVATHIGAI	1
200	Villupuram	33071701204	GOVERNMENT HIGH SCHOOL EMAPPAIR	1
201	Kancheepuram	33031303402	GOVT HIGH SCHOOL - ANDARKUPPAM	1
202	Perambalur	33160605502	GHSS KOOTHUR	1
203	Villupuram	33070804103	GOVERNMENT HIGH SCHOOL KALPATTU	1
204	Villupuram	33070802802	GOVERNMENT HIGH SCHOOL KANJANUR	1
205	Ramanathapur am	33270612702	GOVERNMENT HIGHER SECONDARY SCHOOL, RAMASAMYPATTI	1
206	Ramanathapur am	33271104605	GOVERNMENT HIGH SCHOOL (GIRLS), PUDUMADAM	1
207	Villupuram	33071701002	GOVERNMENT HIGH SCHOOL MATHUR	1
208	Kanniyakumari	33300500712	GHSS-KANNATTUVILAI	1
209	Villupuram	33071300302	GOVERNMENT HIGH SCHOOL MUDHALUR	1
210	Nagapattinam	33190502001	GHSS UMBALACHERY	1
211	Nagapattinam	33190604104	GHS NAGAKKUDAIYAN	1
212	Villupuram	33071302202	GOVERNMENT HIGH SCHOOL KOOVANUR	1
213	Nagapattinam	33190102902	GHS, SEMBIYANMADEVI	1
214	Villupuram	33070901002	GOVERNMENT HIGH SCHOOL E-MANDAGAPET	1
215	Villupuram	33070500202	GOVERNMENT HIGHER SECONDARY SCHOOL AVVAIYARKUPPAM	1
216	Villupuram	33071703702	GOVERNMENT HIGH SCHOOL VANIYANDAL	1
217	Villupuram	33070800103	GOVERNMENT HIGH SCHOOL NALLAPALAYAM	1
218	Nagapattinam	33190303403	GHS SATTIYAKUDI	1
219	Villupuram	33072200602	GOVERNMENT HIGH SCHOOL PANDUR	1
220	Perambalur	33160204605	GHSS MARUVATHUR	1
221	Cuddalore	33180300903	GOVERNMENT HIGH SCHOOL KUDIYIRUPPU	1
222	Villupuram	33071705303	GOVERNMENT HIGH SCHOOL PUKKIRAVARI	1
223	Villupuram	33071800202	GOVERNMENT HIGH SCHOOL THENGIANATHAM	1
224	Villupuram	33070904802	GOVERNMENT HIGH SCHOOL RADHAPURAM	1
225	Villupuram	33071900405	GOVERNMENT HIGH SCHOOL VADATHORASALUR	1
226	Kancheepuram	33030501408	GHS GERUGAMBAKKAM	1
227	Kancheepuram	33031004102	GOVERNMENT HIGHER SECONDARY SCHOOL, ANANDHAMANGALAM.	1
228	Nagapattinam	33190600502	GHSS KADINALVAYAL	1
229	Nagapattinam	33190200806	GHS THITTACHERRY	1
230	Virudhunagar	33260403004	GOVT HIGH SCHOOL MARAVARPERUNGUDI	1
231	Cuddalore	33180204528	MHS THIRUKANDESWARAM	1
232	Cuddalore	33180304249	GOVERNMENT GIRLS HIGH SCHOOL PANRUTI	1
233	Virudhunagar	33261002309	GOVERNMENT HIGH SCHOOL,	1

S. No.	District	UDISE	School Name	No. of machines	
			K.CHELLAIYAPURAM		
234	Kancheepuram	33030302503	GHS,KATTUPAKKAM	1	
235	Villupuram	33070100102	GOVERNMENT HIGHER SECONDARY SCHOOL ANNAMANGALAM	1	
236	Villupuram	33071405202	GOVERNMENT HIGH SCHOOL SIRUMADURAI	1	
237	Kancheepuram	33030700302	GHS, Karanai Puducheri	1	
238	Nagapattinam	33190602903	GHSS PANCHANATHIKULAM EAST	1	
239	Tiruvarur	33200401502	GHSS, KADUVANGUDI	1	
240	Villupuram	33071700706	GOVERNMENT HIGH SCHOOL MADAVACHERRY	1	
241	Villupuram	33070705902	GOVERNMENT HIGH SCHOOL THIRUVAKKARAI	1	
242	Villupuram	33072103702	GOVERNMENT HIGH SCHOOL PINNALVADI	1	
243	Villupuram	33071304202	GOVERNMENT HIGH SCHOOL KEEZHATHAZHANUR	1	
244	Nagapattinam	33191004203	GHS VANAGIRIKUPPAM	1	
245	Virudhunagar	33261004101	GHS,PANAYADIPATTI	1	
246	Tiruvarur	33200700405	GHS, KOVILVENNI	1	
247	Perambalur	33160603202	GHS THERANI	1	
248	Cuddalore	33181001403	GOVERNMENT HIGH SCHOOL - AYEEPURAM	1	
249	Kancheepuram	33030500606	GHS Malayambakkam	1	
250	Ramanathapur am	33271005402	GOVERNMENT HIGH SCHOOL, PUDUKOIL	1	
251	Kancheepuram	33031302804	GOVERNMENT HIGH SCHOOL- PONTHUR	1	
252	Kancheepuram	33031404311	GOVERNMENT HIGH SCHOOL,KUDUMIYANDITHOPPU, CHENNAI 119	1	
253	Virudhunagar	33260108145	MPL HIGH SCHOOL, WEAVERS COLONY, ARUPPUKOTTAI	1	
254	Villupuram	33070802903	GOVERNMENT HIGH SCHOOL SIRUVALAI	1	
255	Nagapattinam	33190100402	GHS ELANKADAMBANUR	1	
256	Nagapattinam	33190903107	GOVERNMENT HIGH SCHOOL, THERIZHANDUR	1	
257	Nagapattinam	33190400106	GHS SERUTHUR	1	
258	Kancheepuram	33030701602	GHS, RATHINAMANGALAM	1	
259	Nagapattinam	33190201702	GHS MARUNGUR	1	
260	Kancheepuram	33030100603	GHS, Vishar	1	
261	Villupuram	33071105004	GOVERNMENT HIGH SCHOOL P.B.SAMUDRAM	1	
262	Nagapattinam	33190503306	GHS VELLAPALLAM(FC)	1	
263	Kancheepuram	33030701102	GHS ASTHINAPURAM	1	
264	Ramanathapur am	33271106702	GOVERNMENT HIGH SCHOOL, PERUNGULAM	1	
265	Kancheepuram	33030603804	GOVERNMENT HIGH SCHOOL KARUMBAKKAM	1	
266	Nagapattinam	33190800103	GHS,VAITHIYANATHAPURAM	1	
267	Kancheepuram	33030700502	GHS, KOLAPAKKAM	1	
268	Virudhunagar	33260309404	GOVT HIGH SCHOOL MUDUKKANKULAM 1		
269	Kancheepuram	33031105603	GOVERNMENT HIGH SCHOOL ZAMIN ENDATHUR	1	
270	Villupuram	33071502303	GOVERNMENT HIGH SCHOOL POIKUNAM	1	

S. No.	District	UDISE	School Name	No. of machines
271	Kancheepuram	33030803603	GHS KUZHIPANTHANDALAM	1
272	Villupuram	33071902602	GOVERNMENT HIGH SCHOOL NINNAIYUR	1
273	Villupuram	33071901902	GOVERNMENT HIGH SCHOOL SITHALUR	1
274	Virudhunagar	33260905203	G.H.S PUDUKOTTAI	1
275	Villupuram	33071202502	GOVERNMENT HIGH SCHOOL NAYANUR	1
276	Kancheepuram	33030103804	GHS THIRUKALIMEDU	1
277	Villupuram	33071501902	GOVERNMENT HIGH SCHOOL URANGANI	1
278	Virudhunagar	33260900107	G.H.S.,SATHYANAGAR	1
279	Villupuram	33071701804	GOVERNMENT HIGH SCHOOL THENKEERANUR	1
280	Nagapattinam	33191000903	GHS AGANI	1
281	Kancheepuram	33030604203	GHS ORAGADAM	1
282	Villupuram	33070204302	GOVERNMENT HIGH SCHOOL THUTHIPATTU	1
283	Villupuram	33071704702	GOVERNMENT HIGH SCHOOL K.ALAMBALAM	1
284	Cuddalore	33180606502	GOVERNMENT HIGH SCHOOL SATHUKOODAL	1
285	Kancheepuram	33030201903	VSA GHS, UTHUKKADU	1
286	Cuddalore	33180601003	GOVERNMENT HIGH SCHOOL- KO.PAVAZHANGUDI	1
287	Virudhunagar	33261103404	GOVERNMENT HIGH SCHOOL, NATHATHUPATTI	1
288	Villupuram	33071400202	GOVERNMENT HIGH SCHOOL T.KOLATHUR	1
289	Villupuram	33071901305	GOVERNMENT HIGH SCHOOL PANAYANGAL	1
290	Virudhunagar	33260906505	G.H.S.,ANAIKUTTAM	1
291	Villupuram	33070805205	GOVERNMENT HIGH SCHOOL ADHANUR	1
292	Ramanathapur am	33270612002	GOVERNMENT HIGH SCHOOL, VAZHIMARICHAN	1
293	Perambalur	33160203507	GHS PUDHUVETTAKUDI	1
294	Nagapattinam	33190205302	GHS Narimanam	1
295	Nagapattinam	33190602206	GOVERNMENT HIGH SCHOOL, RAJANKATTALAI	1
296	Villupuram	33071801502	GOVERNMENT HIGH SCHOOL ELAVADI	1
297	Villupuram	33070607505	GOVERNMENT HIGH SCHOOL MUDALIYARKUPPAM	1
298	Villupuram	33072201802	GOVERNMENT HIGH SCHOOL NANNARAM	1
299	Nagapattinam	33190300304	GHS VENKIDANGAL	1
300	Nagapattinam	33190204002	GHS Vazhgudi	1
301	Nagapattinam	33190101503	GHS Pappakovil	1
302	Nagapattinam	33190400308	GHS THIRUPOONDI NORTH	1
303	Kancheepuram	33030207201	GHS, DEVERIAMPAKKAM	1
304	Ramanathapur am	33271101303	GOVERNMENT HIGH SCHOOL, RAMESWARAM ROAD	1
305	Ramanathapur am	33270900405	GOVERNMENT HIGH SCHOOL, DEVIPATTINAM SOUTH	1
306	Virudhunagar	33260907210	G.H.S.,ANUPPANKULAM	1
307	Ramanathapur am	33271102102	GOVERNMENT HIGH SCHOOL , SUNDARAMUDAYAN	1
308	Ramanathapur am	33270800702	GOVERNMENT HIGH SCHOOL, APPANOOR	1

S.	District	UDISE	School Name	No. of
No.				machines
309	Virudhunagar	33260409102	GOVERNMENT HIGH SCHOOL,	1
			CHITHALAKUNDU	
310	Ramanathapur	33270710502	GOVERNMENT HIGH SCHOOL ,	1
	am		VILANGULATHUR	
311	Ramanathapur	33271100603	GOVERNMENT HIGH SCHOOL, KARAIYUR	1
	am			
312	Nagapattinam	33190400602	GHS KARAPPIDAGAI	1
313	Cuddalore	33181307353	MPLGHS-SAMBANDHAKARA ST	1

Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is
<u>.</u> 1	Ariyalur	Andimadam	33320801904	Attached GHSS (B), ANDIMADAM
2	Ariyalur	Ariyalur	33320700806	GBHSS,ARIYALUR
3	Ariyalur	Jayankondam	33320700000	GHSS (B), JAYANKONDAM
4	Ariyalur	Sendurai	33320503306	GHSS (G), SENDURAI
5	Ariyalur	T.Palur	33320303300	GHSS, T.PALUR
6	Ariyalur	Thiurmanur	33320100000	GHSS, THIRUMANUR
7	Chennai	Adyar	33020900211	CHSS MGR NAGAR
8	Chennai	Egmore	33020700504	CHS STRAHANS ROAD
9	Chennai	George Town	33020700304	CHSS TH ROAD
10	Chennai	Mylapore	3302100004	CHSS THIRUVANMIYUR
11	Chennai	Perambur	33021002103	GOVT HIGH SCH VILLIVAKKAM
12	Chennai	Periamedu	33020401313	GOVT HIGH SCH VILLIVARRAM GOVT.HSS MKB NAGAR
	Chennai	Purasaiwalkkam	33020300311	
13	Chennai		33020802501	JGG GOVT GIRLS HSS VIRUGAMBAKA CHS MANIKANDAN STREET
		Royapuram	33020200809	
15	Chennai	T.Nagar		PCKG GOVT HSS KODAMBAKKAM
16	Chennai	Triplicane	33020601203	CGHS IRUSAPPA STREET
17	Coimbatore	Anaimalai	33120701309	GHSS ANAIMALAI
18	Coimbatore	Annur	33121502211	AAMG GHSS ANNUR
19	Coimbatore	Coimbatore City	33120103004	CCMA G(G)HSS RAJA STREET
20	Coimbatore	Karamadai	33121700407	GHSS METTUPALAYAM
21	Coimbatore	Kinathukkadavu	33120903306	GHSS KINATHUKADAVU
22	Coimbatore	Madukkarai	33120200704	GHSS MALUMICHAMPATTI
23	Coimbatore	Periyanaickan Palayam	33120300708	G(G)HS ASOKAPURAM
24	Coimbatore	Perur	33120400412	GHSS KUNIYAMUTHUR
25	Coimbatore	Pollachi North	33121102608	GHSS PURAVIPALAYAM
26	Coimbatore	Pollachi South	33121202709	GHSS JAMIN UTHUKULI
27	Coimbatore	Sarkar Samakkulam	33120500604	GHSS S S KULAM
28	Coimbatore	Sulthanpet	33122002008	GHS SULTHANPET
29	Coimbatore	Sulur	33122100306	G(G)HSS SULUR
30	Coimbatore	Thondamuthur	33120600307	G(G)HSS THONDAMUTHUR
31	Coimbatore	Valparai	33121400193	GHSS VALPARAI
32	Cuddalore	Annagrammam	33180204516	GGHSS,NELLIKUPPAM
33	Cuddalore	Bhuvanagiri	33181105410	GGHSS,BHUVANAGIRI
34	Cuddalore	Cuddalore	33180104954	GHSS MANJAKUPPAM
35	Cuddalore	Kammapuram	33180907602	GHS-VEPPANKURICHI
36	Cuddalore	Kattumannarkoil	33181403420	GGHSS KATTUMANNARKOIL
37	Cuddalore	Keerapalayam	33181201403	GHS-KEERAPALAYAM
38	Cuddalore	Kumaratchi	33181307333	GGHSS CHIDAMBARAM

	(I	Equipments for Resou	rce Rooms und	er Inclusive Education)
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached
39	Cuddalore	Kurinjipadi	33180504818	GGHSS VADALUR
40	Cuddalore	Mangalore	33180802305	MODEL SCHOOL MA.PODAIYUR
41	Cuddalore	Nallur	33180708808	GGHSS,PENNADAM
42	Cuddalore	Neyveli	33180400804	GHS G.K. CONOLY
43	Cuddalore	Panruti	33180301704	GHSS, MARUNGUR
44	Cuddalore	Parangipettai	33181000803	GHSS,B.MUTLUR
45	Cuddalore	Virudhachalam	33180607330	GBHSS, VIRUDHACHALAM
46	Dharmapuri	Dharmapuri	33050101420	AGGHSS,Dharmapuri
47	Dharmapuri	Harur	33050802206	GBHSS,Harur
48	Dharmapuri	Karimangalam	33050505104	GBHSS,Karimangalam
49	Dharmapuri	Morappur	33050603602	GBHSS,Kadathur
50	Dharmapuri	Nallampalli	33050207302	GHSS,Nallampalli
51	Dharmapuri	Palacode	33050409306	GGHSS,Palacode
52	Dharmapuri	Pappireddipatti	33050705903	GGHSS, Pappireddipatti
53	Dharmapuri	Pennagaram	33050311604	GGHSS,Pennagaram
54	Dindigul	Athoor	33130101324	GHS CHINNALAPATTI
55	Dindigul	Batlagundu	33130200511	GBHSS BATLAGUNDU
56	Dindigul	Dindigul - Rural	33130301608	GHSS NALLAMANAICKANPATTI
57	Dindigul	Dindigul -Urban	33131500105	GHSS PALANI ROAD,DINDIGUL
58	Dindigul	Gujiliamparai	33130400914	GHSS GUJILIAMPARAI
59	Dindigul	Kodaikanal	33130501714	GHSS KODAIKANAL
60	Dindigul	Natham	33130601513	DKGMHSS NATHAM,KOVILPATTY
61	Dindigul	Nilakottai	33130701407	GHSS NILAKOTTAI
62	Dindigul	Oddanchathram	33130800907	KRGMHSS ODDANCHATHRAM
63	Dindigul	Palani - Rural	33130901207	GHS KANAKKANPATTI
64	Dindigul	Palani - Urban	33131600504	GGHSS PALANI
65	Dindigul	Reddiyarchatram	33131001709	GBHSS KANNIVADI
66	Dindigul	Sanarpatty	33131100603	GHSS SANARPATTI
67	Dindigul	Thoppampatty	33131200205	GHS KARIYAMPATTI
68	Dindigul	Vadamadurai	33131301006	GBHSS VADAMADURAI
69	Dindigul	Vedasandur	33131400515	GBHSS VEDASANDUR
70	Erode	Ammapettai-Erode	33100102305	SINGAMPETTAI, GHSS
71	Erode	Anthiyur	33100200105	ANTHIYUR, GBHSS
72	Erode	Bhavani	33100301806	BHAVANI, GBHSS
73	Erode	Bhavani Sagar	33100401201	PANAYAMPALLI, GHSS
74	Erode	Chennimalai	33100500805	VELLODE, GHSS
75	Erode	Erode	33100708902	GGHSS (GTS),ERODE
76	Erode	Gobi	33100802610	MPL,BOYS HSS,GOBI
77	Erode	Kodumudi	33101001611	SIVAGIRI, GGHSS
78	Erode	Modakurichi	33101200111	MODAKKURICHI, GGHSS

	(Ec	quipments for Resou	rce Rooms und	er Inclusive Education)
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached
79	Erode	Nambiyur	33101401611	NAMBIYUR, GBHSS
80	Erode	Perundurai	33101503115	PERUNDURAI, GBHSS
81	Erode	Sathiyamangalam	3.31012E+11	SATHY,GGHSS
82	Erode	Thalavady	33101801004	BUNGALOWPUDUR, GHSS
83	Erode	Thuckanaicken Palayam	33101700906	THALAVADI, GHSS
84	Kancheepuram	Kanchipuram	33030100702	GOVT. HR.SEC. SCHOOL, THIRUPUTKUZHI
85	Kancheepuram	Walajabad	33030208601	GOVT. GIRLS HR. SEC. SCHOOL, WALAJABAD
86	Kancheepuram	Mount Rural	33031401508	GOVT. HR.SEC.SCHOOL, MEDAVAKKAM
87	Kancheepuram	Mount Uraban	33030903331	MPL HR. SEC. SCHOOL, SELAIYUR
88	Kancheepuram	Kundrathur	33030501002	GOVT. A.D.W. HR. SEC. SCHOOL, MOULIVAKKAM
89	Kancheepuram	Madurantagam	33031107706	GOVT. GIRLS HR. SEC. SCHOOL, MADURANTHAGAM
90	Kancheepuram	Uthiramerur	33030303902	GHSS, THIRUPULIVANAM
91	Kancheepuram	Thiruporur	33030606502	GBHSS, THIRUPORUR
92	Kancheepuram	Thirukazukundram	33030803101	GBHSS, THIRUKAZUKUNDARAM
93	Kancheepuram	Sriperumpudur	33030403003	GHSS, MOLACHUR
94	Kancheepuram	Acharapakkam	33031001602	GHSS, L.ENDATHUR
95	Kancheepuram	Kattangulathur	33030705203	A.A.MPL HR SEC.SCHOOL, CHENGALPATTU
96	Kancheepuram	Latur	33031203104	GHS, PARAMESHWARAMANGALAM
97	Kancheepuram	Citamur	33031304904	GBHSS, KADAPAKKAM
99	Kanniyakumari	Agastheeswaram	33300203105	GHSS VALLANKUMARAVILAI
100	Kanniyakumari	Killiyoor	33300800611	GHSS NATTALAM
101	Kanniyakumari	Kurunthancode	33300400205	GHSS ERANIEL
102	Kanniyakumari	Melpuram	33300700811	GHSS ARUMANAI
103	Kanniyakumari	Munchirai	33300900107	GHSS KOLLENCODE
104	Kanniyakumari	Rajakkamangalam	33300300204	GHSS THENGEMPUTHOOR
105	Kanniyakumari	Thiruvattar	33300600708	GHSS KATTATHURAI
106	Kanniyakumari	Thovalai	33300100504	GHSS BOOTHAPANDY
107	Kanniyakumari	Thuckalay	33300500310	GHSS THUCKALAI
108	Karur	Aravakurichi	33140300308	GHSS,ARAVAKURICHI
109	Karur	K.Paramathi	33140401204	GOVT.HR.SEC.SCHOOL,K.PARAMATHI
110	Karur	Kadavoor	33140601709	GHSS, PALAVIDUTHI
111	Karur	Karur	33140101731	MPL (B) HR.SEC.SCHOOL,KARUR
112	Karur	Krishnarayapuram	33140500304	GHSS, LALAPET

	(Equipments for Resource Rooms under Inclusive Education)				
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached	
113	Karur	Kulithalai	33140700815	GHSS, KULITHALAI (G)	
114	Karur	Thanthoni	33140201510	GOVT.HR.SEC.SCHOOL,THANTHONI	
115	Karur	Thogaimalai	33140801308	GOVERNMENT HIGHER SECONDARY SCHOOL, THOGAIMALAI	
116	Krishnagiri	Bargur	33311201606	GGHSS BARGUR CAMPUS BARGUR	
117	Krishnagiri	Hosur	33311504407	RVGBHSS CAMPUS HOSUR	
118	Krishnagiri	Kaveripatinam	33311104407	GBHSS KAVERIPATTINAM KAVERIPATTINAM	
119	Krishnagiri	Kelamangalam	33311604605	GGHSS CAMPUS KELAMANGALAM	
120	Krishnagiri	Krishnagiri	33311009517	GBHSS KRISHNAGIRI KRISHNAGIRI	
121	Krishnagiri	Mathur	33311804502	GBHSS MATHUR CAMPUS MATHUR	
122	Krishnagiri	Shoolagiri	33311411504	GBHSS SHOOLAGIRI CAMPUS SHOOLAGIRI	
123	Krishnagiri	Thally	33311714403	GBHSS CAMPUS THALLY	
124	Krishnagiri	Uthangarai	33310908903	GBHSS UTHANGARAI CAMPUS UTHANGARAI	
125	Krishnagiri	Veppanapalli	33311307604	GBHSS CAMPUS VEPPANAPALLI	
126	Madurai	Alanganallur	33240100906	GOVT GIRLS HR SEC SCHOOL, ALANGANALLUR	
127	Madurai	Chellampatti	33240201002	GOVT HS, CHELLAMPATTI	
128	Madurai	Kallikudi	33240302102	GOVT HR SEC SCHOOL, M PULIANKULAM	
129	Madurai	Kottampatti	33240501603	GOVT BOYS HR SEC SCHOOL, KARUNGALAKUDI	
130	Madurai	Madurai East	33240611104	CORPORATION HIGH SCHOOL, TALLAKULAM	
131	Madurai	Madurai North	33241415003	CORPORATION VELLIVEETHIAR GIRLS HR SEC SCHOOL, PONNAGARAM	
132	Madurai	Madurai South	33241516604	CORPORATION EVRN GIRLS HR SEC SCHOOL, SOUTH VELI STREET	
133	Madurai	Madurai West	33240703303	GOVT HR SEC SCHOOL, POTHUMBU	
134	Madurai	Melur	33240805401	GOVT HR SEC SCHOOL, MELUR	
135	Madurai	Sedapatti	33240901202	GOVT HR SEC SCHOOL, ELUMALAI	
136	Madurai	T.Kallupatti	33240400203	GOVT HR SEC SCHOOL, T.KALLUPATTI	
137	Madurai	T.Vadipatti	33241300803	GOVT BOYS HR SEC SCHOOL, T.VADIPATTI	
138	Madurai	Thirumangalam	33241004403	GOVT. HS, VIDATHAKULAM	
139	Madurai	Thiruparamkundram	33241107301	GOVT HR SEC SCHOOL, AVANIAPURAM	
140	Madurai	Usilampatti	33241201101	GOVERNMENT KALLAR HS NALLUTHEVANPATTI	
141	Nagapattinam	Keezhaiyur	33190400701	Govt Hr Sec School, Keezhaiyur	
142	Nagapattinam	Kelvelur	33190301101	Govt Hr Sec School, Kurukkathi	
143	Nagapattinam	Kollidam	33191101102	Govt High School, Edamanal	
144	Nagapattinam	Kuthalam	33190901508	Govt Girls Hr Sec School, Kuthalam	
145	Nagapattinam	Mayiladudurai	33190706407	Kittappa Municipal Hr Sec School, Mayiladuthurai	
146	Nagapattinam	Nagapattinam	33190101304	Govt Hr Sec School, Sikkal	

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
147	Nagapattinam	Sembanarkoil	33190804001	Govt Hr Sec School, Thirukkadaiyur			
148	Nagapattinam	Sirkali	33191000602	Govt Municipal Hr Sec School, Sirkali			
149	Nagapattinam	Thalainayar	33190502001	Govt Hr Sec School, Umbalachery			
150	Nagapattinam	Thirumarugal	33190200803	Govt Hr Sec SChool, Thittachery			
151	Nagapattinam	Vedaranyam	33190601903	Govt Hr Sec School, Thagattur			
152	Namakkal	Elachipalayam	33091301207	GHSS, Elachipalayam			
153	Namakkal	Erumapatti	33090401205	GHSS, Thotti vetti patti			
154	Namakkal	Kabilarmalai	33091502403	GBHSS, Pandamangalam			
155	Namakkal	Kollihills	33090201105	GTRHSS, Valavanthinadu			
156	Namakkal	Mallasamudram	33091200803	GGHSS, Mallasamudram			
157	Namakkal	Mohanur	33090301705	GBHSS, Mohanur			
158	Namakkal	Namagiripet	33090900406	GBHSS, Namagiripet			
159	Namakkal	Namakkal	33090100427	GHSS, Namakkal (south)			
160	Namakkal	Pallipalayam	33091100607	GBHSS, Pallipalayam			
161	Namakkal	Paramathi	33091400106	GHSS, Kandampalayam			
162	Namakkal	Puduchatram	33090600612	GHSS, Puduchatram			
163	Namakkal	Rasipuram	33090700421	GHSS, Annasalai Rasipuram			
164	Namakkal	Sendamangalam	33090501303	GBHSS, Sendamangalam			
165	Namakkal	Tiruchengode	33091001617	GBHSS, Tiruchengode			
166	Namakkal	Vennandur	33090801605	GHSS, R.Pudupalayam			
167	Perambalur	Alathur	33160600603	GHSS, Chettikulam			
168	Perambalur	Perambalur	33160400105	GHSS, Perambalur			
169	Perambalur	Veppanthattai	33160300504	GHSS,V.Kalathur			
170	Perambalur	Veppur	33160204203	GHSS(G), Kunnam			
171	Pudukkottai	Annavasal	33220204905	GBHSS ILUPPUR			
172	Pudukkottai	Aranthangi	33221107902	GGHSS ARANTHANGI			
173	Pudukkottai	Arimalam	33221003103	GHSS ARIMALAM			
174	Pudukkottai	Avudaiyarkoil	33221300102	GHS AMARADAKKI			
175	Pudukkottai	Gandarvakkottai	33220403905	GGHSS GANDARVAKKOTTAI			
176	Pudukkottai	Karambakkudi	33220702506	GBHSS KARAMBAKKUDI			
177	Pudukkottai	Kunnandarkoil	33220103405	GBHSS KEERANUR			
178	Pudukkottai	Manamelkudi	33221201107	GBHSS MANAMELKUDI			
179	Pudukkottai	Ponnamaravathy	33220901506	GGHSS PON PUDUPPATTI			
180	Pudukkottai	Pudukkottai	33220506301	RANESGGHSS PUDUKKOTTAI			
181	Pudukkottai	Thirumayam	33220801106	GBHSS THIRUMAYAM			
182	Pudukkottai	Thiruvarankulam	33220607105	GBHSS ALANGUDI			
183	Pudukkottai	Viralimalai	33220304705	GBHSS VIRALIMALAI			
184	Ramanathapura m	Bogalur	33270402202	GHSS SATHIRAKUDI			
185	Ramanathapura m	Kadaladi	33270801006	GBHSS SAYALKUDI			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
186	Ramanathapura m	Kamuthi	33270606608	GHSS KAMUTHI			
187	Ramanathapura m	Mandapam	33271107302	GHSS MANDAPAMCAMP			
188	Ramanathapura m	Mudukulathur	33270705305	GHSS MUDUKULATHUR			
189	Ramanathapura m	Nainarkoil	33270501002	GHSS NAINARKOVIL			
190	Ramanathapura m	Paramakudi	33270310902	GGHSS PARAMAKUDI			
191	Ramanathapura m	Rajasingamangalam	33270202104	GHS SHOLANDUR			
192	Ramanathapura m	Ramanathapuram	33270908402	MPL GGHSS RAMANATHAPURAM			
193	Ramanathapura m	Thiruppullani	33271005702	GHSS THIRUPULLANI			
194	Ramanathapura m	Thiruvadanai	33270108604	GGHSS THIRUVADANAI			
195	Salem	Attur	33081301408	GBHSS ATTUR			
196	Salem	Ayothiyapattinam	33081403909	G B H S S , VALASIYUR			
197	Salem	Edappadi	33081200407	GOVERNMENT MODEL SCHOOL,CHETTIMNKURUCHI,EDAPPADI			
198	Salem	Gangavalli	33080100606	GBHSS, THAMMAMPATTI			
199	Salem	Kadayampatti	33080301902	GHSS.MODEL.SCHOOL NADUPATTI			
200	Salem	Kolathur	33081501415	GHSS Mettur Dam.			
201	Salem	Konganapuram	33080500809	KAN , GOVERNMENT BOYS SCHOOL,KONGANAPURAM			
202	Salem	Magudanchavadi	33080401110	Gbhss,magudanchavadi			
203	Salem	Mecheri	33081601810	GBHSS, MECHERI			
204	Salem	Nangavalli	33081100505	GGHSS NANGAVALLI			
205	Salem	Omalur	33081703210	GHSS PAGALPATTI			
206	Salem	Panamarathupatti	33080601910	Model school, panamarathupatti			
207	Salem	Pethanaickenpalaya m	33080202903	GBHSS- PETHANAICKENPALAYAM			
208	Salem	Salem-Rural	33080901105	GHSS JAGIRAMMAPALAYAM			
209	Salem	Salem-Urban	33082102305	GGHSS SALEM _1			
210	Salem	Sankari	33081800126	GHS Akkamapettai , Sangakiri			
211	Salem	Thalaivasal	33080702202	GBHSS THALAIVASAL			
212	Salem	Tharamangalam	33081000717	GOVERNMENT MODEL SCHOOL, THARAMANGALLAM			
213	Salem	Valappadi	33081901503	G B H S S , VALAPADDY			
214	Salem	Veerapandi	33080802203	Model school veerapandi			
215	Salem	Yercaud	33082002004	MODEL SCHOOL YERCAUD			
216	Sivagangai	Devakottai	33230600905	GHS - PULIYAL			
217	Sivagangai	Ilayangudi	33230501605	GHS - KACHATHANALLUR			
218	Sivagangai	Kalayarkoil	33230201302	GHSS - KALAIYARKOVIL			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
219	Sivagangai	Kallal	33231200104	G(G)HS - KALLAL			
220	Sivagangai	Kannangudi	33230700404	GHS - NARANAMAGALAM			
221	Sivagangai	Manamadurai	33230300602	GHSS - KATTIKULAM			
222	Sivagangai	S.Pudur	33231105901	GHSS - PULUTHIPATTI			
223	Sivagangai	Sakkottai	33230800202	GHSS - A.MITHRAVAYAL			
224	Sivagangai	Singampunari	33231000111	G(G)HSS - SINGAMPUNARI			
225	Sivagangai	Sivagangai	33230103902	GHSS - THAMARAKI			
226	Sivagangai	Thiruppatur	33230902503	GHSS - THIRUKOSHDIYUR			
227	Sivagangai	Thiruppuvanam	33230400303	G(B)HSS - THIRUPPUVANAM			
228	Thanjavur	Ammapettai-TNJ	33210902605	GHSS, Saliyamangalam			
229	Thanjavur	Budalur	33210403105	GGHSS, Budalur			
230	Thanjavur	Kumbakonam	33210707602	ARR Municipal HSS, Kumbakonam			
231	Thanjavur	Madukkur	33211303604	GGHSS, Madukkur			
232	Thanjavur	Orathanadu	33210505906	GGHSS, Orathanadu			
233	Thanjavur	Papanasam	33210803002	GGHSS, Papanasam			
234	Thanjavur	Pattukkottai	33211204718	GGHSS, Pattukkottai			
235	Thanjavur	Peravurani	33211403606	GBHSS, Peravurani			
236	Thanjavur	Sethubavachatram	33211504805	GHSS, Mallipattinam			
237	Thanjavur	Thanjavur(Rural)	33210204304	GHSS, Marungulam			
238	Thanjavur	Thanjavur(Urban)	33210103003	GBHSS, Membalam, Thanjavur			
239	Thanjavur	Thiruppanandal	33211103103	GGHSS, Pandanallur			
240	Thanjavur	Thiruvaiyar	33210304608	GGHSS, Thiruvaiyaru			
241	Thanjavur	Thiruvidaimarudhur	33211005102	GHSS, Thirunageswaram			
242	Thanjavur	Thiruvonam	33210601006	GHSS, Thiruvonam			
243	The Nilgiris	Coonoor	33110200621	AGHSS, Coonoor			
244	The Nilgiris	Gudalur	33110401129	GHSS,Pandalur			
245	The Nilgiris	Kotagiri	33110301119	GHSS, Kotagiri			
246	The Nilgiris	Udhagamandalam	33110101541	GHSS, Ooty			
247	Theni	Aundipatty	33250100522	G(B)HSS, AUNDIPATTY			
248	Theni	Bodinayakanur	33250201003	GHSS, SILLAMARATHUPATTY			
248	Theni	Chinnamanur	33250301107	GHSS, ODAIPATTI			
249	Theni	Cumbum	33250401108	G(G)HSS, CUMBUM			
250	Theni	Myladumparai	33250500202	GHSS, KADAMALAIKUNDU			
251	Theni	Periyakulam	33250601504	G(G)HSS, PERIYAKULAM			
252	Theni	Theni	33250701208	GHSS, ALLINAGARAM			
253	Theni	Uthamapalayam	33250800910	GHSS, UTHAMAPALAYAM			
254	Thoothukkudi	Alwarthirunagar	33280403402	GHSS MAVADIPANNAI			
255	Thoothukkudi	Karunkulam	33280201304	GHSS VALLANADU			
256	Thoothukkudi	Kayathar	33280903406	GHSS, VANARAMUTTI			
257	Thoothukkudi	Kovilpatti	33280805001	GGHSS, KOVILPATTI			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
258	Thoothukkudi	Ottapidaram	33281007105	GHSS, THARUVAIKULAM			
259	Thoothukkudi	Pudur	33281200105	GHSS PUDUR			
260	Thoothukkudi	Sathankulam	33280702308	GOVT.HSS PADUKKAPATHU			
261	Thoothukkudi	Srivaikundam	33280311703	GGHSS SRIVAIKUNTAM			
262	Thoothukkudi	Thiruchenthur	33280501802	GGHSS TIRUCHENDUR			
263	Thoothukkudi	Thoothukudi Rural	33281302303	GHSS SORISPURAM			
264	Thoothukkudi	Thoothukudi Urban	33280103802	GHSS, SAMUVELPURAM			
265	Thoothukkudi	Udangudi	33280605409	GHS, VENKATRAMANUJAPURAM			
266	Thoothukkudi	Vilathikulam	33281109701	GHSS VILATHIKULAM			
267	Tiruchirappalli	Andhanallur	33150102602	GHSS, ETTARAI			
268	Tiruchirappalli	Lalgudi	33150204610	GBHSS, LALGUDI			
269	Tiruchirappalli	Manapparai	33150502712	GBHSS, MANAPPARAI			
270	Tiruchirappalli	Manikandam	33150402007	GHSS, SOMARASAMPETTAI			
271	Tiruchirappalli	Mannachanallur	33150300102	GBHSS, MANNACHANALLUR			
272	Tiruchirappalli	Marungapuri	33150600205	GHSS, KOVILPATTI			
273	Tiruchirappalli	Musiri	33150703405	GBHSS, MUSIRI			
274	Tiruchirappalli	Pullambadi	33150801405	GHSS, PULLAMBADI			
275	Tiruchirappalli	Thathiengarpet	33151402703	GGHSS, METTUPALAYAM			
276	Tiruchirappalli	Thiruverumbur	33151102802	GHSS, THUVAKKUDI			
277	Tiruchirappalli	Thottiyam	33151202708	GGHSS, THOTTIYAM			
278	Tiruchirappalli	Thuraiyur	33151303505	GGHSS, THURAIYUR			
279	Tiruchirappalli	Trichy-Urban	33150901305	GGHSS, TOWNHALL			
280	Tiruchirappalli	Trichy-West	33151002706	CHS, SENTHANNEERPURAM			
281	Tiruchirappalli	Uppiliyapuram	33151501102	GHSS, UPPILIYAPURAM			
282	Tiruchirappalli	Vaiyampatti	33151601806	GHSS, VAIYAMPATTI			
283	Tirunelveli	Alangulam	33290103507	GHSS, ALANGULAM			
284	Tirunelveli	Ambasamudram	33290204215	A.V.RM.V.GOVT(G)HSS-AMBASAMUDRAM - MODEL			
285	Tirunelveli	Cheranmahadevi	33290301809	GGHSS PATHAMADAI			
286	Tirunelveli	Kadayam	33290400608	GHSS, MUDALIYARPATTI			
287	Tirunelveli	Kadayanallur	33290502423	GHSS(G)KADAYANALLUR			
288	Tirunelveli	Kalakad	33290606110	GOVT(B) HR SEC SCHOOL, ERUVADI			
	Tirunelveli	Kalakad	33290606111	GOVT (G) HR SEC SCHOOL, ERUVADI			
289	Tirunelveli	Keelapavoor	33290704115	AVVAIYAR G.GHSS-PAVOORCHATRAM			
290	Tirunelveli	Kuruvikulam	33290805407	GOVT HR SEC SCHOOL THIRUVENGADAM			
291	Tirunelveli	Manur	33290902704	DR. AMBEDKAR GOVT.(A.D.W) HIGHER SECONDARY SCHOOL, NALLAMMALPURAM			
292	Tirunelveli	Melaneelithanallur	33291002704	GHSS VELLALANKULAM			
293	Tirunelveli	Nanguneri	33291103808	GOVT HSS MOOLAIKARAIPATTI			
294	Tirunelveli	Palay-Rural	33291201203	GHSS, BURKITMANAGARAM			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
295	Tirunelveli	Palay-Urban	33292003702	QUAIDE MILLETH CORPORATION HIGHER SECONDARY SCHOOL			
296	Tirunelveli	Pappakudi	33291301702	GOVERNMENT HIGHER SECONDARY SCHOOL, POTHUKUDI			
297	Tirunelveli	Radhapuram	33291401606	NVC GOVT HR.SECONDARY SCHOOL RADHAPURAM			
298	Tirunelveli	Sankarankovil	33291501423	GOMATHI AMBAL GHSS(BOYS), SANKARANKOVIL			
299	Tirunelveli	Shenkottai	33291600908	GOVERNMENT HIGHER SECONDARY SCHOOL AYIKUDI			
300	Tirunelveli	Tenkasi	33291702106	MANJAMMAL HSS(G),TENKASI			
301	Tirunelveli	Tirunelveli Urban	33292104305	Mpl. (G) HSS, Kallanai, TVL			
302	Tirunelveli	Valliyoor	33291800115	GOVT.HR.SEC.SCHOOL VALLIYOOR			
303	Tirunelveli	Vasudevanallur	33291902015	GOVT GIRLS HR SEC SCHOOL PULIANGUDI TIRUNELVELI			
304	Tiruppur	Avinashi	33331603307	G(G)HSS - AVINASHI			
305	Tiruppur	Dharapuram	33330601005	GHSS-DHARAPURAM			
306	Tiruppur	Gudimangalam	33330800105	GHSS - GUDIMANGALAM			
307	Tiruppur	Kangayam	33330901813	GHSS - KANGAYAM			
308	Tiruppur	Kundadam	33331102603	GHSS - KUNDADAM			
309	Tiruppur	Madathukulam	33331000104	GHSS - MADATHUKULAM			
310	Tiruppur	Mulanur	33331203403	GHSS - MULANUR			
311	Tiruppur	Palladam	33331801214	G(G)HSS. PALLADAM			
312	Tiruppur	Pongalur	33331700308	GHSS - KODUVAI			
313	Tiruppur	Tiruppur	33332204303	JAIVABAI GIRLS CORPARATION HSS TIRUPPUR			
314	Tiruppur	Udumalpet	33331302719	G(B)HSS - UDUMALPET			
315	Tiruppur	Uthukuli	33331900106	G(B)HSS - UTHUKULI			
316	Tiruppur	Vellakovil	33332000124	AAGHSS - VELLAKOVIL			
317	Tiruvallur	Ellapuram	33010405202	GHSS, PERIYAPALAIYAM			
318	Tiruvallur	Gummidipoondi	33010812102	GGHSS,GUMIDIPOONDI			
319	Tiruvallur	Kadambathur	33010300803	GHSS, KADAMBATTUR			
320	Tiruvallur	Minjur	33010613404	JGGHSS, PONNERI			
321	Tiruvallur	Pallipat	33011307701	GGHSS, PODHATTUR PET			
322	Tiruvallur	Poonamallee	33010506401	GGHSS, AVADI			
323	Tiruvallur	Poondi	33010205802	GHSS, POONDI			
324	Tiruvallur	Puzhal	33011003101	GHSS,MANALI			
325	Tiruvallur	R.K.Pet	33011405304	GBHSS, R.K.PET			
326	Tiruvallur	Sholavaram	33010705604	GBHSS SHOLAVARAM			
327	Tiruvallur	Thiruvalangadu	33011206602	GHSS, THIRUVALANGADU			
328	Tiruvallur	Thiruvallur	33010106302	RMJ GGHSS, TIRUVALLUR			
329	Tiruvallur	Tiruttani	33011107501	GBHSS, TIRUTTANI			
330	Tiruvallur	Villivakkam	33010903203	GHSS, S.M.NAGAR, AVADI			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
331	Tiruvannamalai	Anakkavur	33060308301	GHSS-SENGADU			
332	Tiruvannamalai	Arni	33060706506	GGHSS-ARANI			
333	Tiruvannamalai	Chengam	33061601904	GGHSS-CHEGAM			
334	Tiruvannamalai	Chetpet	33061100804	GHSS-PAZHAMPET			
335	Tiruvannamalai	Cheyyar	33060207502	GBHSS-CHEYYAR			
336	Tiruvannamalai	Jawadhu Hills	33061801001	FHSS-JAWATHU HILLS			
337	Tiruvannamalai	Kalasapakkam	33061004202	GHSS-MELARANI			
338	Tiruvannamalai	Kilpennathur	33061303203	GBHSS-KILPENATHUR			
339	Tiruvannamalai	Peranamallur	33060402805	GBHSS-KOLAPALLUR			
340	Tiruvannamalai	Polur	33060906203	GBHSS-POLUR			
341	Tiruvannamalai	Pudupalayam	33061504702	GGHSS-PUDHUPALAYAM			
342	Tiruvannamalai	Thandrampet	33061707901	GBHSS-THANDARAMPET			
343	Tiruvannamalai	Thellar	33060604501	GHSS-MAZHAIYUR			
344	Tiruvannamalai	Thurinjapuram	33061203502	GBHSS-MALLAVADI			
345	Tiruvannamalai	Tiruvannamalai	33061411337	SIGHSS-TIRUVANNAMALAI			
346	Tiruvannamalai	Vandavasi	33060507803	GGHSS-VANDAVASI			
347	Tiruvannamalai	Vembakkam	33060106003	GBHSS-PERUNGATUR			
348	Tiruvannamalai	West Arni	33060800901	GHSS-DEVIGAPURAM			
349	Tiruvarur	Koradachery	33200303004	GHSS AMMAIYAPPAN			
350	Tiruvarur	Kottur	33200801102	GGHSS KOTTUR			
351	Tiruvarur	Kudavasal	33200204903	GBHSS KUDAVASAL			
352	Tiruvarur	Mannargudi	33200605327	GGHSS MANNARGUDI			
353	Tiruvarur	Muthupettai	33201000103	GHS ALANGADU			
354	Tiruvarur	Nannilam	33200405312	GBHSS NANNILAM			
355	Tiruvarur	Needamangalam	33200704311	GHS NEEDAMANGALAM			
356	Tiruvarur	Thiruthuraipoondi	33200903314	GGHSS THIRUTHURAIPOONDI			
357	Tiruvarur	Thiruvarur	33200502302	GHSS PULIVALAM			
358	Tiruvarur	Valangaiman	33200104806	GGHSS VALANGAIMAN			
359	Vellore	Alangayam	33041802222	GBHSS ALANGAYAM			
360	Vellore	Anaicut	33041203904	GBHSS ANAICUT			
361	Vellore	Arakkonam	33040101510	GBHSS ARAKKONAM			
362	Vellore	Arcot	33040600119	GGHSS ARCOT			
363	Vellore	Gudiyatham	33041505144	GBHSS NELLOREPET			
364	Vellore	Jolarpet	33042000405	GHSS PONNERI			
365	Vellore	K.V.Kuppam	33041402304	GBHSS K.V.KUPPAM			
366	Vellore	Kandhili	33042201006	GHSS KASINAYAKKANPATTI			
367	Vellore	Kaniyambadi	33041102006	GHSS KANIYAMBADI			
368	Vellore	Katpadi	33041302703	GGHSS KATPADI			
369	Vellore	Kaveripakkam	33040302004	GBHSS BANAVARAM			
370	Vellore	Madhanur	33041702702	GHSS MADANUR			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	District	Block Name	UDISE Code	School in which the Resource Center is Attached			
371	Vellore	Natrampalli	33041902210	GBHSS NATRAMPALLI			
372	Vellore	Nemili	33040205803	GGHSS NEMILI			
373	Vellore	Pernambut	33041602202	GHSS ALINJIKUPPAM			
374	Vellore	Sholingar	33040403110	GBHSS SHOLINGHUR			
375	Vellore	Thirupattur	33042100509	GBHSS MADAVALAM			
376	Vellore	Timiri	33040706806	GBHSS TIMIRI			
377	Vellore	Vellore Rural	33040900302	GGHSS USSOOR			
378	Vellore	Vellore Urban	33041000184	GOVT MUSLIM HSS, VELLORE			
379	Vellore	Walaja East	33040600215	GBHSS RANIPET			
380	Vellore	Walaja West	33040600401	GBHSS WALAJA			
381	Villupuram	Chinnasalem	33071802201	GBHSS, CHINNASALEM			
382	Villupuram	Gingee	33070207004	GBHSS, GINGEE			
383	Villupuram	Kallakurichi	33071701312	GBHSS, KALLAKURICHI			
384	Villupuram	Kanai	33070805502	GHS, PERUMPAKKAM			
385	Villupuram	Kandamangalam	33071104902	GHSS, KANDAMANGALAM			
386	Villupuram	Koliyanur	33071002306	GHSS, KOLIYANUR			
387	Villupuram	Mailam	33070502302	GHSS, THAZHUDHALI			
388	Villupuram	Marakkanam	33070602803	GHSS, BRAMMADHESAM			
389	Villupuram	Melmalayanur	33070104003	GHSS, MELMALAIYANUR			
390	Villupuram	Mugaiyur	33071207905	GGHSS, MANALURPET			
391	Villupuram	Olakkur	33070407202	GGHSS, MURUNGAPAKKAM			
392	Villupuram	Rishivanthiyam	33071604506	GHSS, RISHIVANDHIYAM			
393	Villupuram	Sankarapuram	33071500109	GBHSS, SANKARAPURAM			
394	Villupuram	Thirukoilur	33070305802	GGHSS,THIRUKOILUR			
395	Villupuram	Thirunavalur	33072201606	MODEL SCHOOL, VELUR			
396	Villupuram	Thiruvennainallur	33071404902	MODEL SCHOOL, THIRUVENNAINALLUR			
397	Villupuram	Thiyagadurgam	33071905006	GGHSS, THIYAGADHURUGAM			
398	Villupuram	Ulundurpet	33072107601	GGHSS, ULUNDHURPET			
399	Villupuram	Vaanur	33070700102	GHS, THENKODIPAKKAM			
400	Villupuram	Vallam	33070306402	GHS, VALLAM			
401	Villupuram	Vikaravandi	33070903403	GHSS, VIKKARAVANDI			
402	Villupuram	Viluppuram	33072401602	MHS, VILLUPURAM			
403	Virudhunagar	Aruppukottai	33260104403	GHSS,VELLAIYAPURAM, MALAIPATTI ROAD, ARUPPUKOTTAI POST-626112			
404	Virudhunagar	Kariyapatti	33260312608	GHSS MALLANKINARU 626109			
405	Virudhunagar	Narikudi	33260504502	MARUTHU PANDIYAR GHSS NARIKUDI 626607			
406	Virudhunagar	Rajapalayam	33260612786	SS GIRLS GHSS ,THENKASI MAIN ROAD, NEAR SOUTH POLICE STATION,RAJAPALIYAM -626123			
407	Virudhunagar	Sattur	33261100609	GHSS PADANTHAL			
408	Virudhunagar	Sivakasi	33260910581	AVT MUNICIPLE HS SIVAKASI			

	(Equipments for Resource Rooms under Inclusive Education)						
Sl.No	.No District Block Name UDISE (UDISE Code	School in which the Resource Center is Attached			
409	Virudhunagar	Srivilliputhur	33260700906	GHSS KRISHNANKOVIL			
410	Virudhunagar	Thiruchuli	33260403303	GHSS, M.REDDIYAPATTI, THIRUCHULI POST-626118			
411	Virudhunagar	Vembakottai	33261003306	GHSS VEMBAKOTTAI			
412	Virudhunagar	Virudhunagar	33260214654	A.S.P.C.C. MUNICIPAL HIGH SCHOOL, VIRUDHUNAGAR			
413	Virudhunagar	Watrap	33260801905	GHSS MAHARAJAPURAM			

Annexure-VII

	List of 42 schools approved under Vocational education in 2021 – 22							
S. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	Sector 2	Job Role 2	
1	33320503306	ARIYALUR	GGHSS Sendurai	Apparel	Sewing Machine Operator	Healthcare	Home Health Aide	
2	33020401514	CHENNAI	GOVT GIRLS HSS, SIDCO NAGAR, VILLIVAKKAM	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
3	33020802501	CHENNAI	JGG GOVT GIRLS HSS VIRUGAMBAKKAM	Healthcare	Home Health Aide	Electronics and hardware	Field Technician - Other Home Appliances	
4	33120701212	COIMBATORE	M C G(G)HSS, Kottur	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
5	33180204516	CUDDALORE	GHSS, S.S. Kulam	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
6	33180506107	CUDDALORE	GGHSS, Kurinjipadi	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
7	33181403420	CUDDALORE	GGHSS, Kattumanarkoil	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
8	33050407805	DHARMAPURI	GBHSS MARANDHALLI	Agriculture	Vermicompost Producer	Food Processing	Baking Technician	
9	33050603902	DHARMAPURI	GGHSS KAMBAINALLUR	Agriculture	Vermicompost Producer	Food Processing	Baking Technician	
10	33130601514	DINDIGUL	GGHSS NATHAM	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
11	33100301815	ERODE	GGHSS BHAVANI	Apparel	Sewing Machine Operator	Food Processing	Baking Technician	
12	33100708202	ERODE	MPL GIRLS HR.SEC.SCHOOL KARUNKALPALAYAM	Food Processing	Baking Technician	Apparel	Sewing Machine Operator	
13	33030503310	KANCHIPURAM	GGHSS,PADAPPAI	Beauty & Wellness	Assistant Beauty Therapist	Electronics and hardware	Field Technician - Other Home Appliances	
14	33030705011	KANCHIPURAM	GGHSS, NANDHIVARAM	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
15	33031107706	KANCHIPURAM	HSS.GGHSS, MADURANTAKAM	Apparel	Sewing Machine Operator	Healthcare	Home Health Aide	

	List of 42 schools approved under Vocational education in 2021 – 22							
S. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	Sector 2	Job Role 2	
16	33240100906	MADURAI	GOVT GIRLS HR SEC SCHOOL, ALANGANALLUR	Telecom	Optical Fiber Splicer	Healthcare	Home Health Aide	
17	33240806101	MADURAI	GOVT GIRLS HR SEC SCHOOL, MELUR	Telecom	Optical Fiber Splicer	Healthcare	Home Health Aide	
18	33240901203	MADURAI	GOVT GIRLS HR SEC SCHOOL, ELUMALAI	Telecom	Optical Fiber Splicer	Healthcare	Home Health Aide	
19	33091200803	NAMAKKAL	GGHSS MALLASAMUDRAM	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
20	33220204909	PUDUKOTTAI	GGHSS ILLUPPUR	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
21	33220403905	PUDUKOTTAI	GGHSS GANDARVAKKOTTAI	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
22	33221201106	PUDUKOTTAI	GGHSS MANAMELKUDI	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
23	33270310902	RAMANATHAPURA M	GGHSS, PARAMAKUDI	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
24	33081000712	SALEM	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, THARAMANGALAM	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator	
25	33081100505	SALEM	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, NANGAVALLI	Food Processing	Baking Technician	Apparel	Sewing Machine Operator	
26	33230303609	SIVAGANGAI	GOVT.(G)HR.SEC.SCHOOL, MANAMADURAI	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
27	33231000111	SIVAGANGAI	RM.RM.GOVT.(G)HR.SEC.SCHO OL, SINGAMPUNARI.	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
28	33210102105	THANJAVUR	GHSS (GIRLS) - THANJAVUR	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
29	33211403605	THANJAVUR	GHSS GIRLS- PERAVURANI	Apparel	Sewing Machine Operator	Beauty & Wellness	Assistant Beauty Therapist	
30	33200605217	THIRUVARUR	GGHSS KOOTHANALLUR	Apparel	Sewing Machine Operator	Electronics and hardware	Field Technician - Other Home Appliances	
31	33280506104	THOOTHUKUDI	G(G)HSS, Arumuganeri	Agriculture	Vermicompost Producer	Healthcare	Home Health Aide	

	List of 42 schools approved under Vocational education in 2021 – 22						
S. No.	UDISE Code	District	School Name	Sector 1	Job Role 1	Sector 2	Job Role 2
32	33290704115	TIRUNELVELI	AVVAIYAR G.GHSS- PAVOORCHATRAM	Healthcare	Home Health Aide	Tourism & Hospitality	Food & Beverage Service Trainee
33	33292104603	TIRUNELVELI	MPL. (G) HSS, PETTAI	Healthcare	Home Health Aide	Tourism & Hospitality	Food & Beverage Service Trainee
34	33331603307	TIRUPUR	GOVERNMENT HIGHER SECONDARY SCHOOL, AVINASHI.	Agriculture	Vermicompost Producer	Food Processing	Baking Technician
35	33010106302	TIRUVALLUR	RMJ.G.G.HR SEC SCHOOL,THIRUVALLUR	Food Processing	Baking Technician	Beauty & Wellness	Assistant Beauty Therapist
36	33010506401	TIRUVALLUR	GGHSS KAMARAJNAGAR ,AVADI	Food Processing	Baking Technician	Beauty & Wellness	Assistant Beauty Therapist
37	33061605103	TIRUVANNAMALAI	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, MELPALLIPATTU	Healthcare	Home Health Aide	Banking & Finance	Micro Finance Executive
38	33040300608	VELLORE	GGHSS GURUVARAJAPET	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator
39	33040600316	VELLORE	GGHSS WALAJAPET	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator
40	33041300713	VELLORE	GGHSS KATPADI	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator
41	33042100508	VELLORE	GGHSS MADAVALAM	Beauty & Wellness	Assistant Beauty Therapist	Apparel	Sewing Machine Operator
42	33071701313	VILLUPURAM	GOVT.MODEL GIRLS HIGHER SECONDARY SCHOOL, KALLAKURICHI.	Automotive	Auto service Technician L3	Healthcare	Home Health Aide

School approved under ICT for Elementary

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22					
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
1	ARIYALUR	33320800801	PUMS AGARAM			
2	ARIYALUR	33321001501	PUMS ALAGIYAMANAVALAN			
3	ARIYALUR	33321003603	PUMS ANGIYANUR			
4	ARIYALUR	33321003001	PUMS CHINNAPATTAKADU			
5	ARIYALUR	33320702903	PUMS KALLAKUDI			
6	ARIYALUR	33321003801	PUMS KARAYAVETTI			
7	ARIYALUR	33320803001	PUMS KATTATHUR			
8	ARIYALUR	33320101303	PUMS KODALI			
9	ARIYALUR	33320802503	PUMS KOVILVALKKAI			
10	ARIYALUR	33320703602	PUMS PALLAKRISHNAPURAM			
11	ARIYALUR	33320702304	PUMS PUTHUPALAYAM			
12	ARIYALUR	33321005301	PUMS SATHAMANGALAM			
13	ARIYALUR	33321006101	PUMS THIRUVENGANUR			
14	ARIYALUR	33321006001	PUMS VADUGAPALAYAM			
15	ARIYALUR	33320701101	PUMS VALAJA NAGARAM			
16	ARIYALUR	33321003401	PUMS VILAGAM			
17	ARIYALUR	33320801902	PUMS VILANDHAI -E			
18	ARIYALUR	33320101001	PUMS-CHOLAMADEVI			
19	ARIYALUR	33320101101	PUMS-EDANKANNI			
20	ARIYALUR	33320102701	PUMS-GOVINTHAPUTHUR			
21	ARIYALUR	33320102101	PUMS-KADAMPUR			
22	ARIYALUR	33320101501	PUMS-KADUVETTANKURICHI			
23	ARIYALUR	33321001001	PUMS-KEELAESANAI			
24	ARIYALUR	33320900203	PUMS-MELAKUDIYIRUPPU			
25	ARIYALUR	33320102401	PUMS-MUTTUVANCHERI			
26	ARIYALUR	33320900901	PUMS-T.KUDIKADU			
27	ARIYALUR	33320101402	PUMS-THENNAVANALLUR			
28	CHENNAI	33020501501	C. M. S PULLAPURAM			
29	CHENNAI	33020101002	CMS 13 BUDDHA ST			
30	CHENNAI	33020101203	CMS 540 T H ROAD			
31	CHENNAI	33020501201	CMS AMINJIKARAI			
32	CHENNAI	33020500803	CMS ARUMBAKKAM			
33	CHENNAI	33020601404	CMS BEGUM SAHIB STREET			
34	CHENNAI	33020100205	CMS CHINNANDIMADAM			
35	CHENNAI	33020100801	CMS CORONATION NAGAR			
36	CHENNAI	33020301005	CMS DECOSTER ROAD			
37	CHENNAI	33021002101	CMS GANDHIGRAMAM			
38	CHENNAI	33020400504	CMS GOPALAPURAM			
39	CHENNAI	33020100502	CMS GPW COLONY			

	List of 1784 (elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
40	CHENNAI	33020601202	CMS KRISHNAMPET
41	CHENNAI	33020400602	CMS MADUMANAGAR
42	CHENNAI	33020900105	CMS MGR NAGAR II
43	CHENNAI	33020300604	CMS MH ROAD
44	CHENNAI	33020501701	CMS MMDA I
45	CHENNAI	33020300203	CMS MOORTHINGAR ST
46	CHENNAI	33020300402	CMS NEW KAMARAJ NAGAR
47	CHENNAI	33020200103	CMS PUDUMANI KUPPAM
48	CHENNAI	33020900702	CMS THIDEER NAGAR
49	CHENNAI	33020601002	CMS TRIPLICANE HIGH ROAD
50	CHENNAI	33020800804	CMS TRUSTPURAM
51	CHENNAI	33020802601	CMS VADAPALANI
52	CHENNAI	33020201401	CUGMS ANGAPPA STREET
53	CHENNAI	33020101304	CUGMS WASHERMENPET
54	CHENNAI	33020301007	CUMS PERAMBUR BARRACKS
55	CHENNAI	33020600204	CUMS THAYARSAHIB STREET
56	COIMBATORE	33120500412	C.M.S SIHS COLONY
57	COIMBATORE	33120500413	CMS KRISHNAPURAM
58	COIMBATORE	33120500501	CMS KRISHNARAYAPURAM
59	COIMBATORE	33120401601	CMS RAMAKRISHNAPURAM
60	COIMBATORE	33120401301	CMS SANGANUR
61	COIMBATORE	33121203001	MMS,VADUGAPALAYAM
62	COIMBATORE	33121204701	MUNICIPAL MIDDLE SCHOOL RAMAKRISHNA NAGAR
63	COIMBATORE	33121502002	PANCAHAYAT UNION MIDDLE SCHOOL, ELLAPALAYAM
64	COIMBATORE	33121102807	PANCHAYAT UNION MIDDLE SCHOOL R.GOPALAPURAM
65	COIMBATORE	33120601602	PANCHAYAT UNION MIDDLE SCHOOL PACHAPALAYAM
66	COIMBATORE	33120300102	PANCHAYAT UNION MIDDLE SCHOOL GOVANUR
67	COIMBATORE	33121500602	PANCHAYAT UNION MIDDLE SCHOOL PACHAPALAYAM
68	COIMBATORE	33121102808	PANCHAYAT UNION MIDDLE SCHOOL RAMAPATTINAM
69	COIMBATORE	33120300208	PANCHAYAT UNION MIDDLE SCHOOL SAMICHETTIPALAYAM
70	COIMBATORE	33121202801	PANCHAYAT UNION MIDDLE SCHOOL SULEESWARANPATTI
71	COIMBATORE	33120600101	PANCHAYAT UNION MIDDLE SCHOOL VADAVALLI
72	COIMBATORE	33120601202	PANCHAYAT UNION MIDDLE SCHOOL VADIVELAMPALAYAM
73	COIMBATORE	33122101206	PANCHAYAT UNION MIDDLE SCHOOL VADUGANKALIPALAYAM
74	COIMBATORE	33120600102	PANCHAYAT UNION MIDDLE SCHOOL, BOMMANAMPALAYAM
75	COIMBATORE	33121501102	PANCHAYAT UNION MIDDLE SCHOOLC, SELLAPPAMPALAYAM
76	COIMBATORE	33120601603	PANCHYAT UNION MIDDLE SCHOOL PERUR CHETTIPALAYAM
77	COIMBATORE	33122101802	PUM SCHOOL, UTHUPALAYAM
78	COIMBATORE	33120301206	PUMS 24 VEERAPANDI
79	COIMBATORE	33122101103	PUMS AATHUPALAYAM

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
80	COIMBATORE	33121100202	PUMS ALAMPALAYAM	
81	COIMBATORE	33120601105	PUMS ALANDURAI	
82	COIMBATORE	33120700104	PUMS ANGALAKURICHI	
83	COIMBATORE	33120300801	PUMS APPANAICKENPALAYAM	
84	COIMBATORE	33120601601	PUMS ARUMUGAGOUNDANUR	
85	COIMBATORE	33120501101	PUMS CHERAN MAANAGAR	
86	COIMBATORE	33120501204	PUMS CHINNAMETTUPALAYAM	
87	COIMBATORE	33120400102	PUMS ECHANARI	
88	COIMBATORE	33120301502	PUMS EDAYARPALAYAM	
89	COIMBATORE	33120400113	PUMS GANESAPURAM	
90	COIMBATORE	33120301501	PUMS HOUSING UNIT	
91	COIMBATORE	33120601001	PUMS IRUTTUPALLAM	
92	COIMBATORE	33122101102	PUMS K.RAYARPALAYAM	
93	COIMBATORE	33120301302	PUMS KALAPPANAICKENPALAYAM	
94	COIMBATORE	33122100802	PUMS KAMACHIPURAM	
95	COIMBATORE	33121700107	PUMS KARAMADAI	
96	COIMBATORE	33122102302	PUMS KARAVALI MATHAPUR	
97	COIMBATORE	33120500901	PUMS KEERANATHAM	
98	COIMBATORE	33122101301	PUMS KIDDAMPALAYAM	
99	COIMBATORE	33120400112	PUMS KONAVAIKALPALAYAM	
100	COIMBATORE	33120400401	PUMS KUNIYAMUTHUR	
101	COIMBATORE	33120500603	PUMS KURUMBAPALAYAM	
102	COIMBATORE	33122102201	PUMS KURUMBAPALAYAM	
103	COIMBATORE	33121700108	PUMS MANGALAKARAI PUDUR	
104	COIMBATORE	33120300501	PUMS MATHAMPALAYAM	
105	COIMBATORE	33120400103	PUMS METTUR	
106	COIMBATORE	33121701209	PUMS MOOLATHURAI	
107	COIMBATORE	33122102202	PUMS MUTHUGOUNDENPUDUR	
108	COIMBATORE	33120902003	PUMS NALLATTIPALAYAM	
109	COIMBATORE	33120701304	PUMS NARASIMMAN NAGAR	
110	COIMBATORE	33120901902	PUMS NO.10 MUTHUR	
111	COIMBATORE	33120701907	PUMS ODAYAKULAM	
112	COIMBATORE	33121103204	PUMS P.NAGORE	
113	COIMBATORE	33122000701	PUMS PAPPAMPATTI	
114	COIMBATORE	33120300301	PUMS PERIYANAICKENPALAYAM	
115	COIMBATORE	33120701210	PUMS PONGALIYUR	
116	COIMBATORE	33120600502	PUMS PUTHUR	
117	COIMBATORE	33120300605	PUMS RAKKIPALAYAM	
118	COIMBATORE	33121202601	PUMS RANGASAMUTHIRAM	
119	COIMBATORE	33122100301	PUMS S.L.V.NAGAR	

	List of 1784 (elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
120	COIMBATORE	33121202805	PUMS SEMBAGOUNDARCOLONY
121	COIMBATORE	33122100503	PUMS SENGATHURAI
122	COIMBATORE	33120501203	PUMS SHAJAHAN NAGAR
123	COIMBATORE	33120902903	PUMS SIKKALAMPALAYAM
124	COIMBATORE	33120301003	PUMS SOMAIYANUR
125	COIMBATORE	33120701711	PUMS SUBBEGOUNDENPUDUR
126	COIMBATORE	33120300802	PUMS SUBRAMANIAMPALAYAM
127	COIMBATORE	33121103301	PUMS T.NALLIGOUNDANPALAYAM
128	COIMBATORE	33120701101	PUMS THENSANGAMPALAYAM
129	COIMBATORE	33120300704	PUMS THOPPAMPATTI
130	COIMBATORE	33122102301	PUMS THOTTIPALAYAM
131	COIMBATORE	33122101702	PUMS UNJAPALAYAM
132	COIMBATORE	33121500904	PUMS VADAKKALUR
133	COIMBATORE	33121103601	PUMS VADAKKIPALAYAM
134	COIMBATORE	33120301405	PUMS VEERAKERALAM
135	COIMBATORE	33120501508	PUMS VEERIYAMPALAYAM
136	COIMBATORE	33121502103	PUMS, PILLAIYAPPAMPALAYAM
137	COIMBATORE	33121200102	PUMS,AMBARAMPALAYAM
138	COIMBATORE	33121700102	PUMS,KUTTAIYUR
139	COIMBATORE	33121201301	PUMS,NAICKENPALAYAM
140	COIMBATORE	33120201106	PUMS-ARIVOLI NAGAR
141	COIMBATORE	33120501001	PUMS-CHINNAVEDAMPATTY
142	COIMBATORE	33120201201	PUMS-ETTIMADAI
143	CUDDALORE	33181202502	ADI-DRAVIDA WELFARE MIDDLE SCHOOL- MUGAIYUR
144	CUDDALORE	33181003201	ADWMS NANJAIMAHATHUVAZHKKAI
145	CUDDALORE	33180708601	ADWS ILANGIYANUR
146	CUDDALORE	33181307316	MPLMS KOTHANGUDI STREET
147	CUDDALORE	33181307315	MPLMS MALAIKATTI STREET
148	CUDDALORE	33181307303	MPLMS NORTH CAR STREET
149	CUDDALORE	33180304201	MUNICIPAL MIDDLE SCHOOL SEERANKUPPAM
150	CUDDALORE	33180104919	MUNICIPAL MIDDLE SCHOOL - BROOKEESPET
151	CUDDALORE	33180607317	MUNICIPAL MIDDLE SCHOOL BOODHAMUR
152	CUDDALORE	33180607316	MUNICIPAL MIDDLE SCHOOL PUDUPET
153	CUDDALORE	33180607318	MUNICIPAL MIDDLE SCHOOL SOUTH FORT STREET- VRIDHACHALAM
154	CUDDALORE	33180605601	PANCHAYAT UNION MIDDLE SCHOOL ALICHIKUDI
155	CUDDALORE	33180604401	PANCHAYAT UNION MIDDLE SCHOOL CHINNAVADAVADI
156	CUDDALORE	33180300901	PANCHAYAT UNION MIDDLE SCHOOL KEEZHKANGEYANKUPPAM
157	CUDDALORE	33180602001	PANCHAYAT UNION MIDDLE SCHOOL KUPPANATHAM
158	CUDDALORE	33180301501	PANCHAYAT UNION MIDDLE SCHOOL MANAMTHAVIZHNTHAPUTHUR

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
159	CUDDALORE	33180600602	PANCHAYAT UNION MIDDLE SCHOOL MANGALAMPETTAI (MUSLIM)	
160	CUDDALORE	33180304101	PANCHAYAT UNION MIDDLE SCHOOL NATHAM	
161	CUDDALORE	33180604802	PANCHAYAT UNION MIDDLE SCHOOL PARAVALUR (SOUTH)	
162	CUDDALORE	33180606601	PANCHAYAT UNION MIDDLE SCHOOL SATHIYAVADI	
163	CUDDALORE	33180302202	PANCHAYAT UNION MIDDLE SCHOOL SIRUVATHUR	
164	CUDDALORE	33180303302	PANCHAYAT UNION MIDDLE SCHOOL SOORAKUPPAM	
165	CUDDALORE	33180302601	PANCHAYAT UNION MIDDLE SCHOOL VEERASINGANKUPPAM	
166	CUDDALORE	33180606401	PANCHAYAT UNION MIDDLE SCHOOL VILANKATTUR	
167	CUDDALORE	33180302803	PANCHAYAT UNION MIDDLE SCHOOLVEGAKOLLAI	
168	CUDDALORE	33180100802	PANCHAYAT UNION MIDDLE SCHOOL - CHELLANCHERRY	
169	CUDDALORE	33180100902	PANCHAYAT UNION MIDDLE SCHOOL - KARAIKADU COLONY	
170	CUDDALORE	33180102201	PANCHAYAT UNION MIDDLE SCHOOL - KUTTIYANKUPPAM	
171	CUDDALORE	33180100302	PANCHAYAT UNION MIDDLE SCHOOL - M PUDHUR	
172	CUDDALORE	33181000101	PANCHAYAT UNION MIDDLE SCHOOL ARIYAGOSHTI	
173	CUDDALORE	33180100601	PANCHAYAT UNION MIDDLE SCHOOL - C.N.PALAYAM	
174	CUDDALORE	33180101601	PANCHAYAT UNION MIDDLE SCHOOL - KODUKKANPALAYAM	
175	CUDDALORE	33180103501	PANCHAYAT UNION MIDDLE SCHOOL - SEDAPALAYAM	
176	CUDDALORE	33180103601	PANCHAYAT UNION MIDDLE SCHOOL - SEMMANKUPPAM	
177	CUDDALORE	33180104502	PANCHAYAT UNION MIDDLE SCHOOL - VANAMADEVI	
178	CUDDALORE	33180104801	PANCHAYAT UNION MIDDLE SCHOOL - VELLAPAKKAM	
179	CUDDALORE	33180801901	PANCHAYAT UNION MIDDLE SCHOOL (MUSLIM), PASAR.	
180	CUDDALORE	33180808501	PANCHAYAT UNION MIDDLE SCHOOL, POTHIRAMANGALAM	
181	CUDDALORE	33180802701	PANCHAYAT UNION MIDDLE SCHOOL , RETTAKKURICHI	
182	CUDDALORE	33180304240	PANCHAYAT UNION MIDDLE SCHOOL CHETTIPATTARAI COLONY PANRUTI	
183	CUDDALORE	33181403502	PANCHAYAT UNION MIDDLE SCHOOL EYYALYUR	
184	CUDDALORE	33181200901	PANCHAYAT UNION MIDDLE SCHOOL- KALIYAMALAI	
185	CUDDALORE	33180302901	PANCHAYAT UNION MIDDLE SCHOOL VISOOR	
186	CUDDALORE	33180800301	PANCHAYAT UNION MIDDLE SCHOOL, AVATTI	
187	CUDDALORE	33181201301	PANCHAYAT UNION MIDDLE SCHOOL, KAVALAKUDI	
188	CUDDALORE	33181201601	PANCHAYAT UNION MIDDLE SCHOOL, KILLIYANUR	
189	CUDDALORE	33180807901	PANCHAYAT UNION MIDDLE SCHOOL, KOZHIYUR	
190	CUDDALORE	33181202001	PANCHAYAT UNION MIDDLE SCHOOL, MADURANTHAGANALLUR	
191	CUDDALORE	33181203103	PANCHAYAT UNION MIDDLE SCHOOL, THERKUPALAYAM	
192	CUDDALORE	33180805401	PANCHAYAT UNION MIDDLE SCHOOL, THONDANKURICHI	
193	CUDDALORE	33181205701	PANCHAYAT UNION MIDDLE SCHOOL, VALASAKADU	
194	CUDDALORE	33181105404	PUGMS PERUMATHUR	
195	CUDDALORE	33180501501	PUMS - THANGALIKUPPAM	
196	CUDDALORE	33180706601	PUMS A.MARUR	
197	CUDDALORE	33181105407	PUMS ADHIVARAGANATHAM	

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
198	CUDDALORE	33180200503	PUMS BANDARAKOTTAI
199	CUDDALORE	33181105402	PUMS BHUVANAGIRI WEST
200	CUDDALORE	33181000301	PUMS C. PUDUPETTAI
201	CUDDALORE	33181104501	PUMS C.ALAMBADI
202	CUDDALORE	33181004409	PUMS GUMATHPALLI MIDDLE
203	CUDDALORE	33180901301	PUMS KARKUDAL
204	CUDDALORE	33180201201	PUMS KARUMBUR
205	CUDDALORE	33180703201	PUMS KILIMANGALAM
206	CUDDALORE	33181002601	PUMS KOVILAMPOONDI
207	CUDDALORE	33181103201	PUMS LALPURAM
208	CUDDALORE	33181101601	PUMS MARUDUR
209	CUDDALORE	33180202504	PUMS MELPATTAMPAKKAM GIRLS
210	CUDDALORE	33181302501	PUMS MEYYATHUR
211	CUDDALORE	33181004112	PUMS MGR NAGAR
212	CUDDALORE	33180703601	PUMS MURUGANKUDI
213	CUDDALORE	33181305801	PUMS N.POOLAMEDU
214	CUDDALORE	33180707401	PUMS NAGAR
215	CUDDALORE	33180706901	PUMS NALLUR
216	CUDDALORE	33180202602	PUMS ORAIYUR COLONY
217	CUDDALORE	33180904901	PUMS PALLAKOLAI
218	CUDDALORE	33181003301	PUMS PALLIPADAI
219	CUDDALORE	33180905101	PUMS PAZHAAYAPATTINAM
220	CUDDALORE	33180708801	PUMS PENNADAM EAST
221	CUDDALORE	33180708803	PUMS PENNADAM SOUTH
222	CUDDALORE	33180708802	PUMS PENNADAM WEST
223	CUDDALORE	33180502003	PUMS PERIYAKANNADI
224	CUDDALORE	33180503901	PUMS PETHANAYAKKANKUPPAM
225	CUDDALORE	33181003401	PUMS PICHAVARAM SOUTH
226	CUDDALORE	33181004109	PUMS PONNANTHITTU
227	CUDDALORE	33181001201	PUMS SENDHIRAKILLAI
228	CUDDALORE	33180708901	PUMS SOZHANNAGAR
229	CUDDALORE	33181001402	PUMS THACHAKADU
230	CUDDALORE	33180503001	PUMS THAMBIPETTAI
231	CUDDALORE	33180202402	PUMS THATTAMPALAYAM
232	CUDDALORE	33181003703	PUMS THILLAIVIDANGAN
233	CUDDALORE	33181303702	PUMS VADAKKUKOLAKKUDI
234	CUDDALORE	33180504201	PUMS VADAKUMELUR
235	CUDDALORE	33180707201	PUMS VALASAI
236	CUDDALORE	33180707001	PUMS VANNATHUR
237	CUDDALORE	33180705701	PUMS VEPPUR

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
238	CUDDALORE	33180200201	PUMS-REDDIKUPPAM
239	DHARMAPURI	33050101413	MMS IV WARD - S.V.ROAD
240	DHARMAPURI	33050800901	PUMS C GOBINATHAMPATTI
241	DHARMAPURI	33050300201	PUMS A.PAUPARAPATTI
242	DHARMAPURI	33050500201	PUMS ADDILAM
243	DHARMAPURI	33050100501	PUMS ALIVAYANKOTTAI
244	DHARMAPURI	33050600401	PUMS AMBALAPATTY
245	DHARMAPURI	33050100601	PUMS ATTUKARANPATTI
246	DHARMAPURI	33050501401	PUMS BOMMANDAHALLI MODUR
247	DHARMAPURI	33050412001	PUMS CHICKAMARANDAHALLI PUDUR
248	DHARMAPURI	33050302001	PUMS CHINNAPALLATHUR
249	DHARMAPURI	33050302101	PUMS CHINNAPERMANUR
250	DHARMAPURI	33050202501	PUMS DHANDUKARAMPATTI
251	DHARMAPURI	33050202701	PUMS E.K.PUDUR
252	DHARMAPURI	33050203401	PUMS EASALPATTY
253	DHARMAPURI	33050403601	PUMS ENDAPATTI
254	DHARMAPURI	33050403701	PUMS ERRANAHALLI
255	DHARMAPURI	33050502901	PUMS GENGUCHETTI PATTI
256	DHARMAPURI	33050204101	PUMS GETTUPPATTI
257	DHARMAPURI	33050304701	PUMS GOWRICHETTIPATTI
258	DHARMAPURI	33050503701	PUMS GUNDALAHALLI
259	DHARMAPURI	33050603401	PUMS JAGGUPATTY
260	DHARMAPURI	33050603701	PUMS KADAYAMPATTY
261	DHARMAPURI	33050412401	PUMS KATTAMPATTI
262	DHARMAPURI	33050604401	PUMS KELAVALLY
263	DHARMAPURI	33050105201	PUMS MANALUR
264	DHARMAPURI	33050612101	PUMS MANIYAMBADI
265	DHARMAPURI	33050308601	PUMS MANJARAHALLI
266	DHARMAPURI	33050805401	PUMS MANTHIKULAMPATTI
267	DHARMAPURI	33050507601	PUMS MORASU HALLI
268	DHARMAPURI	33050507701	PUMS MOTTALOOR
269	DHARMAPURI	33050508001	PUMS MUKKULAMSEEGALAHALLI
270	DHARMAPURI	33050309301	PUMS NAGADASAMPATTI
271	DHARMAPURI	33050309401	PUMS NAGAMARAI
272	DHARMAPURI	33050508501	PUMS NAGANAMPATTI
273	DHARMAPURI	33050606901	PUMS NALLAGUDLAHALLY
274	DHARMAPURI	33050207501	PUMS NEKKUNDHI
275	DHARMAPURI	33050207901	PUMS PAGALAHALLI
276	DHARMAPURI	33050312501	PUMS PODUR
277	DHARMAPURI	33050312901	PUMS PUDUKARAMBU

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
278	DHARMAPURI	33050510001	PUMS PULIKKAL	
279	DHARMAPURI	33050107201	PUMS RAJATHOPPU	
280	DHARMAPURI	33050808501	PUMS RAYAPPAN KOTTAI	
281	DHARMAPURI	33050608801	PUMS REGADAHALLY	
282	DHARMAPURI	33050812501	PUMS SAKKILIPATTI	
283	DHARMAPURI	33050706701	PUMS SALOOR	
284	DHARMAPURI	33050209701	PUMS SAMICHETTIPATTI	
285	DHARMAPURI	33050511101	PUMS SONNAMPATTI	
286	DHARMAPURI	33050612601	PUMS SUNKARAHALLY	
287	DHARMAPURI	33050810101	PUMS T ANDIYUR	
288	DHARMAPURI	33050609801	PUMS THALANATHAM	
289	DHARMAPURI	33050315401	PUMS THOTLANAHALLI	
290	DHARMAPURI	33050211101	PUMS UMMIYAMPATTI	
291	DHARMAPURI	33050811501	PUMS VEERAPPANAIKKANAPATTI	
292	DHARMAPURI	33050110001	PUMS VENKATANOOR	
293	DHARMAPURI	33050611401	PUMS VETHARAMPATTY	
294	DINDIGUL	33131601401	MMS,SHANMUGAPURAM	
295	DINDIGUL	33131301103	PUMS G.KURUMBAPATTI	
296	DINDIGUL	33130601207	PUMS P.MALAIYUR	
297	DINDIGUL	33130602502	PUMS P.THETHAMPATTY	
298	DINDIGUL	33130200508	PUMS, 1ST WARD BATLAGUNDU	
299	DINDIGUL	33131101703	PUMS, ALAMPATTY	
300	DINDIGUL	33131102405	PUMS, J.MANIYAKKARANPATTY	
301	DINDIGUL	33131101602	PUMS, K.AMMAPATTY	
302	DINDIGUL	33131102701	PUMS, K.AYYAPATTY	
303	DINDIGUL	33130401102	PUMS, KARIKKALI	
304	DINDIGUL	33130602204	PUMS, KASAMPATTI	
305	DINDIGUL	33130200501	PUMS, KATTAKAMANPATTI	
306	DINDIGUL	33130903101	PUMS, KUPPAMPALAYAM	
307	DINDIGUL	33131101201	PUMS, M.PANNAIPATTY	
308	DINDIGUL	33130200203	PUMS, M.VADIPATTI	
309	DINDIGUL	33130601205	PUMS, N. PUDUPATTI	
310	DINDIGUL	33130201202	PUMS, NADAKOTTAI	
311	DINDIGUL	33131101603	PUMS, NILAPATTYPUDUR	
312	DINDIGUL	33131300501	PUMS, P.KOSAVAPATTI	
313	DINDIGUL	33130401406	PUMS, PALLANATHAM	
314	DINDIGUL	33130901702	PUMS, PETHANAICKENPATTI	
315	DINDIGUL	33131301201	PUMS, PILATHU	
316	DINDIGUL	33131102402	PUMS, POOVAKIZHAVANPATTY	
317	DINDIGUL	33130702202	PUMS, POTTICHETTIPATTI	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
318	DINDIGUL	33130601804	PUMS, PUNNAPATTI	
319	DINDIGUL	33130401910	PUMS, R.KOMBAI	
320	DINDIGUL	33130400911	PUMS, RAMAGIRI	
321	DINDIGUL	33131101705	PUMS, S.VALLAMPATTY	
322	DINDIGUL	33131102604	PUMS, SEDIPATTY	
323	DINDIGUL	33130201503	PUMS, SENGATTAMPATTI	
324	DINDIGUL	33131300703	PUMS, SINGARAKOTTAI	
325	DINDIGUL	33130600404	PUMS, SIRANKKATTUPATTI	
326	DINDIGUL	33131301404	PUMS, SUKKAMPATTI	
327	DINDIGUL	33130601904	PUMS, VILAMPATTI	
328	DINDIGUL	33131301804	PUMS,A.KOMBAI	
329	DINDIGUL	33131001004	PUMS,BOLIYAMMANUR	
330	DINDIGUL	33131402301	PUMS,ERIYODU	
331	DINDIGUL	33131301902	PUMS,KAKKAYANPATTI	
332	DINDIGUL	33130300701	PUMS,KALLIPATTI	
333	DINDIGUL	33130903401	PUMS,KAVALAPATTI	
334	DINDIGUL	33131301810	PUMS,KINATHUPATTI	
335	DINDIGUL	33131301601	PUMS,KOLLAPATTI	
336	DINDIGUL	33131401401	PUMS,KOVILUR	
337	DINDIGUL	33131300204	PUMS,MALAIPATTI	
338	DINDIGUL	33131301303	PUMS,MAMMANIYUR	
339	DINDIGUL	33130601101	PUMS,NADUVANOOR	
340	DINDIGUL	33131400504	PUMS,NAGAMPATTI	
341	DINDIGUL	33131000404	PUMS,NAVAMARATHUPATTI	
342	DINDIGUL	33130902401	PUMS,PERIYAKALAYAMPUTHUR	
343	DINDIGUL	33131401803	PUMS,POOTHAMPATTI	
344	DINDIGUL	33131301701	PUMS,PUTHUR	
345	DINDIGUL	33130601402	PUMS,SERVEEDU	
346	DINDIGUL	33131000502	PUMS,SILVARPATTI	
347	DINDIGUL	33130700604	PUMS,SIRUNAYAKKANPATTI	
348	DINDIGUL	33131000905	PUMS,T.PUDUPATTI	
349	DINDIGUL	33130900601	PUMS,THAMARAIKULAM	
350	DINDIGUL	33131402102	PUMS,THOTTANAMPATTI	
351	DINDIGUL	33131400501	PUMS,VEDASANDUR	
352	DINDIGUL	33130701001	PUMS,VEELINAYAKKANPATTI	
353	DINDIGUL	33130200606	PUMS,VERIYAPPANAICKENPATTY	
354	DINDIGUL	33131503001	SANDAI ROAD MUNICIPAL MIDDLE SCHOOL,WARD-48, DINDIGUL	
355	ERODE	33100708204	CMS, CAUVERY ROAD	
356	ERODE	33100708101	CMS, RAILWAY COLONY -2	
357	ERODE	33100706102	CMS, SKC ROAD	

	List of 1784	elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
358	ERODE	33100707601	CMS, THIRUNAGAR COLONY
359	ERODE	33100301803	MMS BHAVANI(EAST)
360	ERODE	33100301809	MMS VARNAPURAM
361	ERODE	33101601408	MUNICIPAL MIDDLE SSCHOOL, SATHYAMANGALAM
362	ERODE	33101600301	PANCHAYAT UNION MIDDLE SCHOOL, ARASUR
363	ERODE	33101401601	PANCHAYAT UNION MIDDLE SCHOOL, GANDHIPURAM
364	ERODE	33101800302	PANCHAYAT UNION MIDDLE SCHOOL, KANAKKAMPALAYAM
365	ERODE	33101601210	PANCHAYAT UNION MIDDLE SCHOOL, KARALAYAM
366	ERODE	33100802402	PANCHAYAT UNION MIDDLE SCHOOL, KAVANDAMPALAYAM
367	ERODE	33101800403	PANCHAYAT UNION MIDDLE SCHOOL, KONDAYAMPALAYAM
368	ERODE	33100800607	PANCHAYAT UNION MIDDLE SCHOOL, KUGALUR
369	ERODE	33101401403	PANCHAYAT UNION MIDDLE SCHOOL, KURUMANDUR
370	ERODE	33100401003	PANCHAYAT UNION MIDDLE SCHOOL, NEHRUNAGAR
371	ERODE	33100710201	PANCHAYAT UNION MIDDLE SCHOOL, ODAKKATTUVALASU
372	ERODE	33101601214	PANCHAYAT UNION MIDDLE SCHOOL, PAVALAKUTTAI
373	ERODE	33100301510	PANCHAYAT UNION MIDDLE SCHOOL, SEMBOOTHAMPALAYAM
374	ERODE	33100705401	PANCHAYAT UNION MIDDLE SCHOOL, TEACHERSCOLONY
375	ERODE	33101700902	PANCHAYAT UNION MIDDLE SCHOOL, THALAVADY
376	ERODE	33100401901	PANCHAYAT UNION MIDDLE SCHOOL,GODEPALAYAM
377	ERODE	33100501406	PANCHAYAT UNION MIDDLE SCHOOL,MELAPALAYAM
378	ERODE	33100301102	PUMS ORICHERIPUDUR
379	ERODE	33100200406	PUMS A.SEMPULICHAPALAYAM
380	ERODE	33100102302	PUMS ALANGARIYUR
381	ERODE	33100102301	PUMS ANANTHAMPALAYAM
382	ERODE	33100200101	PUMS ANTHIYUR EAST
383	ERODE	33100200329	PUMS DHURUSANAMPALAYAM
384	ERODE	33100300803	PUMS ERUSANUR
385	ERODE	33100301710	PUMS KAVINDAPADIPUDUR
386	ERODE	33100300202	PUMS KURUPPANAICKENPALAYAM
387	ERODE	33100701001	PUMS MANAKKATUR
388	ERODE	33100700901	PUMS METTUNASUVAMPALAYAM
389	ERODE	33100706405	PUMS MOLAGOUNDENPALAYAM
390	ERODE	33100107003	PUMS MURALI
391	ERODE	33100101801	PUMS NATHAMEDU
392	ERODE	33100100503	PUMS PALAKUTTAPATTY
393	ERODE	33100707203	PUMS PERIYAVALASU
394	ERODE	33100200503	PUMS PUDUMETTUR
395	ERODE	33100700701	PUMS SENGUNTHAPURAM
396	ERODE	33100301512	PUMS SEVAGOUNDANUR
397	ERODE	33100300503	PUMS SUKKANAICKANUR

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
398	ERODE	33100200322	PUMS THAMMUREDI	
399	ERODE	33100300141	PUMS VAIKKALPALAYAM	
400	ERODE	33100301002	PUMS VAIRAMANGALAM	
401	ERODE	33101503201	PUMS, AYEEGOUNDANPALAYAM	
402	ERODE	33100702002	PUMS, EPB NAGAR	
403	ERODE	33100701601	PUMS, INDIRAPURAM	
404	ERODE	33101501102	PUMS, KAVUNDAMPALAYAM	
405	ERODE	33100702901	PUMS, KONGAMPALAYAM	
406	ERODE	33100702201	PUMS, MANICKAMPALAYAM	
407	ERODE	33101200901	PUMS, NAGARATCHI NAGAR	
408	ERODE	33100702301	PUMS, SUKKIRAMANIAVALASU	
409	ERODE	33101503206	PUMS, VEERANAMPALAYAM	
410	ERODE	33101500201	PUMS, VETTAIYANKINAR	
411	ERODE	33100703704	PUMS,JAVULI NAGAR	
412	ERODE	33101200504	PUMS,KARUNDEVANPALAYAM	
413	ERODE	33100500904	PUMS,KUMARAPURI	
414	ERODE	33101503113	PUMS,PERUNDURAI EAST	
415	ERODE	33101502610	PUMS,PERUNDURAI NORTH	
416	ERODE	33101503114	PUMS,PERUNDURAI WEST	
417	ERODE	33101001604	PUMS,RATHINAPURI	
418	ERODE	33101200503	PUMS,SAMINATHAPURAM PUDUR	
419	ERODE	33100502501	PUMS,SIRUKKALANJI	
420	ERODE	33101001606	PUMS,SIVAGIRI	
421	KANCHEEPURAM	33030203201	ADWMS THALAYAMPATTU	
422	KANCHEEPURAM	33030600101	Govt ADW Middle School Melakottaiyur	
423	KANCHEEPURAM	33030903356	MMS Kannadiyarpalayam	
424	KANCHEEPURAM	33030903105	MMS Keelkattalai	
425	KANCHEEPURAM	33030105403	MMS OLIMUGAMADUPETTAI	
426	KANCHEEPURAM	33030105430	MMS YAGASALAI	
427	KANCHEEPURAM	33030105457	MMS, MELPILLAIYAR PALAYAM, KANCHIPURAM	
428	KANCHEEPURAM	33030504101	P.U.M.S , Salamangalam .	
429	KANCHEEPURAM	33030406801	P.U.M.S.GOVT.EMPLOYERS QUARTERS.	
430	KANCHEEPURAM	33031002601	PANCHAYAT UNION MIDDLE SCHOOL, GUDALORE.	
431	KANCHEEPURAM	33031004601	PANCHAYAT UNION MIDDLE SCHOOL, KEEZHATHIVAKKAM.	
432	KANCHEEPURAM	33030601601	Panchayat Union Middle School, PADUR	
433	KANCHEEPURAM	33031006401	PANCHAYAT UNION MIDDLE SCHOOL, SEETHAPURAM.	
434	KANCHEEPURAM	33031007107	PANCHAYAT UNION MIDDLE SCHOOL, VENGATESAPURAM.	
435	KANCHEEPURAM	33030500801	Panchayat union middle school, PARANIPUTHUR	
436	KANCHEEPURAM	33030309701	PANCHAYAT UNION MODEL MIDDLE SCHOOL, UTHIRAMERUR	
437	KANCHEEPURAM	33031305501	PANCHAYATH UNION MIDDLE SCHOOL - NALLUR	

	List of 1784 6	elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
438	KANCHEEPURAM	33031300701	PANCHAYATH UNION MIDDLE SCHOOL - POLAMBAKKAM
439	KANCHEEPURAM	33031305001	PANCHAYATH UNION MIDDLE SCHOOL- ALAMBARAIKUPPAM
440	KANCHEEPURAM	33031305701	PANCHAYATH UNION MIDDLE SCHOOL SEMPULIPURAM
441	KANCHEEPURAM	33031303908	PANCHAYATH UNION MIDDLE SCHOOL- VILLIPAKKAM(M)
442	KANCHEEPURAM	33031300201	PANCHAYATH UNION MIDDLE SCHOOL, SOTHUPAKKAM
443	KANCHEEPURAM	33030501101	PUMS MATHANANTHAPURAM
444	KANCHEEPURAM	33031402302	PUMS Pozhichalur
445	KANCHEEPURAM	33030507902	PUMS Sikkarayapuram
446	KANCHEEPURAM	33030500803	PUMS ANNAI INDRA NAGAR PARANIPUTHUR
447	KANCHEEPURAM	33031104901	PUMS ARUNGUNAM
448	KANCHEEPURAM	33030504201	pums Athanancheri
449	KANCHEEPURAM	33030206201	PUMS AYMICHERY
450	KANCHEEPURAM	33030105306	PUMS COLLECTORS COLONY
451	KANCHEEPURAM	33030503501	PUMS Ezhichur
452	KANCHEEPURAM	33030705017	PUMS GUDUVANCHERY
453	KANCHEEPURAM	33030501601	PUMS IRANTAMKATTALAI
454	KANCHEEPURAM	33031400601	PUMS JALLADIANPET
455	KANCHEEPURAM	33031203502	PUMS KADALUR
456	KANCHEEPURAM	33031200702	PUMS KADUGAPATTU
457	KANCHEEPURAM	33030705108	PUMS KALIVANTHAPATTU
458	KANCHEEPURAM	33030202001	PUMS KALIYANOOR
459	KANCHEEPURAM	33031202001	PUMS KALKULAM
460	KANCHEEPURAM	33030302901	PUMS KAVANURPUDHUCHERI
461	KANCHEEPURAM	33030201401	PUMS KEEL OTTIVAKKAM
462	KANCHEEPURAM	33030503301	pums Keezhpadappai
463	KANCHEEPURAM	33030500701	PUMS Kolumanivakkam
464	KANCHEEPURAM	33030206501	PUMS KUNNAVAKKAM
465	KANCHEEPURAM	33031107808	PUMS MALAIPALAYAM
466	KANCHEEPURAM	33030403601	PUMS MAMBAKKAM
467	KANCHEEPURAM	33030506001	PUMS MANGADU
468	KANCHEEPURAM	33030503303	pums melpadappai
469	KANCHEEPURAM	33031400501	PUMS Mootaikkaranchavadi
470	KANCHEEPURAM	33030100301	PUMS MUSARAVAKKAM
471	KANCHEEPURAM	33030600701	PUMS NAVALOOR
472	KANCHEEPURAM	33031401802	PUMS NEELANKARAI
473	KANCHEEPURAM	33030205901	PUMS NEERVALLUR
474	KANCHEEPURAM	33031101203	PUMS NELVOY
475	KANCHEEPURAM	33031402001	PUMS OTTIYAMPAKKAAM
476	KANCHEEPURAM	33030207303	PUMS PALAYASEEVARAM
477	KANCHEEPURAM	33030502001	PUMS PAZHANTHANDALAM

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
478	KANCHEEPURAM	33031101602	PUMS PAZHAYANUR	
479	KANCHEEPURAM	33030404901	PUMS PUDUPPER	
480	KANCHEEPURAM	33030501804	PUMS PUDUVATTARAM KOVUR	
481	KANCHEEPURAM	33030403101	PUMS S V CHATRAM	
482	KANCHEEPURAM	33030204901	PUMS SAMANTHIPURAM	
483	KANCHEEPURAM	33031403001	PUMS Santhoshapuram	
484	KANCHEEPURAM	33031402502	PUMS Semmancherry	
485	KANCHEEPURAM	33030705301	PUMS SINGAPERUMAL KOIL	
486	KANCHEEPURAM	33030204002	PUMS SIRUVAKKAM	
487	KANCHEEPURAM	33030406807	PUMS SPR SOUTH	
488	KANCHEEPURAM	33031402701	PUMS THIRUSULAM	
489	KANCHEEPURAM	33030705302	PUMS THIRUTHERI	
490	KANCHEEPURAM	33030101001	PUMS VATHIYUR	
491	KANCHEEPURAM	33030306401	PUMS VAYALAKKAVUR	
492	KANCHEEPURAM	33031400301	PUMS VENGAMBAKKAM	
493	KANCHEEPURAM	33030310801	PUMS, 1-3 WARD, UTHIRAMERUR	
494	KANCHEEPURAM	33031401702	PUMS, ANNAI INDRA NAGAR	
495	KANCHEEPURAM	33030702201	PUMS, APPUR	
496	KANCHEEPURAM	33030100102	PUMS, DAMAL	
497	KANCHEEPURAM	33030308201	PUMS, EDAMACHI	
498	KANCHEEPURAM	33030301201	PUMS, ELANAGAR	
499	KANCHEEPURAM	33030102801	PUMS, KALAKATTUR	
500	KANCHEEPURAM	33030300201	PUMS, KARUVEPPAMPOONDI	
501	KANCHEEPURAM	33030701401	PUMS, KEERAPAKKAM	
502	KANCHEEPURAM	33030101802	PUMS, Kilambi	
503	KANCHEEPURAM	33030102101	PUMS, KILKADIRPUR	
504	KANCHEEPURAM	33030101201	PUMS, KOORAM	
505	KANCHEEPURAM	33030102901	PUMS, KURUVIMALAI	
506	KANCHEEPURAM	33030701501	PUMS, NALLAMBAKKAM	
507	KANCHEEPURAM	33031402401	PUMS, NOOKAMPALAYAM	
508	KANCHEEPURAM	33030202601	PUMS, PUTHAGARAM	
509	KANCHEEPURAM	33030307301	PUMS, SATHANANCHERI	
510	KANCHEEPURAM	33030101901	PUMS, SIRUKAVERIPAKKAM	
511	KANCHEEPURAM	33030700601	PUMS, UNAMANCHERI	
512	KANCHEEPURAM	33030100801	PUMS,Muttavakkam	
513	KANCHEEPURAM	33030805901	PUMS-AYAPAKKAM	
514	KANCHEEPURAM	33030808401	PUMS-MAMALLAPURAM	
515	KANCHEEPURAM	33030806301	PUMS-NALVARPET	
516	KANCHEEPURAM	33030805301	PUMS-SADRAS	
517	KANCHEEPURAM	33031101501	PUMS-VAIYAVUR	

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
518	KANNIYAKUMARI	33300201601	GMS KRISHNANCOIL
519	KANNIYAKUMARI	33300300609	GMS PILLAYARVILAI
520	KANNIYAKUMARI	33300500707	GMS THIRUVITHANCODE
521	KANNIYAKUMARI	33300500316	GMS THUCKALAY
522	KANNIYAKUMARI	33300400520	GMS-COLACHEL
523	KANNIYAKUMARI	33300200804	GOVERNMENT MIDDLE SCHOOL SUCHINDRUM
524	KARUR	33140100602	GANDHIYAR MID.SCHOOL,VELAYUTHAMPALAYAM
525	KARUR	33140800902	P.U.M.SCHOOL, KALLAI
526	KARUR	33140801404	P.U.M.SCHOOL, MOOTAKKAMPATTY
527	KARUR	33140300301	P.U.M.SCHOOL,ARAVAKURICHI
528	KARUR	33140302104	P.U.M.SCHOOL,ESANATHAM
529	KARUR	33140201504	P.U.M.SCHOOL,GANDHI GRAMAM
530	KARUR	33140200804	P.U.M.SCHOOL,MACHANNA NAGAR
531	KARUR	33140300202	P.U.M.SCHOOL,MALAIKOVILUR
532	KARUR	33140101723	P.U.MID SCHOOL,V.V.G NAGAR
533	KARUR	33140101703	P.U.MID.SCHOOL,PERIYAKULATHUPALAYAM
534	KARUR	33140801801	Panchayat union middle school Sepalapatti
535	KARUR	33140800504	PANCHAYAT UNION MIDDLE SCHOOL, ARCHAMPATTY
536	KARUR	33140800202	panchayat union middle school, veeramalaikoundanpatty
537	KARUR	33140200301	PANCHAYAT.UNION MIDDLE .SCHOOL,RETTIPALAYAM
538	KARUR	33140500802	PUMS, KRISHNARAYAPURAM (G)
539	KARUR	33140500406	PUMS, LALAPET WEST
540	KARUR	33140700502	PUMS, ADINATHAM
541	KARUR	33140601605	PUMS, ARASAGOUNDANOOR
542	KARUR	33140602006	PUMS, D. IDAYAPATTY
543	KARUR	33140800601	PUMS, INAM PULUTHERI
544	KARUR	33140700901	PUMS, KADAMBARKOIL
545	KARUR	33140501105	PUMS, KATTUR
546	KARUR	33140501701	PUMS, KEELADAI
547	KARUR	33140600701	PUMS, KEERANUR
548	KARUR	33140700810	PUMS, MARIYAMMAN KOVIL, KULITHALAI
549	KARUR	33140701901	PUMS, NANGAVARAM
550	KARUR	33140601701	PUMS, PALAVIDUTHI
551	KARUR	33140600401	PUMS, PAPPAYAMBADI
552	KARUR	33140702401	PUMS, SATHIYAMANGALAM
553	KARUR	33140702402	PUMS, SIVAYAM WEST
554	KARUR	33140701001	PUMS, THALIYAMPATTI
555	KARUR	33140601203	PUMS, THARAGAMPATTY
556	KARUR	33140601401	PUMS, THASIREDDIAPATTY
557	KARUR	33140701101	PUMS, V. PUDUR

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
558	KARUR	33140601105	PUMS, VEERANAMPATTY
559	KARUR	33140801701	PUMS,Chinnaiyampalaiyam
560	KARUR	33140502402	PUMS,KUPPACHIPATTY
561	KARUR	33140502404	PUMS,VELANKATTUPATTY
562	KRISHNAGIRI	33311009505	MMS OLD PET
563	KRISHNAGIRI	33311009513	MMS OLD SUB JAIL ROAD
564	KRISHNAGIRI	33311009514	MMS RAJU STREET
565	KRISHNAGIRI	33311712301	PUMS A.PUDHUR
566	KRISHNAGIRI	33311510101	PUMS ACHETTIPALLI
567	KRISHNAGIRI	33311700301	PUMS AGALAKOTTA -TEL
568	KRISHNAGIRI	33311400401	PUMS AGARAM
569	KRISHNAGIRI	33311500201	PUMS ALASANATHAM
570	KRISHNAGIRI	33310900301	PUMS ANDIYUR
571	KRISHNAGIRI	33311611502	PUMS ANUSONAI
572	KRISHNAGIRI	33311500701	PUMS ARASANATTI
573	KRISHNAGIRI	33311400901	PUMS ARUPALLI
574	KRISHNAGIRI	33311701101	PUMS ARUPALLY
575	KRISHNAGIRI	33311401101	PUMS B.CHENNASANDIRAM
576	KRISHNAGIRI	33311402201	PUMS BASTHALAPALLI
577	KRISHNAGIRI	33311510201	PUMS BEDARAPALLI -TEL
578	KRISHNAGIRI	33311510301	PUMS BEGAPALLI
579	KRISHNAGIRI	33311001501	PUMS BOGANAPALLI
580	KRISHNAGIRI	33311611903	PUMS BOLLAKOLLAI
581	KRISHNAGIRI	33311703101	PUMS CHAKKALAPALLY
582	KRISHNAGIRI	33311403101	PUMS CHAPPADI
583	KRISHNAGIRI	33311413401	PUMS CHEMBARASANAPALLI -TEL
584	KRISHNAGIRI	33311413501	PUMS CHENNAPALLI
585	KRISHNAGIRI	33310901301	PUMS CHINNAKARAPATTU
586	KRISHNAGIRI	33311403901	PUMS D.KOTHAPALLI
587	KRISHNAGIRI	33311601805	PUMS DENKANIKOTTA URDU
588	KRISHNAGIRI	33311704204	PUMS DHODDUR
589	KRISHNAGIRI	33311602701	PUMS GEDDAHALLI
590	KRISHNAGIRI	33311611401	PUMS H.SETTIPALLI TAM&TEL
591	KRISHNAGIRI	33311504401	PUMS HOSUR
592	KRISHNAGIRI	33311504466	PUMS HOSUR -TEL&KAN
593	KRISHNAGIRI	33311603601	PUMS J KARUPALLI TELUGU
594	KRISHNAGIRI	33311003302	PUMS K.A.NAGAR
595	KRISHNAGIRI	33311406201	PUMS KADATHUR
596	KRISHNAGIRI	33311611601	PUMS KANDAGANAPALLI TEL
597	KRISHNAGIRI	33311706701	PUMS KATCHUVADI

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
598	KRISHNAGIRI	33311206601	PUMS KEEL POONGURTHI
599	KRISHNAGIRI	33310903701	PUMS KETHUNAICKANPATTI
600	KRISHNAGIRI	33311505402	PUMS KOTHAGONDAPALLI
601	KRISHNAGIRI	33311407801	PUMS KOTHUR
602	KRISHNAGIRI	33311707701	PUMS KOTTAIYUR
603	KRISHNAGIRI	33311408001	PUMS KOTTAYUR
604	KRISHNAGIRI	33311803502	PUMS KOTTUR
605	KRISHNAGIRI	33311803601	PUMS KUMARAMPATTI
606	KRISHNAGIRI	33311505701	PUMS KUMUDEPALLI -TEL
607	KRISHNAGIRI	33311304501	PUMS KUPPACHIPARAI
608	KRISHNAGIRI	33311708601	PUMS MALLAHALLI
609	KRISHNAGIRI	33311709101	PUMS MARAGATTA DODDY
610	KRISHNAGIRI	33311408501	PUMS MARANDAPALLI
611	KRISHNAGIRI	33311106001	PUMS MARICHETTIHALLI
612	KRISHNAGIRI	33311208301	PUMS MARUDEPALLI
613	KRISHNAGIRI	33311506403	PUMS MATHIGIRI BOYS -URUDU
614	KRISHNAGIRI	33311709501	PUMS MAVANATTY
615	KRISHNAGIRI	33310905601	PUMS MUSILIKOTTAI
616	KRISHNAGIRI	33311106801	PUMS N.THATTAKKAL
617	KRISHNAGIRI	33311305401	PUMS NACHIKUPPAM
618	KRISHNAGIRI	33311409301	PUMS NALLAGANAKOTHAPALLI
619	KRISHNAGIRI	33311107101	PUMS NARIMEDU
620	KRISHNAGIRI	33311305601	PUMS NEDUSALAI
621	KRISHNAGIRI	33311607001	PUMS NEMILERI
622	KRISHNAGIRI	33311410101	PUMS PANNAPALLI -TEL
623	KRISHNAGIRI	33311411001	PUMS PULIYARASI
624	KRISHNAGIRI	33311508101	PUMS PUNGANDODDI
625	KRISHNAGIRI	33311411101	PUMS PUNNAGARAM -TEL
626	KRISHNAGIRI	33311007401	PUMS R.POOSARIPATTI
627	KRISHNAGIRI	33311306401	PUMS RAMASANDIRAM
628	KRISHNAGIRI	33311109201	PUMS SAVALOOR
629	KRISHNAGIRI	33311508603	PUMS SEETHARAM NAGAR
630	KRISHNAGIRI	33311009401	PUMS SEMBADAMUTHUR
631	KRISHNAGIRI	33311609201	PUMS SIDDAPURAM
632	KRISHNAGIRI	33311713701	PUMS SITHANDAPURAM
633	KRISHNAGIRI	33311609301	PUMS SONNE NAYAKKANAHALLI
634	KRISHNAGIRI	33311609401	PUMS SOOLAKUNTA
635	KRISHNAGIRI	33311609701	PUMS THEN DINNUR
636	KRISHNAGIRI	33311416801	PUMS THIYAGARASANAPALLI
637	KRISHNAGIRI	33310908701	PUMS U.REDDIPATTI

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
638	KRISHNAGIRI	33311610801	PUMS VARAGANAPALLI	
639	KRISHNAGIRI	33311304601	PUMS,KURIYANAPALLI	
640	MADURAI	33241119101	COR.M.S MADAKULAM	
641	MADURAI	33241118301	COR.M.S VILLAPURAM	
642	MADURAI	33241119002	CORPORATION MIDDLE SCHOOL, PASUMALAI SUB STATION	
643	MADURAI	33241100705	P.U.M.S NAGAMALAI	
644	MADURAI	33241108301	P.U.M.S AVANIAPURAM 1	
645	MADURAI	33241104401	P.U.M.S NALLUR	
646	MADURAI	33241102801	P.U.M.S PERIYAR NAGAR	
647	MADURAI	33240402002	P.U.M.S SANTHAIYUR	
648	MADURAI	33241201601	P.U.M.S ALLIKUNDAM	
649	MADURAI	33241200111	P.U.M.S KAMARAJAR NAGAR	
650	MADURAI	33240300401	P.U.M.S KARISALKALAMPATTI	
651	MADURAI	33240605201	P.U.M.S KONDAPETHAN	
652	MADURAI	33240500903	P.U.M.S M.VELLALAPATTI	
653	MADURAI	33240501504	P.U.M.S MANALMETUPATTI	
654	MADURAI	33241301401	P.U.M.S MANNADI MANGALAM	
655	MADURAI	33241104101	P.U.M.S NEDUMADURAI	
656	MADURAI	33240501202	P.U.M.S OTTAKKOVILPATTI	
657	MADURAI	33240502801	P.U.M.S PATTUR	
658	MADURAI	33240501203	P.U.M.S S.MALAMPATTI	
659	MADURAI	33240605501	P.U.M.S SAKKUDI	
660	MADURAI	33241103701	P.U.M.S SOORAKKULAM THIRUPPARANKUNRAM MADURAI 625005	
661	MADURAI	33240500501	P.U.M.S THONTHILINGAPURAM	
662	MADURAI	33240901601	P.U.M.S, SEELANAICKANPATTI	
663	MADURAI	33240901502	P.U.M.S, UTHAPURAM - II	
664	MADURAI	33241000601	P.U.M.S. UCHAPPATI	
665	MADURAI	33241302702	P.U.M.S. C.PUDUR	
666	MADURAI	33241000103	P.U.M.S. CHEKKANURANI	
667	MADURAI	33240602301	P.U.M.S. CHITTAMPATTI	
668	MADURAI	33240201602	P.U.M.S. K.NATTAPATTI	
669	MADURAI	33240601301	P.U.M.S. KALLANTHIRI	
670	MADURAI	33240602501	P.U.M.S. KODIKULAM	
671	MADURAI	33240303501	P.U.M.S. KURAYUR	
672	MADURAI	33240605302	P.U.M.S. L.K.B.NAGAR	
673	MADURAI	33240705302	P.U.M.S. MUDAKATHAN	
674	MADURAI	33240602801	P.U.M.S. UTHANKUDI	
675	MADURAI	33241200101	P.U.M.S. UTHAPPANAICKANUR	
676	MADURAI	33240605401	P.U.M.S.MEENAKSHI NAGAR	
677	MADURAI	33240401102	PANCHAYAT UNION MIDDLE SCHOOL AMMAPATTI V	

	List of 1784 6	recommended for ICT, Tamilnadu: 2021-22	
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
678	MADURAI	33240200101	PANCHAYAT UNION MIDDLE SCHOOL PANAMOOPPANPATTI
679	MADURAI	33240302901	PANCHAYAT UNION MIDDLE SCHOOL PEIKULAM
680	MADURAI	33240801801	PANCHAYAT UNION MIDDLE SCHOOL, A.VALAYAPATTI
681	MADURAI	33240800301	PANCHAYAT UNION MIDDLE SCHOOL, KEELAVALAVU
682	MADURAI	33240801601	PANCHAYAT UNION MIDDLE SCHOOL, KIDARIPATTI
683	MADURAI	33240600701	PANCHAYAT UNION MIDDLE SCHOOL, NAYAKKANPATTI
684	MADURAI	33240802001	PANCHAYAT UNION MIDDLE SCHOOL, S.KALLAMPATTI
685	MADURAI	33240802302	PANCHAYAT UNION MIDDLE SCHOOL, THERKAMOOR
686	MADURAI	33240603201	PANCHAYAT UNION MIDDLE SCHOOL, THIRUMOHUR
687	MADURAI	33240800403	PANCHAYAT UNION MIDDLE SCHOOL, VADAKKUVALAIYAPATTI
688	MADURAI	33240802801	PANCHAYAT UNION MIDDLE SCHOOL, VEPPADAPPU
689	MADURAI	33240100802	PUMS A PUDUPATTI
690	MADURAI	33240100801	PUMS ALAGAPURI
691	MADURAI	33240100701	PUMS KOIL KUTTI NAYAKKANPATTI
692	MADURAI	33240100902	PUMS KURAVANKULAM
693	MADURAI	33240103601	PUMS VALAYAPATTI
694	NAGAPATTINAM	33190103005	MMS MIYAH STREET NAGORE
695	NAGAPATTINAM	33190103006	MMS PATTINACHERY
696	NAGAPATTINAM	33190103027	MMS SAMANTHANKUPPAM
697	NAGAPATTINAM	33190103101	MUNICIPAL MIDDLE SCHOOL NELLUKKADAI THERU
698	NAGAPATTINAM	33190702801	P.U.M.S SETHUR
699	NAGAPATTINAM	33190802401	PANCHAYAT UNION MIDDLE SCHOOL KIDANGAL
700	NAGAPATTINAM	33190202401	PANCHAYAT UNION MIDDLE SCHOOL ATHALAIYUR
701	NAGAPATTINAM	33191000401	PANCHAYAT UNION MIDDLE SCHOOL SATTANATHAPURAM
702	NAGAPATTINAM	33190201901	PANCHAYAT UNION MIDDLE SCHOOL VAVVALADI
703	NAGAPATTINAM	33190202902	PANCHAYAT UNION MIDDLE SCHOOL PAKKAMKOTTUR
704	NAGAPATTINAM	33190704701	PANCHAYATH UNION MIDDLE SCHOOL CHOZHAMPETTAI
705	NAGAPATTINAM	33190700401	PANCHAYATH UNION MIDDLE SCHOOL MANALMEDU
706	NAGAPATTINAM	33191101302	PUMS KADAIKKAN VINAYAGA NALLUR
707	NAGAPATTINAM	33190802102	PUMS KUMARAKUDI
708	NAGAPATTINAM	33190802501	PUMS AKKUR
709	NAGAPATTINAM	33190901301	PUMS KADALANGUDI
710	NAGAPATTINAM	33190901402	PUMS KANDIYUR
711	NAGAPATTINAM	33191002501	PUMS KATHIRUPPU
712	NAGAPATTINAM	33191004003	PUMS KAVERIPOOMPATTINAM (FISHER)
713	NAGAPATTINAM	33190900401	PUMS KILIYANUR
714	NAGAPATTINAM	33190301601	PUMS KUTHUR
715	NAGAPATTINAM	33191003801	PUMS MANGAIMADAM
716	NAGAPATTINAM	33191003901	PUMS MANIGRAMAM
717	NAGAPATTINAM	33190803701	PUMS MATHUR

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
718	NAGAPATTINAM	33191102801	PUMS NALLUR	
719	NAGAPATTINAM	33190500602	PUMS NEERMULAI	
720	NAGAPATTINAM	33191003602	PUMS NIMELI NEPPATHUR	
721	NAGAPATTINAM	33191102604	PUMS PALAIYAR	
722	NAGAPATTINAM	33191001401	PUMS PUNGANUR	
723	NAGAPATTINAM	33190805502	PUMS SAMATHUVAPURAM	
724	NAGAPATTINAM	33190100801	PUMS SANGAMANGALAM	
725	NAGAPATTINAM	33190502602	PUMS SANTHANAMTHERU	
726	NAGAPATTINAM	33190601004	PUMS THIRD STREET, VEDARANIYAM	
727	NAGAPATTINAM	33190804004	PUMS THIRUKKADAIYUR	
728	NAGAPATTINAM	33190301301	PUMS THIRUKKANNANGUDI	
729	NAGAPATTINAM	33190402702	PUMS THIRUKKUVALAI	
730	NAGAPATTINAM	33190902605	PUMS THIRUVALANGADU	
731	NAGAPATTINAM	33190805301	PUMS THIRUVIDAIKAZHI	
732	NAGAPATTINAM	33190102701	PUMS VADUGACHERY	
733	NAGAPATTINAM	33190401702	PUMS VAILANKANNI	
734	NAGAPATTINAM	33190400801	PUMS VENMANACHERY	
735	NAGAPATTINAM	33191100801	PUMS VETTANGUDI	
736	NAGAPATTINAM	33190600901	PUMS,PERIYAKUTHAGAI	
737	NAGAPATTINAM	33190202301	PUMS-VADAKARAI	
738	NAMAKKAL	33090102101	GMS VAGURAMPATTI	
739	NAMAKKAL	33090700411	MMS BARATHIDHASAN SALAI	
740	NAMAKKAL	33091100106	MMS NARAYANA NAGAR	
741	NAMAKKAL	33090700402	MMS-V.NAGAR	
742	NAMAKKAL	33091001610	MUNICIPAL MIDDLE SCHOOL, ARIGNAR ANNA NAGAR	
743	NAMAKKAL	33091000702	MUNICIPAL MIDDLE SCHOOL, NESAVALAR COLONY	
744	NAMAKKAL	33091001605	MUNICIPAL MIDDLE SCHOOL, SURIYAMPALAYAM	
745	NAMAKKAL	33091001402	PANCHAYAT UNION MIDDLE SCHOOL ,NARAYANIPALAYAM	
746	NAMAKKAL	33090100415	PANCHAYAT UNION MIDDLE SCHOOL, CHINNAMUTHALAIPATTY	
747	NAMAKKAL	33091001302	PANCHAYAT UNION MIDDLE SCHOOL, KEELERIPATTI	
748	NAMAKKAL	33091000101	PANCHAYAT UNION MIDDLE SCHOOL, VALRASAPALAYAM	
749	NAMAKKAL	33091200701	PUMS MAMUNDI	
750	NAMAKKAL	33091101202	PUMS ALAMEDU	
751	NAMAKKAL	33091100302	PUMS ALAMPALAYAM	
752	NAMAKKAL	33090900302	PUMS ARIYAGOUNDAMPATTI	
753	NAMAKKAL	33090201004	PUMS ARIYUR KIZHAKKU VALAVU	
754	NAMAKKAL	33090401604	PUMS DEVARAYAPURAM	
755	NAMAKKAL	33090902002	PUMS ESWARAMURTHIPALAYAM	
756	NAMAKKAL	33091101103	PUMS KADACHANALLUR	
757	NAMAKKAL	33090601702	PUMS KANNURPATTI	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
758	NAMAKKAL	33090102001	PUMS KONDICHETTIPATTI	
759	NAMAKKAL	33091200807	PUMS KURUKKALAMPALAYAM	
760	NAMAKKAL	33090102102	PUMS MARUTHI NAGAR	
761	NAMAKKAL	33090602605	PUMS MIN ANNANAGAR	
762	NAMAKKAL	33090500802	PUMS NADUCOMBAI	
763	NAMAKKAL	33090800601	PUMS NADUPATTY	
764	NAMAKKAL	33090900301	PUMS NAMAGIRIPETTAI-I	
765	NAMAKKAL	33090302301	PUMS PARALI	
766	NAMAKKAL	33091202001	PUMS PARUTHIPALLI	
767	NAMAKKAL	33091502001	PUMS PONMALARPALAYAM	
768	NAMAKKAL	33091101301	PUMS PUDUPALAYAM CAUVERY	
769	NAMAKKAL	33090801601	PUMS R.PUDUPALAYAM	
770	NAMAKKAL	33091100101	PUMS SANARPALAYAM	
771	NAMAKKAL	33090900404	PUMS SEERAPPALLI	
772	NAMAKKAL	33091402201	PUMS SULTHANPETTAI	
773	NAMAKKAL	33090902104	PUMS URAMBU	
774	NAMAKKAL	33091100206	PUMS V.METTUR	
775	NAMAKKAL	33090501601	PUMS VADUGAPATTI	
776	NAMAKKAL	33090200902	PUMS VALAPPURNADU	
777	NAMAKKAL	33090201304	PUMS VASALURPATTI	
778	NAMAKKAL	33090900305	PUMS VELLAKKALPATTI	
779	NAMAKKAL	33091502602	PUMS VENGAMEDU	
780	PERAMBALUR	33160200101	PANCHAYATH UNION MIDDLE SCHOOL THIRUMANDURAI	
781	PERAMBALUR	33160201901	PUMS KALLAI	
782	PERAMBALUR	33160600301	PUMS PUDUAMMAPALAYAM	
783	PERAMBALUR	33160201803	PUMS V.KEERANUR	
784	PERAMBALUR	33160300202	PUMS VELLUVADI	
785	PERAMBALUR	33160400401	PUMS,ARANARAI	
786	PERAMBALUR	33160400301	PUMS,K.ERAIYUR	
787	PERAMBALUR	33160204701	PUMS. Sithali	
788	PERAMBALUR	33160202403	PUMS-LABBAIKUDIKADU-W	
789	PUDUKKOTTAI	33220504001	GOVT UPPER PRIMARY SCHOOL, PUDUKKOTTAI.	
790	PUDUKKOTTAI	33221107301	MUNICIPAL MIDDLE SCHOOL L.N.PURAM	
791	PUDUKKOTTAI	33221108001	MUNICIPAL MIDDLE SCHOOL WEST, ARANTHANGI	
792	PUDUKKOTTAI	33220505901	MUNICIPAL MIDDLE SCHOOL,BOSENAGAR.	
793	PUDUKKOTTAI	33220504401	MUNICIPAL MIDDLE SCHOOL,KOILPATTI.	
794	PUDUKKOTTAI	33220504701	MUNICIPAL.MID.S.SANDAPETTAI	
795	PUDUKKOTTAI	33221302701	PANCHAYAT UNION MIDDLE SCHOOL. PERUNAVALUR	
796	PUDUKKOTTAI	33221301501	PANCHAYAT UNION MID SCHOOL AVUDAIYARKOIL	
797	PUDUKKOTTAI	33220401203	PANCHAYAT UNION MID SCHOOL, MEIKUDIPATTI	

	List of 1784	elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
798	PUDUKKOTTAI	33220300504	PANCHAYAT UNION MIDDLE SCHOOL, PORUVAI
799	PUDUKKOTTAI	33220603701	PANCHAYAT UNION MIDDLE SCHOOL ,KALYANAPURAM
800	PUDUKKOTTAI	33220607103	PANCHAYAT UNION MIDDLE SCHOOL ALANGUDI
801	PUDUKKOTTAI	33220102402	PANCHAYAT UNION MIDDLE SCHOOL ARANIPPATTI
802	PUDUKKOTTAI	33220205801	PANCHAYAT UNION MIDDLE SCHOOL CHITHANNAVASAL
803	PUDUKKOTTAI	33220604104	PANCHAYAT UNION MIDDLE SCHOOL IMMANAMPATTI
804	PUDUKKOTTAI	33221103705	PANCHAYAT UNION MIDDLE SCHOOL KARUNGULIKADU
805	PUDUKKOTTAI	33220605301	PANCHAYAT UNION MIDDLE SCHOOL KATHAKURICHI
806	PUDUKKOTTAI	33220705001	PANCHAYAT UNION MIDDLE SCHOOL KATTATHI
807	PUDUKKOTTAI	33220100601	PANCHAYAT UNION MIDDLE SCHOOL KOPPAMPATTI
808	PUDUKKOTTAI	33220303201	PANCHAYAT UNION MIDDLE SCHOOL KULAVAIPATTI
809	PUDUKKOTTAI	33220103801	PANCHAYAT UNION MIDDLE SCHOOL KUNDRANDARKOIL
810	PUDUKKOTTAI	33220302001	PANCHAYAT UNION MIDDLE SCHOOL MEBOOTHAGUDI
811	PUDUKKOTTAI	33220501702	PANCHAYAT UNION MIDDLE SCHOOL MELAVIDUTHI
812	PUDUKKOTTAI	33220500701	PANCHAYAT UNION MIDDLE SCHOOL MOOKAMPATTI
813	PUDUKKOTTAI	33220302301	PANCHAYAT UNION MIDDLE SCHOOL NAMBAMPATTI
814	PUDUKKOTTAI	33220103901	PANCHAYAT UNION MIDDLE SCHOOL ODUKKUR
815	PUDUKKOTTAI	33220104801	PANCHAYAT UNION MIDDLE SCHOOL PALLATHUPPATTI
816	PUDUKKOTTAI	33220303202	PANCHAYAT UNION MIDDLE SCHOOL RAJAGIRI
817	PUDUKKOTTAI	33220606301	PANCHAYAT UNION MIDDLE SCHOOL SERIYALUR
818	PUDUKKOTTAI	33221200501	PANCHAYAT UNION MIDDLE SCHOOL SINGAVANAM
819	PUDUKKOTTAI	33220702505	PANCHAYAT UNION MIDDLE SCHOOL THEKKIKADU
820	PUDUKKOTTAI	33220303901	PANCHAYAT UNION MIDDLE SCHOOL THENNAMPADI
821	PUDUKKOTTAI	33220502301	PANCHAYAT UNION MIDDLE SCHOOL VALAVAMPATTI
822	PUDUKKOTTAI	33220501901	PANCHAYAT UNION MIDDLE SCHOOL VANNARAPATTI
823	PUDUKKOTTAI	33221202801	PANCHAYAT UNION MIDDLE SCHOOL VEDIYANGUDI
824	PUDUKKOTTAI	33220304401	PANCHAYAT UNION MIDDLE SCHOOL VELLUR
825	PUDUKKOTTAI	33221204009	PANCHAYAT UNION MIDDLE SCHOOL(MC), KOTTAIPATTINAM
826	PUDUKKOTTAI	33220404401	PANCHAYAT UNION MIDDLE SCHOOL, AKKACHIPPATTI
827	PUDUKKOTTAI	33220400901	PANCHAYAT UNION MIDDLE SCHOOL, ARIYANIPATTI
828	PUDUKKOTTAI	33221106301	PANCHAYAT UNION MIDDLE SCHOOL, ATHANI
829	PUDUKKOTTAI	33221200701	PANCHAYAT UNION MIDDLE SCHOOL, CHELLANENTHAL
830	PUDUKKOTTAI	33220702701	PANCHAYAT UNION MIDDLE SCHOOL, ELAIKADIVIDUTHI
831	PUDUKKOTTAI	33220403907	PANCHAYAT UNION MIDDLE SCHOOL, GANDARVAKKOTTAI
832	PUDUKKOTTAI	33220907201	PANCHAYAT UNION MIDDLE SCHOOL, KALLAMPATTI
833	PUDUKKOTTAI	33221103202	PANCHAYAT UNION MIDDLE SCHOOL, KODIVAYAL EAST
834	PUDUKKOTTAI	33220702606	PANCHAYAT UNION MIDDLE SCHOOL, KOLAPPAMPATTI
835	PUDUKKOTTAI	33220200402	PANCHAYAT UNION MIDDLE SCHOOL, KOTHIRAPATTI
836	PUDUKKOTTAI	33220400501	PANCHAYAT UNION MIDDLE SCHOOL, MANJAPPETTAI
837	PUDUKKOTTAI	33220403801	PANCHAYAT UNION MIDDLE SCHOOL, MATTANGAL

List of 1784 elementary schools reco			recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
838	PUDUKKOTTAI	33221201303	PANCHAYAT UNION MIDDLE SCHOOL, MELASTHANAM
839	PUDUKKOTTAI	33220402301	PANCHAYAT UNION MIDDLE SCHOOL, MOHANOOR
840	PUDUKKOTTAI	33220404002	PANCHAYAT UNION MIDDLE SCHOOL, MULLIKAPATTI
841	PUDUKKOTTAI	33221201601	PANCHAYAT UNION MIDDLE SCHOOL, NILAIYUR
842	PUDUKKOTTAI	33220700402	PANCHAYAT UNION MIDDLE SCHOOL, PATHUTHAKKU
843	PUDUKKOTTAI	33220901504	PANCHAYAT UNION MIDDLE SCHOOL, PON.PUDUPPATTI
844	PUDUKKOTTAI	33220700604	PANCHAYAT UNION MIDDLE SCHOOL, PUDUKKOTTAIVIDUTHI
845	PUDUKKOTTAI	33221102502	PANCHAYAT UNION MIDDLE SCHOOL, RETHINAKKOTTAI
846	PUDUKKOTTAI	33220400101	PANCHAYAT UNION MIDDLE SCHOOL, SOLAGAMPATTI
847	PUDUKKOTTAI	33220700202	PANCHAYAT UNION MIDDLE SCHOOL, THATTAMANAIPATTI
848	PUDUKKOTTAI	33221100903	PANCHAYAT UNION MIDDLE SCHOOL,KUNNAKURUMBI
849	PUDUKKOTTAI	33220604002	PANCHAYAT UNION MIDDLE SCHOOL, MANGANAMPATTI
850	PUDUKKOTTAI	33221105101	PANCHAYAT UNION MIDDLE SCHOOL, MANGUDI
851	PUDUKKOTTAI	33220604302	PANCHAYAT UNION MIDDLE SCHOOL,METTUPATTI
852	PUDUKKOTTAI	33221106901	PANCHAYAT UNION MIDDLE SCHOOL,NAGUDI
853	PUDUKKOTTAI	33220503001	PANCHAYAT UNION MIDDLE SCHOOL,SOTHUPALAI.
854	PUDUKKOTTAI	33220600704	PANCHAYAT UNION MIDDLE SCHOOL, VADAKKUPATTI
855	PUDUKKOTTAI	33221302102	PANCHAYAT UNION MIDDLE SCHOOL. R. PUDUPATTINAM(MUSLIM)
856	PUDUKKOTTAI	33220304805	PANCHAYAT UNION MIDDLE SCHOOL. RAMAKKAVUNDANPATTI
857	PUDUKKOTTAI	33221302001	PANCHAYAT UNION MIDDLE SCHOOL. THONDAIMANENDHAL
858	PUDUKKOTTAI	33220202501	PANCHAYAT UNION MIDDLE SCHOOL.EDAYAPPATTI
859	PUDUKKOTTAI	33220200703	PANCHAYAT UNION MIDDLE SCHOOL.ENNAI
860	PUDUKKOTTAI	33220201005	PANCHAYAT UNION MIDDLE SCHOOL.ERUKKUMANIPPATTI
861	PUDUKKOTTAI	33220205701	PANCHAYAT UNION MIDDLE SCHOOL.ESWARANKOIL
862	PUDUKKOTTAI	33220202301	PANCHAYAT UNION MIDDLE SCHOOL.KALADIPATTI
863	PUDUKKOTTAI	33220204802	PANCHAYAT UNION MIDDLE SCHOOL.KEELAPALUVANCHI
864	PUDUKKOTTAI	33220200704	PANCHAYAT UNION MIDDLE SCHOOL.MELAPPATTI
865	PUDUKKOTTAI	33220202302	PANCHAYAT UNION MIDDLE SCHOOL.VEERAPATTI
866	PUDUKKOTTAI	33220900501	PANCHAYAT UNION MIDDLE SHOOL KONNAIYAMPATTI
867	PUDUKKOTTAI	33220304902	PANCHAYT UNION MIDDLE SCHOOL SERALAPATTI
868	PUDUKKOTTAI	33220704402	PUMS, NAINANKOLLAI
869	PUDUKKOTTAI	33220704507	PUMS, NAMBANPATTI
870	PUDUKKOTTAI	33220704901	PUMS, ODAPPAVIDUTHI
871	PUDUKKOTTAI	33220703701	PUMS.KANNAKKANKADU
872	RAMANATHAPURAM	33270309203	MUNICIPAL MIDDLE SCHOOL, EMANESWARAM
873	RAMANATHAPURAM	33270100701	PANCHAYAT UNION MIDDLE SCHOOL, MULLIMUNAI
874	RAMANATHAPURAM	33270108401	PANCHAYAT UNION MIDDLE SCHOOL, THINAIYATHUR
875	RAMANATHAPURAM	33270810702	PANCHAYAT UNION MIDDLE SCHOOL, ERVADI
876	RAMANATHAPURAM	33270808301	PANCHAYAT UNION MIDDLE SCHOOL, KAVAKULAM

	List of 1784 6	elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
877	RAMANATHAPURAM	33270807601	PANCHAYAT UNION MIDDLE SCHOOL, KEELAMUNDAL
878	RAMANATHAPURAM	33270100501	PANCHAYAT UNION MIDDLE SCHOOL, MUGIZHTHAGAM
879	RAMANATHAPURAM	33270814801	PANCHAYAT UNION MIDDLE SCHOOL, MUTHARAIYAR NAGAR
880	RAMANATHAPURAM	33271104401	PANCHAYAT UNION MIDDLE SCHOOL, NARAIYOORANI
881	RAMANATHAPURAM	33270102301	PANCHAYAT UNION MIDDLE SCHOOL, PASIPATTINAM
882	RAMANATHAPURAM	33270402101	PANCHAYAT UNION MIDDLE SCHOOL, POTTITHATTI
883	RAMANATHAPURAM	33270605401	PANCHAYAT UNION MIDDLE SCHOOL, THALAIVANAICKANPATTI
884	RAMANATHAPURAM	33270604701	PANCHAYAT UNION MIDDLE SCHOOL. VEERAMAACHANPATTI
885	RAMANATHAPURAM	33270908401	VALLAL PARI MUNICIPAL MIDDLE SCHOOL , VELIPATTINAM
886	SALEM	33081302314	M.M.S.MULLAIVADY
887	SALEM	33081201002	MMS ALACHAMAPALAYAM
888	SALEM	33082103301	MMS ERUMAPALAYAM No.2
889	SALEM	33081201102	MMS KAVANDAMPATTI
890	SALEM	33082102701	MMS. ELLAPPAN STREET
891	SALEM	33082104002	MMS.ANNATHANAPATTI
892	SALEM	33081701001	P.U.M.SP.KALIPATTI
893	SALEM	33081704001	P.U.M.S.THATHIANGARPATTI
894	SALEM	33081703701	P.U.M.SPULIAMPATTI
895	SALEM	33080601801	PANCHAYAT UNION MIDDLE SCHOOL AMMAPALAYAM
896	SALEM	33080600701	panchayat union middle school vaniyampady
897	SALEM	33080603101	PANCHAYAT UNION MIDDLE SCHOOL, ADIMALAIPATTY
898	SALEM	33081601607	PUM SCHOOL, NARIYANUR
899	SALEM	33081601502	PUM SCHOOL, PALLAKKADU
900	SALEM	33081601809	PUM SCHOOL, PARAKKALLUR
901	SALEM	33081602002	PUM SCHOOL, THONGALANUR
902	SALEM	33081601602	PUM SCHOOL, VANNIYANUR
903	SALEM	33081001201	PUMS ARIYAMPATTI
904	SALEM	33081001604	PUMS A.P.VATTAM
905	SALEM	33081200102	PUMS ADUVAPATTI
906	SALEM	33081302101	PUMS AMMAMPALAYAM
907	SALEM	33081200304	PUMS AMMASIYUR
908	SALEM	33081000901	PUMS ARURPATTY
909	SALEM	33081200809	PUMS CHINNAMUTHUR
910	SALEM	33081100803	PUMS CHINNANUR
911	SALEM	33080800203	PUMS CHINNAPOOSALIYUR
912	SALEM	33080805301	PUMS ERUSANAMPATTY
913	SALEM	33080500709	PUMS ETTIKUTTAI MEDU
914	SALEM	33081301102	PUMS GOVINDARAJAPALAYAM
915	SALEM	33080500706	PUMS K.PALLIPATTI
916	SALEM	33080802601	PUMS K.PUDHUPALAYAM

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
917	SALEM	33081301902	PUMS KAMARAJ NAGAR
918	SALEM	33081001804	PUMS KANGANIYUR
919	SALEM	33081101001	PUMS KAPPARATTHAMPATTI
920	SALEM	33081001002	PUMS KATHIMARANVALAVU
921	SALEM	33081100902	PUMS KATTINAICKENPATTI
922	SALEM	33080500708	PUMS KONANKIYUR
923	SALEM	33080801401	PUMS KOTHANUR
924	SALEM	33081001802	PUMS KOTTAIMEDU
925	SALEM	33081001801	PUMS KRISHNAMPUDUR
926	SALEM	33081001607	PUMS LACHUMAYUR
927	SALEM	33081000705	PUMS M.G.R COLONY
928	SALEM	33081000202	PUMS MALLIKUTTAI
929	SALEM	33080500204	PUMS MANICKAMPATTI
930	SALEM	33081001605	PUMS MATAIYAMPATTI
931	SALEM	33081100405	PUMS MOOLAKKADU
932	SALEM	33080500308	PUMS MUNIYAMPATTI
933	SALEM	33080500101	PUMS MUTHIYAMPATTI
934	SALEM	33081001304	PUMS NACHAMPATTI
935	SALEM	33080500901	PUMS NACHIYUR
936	SALEM	33081100810	PUMS NORACHIVALAVU
937	SALEM	33080500306	PUMS PACHALIYUR
938	SALEM	33080805201	PUMS PALAMPATTI
939	SALEM	33081000703	PUMS PARAKKALLUR
940	SALEM	33081000601	PUMS PAVALATHANUR
941	SALEM	33081100402	PUMS PERIYA VANAVASI
942	SALEM	33081001805	PUMS PERIYAKARUKKALVADI
943	SALEM	33080804801	PUMS PERIYASEERAGAPADI
944	SALEM	33081100701	PUMS PERIYASORAGAI
945	SALEM	33080500102	PUMS PUDHUPPALAYAM
946	SALEM	33081200506	PUMS PULIYAMPATTI
947	SALEM	33081302701	PUMS PUNGAVADY
948	SALEM	33081000303	PUMS RASANOOR
949	SALEM	33080802401	PUMS REDDIMANIYAKARANUR
950	SALEM	33081101403	PUMS S. PUDUREDDIYUR
951	SALEM	33080801502	PUMS S.K. VALAVU
952	SALEM	33080500502	PUMS SANARAPATTI
953	SALEM	33081100705	PUMS SEERANGANOOR
954	SALEM	33081001609	PUMS SENGODANOOR
955	SALEM	33081100809	PUMS SOORAPPALI
956	SALEM	33081100903	PUMS SOURIYUR

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
957	SALEM	33080400903	PUMS THAPPAKUTTAI
958	SALEM	33081000708	PUMS THARAMANGALAM
959	SALEM	33081301501	PUMS THENNANGUDIPALYAM
960	SALEM	33081201202	PUMS VALAGOUNDANVALAVU
961	SALEM	33081101101	PUMS VANGALIYUR
962	SALEM	33081001606	PUMS VANICHAMPATTI
963	SALEM	33081405001	PUMS, ALLIKUTTAI
964	SALEM	33081400801	PUMS, ANUPPUR
965	SALEM	33081902803	PUMS, ARANGANUR
966	SALEM	33081404101	PUMS, C.THATHANUR
967	SALEM	33081903501	PUMS, CHANDRAPILLAIVALASU
968	SALEM	33080300601	PUMS, DANISHPET
969	SALEM	33080301901	PUMS, DASASAMUTHIRAM
970	SALEM	33080400809	PUMS, E.METTUKADU
971	SALEM	33080301101	PUMS, ELATHUR
972	SALEM	33080102601	PUMS, GANGAVALLI MAIN
973	SALEM	33080301205	PUMS, GURUVAREDDIYUR
974	SALEM	33080301001	PUMS, KADAYAMPATTI
975	SALEM	33080400812	PUMS, KADAYAMPATTI
976	SALEM	33080902801	PUMS, KANDAMPATTI
977	SALEM	33080301503	PUMS, KARUVALLI
978	SALEM	33082002701	PUMS, KOLAGUR
979	SALEM	33080302301	PUMS, KOTTAMEDU NEW SCHOOL
980	SALEM	33080902323	PUMS, KUDUMIANTHERU
981	SALEM	33081404704	PUMS, KUPPANUR
982	SALEM	33081902801	PUMS, KURICHI
983	SALEM	33080900201	PUMS, MAJURAKOLLAPATTI
984	SALEM	33081902101	PUMS, MANNAICKENPATTY
985	SALEM	33082005001	PUMS, MARAMANGALAM
986	SALEM	33080302103	PUMS, MATTUKARANPUDUR
987	SALEM	33080100304	PUMS, MOOLAPUTHUR
988	SALEM	33080301305	PUMS, NALLUR
989	SALEM	33080302306	PUMS, PAPPICHETTIPATTI
990	SALEM	33081401801	PUMS, PERIYAGOUNDAPURAM
991	SALEM	33080702401	PUMS, PERIYERI
992	SALEM	33080301802	PUMS, POOSARIPATTI
993	SALEM	33080301501	PUMS, PUDURKARUVALLI
994	SALEM	33080701601	PUMS, PUNALVASAL
995	SALEM	33080400810	PUMS, RASIGOUNDANUR
996	SALEM	33080700202	PUMS, SARVOY

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
997	SALEM	33080302401	PUMS, SEMMANDAPATTI	
998	SALEM	33080700502	PUMS, SIRUVACHUR 4TH WARD	
999	SALEM	33080902601	PUMS, SIVADHAPURAM	
1000	SALEM	33080301102	PUMS, THALAVAIPATTI	
1001	SALEM	33080100203	PUMS, THANEERTHOTTI	
1002	SALEM	33081405003	PUMS, THATHAMPATTY	
1003	SALEM	33080703003	PUMS, THENKARAI	
1004	SALEM	33080900401	PUMS, THIRUMALAIGIRI	
1005	SALEM	33080701301	PUMS, VADAKUMARAI	
1006	SALEM	33081402501	PUMS, VEDAPPATTY	
1007	SALEM	33080901503	PUMS, VINAYAGAMPATTI	
1008	SALEM	33080902701	PUMS,ANDIPATI	
1009	SALEM	33080600504	PUMS,GANDHIPURAM	
1010	SALEM	33081500407	PUMS,GOVINDAPADI	
1011	SALEM	33080901601	PUMS,KANNANKURICHI	
1012	SALEM	33080600403	PUMS,KATTUR	
1013	SALEM	33080901702	PUMS,KOMBAIPATTI	
1014	SALEM	33080601502	PUMS,MECHERIYAMPALAYAM	
1015	SALEM	33080600102	PUMS,RANGAPURAM	
1016	SALEM	33080901801	PUMS,SANNIYASIGUNDU	
1017	SALEM	33081500905	PUMS,SEKKANUR	
1018	SALEM	33080902501	PUMS,SELATHAMPATTI	
1019	SALEM	33080600601	PUMS,THAMMANAICKENPATTY	
1020	SALEM	33080200403	PUMS-EDAYAPATTY	
1021	SALEM	33080200204	PUMS-MAMANJI	
1022	SALEM	33080203601	PUMS-PALANIYAPURI	
1023	SALEM	33080200302	PUMS-PAPPANAICKENPATTI	
1024	SALEM	33080200601	PUMS-SEKKADIPATTY	
1025	SALEM	33080201202	PUMS-YETHAPUR	
1026	SIVAGANGAI	33230800801	AL.V.A.M.PUMS , KOTTAIYUR.	
1027	SIVAGANGAI	33230801001	M.M. SCHOOL, KALANIVASAL	
1028	SIVAGANGAI	33230303501	PUMS BURMACOLONY	
1029	SIVAGANGAI	33231101001	PUMS GANAPATHIPATTI	
1030	SIVAGANGAI	33231102001	PUMS KONDAPALAYAM	
1031	SIVAGANGAI	33230401201	PUMS MELARANGIAN	
1032	SIVAGANGAI	33231105701	PUMS MELAVANNARIRUPPU	
1033	SIVAGANGAI	33230400105	PUMS THIRUPPUVANAM SOUTH	
1034	SIVAGANGAI	33231000209	PUMS VETTAIANPATTI	
1035	SIVAGANGAI	33231202901	PUMS, N.VAIRAVANPATTI	
1036	THANJAVUR	33211003702	GOVERNMENT MIDDLE SCHOOL - THEPERUMANALLUR	

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1037	THANJAVUR	33211204713	MPL MS MUSLIM THERU
1038	THANJAVUR	33211204711	MUNCIPAL MIDDLE SCHOOL KANDIYANTHERU
1039	THANJAVUR	33211100601	PANCHAYAT UNION MIDDLE SCHOOL-KANNARAKUDI
1040	THANJAVUR	33211001501	PANCHAYAT UNION MIDDLE SCHOOL - MANGUDI
1041	THANJAVUR	33211005601	PANCHAYAT UNION MIDDLE SCHOOL - KALYANAPURAM
1042	THANJAVUR	33211000702	PANCHAYAT UNION MIDDLE SCHOOL - ARIYACHERI
1043	THANJAVUR	33210500102	PANCHAYAT UNION MIDDLE SCHOOL - AZHIVAIKKAL
1044	THANJAVUR	33210804102	PANCHAYAT UNION MIDDLE SCHOOL - PAPANASAM
1045	THANJAVUR	33210800601	PANCHAYAT UNION MIDDLE SCHOOL - PERUMANGUDI
1046	THANJAVUR	33211002901	PANCHAYAT UNION MIDDLE SCHOOL SATHANUR
1047	THANJAVUR	33210304203	PANCHAYAT UNION MIDDLE SCHOOL-THIRUPAZHANAM
1048	THANJAVUR	33210403202	PANCHAYAT UNION MIDDLE SCHOOL-VALAMBAKUDI
1049	THANJAVUR	33210603901	PANCHAYAT UNION MIDDLE SCHOOL-VENGARAI
1050	THANJAVUR	33211103201	PANCHAYATH UNION MIDDLE SCHOOLVETTAMANGALAM
1051	THANJAVUR	33210902902	PUMS - KOVILUR
1052	THANJAVUR	33210704201	PUMS - MANAPADAIVEEDU
1053	THANJAVUR	33210205401	PUMS - MELAMANOJIPATTI
1054	THANJAVUR	33211104101	PUMS - MOZHAIYUR
1055	THANJAVUR	33210904601	PUMS - PUTHUR
1056	THANJAVUR	33210903101	PUMS - RARAMUTHIRAKOTTAI
1057	THANJAVUR	33210903202	PUMS - SALIAYAMANGALAM
1058	THANJAVUR	33210903401	PUMS - SOOLIAKOTTAI
1059	THANJAVUR	33210703602	PUMS - THENAMPADUGAI
1060	THANJAVUR	33210704103	PUMS - THIRUPURAMBIYAM
1061	THANJAVUR	33210904202	PUMS - VAIYACHERI
1062	THANJAVUR	33211204803	PUMS ADHIRAMPATTINAM NADUTHERU
1063	THANJAVUR	33211200401	PUMS ERIPURAKKARAI
1064	THANJAVUR	33211200501	PUMS ETTUPPULIKKADU
1065	THANJAVUR	33211202202	PUMS KEEZHATHOTTAM
1066	THANJAVUR	33211504802	PUMS MALLIPATTINAM SOUTH
1067	THANJAVUR	33211203202	PUMS MANJAVAYAL
1068	THANJAVUR	33210702701	PUMS MP MANDABAM
1069	THANJAVUR	33211506103	PUMS MUDACHIKKADU
1070	THANJAVUR	33211403801	PUMS NATTANIKKOTTAI NORTH
1071	THANJAVUR	33211201602	PUMS PALLIKONDAN
1072	THANJAVUR	33211403604	PUMS PONNANKANNIKADU
1073	THANJAVUR	33211504901	PUMS SENTHALAIVAYAL
1074	THANJAVUR	33210703401	PUMS SOLANMALIGAI
1075	THANJAVUR	33211203401	PUMS THOKKALIKKADU
1076	THANJAVUR	33211203702	PUMS VENDAKKOTTAI

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1077	THANJAVUR	33210601301	PUMS-KOLLUKADU	
1078	THANJAVUR	33210601601	PUMS-NEYVELI(NORTH)	
1079	THANJAVUR	33211103101	PUMS-PANDHANALLUR	
1080	THANJAVUR	33210604202	PUMS-VETTUVAKKOTTAI	
1081	THE NILGIRIS	33110301011	GTR MS, ARAVENU	
1082	THE NILGIRIS	33110400819	GTRMS THORAPALLY	
1083	THE NILGIRIS	33110400815	PUMS ATHIPALI	
1084	THE NILGIRIS	33110400619	PUMS CHERANGODE	
1085	THE NILGIRIS	33110400816	PUMS FIRSTMILE GUDALUR	
1086	THE NILGIRIS	33110400104	PUMS MAYFIELD	
1087	THE NILGIRIS	33110400807	PUMS NANTHATTY	
1088	THE NILGIRIS	33110400117	PUMS PATTAVAYAL	
1089	THE NILGIRIS	33110400111	PUMS VILLANGORE	
1090	THENI	33250401003	MPL MS, SUNGAM	
1091	THENI	33250100511	P.U.MDLSCL AUNDIPATI	
1092	THENI	33250500408	P.U.MIDD.SCL.UPPUTHURAI	
1093	THENI	33250500212	PUMS - SOLAITHEVANPATTI	
1094	THENI	33250100214	PUMS - THIMMARASANAICKANUR	
1095	THENI	33250301304	PUMS, AYYAMPATTY	
1096	THENI	33250800908	PUMS, BAZZAR, UTHAMAPALAYAM	
1097	THENI	33250301702	PUMS, CHINNAPOTTIPURAM	
1098	THENI	33250200601	PUMS, KARATUPATTY	
1099	THENI	33250800608	PUMS, KOMBAI	
1100	THENI	33250701106	PUMS, MUTHUDEVANPATTY	
1101	THOOTHUKKUDI	33280102801	MUNICIPAL MS, MELUR	
1102	THOOTHUKKUDI	33280804801	MUNICIPAL MS, NEW ROAD, KOVILPATTI	
1103	THOOTHUKKUDI	33280104601	MUNICIPAL MS, SIVANTHAKULAM	
1104	THOOTHUKKUDI	33280908601	PU MS, KAYATHAR SOUTH	
1105	THOOTHUKKUDI	33280303701	PUMS MEENACHIPATTI	
1106	THOOTHUKKUDI	33280510905	PUMS N.MUTHAIYAPURAM	
1107	THOOTHUKKUDI	33280406202	PUMS PEIKULAM	
1108	THOOTHUKKUDI	33280506801	PUMS SELVARAJAPURAM	
1109	THOOTHUKKUDI	33280504801	PUMS THAIKKA ST	
1110	THOOTHUKKUDI	33280802502	PUMS, THITTANKULAM NORTH	
1111	THOOTHUKKUDI	33280801503	PUMS,ILAMBUVANAM	
1112	THOOTHUKKUDI	33281004303	PUMS,PULIYAMARATHUARASADI	
1113	TIRUCHIRAPPALLI	33150103121	MPL.M.S SRI RENGANATHA	
1114	TIRUCHIRAPPALLI	33150103113	MPL.MS. DR. RAJAN	
1115	TIRUCHIRAPPALLI	33150904401	MUNICIPAL MIDDLE SCHOOL BEEMANAGAR	
1116	TIRUCHIRAPPALLI	33150502701	MUNICIPAL MIDDLE SCHOOL, MANAPARAI	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1117	TIRUCHIRAPPALLI	33150103126	NEHRUJI MEMORIAL MPL.M.S	
1118	TIRUCHIRAPPALLI	33150204001	P.U.M.S.THIRUMANGALAM	
1119	TIRUCHIRAPPALLI	33151101702	PANCHAYAT UNION MID SCHOOL, POLICE COLONY	
1120	TIRUCHIRAPPALLI	33151103007	PANCHAYAT UNION MID SCHOOL, UKKADAI ARIYAMANGALAM	
1121	TIRUCHIRAPPALLI	33151103015	PANCHAYAT UNION MID SCHOOL, THANGESWARI NAGAR	
1122	TIRUCHIRAPPALLI	33151102601	PANCHAYAT UNION MID SCHOOL, VALAVANDANKOTTAI	
1123	TIRUCHIRAPPALLI	33151103011	PANCHAYAT UNION MIDDLE SCHOOL, KAMARAJ NAGAR	
1124	TIRUCHIRAPPALLI	33150204101	PANCHAYAT UNION MIDDLE SCHOOL, THIRUMANAMEDU	
1125	TIRUCHIRAPPALLI	33151601906	PUMS V.CHETTIYAPATTY	
1126	TIRUCHIRAPPALLI	33150702903	PUMS ANAIPATTI	
1127	TIRUCHIRAPPALLI	33151401301	PUMS AZHAGAPATTI	
1128	TIRUCHIRAPPALLI	33150303303	PUMS KALAVAIPPATTI	
1129	TIRUCHIRAPPALLI	33150703003	PUMS KANNUKULAM	
1130	TIRUCHIRAPPALLI	33150700601	PUMS KATTUKULAM	
1131	TIRUCHIRAPPALLI	33150701403	PUMS VELAKKANATHAM	
1132	TIRUCHIRAPPALLI	33150702801	PUMS VELLAKKALPATTI	
1133	TIRUCHIRAPPALLI	33150200102	PUMS, AGALANGANALLURN.STREET	
1134	TIRUCHIRAPPALLI	33151501901	PUMS, ALATHUDAIYANPATTY	
1135	TIRUCHIRAPPALLI	33151600901	PUMS, ANANKARAIPATTI	
1136	TIRUCHIRAPPALLI	33150502208	PUMS, EDAIYAPATTY	
1137	TIRUCHIRAPPALLI	33151600503	PUMS, ELAMANAM	
1138	TIRUCHIRAPPALLI	33150500304	PUMS, K.PERIYAPATTY	
1139	TIRUCHIRAPPALLI	33151601602	PUMS, K.PUDUKKOTAI	
1140	TIRUCHIRAPPALLI	33151601204	PUMS, KALPATTY	
1141	TIRUCHIRAPPALLI	33150502101	PUMS, KARUPPUR	
1142	TIRUCHIRAPPALLI	33150502102	PUMS, KARUTHAKODANGIPATTY	
1143	TIRUCHIRAPPALLI	33151300801	PUMS, KEELAKUNNUPATTI	
1144	TIRUCHIRAPPALLI	33151500301	PUMS, KOPPAMPATTY	
1145	TIRUCHIRAPPALLI	33150400407	PUMS, M.G.R NAGAR	
1146	TIRUCHIRAPPALLI	33151601001	PUMS, PAMPATTIPATTY	
1147	TIRUCHIRAPPALLI	33150400801	PUMS, PANJAPUR	
1148	TIRUCHIRAPPALLI	33150401901	PUMS, PIRATIYUR	
1149	TIRUCHIRAPPALLI	33150203301	PUMS, SATHAMANGALAM	
1150	TIRUCHIRAPPALLI	33150303703	PUMS, SENNAKARAI	
1151	TIRUCHIRAPPALLI	33150402002	PUMS, SOMARASAMPETTAI	
1152	TIRUCHIRAPPALLI	33151500103	PUMS, T.MANGAPATTI PUTHUR	
1153	TIRUCHIRAPPALLI	33151600905	PUMS, THOPPANAYAKKANPATTY	
1154	TIRUCHIRAPPALLI	33150301101	PUMS, VAZHAIYUR	
1155	TIRUCHIRAPPALLI	33150603202	PUMS,ADAIKKAMPATTI	
1156	TIRUCHIRAPPALLI	33150200101	PUMS,AGALANGANALLUR	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1157	TIRUCHIRAPPALLI	33150603801	PUMS,AKKIYAMPATTI	
1158	TIRUCHIRAPPALLI	33150600701	PUMS,ENDAPULI	
1159	TIRUCHIRAPPALLI	33150603601	PUMS,IKKARAIGOSIKURICHI	
1160	TIRUCHIRAPPALLI	33151202401	PUMS,KADUVETTI	
1161	TIRUCHIRAPPALLI	33150603402	PUMS,KARADIPATTI	
1162	TIRUCHIRAPPALLI	33150802402	PUMS,KUMULUR	
1163	TIRUCHIRAPPALLI	33150802001	PUMS,MELARASUR	
1164	TIRUCHIRAPPALLI	33150603602	PUMS,PIDARAPPATTI	
1165	TIRUCHIRAPPALLI	33151200601	PUMS,SRIRAMASAMUTHIRAM	
1166	TIRUCHIRAPPALLI	33150800401	PUMS,THIRANIPALAYAM	
1167	TIRUCHIRAPPALLI	33150303202	PUMS,VALMALPALAYAM	
1168	TIRUCHIRAPPALLI	33150603001	PUMS,Yagapuram	
1169	TIRUNELVELI	33292104801	CORPORATION MIDDLE SCHOOL RAHUMANPETTAI	
1170	TIRUNELVELI	33291600114	GOVERNMENT MIDDLE SCHOOL POOLANKUDIYIRUPPU	
1171	TIRUNELVELI	33291600107	GOVERNMENT MIDDLE SCHOOL,KACHERI COMPOUND,SHENGOTTAI	
1172	TIRUNELVELI	33291501402	MMS , GANDHI NAGAR , SANKARANKOVIL	
1173	TIRUNELVELI	33291501416	MMS EAST SANKARANKOVIL	
1174	TIRUNELVELI	33290301502	Panchayat Union Middle School Kallidaikurichi	
1175	TIRUNELVELI	33291301701	PANCHAYAT UNION MIDDLE SCHOOL,POTHUKUDI	
1176	TIRUNELVELI	33291901109	PUJMS, VASUDEVANALLUR	
1177	TIRUNELVELI	33291002606	PUMS KULASEKARAMANGALAM	
1178	TIRUNELVELI	33290901801	PUMS PALAMADAI UDAYANERI	
1179	TIRUNELVELI	33290103801	PUMS, Ayyanarkulam	
1180	TIRUNELVELI	33291201202	PUMS, NADUVAKURICHI	
1181	TIRUNELVELI	33290705502	PUMS, VELLAKAL	
1182	TIRUNELVELI	33291302601	PUMS,KASINATHAPURAM	
1183	TIRUNELVELI	33290504704	PUMS,SUNDARESAPURAM	
1184	TIRUNELVELI	33290906501	PUMS,THIRUPANIKARISALKULAM	
1185	TIRUNELVELI	33290901004	PUMS,VENKATACHALAPURAM	
1186	TIRUPPUR	33332201208	GMS KOOLIPALAYAM	
1187	TIRUPPUR	33332203801	MMS, Mettupalayam	
1188	TIRUPPUR	33332203301	MMS GOLDEN NAGAR	
1189	TIRUPPUR	33332203201	MMS PAPPANAICKENPALAYAM	
1190	TIRUPPUR	33332202901	MMS SV COLONY	
1191	TIRUPPUR	33332205801	MMS, ARANMANAIPUDUR	
1192	TIRUPPUR	33332204001	MMS, BALAMURUGAN NAGAR	
1193	TIRUPPUR	33332205902	MMS, KANGEYAMPALAYAM PUDUR	
1194	TIRUPPUR	33332205401	MMS, KARUMARAMPALAYAM	
1195	TIRUPPUR	33332206001	MMS, PERICHIPALAYAM	
1196	TIRUPPUR	33332203901	MMS,DEVANGAPURAM	

	List of 1784 (elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1197	TIRUPPUR	33332205501	MMS,MANNARAI
1198	TIRUPPUR	33332205101	MMS,MUTHUPUDUR
1199	TIRUPPUR	33332204501	MMS,Parappalayam,
1200	TIRUPPUR	33332204301	MMS,RAYAPURAM
1201	TIRUPPUR	33332204901	MMS,Thennampalayam,
1202	TIRUPPUR	33332203002	MMS,THIRUNEELAKANDAPURAM
1203	TIRUPPUR	33332206101	MMS,VELLIANGADU
1204	TIRUPPUR	33330601402	MUNICIPAL MIDDLE SCHOOL, KOLINJIWADI
1205	TIRUPPUR	33332000609	P.U.M.S, MUTHUR
1206	TIRUPPUR	33332000109	P.U.M.S, VELLAKOVIL-EAST
1207	TIRUPPUR	33332000132	P.U.M.S,SORIYANKINATHU PALAYAM
1208	TIRUPPUR	33332000111	P.U.M.S,THEETHAMPALAYAM
1209	TIRUPPUR	33332000110	P.U.M.S,VELLAKOVIL-WEST
1210	TIRUPPUR	33331601202	PANCHAYAT UNION MIDDLE SCHOOL PERANAICKAN PUDUR
1211	TIRUPPUR	33331603204	PANCHAYAT UNION MIDDLE SCHOOL DEVARAYAMPALAYAM
1212	TIRUPPUR	33331301501	PANCHAYAT UNION MIDDLE SCHOOL DHALI
	TIRUPPUR	33331600702	PANCHAYAT UNION MIDDLE SCHOOL
1213	TIMOTT ON	55551555752	SEMBAGOUNDENPALAYAM PANCHAYAT UNION MIDDLE SCHOOL SENNIMALAI
1214	TIRUPPUR	33331602302	GOUNDENPUDUR
1215	TIRUPPUR	33331603002	PANCHAYAT UNION MIDDLE SCHOOL VELAYUTHAMPALAYAM
1216	TIRUPPUR	33331900602	PANCHAYAT UNION MIDDLE SCHOOL, KUNNATHUR
1217	TIRUPPUR	33331902503	PANCHAYAT UNION MIDDLE SCHOOL, PARAPPALAYAM
1218	TIRUPPUR	33331903302	PANCHAYAT UNION MIDDLE SCHOOL, SUNDAKKAMPALAYAM
1219	TIRUPPUR	33331902804	PANCHAYAT UNION MIDDLE SCHOOL, THIMMANAYAKKANPALAYAM
1220	TIRUPPUR	33331900105	PANCHAYAT UNION MIDDLE SCHOOL, UTHUKULI RAILWAY STATION
1221	TIRUPPUR	33331600303	PANCHAYATH UNION MIDDLE SCHOOL SALAIPALAYAM
1222	TIRUPPUR	33332200202	PUMS ,A CHETTIPALAYAM
1223	TIRUPPUR	33332201702	PUMS AGRAHARAPUTHUR
1224	TIRUPPUR	33331800706	PUMS ALLALAPURAM
1225	TIRUPPUR	33331801207	PUMS AMMAPALAYAM
1226	TIRUPPUR	33331800101	PUMS ANUPPATTI
1227	TIRUPPUR	33332200204	PUMS ATHUPALAYAM
1228	TIRUPPUR	33331601504	PUMS AVINASHILINGAM PALAYAM
1229	TIRUPPUR	33331601503	PUMS AYEEGOUNDENPALAYAM
1230	TIRUPPUR	33330901801	PUMS BHARATHIYAR NAGAR
1231	TIRUPPUR	33332202307	PUMS CHERANKADU
1232	TIRUPPUR	33332200102	PUMS CHINNANDIPALAYAM
1233	TIRUPPUR	33331300302	PUMS CHINNAPOOLANKINAR
1234	TIRUPPUR	33331303302	PUMS CHINNAVEERAMPATTI

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME		
1235	TIRUPPUR	33331801303	PUMS CHINNIYAGOUNDENPALAYAM		
1236	TIRUPPUR	33331801201	PUMS EAST PALLADAM		
1237	TIRUPPUR	33330601310	PUMS KALIPALAYAM		
1238	TIRUPPUR	33331801102	PUMS KALLAMPALAYAM PUDUR		
1239	TIRUPPUR	33331302802	PUMS KAMARAJ NAGAR		
1240	TIRUPPUR	33332202312	PUMS KANCHIPURAM		
1241	TIRUPPUR	33330901812	PUMS KANGAYAM		
1242	TIRUPPUR	33331302503	PUMS KANNAMANAICKANUR		
1243	TIRUPPUR	33331800701	PUMS KARAIPUDUR		
1244	TIRUPPUR	33331603003	PUMS KASIGOUNDANPUDUR		
1245	TIRUPPUR	33331700307	PUMS KH COLONY		
1246	TIRUPPUR	33331304002	PUMS KILUVANKATTUR		
1247	TIRUPPUR	33330802304	PUMS KOTTAMANGALAM		
1248	TIRUPPUR	33331000207	PUMS KRISHNAPURAM		
1249	TIRUPPUR	33331700906	PUMS MADAPPUR		
1250	TIRUPPUR	33331000102	PUMS MADATHUKULAM		
1251	TIRUPPUR	33331800305	PUMS MADHESWARANNAGAR		
1252	TIRUPPUR	33332201701	PUMS MANGALAM		
1253	TIRUPPUR	33331801206	PUMS MANICKAPURAM		
1254	TIRUPPUR	33331203401	PUMS MULANUR		
1255	TIRUPPUR	33330802303	PUMS MURUNGAPATTI		
1256	TIRUPPUR	33331701002	PUMS NACHIPALAYAM		
1257	TIRUPPUR	33331601403	PUMS NAMBIYAMPALAYAM		
1258	TIRUPPUR	33330900903	PUMS PALAYAKOTTAIPUDUR		
1259	TIRUPPUR	33331801202	PUMS PALLADAM- WEST		
1260	TIRUPPUR	33331301902	PUMS PALLAPALAYAM		
1261	TIRUPPUR	33331303902	PUMS PARTHASARATHIPURAM		
1262	TIRUPPUR	33331801402	PUMS PARUVAI		
1263	TIRUPPUR	33332201603	PUMS PERIYAR COLONY		
1264	TIRUPPUR	33331800404	PUMS PETHAMPOOCHIPALAYAM		
1265	TIRUPPUR	33331601903	PUMS PUDUPALAYAM		
1266	TIRUPPUR	33331801209	PUMS RAYARPALAYAM		
1267	TIRUPPUR	33331001505	PUMS RUTHIRAPALAYAM		
1268	TIRUPPUR	33331801103	PUMS SEDAPALAYAM		
1269	TIRUPPUR	33330901308	PUMS SIVANMALAI		
1270	TIRUPPUR	33330901102	PUMS SIVIYARPALAYAM		
1271	TIRUPPUR	33330801701	PUMS SOMAVARAPATTI		
1272	TIRUPPUR	33332201705	PUMS SULTHANPET		
1273	TIRUPPUR	33331300401	PUMS SUNDAKKAMPALAYAM		
1274	TIRUPPUR	33331602703	PUMS THULUKAMUTHUR		

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1275	TIRUPPUR	33332201608	PUMS, 15 VELAMPALAYAM	
1276	TIRUPPUR	33332200104	PUMS, ANDIPALAYAM	
1277	TIRUPPUR	33332201604	PUMS, ANUPPARPALAYAMPUDUR	
1278	TIRUPPUR	33332201902	PUMS, BHARATHI NAGAR	
1279	TIRUPPUR	33332201805	PUMS, BHARATHIPURAM,	
1280	TIRUPPUR	33332201503	PUMS, BOYAMPALAYAM	
1281	TIRUPPUR	33332202302	PUMS, CHANDRAPURAM	
1282	TIRUPPUR	33332202202	PUMS, GENGANAICKENPALAYAM	
1283	TIRUPPUR	33332201501	PUMS, KETHAMPALAYAM	
1284	TIRUPPUR	33332201906	PUMS, KUPPANDAMPALAYAM	
1285	TIRUPPUR	33332201806	PUMS, MURUGAMPALAYAM	
1286	TIRUPPUR	33332202301	PUMS, NALLUR	
1287	TIRUPPUR	33332201901	PUMS, PALAVANJIPALAYAM	
1288	TIRUPPUR	33332201404	PUMS, PALLIPALAYAM	
1289	TIRUPPUR	33332201606	PUMS, RANGANATHAPURAM	
1290	TIRUPPUR	33332201610	PUMS, SAMUNDIPURAM	
1291	TIRUPPUR	33332202206	PUMS, SIDCO	
1292	TIRUPPUR	33332201904	PUMS, THIRU KUMARAN NAGAR	
1293	TIRUPPUR	33332201301	PUMS, VALLIPURAM	
1294	TIRUPPUR	33330801202	PUMS,A.AMMAPATTI	
1295	TIRUPPUR	33332201216	PUMS,MUMMOORTHY NAGAR	
1296	TIRUPPUR	33332202101	PUMS,MUTHANAMPALAYAM	
1297	TIRUPPUR	33332201207	PUMS,NEHRU NAGAR	
1298	TIRUPPUR	33332201201	PUMS,NERUPPERICHAL	
1299	TIRUPPUR	33331001304	PUMS,PERUMALPUDUR	
1300	TIRUPPUR	33332201101	PUMS,PERUMANALLUR	
1301	TIRUPPUR	33332201206	PUMS,SAMATHUVAPURAM	
1302	TIRUPPUR	33332201804	PUMS,SUNDAMEDU	
1303	TIRUPPUR	33332202001	PUMS,T.MANNARAI,TIRUPPUR	
1304	TIRUPPUR	33332201002	PUMS,THORAVALUR	
1305	TIRUVALLUR	33010509301	AVADI MUNICIPAL MIDDLE SCHOOL KAMARAJ NAGAR	
1306	TIRUVALLUR	33011303101	GOVT.MS, KUMARAJUPET	
1307	TIRUVALLUR	33011004701	MUN MIDDLE SCHOOL, NEHRU NAGAR	
1308	TIRUVALLUR	33010909601	MUN. MID SCH, DR.MOORTHY NAGAR	
1309	TIRUVALLUR	33011004801	MUN. MIDDLE SCHOOL, KATHIVAKKAM	
1310	TIRUVALLUR	33010906901	MUN.MID.SCH ORAKADAM	
1311	TIRUVALLUR	33011007601	MUN.MS,TSM NAGAR	
1312	TIRUVALLUR	33011005803	MUNICIPAL MIDDLE SCHOOL, ALL INDIA RADIO NAGAR, ENNORE	
1313	TIRUVALLUR	33011007701	MUNICIPAL MIDDLE SCHOOL,RAMANATHAPURAM	
1314	TIRUVALLUR	33011006001	MUNICIPAL. MIDDLE SCHOOL THIRUVOTRIYUR WEST	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1315	TIRUVALLUR	33010503601	PANCHAYAT UNION MIDDLE SCHOOL ANAIKATTUCHERY	
1316	TIRUVALLUR	33010500801	PANCHAYAT UNION MIDDLE SCHOOL KAMMAVAR KANDIGAI	
1317	TIRUVALLUR	33010502301	PANCHAYAT UNION MIDDLE SCHOOL MELMANAMBEDU	
1318	TIRUVALLUR	33010502701	PANCHAYAT UNION MIDDLE SCHOOL NADUKUTHAGAI	
1319	TIRUVALLUR	33010502801	PANCHAYAT UNION MIDDLE SCHOOL NAZARATHPET	
1320	TIRUVALLUR	33010500601	PANCHAYAT UNION MIDDLE SCHOOL PAPPANCHATRAM	
1321	TIRUVALLUR	33010503301	PANCHAYAT UNION MIDDLE SCHOOL PARIVAKKAM	
1322	TIRUVALLUR	33010508101	PANCHAYAT UNION MIDDLE SCHOOL PRAYAMBATH	
1323	TIRUVALLUR	33010503401	PANCHAYAT UNION MIDDLE SCHOOL SENEERKUPPAM	
1324	TIRUVALLUR	33010503402	PANCHAYAT UNION MIDDLE SCHOOL SENEERKUPPAM (NORTH)	
1325	TIRUVALLUR	33010508001	PANCHAYAT UNION MIDDLE SCHOOL THIRUMAZHISAI	
1326	TIRUVALLUR	33011000101	PANCHAYAT UNION MIDDLE SCHOOL, ALINJIVAKKAM	
1327	TIRUVALLUR	33010901201	PANCHAYAT UNION MIDDLE SCHOOL, NOLAMBUR	
1328	TIRUVALLUR	33011004501	PANCHAYAT UNION MIDDLE SCHOOL, PUZHAL	
1329	TIRUVALLUR	33011001101	PANCHAYAT UNION MIDDLE SCHOOL, SURAPET	
1330	TIRUVALLUR	33011102301	PUMS - KRISHNA SAMUTHRAM	
1331	TIRUVALLUR	33011102601	PUMS - MADDUR	
1332	TIRUVALLUR	33010800601	PUMS - NOCHIKUPPAM	
1333	TIRUVALLUR	33011107301	PUMS - R K STREET	
1334	TIRUVALLUR	33011103801	PUMS - SRINIVASAPURAM	
1335	TIRUVALLUR	33010805401	PUMS ANNAVARAM	
1336	TIRUVALLUR	33010800301	PUMS AYANALLUR	
1337	TIRUVALLUR	33010609201	PUMS ELAVAMBEDU	
1338	TIRUVALLUR	33010804201	PUMS KURUVATTUCHERRI	
1339	TIRUVALLUR	33010811601	PUMS L R MEDU	
1340	TIRUVALLUR	33010804901	PUMS MADHARPAKKAM	
1341	TIRUVALLUR	33010908904	PUMS MUGAPPAIR SECTOR - 9	
1342	TIRUVALLUR	33010303402	PUMS NARASINGAPURAM	
1343	TIRUVALLUR	33010807101	PUMS PANAPAKKAM	
1344	TIRUVALLUR	33010808701	PUMS PATHIRVEDU WEST	
1345	TIRUVALLUR	33010807801	PUMS PERIYAOBULAPURAM	
1346	TIRUVALLUR	33010807701	PUMS PETHIKUPPAM	
1347	TIRUVALLUR	33010305301	PUMS SATHARAI	
1348	TIRUVALLUR	33010810301	PUMS SIRUPUZHALPETTAI	
1349	TIRUVALLUR	33010810901	PUMS THANDALACHERRI	
1350	TIRUVALLUR	33010305601	PUMS THIRUMANIKUPPAM	
1351	TIRUVALLUR	33010307201	PUMS VENGATHUR KANDIGAI	
1352	TIRUVALLUR	33010900201	PUMS, ALATHUR	
1353	TIRUVALLUR	33010603801	PUMS, ARANGANKUPPAM	
1354	TIRUVALLUR	33010902301	PUMS, CHETTIYAR AGARAM	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1355	TIRUVALLUR	33011200701	PUMS, CHINNAMMAPET	
1356	TIRUVALLUR	33010704001	PUMS, GANDHI NAGAR	
1357	TIRUVALLUR	33011201301	PUMS, HARICHANDRAPURAM	
1358	TIRUVALLUR	33010605301	PUMS, JAMELAPATH	
1359	TIRUVALLUR	33011301101	PUMS, KARLAMPAKKAM	
1360	TIRUVALLUR	33010401701	PUMS, MELMALIGAIPATTU	
1361	TIRUVALLUR	33010910102	PUMS, MUGAPAIR SECTOR-2	
1362	TIRUVALLUR	33010910104	PUMS, MUGAPAIR SECTOR-4	
1363	TIRUVALLUR	33011203701	PUMS, NABALUR	
1364	TIRUVALLUR	33010703801	PUMS, NALLUR	
1365	TIRUVALLUR	33010404801	PUMS, NEYVELI	
1366	TIRUVALLUR	33011304601	PUMS, PANDRAVEDU	
1367	TIRUVALLUR	33010102501	PUMS, PUNNAPAKKAM	
1368	TIRUVALLUR	33010102901	PUMS, PUTLUR	
1369	TIRUVALLUR	33010206101	PUMS, RAMANJERI	
1370	TIRUVALLUR	33011307601	PUMS, RANGANATHAN STREET	
1371	TIRUVALLUR	33011001301	PUMS, SANMUGAPURAM	
1372	TIRUVALLUR	33010406401	PUMS, SEMBEDU	
1373	TIRUVALLUR	33010406501	PUMS, SOOLAIMENI	
1374	TIRUVALLUR	33010208101	PUMS, TB PURAM	
1375	TIRUVALLUR	33011206402	PUMS, THAZHAVEDU H/C	
1376	TIRUVALLUR	33010705701	PUMS, THIRUNILAI	
1377	TIRUVALLUR	33010610801	PUMS, THIRUPPALAIVANAM	
1378	TIRUVALLUR	33011207101	PUMS, VEERARAGAVAPURAM	
1379	TIRUVALLUR	33010600601	PUMS,ATHIPATTU REDDYPALAYAM	
1380	TIRUVALLUR	33011401201	PUMS,CHANDRAVILASAPURAM	
1381	TIRUVALLUR	33010613501	PUMS,CHINNAKAVANAM	
1382	TIRUVALLUR	33010601801	PUMS,ELIAMBEDU	
1383	TIRUVALLUR	33010600502	PUMS,ENNORE	
1384	TIRUVALLUR	33010700301	PUMS,JANAPPAN CHATRAM	
1385	TIRUVALLUR	33010704801	PUMS,MONDIAMMAN NAGAR	
1386	TIRUVALLUR	33010607202	PUMS,NEW NANDIAMBAKKAM	
1387	TIRUVALLUR	33010704701	PUMS,PADIANALLUR	
1388	TIRUVALLUR	33010613201	PUMS,PONNERI NORTH	
1389	TIRUVALLUR	33010911302	PUMS,POOTHAPEDU	
1390	TIRUVALLUR	33010705501	PUMS,SOTHUPERUMBEDU	
1391	TIRUVALLUR	33010612201	PUMS,VELUR	
1392	TIRUVANNAMALAI	33061603501	ADWMS KAYAMBATTU	
1393	TIRUVANNAMALAI	33061305101	ADWMS PANNIYUR	
1394	TIRUVANNAMALAI	33061801002	FOREST MS JAMMUNAMARATHUR	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1395	TIRUVANNAMALAI	33061802101	FOREST MS KILVILAMUCHI	
1396	TIRUVANNAMALAI	33061804401	FOREST MS PULIYUR	
1397	TIRUVANNAMALAI	33061002803	GOVT MIDDLE KETTAVARAMPALAYAM	
1398	TIRUVANNAMALAI	33061800201	GTRMS ARASUVELI	
1399	TIRUVANNAMALAI	33060706509	MMS ANANTHAPURAM SAIDAI ARNI	
1400	TIRUVANNAMALAI	33061411324	MMS THENIMALAI	
1401	TIRUVANNAMALAI	33061411311	MMS TOWN HALL TIRUVANNAMALAI	
1402	TIRUVANNAMALAI	33060706517	MMS, P A KOIL ST, ARNI	
1403	TIRUVANNAMALAI	33060207508	MMS-KODANAGAR	
1404	TIRUVANNAMALAI	33060507501	PUMS - THENNANGUR	
1405	TIRUVANNAMALAI	33060805802	PUMS VANNANKULAM	
1406	TIRUVANNAMALAI	33061400102	PUMS ADAIYUR	
1407	TIRUVANNAMALAI	33060700201	PUMS ADAYAPULAM	
1408	TIRUVANNAMALAI	33061700201	PUMS AGARAM PALLIPET	
1409	TIRUVANNAMALAI	33060900101	PUMS ALLINAGAR	
1410	TIRUVANNAMALAI	33060800301	PUMS AMMAPALAYAM	
1411	TIRUVANNAMALAI	33060500401	PUMS AMMAYAPATTU	
1412	TIRUVANNAMALAI	33061400901	PUMS ARADAPATTU	
1413	TIRUVANNAMALAI	33060800601	PUMS ARAIYALAM	
1414	TIRUVANNAMALAI	33060500601	PUMS ARASUR	
1415	TIRUVANNAMALAI	33060900601	PUMS ATHUVAMBADI	
1416	TIRUVANNAMALAI	33061401701	PUMS AYYAMPALAYAM PUDUR	
1417	TIRUVANNAMALAI	33061401801	PUMS AZHAGANANDAL	
1418	TIRUVANNAMALAI	33061701001	PUMS BONDHAI	
1419	TIRUVANNAMALAI	33061601501	PUMS CHE. AGARAM	
1420	TIRUVANNAMALAI	33061601701	PUMS CHE. TIRUVALLUVARNAGAR	
1421	TIRUVANNAMALAI	33061402001	PUMS CHINNAKALLAPADI	
1422	TIRUVANNAMALAI	33060901001	PUMS CHINNAPUSHPAGIRI	
1423	TIRUVANNAMALAI	33061701301	PUMS CHINNIYAMPETTAI	
1424	TIRUVANNAMALAI	33061501401	PUMS DEVANANDAL	
1425	TIRUVANNAMALAI	33060901801	PUMS EZUVAMBADI	
1426	TIRUVANNAMALAI	33060902001	PUMS GANESAPURAM	
1427	TIRUVANNAMALAI	33061001801	PUMS GENGAVARAM	
1428	TIRUVANNAMALAI	33061402801	PUMS ISUKAZHIKATTERI	
1429	TIRUVANNAMALAI	33061501801	PUMS JAPTHIKARIYANDAL	
1430	TIRUVANNAMALAI	33061402901	PUMS KADAGAMAN	
1431	TIRUVANNAMALAI	33061301601	PUMS KADAMBAI	
1432	TIRUVANNAMALAI	33061403201	PUMS KALLANAI	
1433	TIRUVANNAMALAI	33061502001	PUMS KALLARAPADI	
1434	TIRUVANNAMALAI	33061403301	PUMS KALLERI	

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1435	TIRUVANNAMALAI	33060902901	PUMS KALVASAL	
1436	TIRUVANNAMALAI	33060801402	PUMS KAMAKKURPALAYAM (WEST)	
1437	TIRUVANNAMALAI	33061403601	PUMS KANDIYANKUPPAM	
1438	TIRUVANNAMALAI	33060903301	PUMS KANNIGAPURAM	
1439	TIRUVANNAMALAI	33060903501	PUMS KATTIPOONDI	
1440	TIRUVANNAMALAI	33061102301	PUMS KILPATTU	
1441	TIRUVANNAMALAI	33060503401	PUMS KILSEMBEDU	
1442	TIRUVANNAMALAI	33061703302	PUMS KILVANAKKAMBADI	
1443	TIRUVANNAMALAI	33060503801	PUMS KOTTAI	
1444	TIRUVANNAMALAI	33061703601	PUMS KOTTAIYUR	
1445	TIRUVANNAMALAI	33061603801	PUMS KOTTAVUR	
1446	TIRUVANNAMALAI	33061703701	PUMS KUBERAPATTINAM	
1447	TIRUVANNAMALAI	33060904201	PUMS KURUVIMALAI	
1448	TIRUVANNAMALAI	33061203401	PUMS M.PUDUR	
1449	TIRUVANNAMALAI	33061604501	PUMS MANMALAI	
1450	TIRUVANNAMALAI	33061003901	PUMS MATTAVETTU	
1451	TIRUVANNAMALAI	33061405401	PUMS MELCHETTIPATTU	
1452	TIRUVANNAMALAI	33061405501	PUMS MELKACHIRAPATTU	
1453	TIRUVANNAMALAI	33061704501	PUMS MELKARIPUR	
1454	TIRUVANNAMALAI	33061704701	PUMS MELPACHAR	
1455	TIRUVANNAMALAI	33061605302	PUMS MELPUZHUTHIYUR	
1456	TIRUVANNAMALAI	33061605501	PUMS MELVANAKKAMPADI	
1457	TIRUVANNAMALAI	33061004601	PUMS MELVANNIYANUR	
1458	TIRUVANNAMALAI	33061103901	PUMS MODAIYUR	
1459	TIRUVANNAMALAI	33061503301	PUMS MUNNURMANGALAM	
1460	TIRUVANNAMALAI	33061406001	PUMS NACHANANDAL	
1461	TIRUVANNAMALAI	33061503601	PUMS NAGAPADI	
1462	TIRUVANNAMALAI	33060905101	PUMS NARANAMANGALAM	
1463	TIRUVANNAMALAI	33061705401	PUMS -NAVAKOLLAI	
1464	TIRUVANNAMALAI	33061605901	PUMS NEW KUILAM	
1465	TIRUVANNAMALAI	33060803702	PUMS ONNUPURAM	
1466	TIRUVANNAMALAI	33061504201	PUMS PADIAGRAHARAM	
1467	TIRUVANNAMALAI	33061205401	PUMS PALAYAMANNAI	
1468	TIRUVANNAMALAI	33060703901	PUMS PANAIYUR	
1469	TIRUVANNAMALAI	33061005501	PUMS PATHIYAVADI	
1470	TIRUVANNAMALAI	33061407501	PUMS PAVUPATTU	
1471	TIRUVANNAMALAI	33061005702	PUMS PAZHANKOIL	
1472	TIRUVANNAMALAI	33061705901	PUMS PERAYAMPATTU	
1473	TIRUVANNAMALAI	33061606801	PUMS PERUMPAKKAM	
1474	TIRUVANNAMALAI	33061607001	PUMS PINJUR	

	List of 1784 e	elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1475	TIRUVANNAMALAI	33060804201	PUMS PUDUPALAYAM
1476	TIRUVANNAMALAI	33061607401	PUMS PUDUPATTU
1477	TIRUVANNAMALAI	33061706401	PUMS PUTHUR CHEKKADI
1478	TIRUVANNAMALAI	33061706501	PUMS RADHAPURAM
1479	TIRUVANNAMALAI	33060205101	PUMS RAMAKRISHNAPURAM
1480	TIRUVANNAMALAI	33061409101	PUMS SAMUKKUDAIYAMPATTU
1481	TIRUVANNAMALAI	33061400403	PUMS SATHIYA NAGAR
1482	TIRUVANNAMALAI	33061409301	PUMS SAVALPOONDI
1483	TIRUVANNAMALAI	33061306301	PUMS SIRUNATHUR
1484	TIRUVANNAMALAI	33060205601	PUMS SIRUVELIYANALLUR
1485	TIRUVANNAMALAI	33061408601	PUMS SU. NALLUR
1486	TIRUVANNAMALAI	33061707701	PUMS T.VELUR
1487	TIRUVANNAMALAI	33061608101	PUMS THALAVANAICKENPETTAI
1488	TIRUVANNAMALAI	33060206001	PUMS THANDARAI
1489	TIRUVANNAMALAI	33061608001	PUMS THAZAIYUTHU
1490	TIRUVANNAMALAI	33061608301	PUMS THEETHANDAPATTU
1491	TIRUVANNAMALAI	33060108202	PUMS THIRUPPANAMOOR
1492	TIRUVANNAMALAI	33060705601	PUMS THUNTHAREEGAMPATTU
1493	TIRUVANNAMALAI	33061207301	PUMS THURINJAPURAM
1494	TIRUVANNAMALAI	33061608601	PUMS UCHIMALAIKUPPAM
1495	TIRUVANNAMALAI	33061207401	PUMS USAMBADI
1496	TIRUVANNAMALAI	33061207601	PUMS V.NAMMIYANDAL
1497	TIRUVANNAMALAI	33061207901	PUMS VADA ANDAPATTU
1498	TIRUVANNAMALAI	33061608901	PUMS VALAYAMPATTU
1499	TIRUVANNAMALAI	33061709001	PUMS VARAGUR
1500	TIRUVANNAMALAI	33061709501	PUMS VAZHAVACHANUR
1501	TIRUVANNAMALAI	33061709201	PUMS VEERANAM
1502	TIRUVANNAMALAI	33061505701	PUMS VEERANANDAL
1503	TIRUVANNAMALAI	33061410601	PUMS VELAYAMBAKKAM
1504	TIRUVANNAMALAI	33061410701	PUMS VENGIKKAL
1505	TIRUVANNAMALAI	33061410901	PUMS VERAIYUR
1506	TIRUVANNAMALAI	33060408301	PUMS VILANALLUR
1507	TIRUVARUR	33200605333	MMS,GOPALA SAMUDRAM MANNARGUDI
1508	TIRUVARUR	33200303001	PUMS AMMAIYAPPAN EAST
1509	TIRUVARUR	33200100601	PUMS AVOOR
1510	TIRUVARUR	33200303902	PUMS KULIKKARAI WEST
1511	TIRUVARUR	33200605210	PUMS MARAKKADAI
1512	TIRUVARUR	33200305101	PUMS MUSIRIAM
1513	TIRUVARUR	33200102601	PUMS NARTHANGUDI
1514	TIRUVARUR	33200302201	PUMS PAVITHRAMANICKAM

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1515	TIRUVARUR	33201003005	PUMS PETTAI	
1516	TIRUVARUR	33200302901	PUMS THIRUVIDAIVASAL	
1517	TIRUVARUR	33200303503	PUMS VENNAVASAL	
1518	TIRUVARUR	33200700203	PUMS, AGRAPODAKKUDI	
1519	TIRUVARUR	33200402701	PUMS, KOILTHIRUMALAM	
1520	TIRUVARUR	33200801802	PUMS, MANNUKUMUNDAN	
1521	TIRUVARUR	33200704001	PUMS, MELAPOOVANOOR	
1522	TIRUVARUR	33200803001	PUMS, PERUGAVALNTHAN	
1523	TIRUVARUR	33200200302	PUMS, RADHANALLUR	
1524	TIRUVARUR	33200803601	PUMS, SENTHANGUDI	
1525	TIRUVARUR	33200700702	PUMS, SONAPPETTAI	
1526	TIRUVARUR	33200100101	PUMS,ARAVOOR	
1527	TIRUVARUR	33201000301	PUMS,EDAIYUR	
1528	TIRUVARUR	33201000406	PUMS,KARPAGA-KADUVETTI	
1529	TIRUVARUR	33201003008	PUMS,MARUTHANGAVELI	
1530	TIRUVARUR	33200405101	PUMS,MOONGILGUDI	
1531	TIRUVARUR	33201003002	PUMS,NEW STREET	
1532	TIRUVARUR	33200401301	PUMS,PAVATTAKUDI	
1533	TIRUVARUR	33200700303	PUMS,PODAKKUDI SOUTH SSA	
1534	TIRUVARUR	33200703701	PUMS,THENKARAVAYAL	
1535	TIRUVARUR	33200401701	PUMS,THIRUMEEACHUR	
1536	TIRUVARUR	33201002401	PUMS,UDHAYAMARTHANDAPURAM	
1537	TIRUVARUR	33200600601	PUMS.ARICHANDRAPURAM	
1538	TIRUVARUR	33200602001	PUMS.MARAVAKADU	
1539	TIRUVARUR	33200600702	PUMS.PAMANI	
1540	VELLORE	33040901002	ADWMS KARUKAMBATHUR	
1541	VELLORE	33041600604	ADWMS MASIGAM	
1542	VELLORE	33040804502	ADWMS VEPPOOR	
1543	VELLORE	33041800903	FOREST MS, PERUMPALLI	
1544	VELLORE	33041800901	FORESTMS, THAGARAKUPPAM	
1545	VELLORE	33040901103	GADWMS SHENBAKKAM	
1546	VELLORE	33041703410	MMS BETHELEHEM	
1547	VELLORE	33041000127	MMS KALASPALAYAM	
1548	VELLORE	33040600301	MMS MARKET WALAJAH	
1549	VELLORE	33040600305	MMS MIXED WALAJAH	
1550	VELLORE	33041901510	MMS MUSLIM GIRLS BASHEERABAD	
1551	VELLORE	33041901516	MMS MUSLIM GIRLS FORT	
1552	VELLORE	33041901517	MMS MUSLIM GIRLS KHADERPET	
1553	VELLORE	33041901534	MMS NETHAJI NAGAR NORTH	
1554	VELLORE	33041703402	MMS PANNEER SELVAM NAGAR	

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1555	VELLORE	33041901521	MMS PERUMALPET
1556	VELLORE	33041703405	MMS SANDRORKUPPAM
1557	VELLORE	33041000107	MUNICIPAL MIDDLE SCHOOL EDA STREET, SAIDAPET, VELLORE
1558	VELLORE	33041000108	MUNICIPAL MIDDLE SCHOOL, ETTIYAMMAN KOIL STREET, THOTTAPALAYAM, VELLORE
1559	VELLORE	33042102007	MUNICIPAL OLD MUSLIM BOYS' MIDDLE SCHOOL, MOSQUE STREET
1560	VELLORE	33042102008	MUNICIPAL OLD MUSLIM GIRLS' MIDDLE SCHOOL, MOSQUE STREET,
1561	VELLORE	33041000128	MUNIICIPAL MIDDLE SCHOOL AMBEDKAR NAGAR, VELLORE
1562	VELLORE	33040500905	PUMMS KALMELKUPPAM
1563	VELLORE	33041203801	PUMS VASANTHANADAI
1564	VELLORE	33040901401	PUMS ABDULLAPURAM
1565	VELLORE	33041503801	PUMS ANANGANALLORE
1566	VELLORE	33040900701	PUMS ANPOONDI
1567	VELLORE	33041300801	PUMS Aruppumedu
1568	VELLORE	33041101102	PUMS BAGAYAM
1569	VELLORE	33041201103	PUMS BASAVANKOTTAI
1570	VELLORE	33040503001	PUMS CHENNASAMUTHARAM
1571	VELLORE	33040704003	PUMS CHENNASAMUTHRAM
1572	VELLORE	33042201004	PUMS CHINNAKASINAYAKKANPATTI
1573	VELLORE	33041604901	PUMS CHINNAVARIGAM
1574	VELLORE	33040404201	PUMS G.C. KUPPAM
1575	VELLORE	33042203703	PUMS KALARPATHI
1576	VELLORE	33041300803	PUMS Kalinjur
1577	VELLORE	33042101602	PUMS KALIYAMMAN KOIL NAGAR
1578	VELLORE	33040101303	PUMS KAVANOOR NARASINGAPURAM
1579	VELLORE	33042100507	PUMS KAVARAIYUR
1580	VELLORE	33041201402	PUMS KOTTAVOOR
1581	VELLORE	33041503502	PUMS MELALATHUR (H)
1582	VELLORE	33040706401	PUMS MELAPALANTHAI
1583	VELLORE	33040706202	PUMS MELPUDUPAKKAM
1584	VELLORE	33041601301	PUMS MORTHANA
1585	VELLORE	33040800401	PUMS MUPPADHUVETTI
1586	VELLORE	33041602301	PUMS MV KUPPAM
1587	VELLORE	33041100301	PUMS NANJUKONDAPURAM
1588	VELLORE	33040500802	PUMS NARASINGAPURAM / AMMOOR
1589	VELLORE	33041901901	PUMS NARAYANAPURAM
1590	VELLORE	33040200802	PUMS NEDUMPULI
1591	VELLORE	33041602002	PUMS ODDARPALAYAM
1592	VELLORE	33041101101	PUMS PALAVANSATHU

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME		
1593	VELLORE	33040701302	PUMS PARADHARAMI		
1594	VELLORE	33041604501	PUMS PERIYAVARIGAM		
1595	VELLORE	33041201901	PUMS PINNATHURAI		
1596	VELLORE	33042101305	PUMS PUDUR MARIMANIKUPPAM		
1597	VELLORE	33040900101	PUMS PULIMEDU		
1598	VELLORE	33041901603	PUMS PULLUR		
1599	VELLORE	33040706602	PUMS RAGHUNATHAPURAM		
1600	VELLORE	33041504105	PUMS RAMALAI		
1601	VELLORE	33040902201	PUMS SATHUVACHARI(E)		
1602	VELLORE	33041203601	PUMS SEDUVALAI		
1603	VELLORE	33040901102	PUMS SHENBAKKAM		
1604	VELLORE	33041301001	PUMS T.K.Puram		
1605	VELLORE	33040800201	PUMS TAJPURA		
1606	VELLORE	33040400803	PUMS THEEYARKUPPAM		
1607	VELLORE	33042100404	PUMS THIRUMAL NAGAR		
1608	VELLORE	33042200503	PUMS THOKKIYAM		
1609	VELLORE	33040902002	PUMS THORAPADI		
1610	VELLORE	33041100701	PUMS THUTHIKADU		
1611	VELLORE	33040900301	PUMS USSOOR		
1612	VELLORE	33040502605	PUMS V.C.MOTTUR		
1613	VELLORE	33040404104	PUMS VANGHUR		
1614	VELLORE	33041201801	PUMS VARADHALAMPATTU		
1615	VELLORE	33040700402	PUMS VARAGUR PUDUR		
1616	VELLORE	33041200105	PUMS VETTUVANAM		
1617	VELLORE	33042101504	PUMS VILLANKUPPAM		
1618	VELLORE	33042101103	PUMS VINAYAGAPURAM		
1619	VELLORE	33040902203	PUMS VOC NAGAR, SATHUVACHARI		
1620	VELLORE	33042100803	PUMS, PAZHAYA ATHIKUPPAM		
1621	VELLORE	33040205302	PUMS, ARIGILAPADI		
1622	VELLORE	33040204401	PUMS, ASANELLIKUPPAM		
1623	VELLORE	33042001501	PUMS, CHINNAVEPPAMPATTU		
1624	VELLORE	33041801304	PUMS, INDIRA NAGAR		
1625	VELLORE	33042000505	PUMS, JOLARPET (SOUTH)		
1626	VELLORE	33042002602	PUMS, KALNARSAMPATTI		
1627	VELLORE	33042200401	PUMS, KANDHILI		
1628	VELLORE	33042000902	PUMS, KATTERI WEST		
1629	VELLORE	33042000102	PUMS, KAVERIPET		
1630	VELLORE	33040203902	PUMS, KILVENPAKKAM		
1631	VELLORE	33042000301	PUMS, MANDALAVADI		
1632	VELLORE	33040300702	PUMS, MARANKANDIGAI		

	List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22			
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1633	VELLORE	33041800202	PUMS, MATHAKADAPPA	
1634	VELLORE	33041802401	PUMS, NARASINGAPURAM	
1635	VELLORE	33042000512	PUMS, OOSINATTAN KOTTAI	
1636	VELLORE	33040200501	PUMS, POIGAINALLUR	
1637	VELLORE	33042000202	PUMS, POONAIKUTTAIPALAM	
1638	VELLORE	33042002304	PUMS, PUDUPETTAI	
1639	VELLORE	33040203503	PUMS, REDDIVALAM	
1640	VELLORE	33042001202	PUMS, SANJEEVANUR	
1641	VELLORE	33040300604	PUMS, SEMBEDU	
1642	VELLORE	33040202901	PUMS, SIRUNAMALLI	
1643	VELLORE	33040300606	PUMS, SOGANUR	
1644	VELLORE	33040804301	PUMS, THAZHANOOR	
1645	VELLORE	33041801301	PUMS, VALAYAMPATTU	
1646	VELLORE	33041801002	PUMS, VAZHUTHALAMPATTU	
1647	VELLORE	33042002107	PUMS, VEPPALNATHAM	
1648	VELLORE	33041704301	PUMS,ALANKUPPAM.	
1649	VELLORE	33041704201	PUMS,SOLUR.	
1650	VELLORE	33040301004	PUMS-AYIPEDU	
1651	VELLORE	33040301502	PUMS-KUNNATHUR COLONY	
1652	VELLORE	33040304401	PUMS-MAMANDUR	
1653	VELLORE	33040302801	PUMS-SIRUVALAYAM	
1654	VELLORE	33040313501	PUMS-THANDALAM	
1655	VILLUPURAM	33070605903	ADI DRAVIDA WELFARE MIDDLE SCHOOL KAZHIKUPPAM	
1656	VILLUPURAM	33071903101	GOVERNMENT MIDDLE SCHOOL ERANJI	
1657	VILLUPURAM	33071502402	GOVERNMENT TRIBAL RESIDENTIAL MIDDLE SCHOOL ARASAMPATTU	
1658	VILLUPURAM	33071507701	GOVERNMENT TRIBAL RESIDENTIAL MIDDLE SCHOOL PARANGINATHAM	
1659	VILLUPURAM	33071206701	PANCHAYAT UNION MIDDLE SCHOOL ALAMPADI	
1660	VILLUPURAM	33071203101	PANCHAYAT UNION MIDDLE SCHOOL DEVANUR	
1661	VILLUPURAM	33071205201	PANCHAYAT UNION MIDDLE SCHOOL ODIYATHUR	
1662	VILLUPURAM	33071204201	PANCHAYAT UNION MIDDLE SCHOOL S. KOLLUR	
1663	VILLUPURAM	33071206301	PANCHAYAT UNION MIDDLE SCHOOL VEERANGIPURAM	
1664	VILLUPURAM	33071704105	PANCHAYAT UNION MIDDLE SCHOOL A. PUTHANTHDUR	
1665	VILLUPURAM	33070804701	PANCHAYAT UNION MIDDLE SCHOOL AGARAM SITHAMOOR	
1666	VILLUPURAM	33071304801	PANCHAYAT UNION MIDDLE SCHOOL ALOOR	
1667	VILLUPURAM	33071303502	PANCHAYAT UNION MIDDLE SCHOOL AVI.PUDHUR	
1668	VILLUPURAM	33071104601	PANCHAYAT UNION MIDDLE SCHOOL C.B.SAMUDRAM	
1669	VILLUPURAM	33071304602	PANCHAYAT UNION MIDDLE SCHOOL KACHIKUPPAM	
1670	VILLUPURAM	33071305101	PANCHAYAT UNION MIDDLE SCHOOL KADIYAR	
1671	VILLUPURAM	33070803801	PANCHAYAT UNION MIDDLE SCHOOL KANGIYANUR	

	List of 1784 (elementary schools	recommended for ICT, Tamilnadu: 2021-22
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1672	VILLUPURAM	33071403101	PANCHAYAT UNION MIDDLE SCHOOL KARAPPATTU
1673	VILLUPURAM	33071303101	PANCHAYAT UNION MIDDLE SCHOOL MADAMPOONDI
1674	VILLUPURAM	33071900303	PANCHAYAT UNION MIDDLE SCHOOL PRITHIVIMANGALAM (COLONY)
1675	VILLUPURAM	33072104801	PANCHAYAT UNION MIDDLE SCHOOL PUGAIPATTI
1676	VILLUPURAM	33070106701	PANCHAYAT UNION MIDDLE SCHOOL THAZHANGUNAM
1677	VILLUPURAM	33071103901	PANCHAYAT UNION MIDDLE SCHOOL V.MATHUR
1678	VILLUPURAM	33071300901	PANCHAYAT UNION MIDDLE SCHOOL VADAMARUDHUR
1679	VILLUPURAM	33071504701	PANCHAYAT UNION MIDDLE SCHOOL (URUDHU)VADAPONPARAPPI
1680	VILLUPURAM	33071400601	PANCHAYAT UNION MIDDLE SCHOOL AMOOR
1681	VILLUPURAM	33071204101	PANCHAYAT UNION MIDDLE SCHOOL ANTHILI
1682	VILLUPURAM	33071600701	PANCHAYAT UNION MIDDLE SCHOOL ANTHIYUR
1683	VILLUPURAM	33071600301	PANCHAYAT UNION MIDDLE SCHOOL ARKAVADI
1684	VILLUPURAM	33070701501	PANCHAYAT UNION MIDDLE SCHOOL ARUVAPAKKAM
1685	VILLUPURAM	33071603501	PANCHAYAT UNION MIDDLE SCHOOL AVIRIYUR
1686	VILLUPURAM	33071901101	PANCHAYAT UNION MIDDLE SCHOOL CHINNAMAMPATTU
1687	VILLUPURAM	33072203801	PANCHAYAT UNION MIDDLE SCHOOL DEVIYANANDAL
1688	VILLUPURAM	33071602301	PANCHAYAT UNION MIDDLE SCHOOL EDUTHANUR
1689	VILLUPURAM	33071000503	PANCHAYAT UNION MIDDLE SCHOOL ELANGADU
1690	VILLUPURAM	33071601502	PANCHAYAT UNION MIDDLE SCHOOL ELAYANARKUPPAM
1691	VILLUPURAM	33072204001	PANCHAYAT UNION MIDDLE SCHOOL ESWARAKANDANALLUR
1692	VILLUPURAM	33070207001	PANCHAYAT UNION MIDDLE SCHOOL GINGEE
1693	VILLUPURAM	33071800101	PANCHAYAT UNION MIDDLE SCHOOL KADATHUR
1694	VILLUPURAM	33071303901	PANCHAYAT UNION MIDDLE SCHOOL KANAGANANDAL
1695	VILLUPURAM	33072106501	PANCHAYAT UNION MIDDLE SCHOOL KANAIYAR
1696	VILLUPURAM	33071904301	PANCHAYAT UNION MIDDLE SCHOOL KANANGUR
1697	VILLUPURAM	33071104901	PANCHAYAT UNION MIDDLE SCHOOL KANDAMANGALAM
1698	VILLUPURAM	33071702601	PANCHAYAT UNION MIDDLE SCHOOL KATTANANDAL
1699	VILLUPURAM	33070200601	PANCHAYAT UNION MIDDLE SCHOOL KATTUCHITHAMUR
1700	VILLUPURAM	33071603603	PANCHAYAT UNION MIDDLE SCHOOL KEELATHENUR
1701	VILLUPURAM	33071802401	PANCHAYAT UNION MIDDLE SCHOOL KEELKUPPAM
1702	VILLUPURAM	33072201302	PANCHAYAT UNION MIDDLE SCHOOL KILAPPALAYAM
1703	VILLUPURAM	33070703201	PANCHAYAT UNION MIDDLE SCHOOL KODUR
1704	VILLUPURAM	33070702401	PANCHAYAT UNION MIDDLE SCHOOL KONJIMANGALAM
1705	VILLUPURAM	33072102401	PANCHAYAT UNION MIDDLE SCHOOL KOOTHANUR
1706	VILLUPURAM	33071502501	PANCHAYAT UNION MIDDLE SCHOOL KOSAPADI
1707	VILLUPURAM	33072101803	PANCHAYAT UNION MIDDLE SCHOOL KUNJARAM (H)
1708	VILLUPURAM	33071603601	PANCHAYAT UNION MIDDLE SCHOOL LA.GUDALUR
1709	VILLUPURAM	33071503801	PANCHAYAT UNION MIDDLE SCHOOL LAKKINAICKANPATTI
1710	VILLUPURAM	33071702001	PANCHAYAT UNION MIDDLE SCHOOL MADUR

	List of 1784	recommended for ICT, Tamilnadu: 2021-22	
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1711	VILLUPURAM	33070904901	PANCHAYAT UNION MIDDLE SCHOOL MADURAPAKKAM
1712	VILLUPURAM	33071505101	PANCHAYAT UNION MIDDLE SCHOOL MANALUR
1713	VILLUPURAM	33071200101	PANCHAYAT UNION MIDDLE SCHOOL MELANDAL
1714	VILLUPURAM	33071904001	PANCHAYAT UNION MIDDLE SCHOOL MUDIYANUR
1715	VILLUPURAM	33070504401	PANCHAYAT UNION MIDDLE SCHOOL NADUVANANDAL
1716	VILLUPURAM	33071104501	PANCHAYAT UNION MIDDLE SCHOOL NAVAMALMARUTHUR
1717	VILLUPURAM	33070904401	PANCHAYAT UNION MIDDLE SCHOOL ORATHUR
1718	VILLUPURAM	33072201201	PANCHAYAT UNION MIDDLE SCHOOL PACHAPALAYAM
1719	VILLUPURAM	33070905401	PANCHAYAT UNION MIDDLE SCHOOL PAGANDAI
1720	VILLUPURAM	33070201502	PANCHAYAT UNION MIDDLE SCHOOL PAKKAM
1721	VILLUPURAM	33071600901	PANCHAYAT UNION MIDDLE SCHOOL PAKKAM
1722	VILLUPURAM	33070904301	PANCHAYAT UNION MIDDLE SCHOOL PAPPANAPATTU
1723	VILLUPURAM	33071604401	PANCHAYAT UNION MIDDLE SCHOOL PASAR
1724	VILLUPURAM	33071401901	PANCHAYAT UNION MIDDLE SCHOOL PENNAIVALAM
1725	VILLUPURAM	33072100101	PANCHAYAT UNION MIDDLE SCHOOL PERIYAKURUKKAI
1726	VILLUPURAM	33070703802	PANCHAYAT UNION MIDDLE SCHOOL PERUMPAKKAM (C)
1727	VILLUPURAM	33072202601	PANCHAYAT UNION MIDDLE SCHOOL PERUMPATTU
1728	VILLUPURAM	33071701602	PANCHAYAT UNION MIDDLE SCHOOL PERUVANGUR COLONY
1729	VILLUPURAM	33071904601	PANCHAYAT UNION MIDDLE SCHOOL PORASAKURICHI
1730	VILLUPURAM	33071604801	PANCHAYAT UNION MIDDLE SCHOOL PRIVIDAYAMPAT
1731	VILLUPURAM	33072106901	PANCHAYAT UNION MIDDLE SCHOOL PU.KILLANUR
1732	VILLUPURAM	33071504001	PANCHAYAT UNION MIDDLE SCHOOL RANGAPPANUR
1733	VILLUPURAM	33071503901	PANCHAYAT UNION MIDDLE SCHOOL RAVATHANALLUR
1734	VILLUPURAM	33071205801	PANCHAYAT UNION MIDDLE SCHOOL SATHIYAKANDANUR
1735	VILLUPURAM	33071601501	PANCHAYAT UNION MIDDLE SCHOOL SEERPANANTHAL
1736	VILLUPURAM	33072203301	PANCHAYAT UNION MIDDLE SCHOOL SEMMANANDAL
1737	VILLUPURAM	33071705401	PANCHAYAT UNION MIDDLE SCHOOL SIRUMANGALAM
1738	VILLUPURAM	33071405401	PANCHAYAT UNION MIDDLE SCHOOL SIRUVANUR
1739	VILLUPURAM	33070504801	PANCHAYAT UNION MIDDLE SCHOOL SITHANI
1740	VILLUPURAM	33071304001	PANCHAYAT UNION MIDDLE SCHOOL SIVANARTHANGAL
1741	VILLUPURAM	33070201401	PANCHAYAT UNION MIDDLE SCHOOL SO.KUPPAM
1742	VILLUPURAM	33071605401	PANCHAYAT UNION MIDDLE SCHOOL SOOLANKURICHI
1743	VILLUPURAM	33072100501	PANCHAYAT UNION MIDDLE SCHOOL T PALLAVADI
1744	VILLUPURAM	33070701201	PANCHAYAT UNION MIDDLE SCHOOL T. PARANGANI
1745	VILLUPURAM	33071700601	PANCHAYAT UNION MIDDLE SCHOOL THAVADIPATTU
1746	VILLUPURAM	33071502001	PANCHAYAT UNION MIDDLE SCHOOL THIYAGARAJAPURAM
1747	VILLUPURAM	33070904101	PANCHAYAT UNION MIDDLE SCHOOL THORAVI
1748	VILLUPURAM	33071400701	PANCHAYAT UNION MIDDLE SCHOOL THULANGAMPATTU
1749	VILLUPURAM	33070902701	PANCHAYAT UNION MIDDLE SCHOOL ULAGALAMPOONDI
1750	VILLUPURAM	33071300101	PANCHAYAT UNION MIDDLE SCHOOL VADAKKUNEMILI

List of 1784 elementary schools recommended for ICT, Tamilnadu: 2021-22				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME	
1751	VILLUPURAM	33072102801	PANCHAYAT UNION MIDDLE SCHOOL VADAKURUMBUR	
1752	VILLUPURAM	33071601201	PANCHAYAT UNION MIDDLE SCHOOL VADAMAMANDUR	
1753	VILLUPURAM	33071502601	PANCHAYAT UNION MIDDLE SCHOOL VADASIRUVALLUR	
1754	VILLUPURAM	33071202201	PANCHAYAT UNION MIDDLE SCHOOL VASANTHAKRISHNAPURAM	
1755	VILLUPURAM	33071702101	PANCHAYAT UNION MIDDLE SCHOOL VEERACHOLAPURAM	
1756	VILLUPURAM	33070800901	PANCHAYAT UNION MIDDLE SCHOOL VELLAIYAMPATTU	
1757	VILLUPURAM	33071901601	PANCHAYAT UNION MIDDLE SCHOOL VENGAIVADI	
1758	VILLUPURAM	33071800701	PANCHAYAT UNION MIDDLE SCHOOL VETTIPERUMALAGARAM	
1759	VILLUPURAM	33071901301	PANCHAYAT UNION MIDDLE SCHOOL VILAKKUR	
1760	VILLUPURAM	33071303301	PANCHAYAT UNION MIDDLE SCHOOLL EDAIYUR	
1761	VIRUDHUNAGAR	33260803602	A.D.W.M.S.KOTTAIYUR	
1762	VIRUDHUNAGAR	33261009501	P U M S NATHIKUDI	
1763	VIRUDHUNAGAR	33261010606	P U M S PARAIPATTI	
1764	VIRUDHUNAGAR	33260904301	P.U.M.S JAMEENSALVARPATTI	
1765	VIRUDHUNAGAR	33260800105	P.U.M.S KANSAPURAM	
1766	VIRUDHUNAGAR	33261006702	P.U.M.S KOTHAINATCHIYARPURAM	
1767	VIRUDHUNAGAR	33260602703	P.U.M.S,ASILAPURAM	
1768	VIRUDHUNAGAR	33260901204	P.U.M.S.MATHIYASENAI	
1769	VIRUDHUNAGAR	33260800603	P.U.M.S.NEDUNKULAM	
1770	VIRUDHUNAGAR	33260905603	P.U.M.S.SENGAMALAMNATCHIYARPURAM	
1771	VIRUDHUNAGAR	33260802501	P.U.M.S.THAMBIPATTI	
1772	VIRUDHUNAGAR	33260908501	P.U.M.S.VADAPATTI	
1773	VIRUDHUNAGAR	33260306601	PANCHAYAT UNION MIDDLE SCHOOL MILL COLONY	
1774	VIRUDHUNAGAR	33260305601	PANCHAYAT UNION MIDDLE SCHOOL THANDIYANENTHAL	
1775	VIRUDHUNAGAR	33260707401	PANCHAYAT UNION MIDDLE SCHOOL, AKKARAIPATTY	
1776	VIRUDHUNAGAR	33260301101	PANCHAYAT UNION MIDDLE SCHOOL, ARASAKULAM	
1777	VIRUDHUNAGAR	33260312601	PANCHAYAT UNION MIDDLE SCHOOL, KARIAPATTI	
1778	VIRUDHUNAGAR	33261100405	PANCHAYAT UNION MIDDLE SCHOOL, METTAMALAI	
1779	VIRUDHUNAGAR	33260205903	PUMS O.KOVILPATTI	
1780	VIRUDHUNAGAR	33260408901	PUMS PULIKURICHI	
1781	VIRUDHUNAGAR	33260406001	PUMS SENKULAM	
1782	VIRUDHUNAGAR	33260507302	PUMS VEERACHOLAN WEST	
1783	VIRUDHUNAGAR	33260204701	PUMS, THATHAMPATTI	
1784	VIRUDHUNAGAR	33260612765	VIII WARD MUNICIPAL MID SCH, RAJAPALAYAM	

School approved under ICT, Secondary

LIST OF 109 secondary schools recommended for ICT, Tamil Nadu: 2021-22

CI NO	T	T	school NAME
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1	ARIYALUR	33320801916	ADWHS VILANTHAI
2	ARIYALUR	33320907303	GHS DEVAMANGALAM-S
3	ARIYALUR	33320801102	GHS SILAMBUR
4	ARIYALUR	33320703502	GHS THELUR
5	COIMBATORE	33121702034	BHAGWAN MAHAVEER MUNICIPAL HIGH SCHOOL, SANKAR NAGAR
6	COIMBATORE	33120100906	CORPORATION GIRLS HIGH SCHOOL PULIAKULAM
7	COIMBATORE	33120101505	CORPORATION HIGH SCHOOL ANUPPARPALAYAM
8	COIMBATORE	33120401206	CORPORATION HIGH SCHOOL, RAMASAMY NAGAR, NALLAMPALAYAM ROAD.
9	COIMBATORE	33120200606	GHS OTHAKKALMANDAPAM
10	COIMBATORE	33121702033	MUNICIPAL HIGH SCHOOL MANI NAGAR
11	CUDDALORE	33180703003	ADW GHS THEEVALUR
12	CUDDALORE	33181303704	ADWHS M.KOLAKKUDI
13	CUDDALORE	33180504602	GHS AMBALAVANANPETTAI
14	CUDDALORE	33180502603	GHS KALKUNAM
15	CUDDALORE	33180704702	GHS MANNAMBADI
16	CUDDALORE	33180501305	GHS NAGAMMAPETTAI
17	CUDDALORE	33181403705	GHS OMAMPULIYUR
18	CUDDALORE	33180905202	GHS PERIYAKAPPANKULAM
19	CUDDALORE	33180701602	GHS-PE.POOVANUR
20	CUDDALORE	33180801803	GOVERNMENT HIGH SCHOOL, PANAIYANTHUR
21	CUDDALORE	33180301006	GOVERNMENT HIGH SCHOOL PUDHUPALAYAM
22	CUDDALORE	33180607202	GOVERNMENT HIGH SCHOOL VANNANKUDIKADU
23	CUDDALORE	33181201802	GOVERNMENT HIGH SCHOOL- VILAGAM
24	CUDDALORE	33180802305	MANGALORE MODEL SCHOOL, M.PODAIYUR
25	DHARMAPURI	33050204202	GHS GOOLIKOTTAI
26	DHARMAPURI	33050506702	GHS MADHAGIRI
27	DHARMAPURI	33050611302	GHS VEPPILAIPATTY
28	DHARMAPURI	33050612202	GHSS NATHAMEDU
29	DHARMAPURI	33050703301	GTRHS KALASAPADI
30	DINDIGUL	33130701908	ADI WEL HS,ALAGAMPATTI
31	DINDIGUL	33130300415	GHS, NALLAMPATTY
32	DINDIGUL	33131100107	GHS,KOOVAKURUMBAPATTI
33	DINDIGUL	33130100308	GOVT. KALLAR HIGH SCHOOL, NELLUR
34	DINDIGUL	33130300712	GOVT. KALLAR HIGHER SECONDARY SCHOOL, CHENNAMANAYAKANPATTI
35	DINDIGUL	33130200613	GOVT.ADWHS, V.KURUMBAPATTI
36	ERODE	33100703705	GOVERNMENT HIGH SCHOOL FOR HEARING IMPAIRED, R.N. PUDUR,ERODE

LIST OF 109 secondary schools recommended for ICT, Tamil Nadu: 2021-22

SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
37	ERODE	33101601306	GOVERNMENT HIGH SCHOOL, GUJJAMPALAYAM
38	KANCHEEPURAM	33030503702	ADWHS Chennakuppam
39	KANCHEEPURAM	33030104102	GHS, Thammanur
40	KANCHEEPURAM	33030305302	GOVT ADW HR SEC SCHOOL RETTAMANGALAM
41	KARUR	33140500411	ADWHS, NANTHANKOTAI
42	KARUR	33140800111	GHS,BOMMANAYAKKANPATTY
43	KARUR	33140300105	GOVERNMENT HIGH SCHOOL, K . SEETHAPATTI
44	KARUR	33140102303	GOVERNMENT HIGH SCHOOL, SOMUR
45	KARUR	33140102525	MPL KOTTAIMEDU HIGH SCHOOL, KARUR
46	KRISHNAGIRI	33311200504	GHS ALERAHALLI
47	KRISHNAGIRI	33311806802	GHS SALOOR
48	KRISHNAGIRI	33311717604	GHS THAGGATTY
49	MADURAI	33241000110	GOVT KALLAR GIRLS HR SEC SCHOOL, CHECKANURANI
50	MADURAI	33241000905	GOVT KALLAR HR SEC SCHOOL, KAPPALUR
51	NAGAPATTINAM	33190900202	GOVT HIGH SCHOOL, AGARATHANUR
52	NAMAKKAL	33090901805	GHS SINGILIYANCOMBAI
53	NAMAKKAL	33090200304	GOVT.EKLAVYA MODEL RESIDENTIAL HR.SEC.SCHOOL, SENKARAI
54	PERAMBALUR	33160302804	GHS PERIYAMMAPALAYAM
55	PERAMBALUR	33160203507	GHS PUDHUVETTAKUDI
56	RAMANATHAPURAM	33271106502	GOVERNMENT HIGH SCHOOL, VANIYANKULAM
57	SALEM	33081401608	GHS MASINAICKENPATTI
58	SALEM	33080204113	GTR HIGH SCHOOL, THEKKAMPATTU
59	SIVAGANGAI	33231100802	RMSA MODEL HSS, KATTUKUDIPATTI
60	THANJAVUR	33210603603	GHS - UNIJI VIDUTHI
61	THE NILGIRIS	33110100216	EKALAVYA MODEL RESIDENTIAL HIGHER SECONDARY SCHOOL M.PALADA
62	THE NILGIRIS	33110401314	GOVERNMENT HIGH SCHOOL PONNUR
63	THENI	33250601901	GOVT HS, AMMAPURAM
64	THENI	33250600210	GOVT HS, MANJALAR DAM
65	THENI	33250201409	GOVT HS, RASINGAPURAM
66	THENI	33250600207	GOVT KALLAR HS, PULLAKKAPATTTY
67	THOOTHUKKUDI	33281205802	GHS KARUPPUR
68	THOOTHUKKUDI	33281302922	GHS POTTALKADU
69	TIRUCHIRAPPALLI	33150702408	GADWHS PERUR
70	TIRUNELVELI	33290903003	GHS ETTANKULAM
71	TIRUNELVELI	33291009612	GHS KOOVACHIPATTI
72	TIRUNELVELI	33290504615	GOVT HS(ADW),VALASAI
73	TIRUPPUR	33330900403	GHS KEERANUR
74	TIRUPPUR	33332204108	GHS MASCO NAGAR
75	TIRUPPUR	33330901207	GHS PERIYAILLIYAM
76	TIRUPPUR	33330801902	GHS Pukkulam

LIST OF 109 secondary schools recommended for ICT, Tamil Nadu: 2021-22

SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
77	TIRUPPUR	33330901402	GHS THAMMAREDDIPALAYAM
78	TIRUPPUR	33331700607	GHS VALAYAPALAYAM
79	TIRUPPUR	33330601809	GHS,MANAKKADAVU
		222244242	GOVERNMENT HIGH SCHOOL,
80	TIRUPPUR	33331601003	THIRUMALAIGOUNDENPALAYAM
81	TIRUPPUR	33332202504	MHSS PADMAVATHIPURAM
82	TIRUVALLUR	33010106403	ADW HS PUNGATHUR
83	TIRUVALLUR	33010911422	ADW HS, VALASARA VAKKAM
84	TIRUVALLUR	33010908502	AMBATTUR MUNICIPAL HIGH SCHOOL KAMARAJAPURAM
85	TIRUVANNAMALAI	33060100402	ADWHS ARASANKUPPAM
86	TIRUVANNAMALAI	33061002804	ADWHS-KETTAVARAMPALAYAM
87	TIRUVANNAMALAI	33061302702	GHS-KATTUMALAIYANUR
88	TIRUVANNAMALAI	33060702404	GHS-MAMANDOOR
89	TIRUVANNAMALAI	33061802402	GTRHS-KOVILANDOOR
90	TIRUVANNAMALAI	33061803902	GTRHS-PATTARAIKADU
91	TIRUVARUR	33200203204	GHS ,SEETHAKKAMANGALAM
92	TIRUVARUR	33200702902	GHS Karakottai
93	TIRUVARUR	33200103704	GHS Thenkuvalaveli
94	TIRUVARUR	33200400104	GHS,PILLUR
95	TIRUVARUR	33200604704	GHS,VELUKUDI
96	VELLORE	33042101806	ADWHS JADAYANUR
97	VELLORE	33042003201	EKLAVYA MODEL RESIDENTIAL HR.SEC SCHOOL,VISHAMANGALAM
98	VELLORE	33040101903	G(B)ADWHSS ARAKKONAM
99	VELLORE	33040100305	GHS PERUNGALATHUR
100	VELLORE	33041503009	GHS GANDHI NAGAR, GUDIYATTAM
101	VELLORE	33041901546	MHS, KONAMEDU, VANIYAMBADI
102	VILLUPURAM	33071001204	ADI DRAVIDA WELFARE HIGH SCHOOL KAPPUR
103	VILLUPURAM	33070604702	GOVERNMENT HIGH SCHOOL MUNNUR
104	VILLUPURAM	33072101502	GOVERNMENT HIGH SCHOOL SIKKADU
105	VIRUDHUNAGAR	33260909204	G.H.S.,KOPPAIYANAICKENPATTI
106	VIRUDHUNAGAR	33260803605	GHS, KEELAKOTTAIYUR
107	VIRUDHUNAGAR	33261100610	GOVERNMENT HIGH SCHOOL, N.G.O.COLONY
108	VIRUDHUNAGAR	33260600108	GOVERNMENT HIGH SCHOOL, SIVAKAMIPURAM
109	VIRUDHUNAGAR	33260702303	GOVT ADW HIGH SCHOOL, IDAYANKULAM

Annexure -VIII (c)

School approved under ICT, Secondary

	List of 865 secondar	y schools recommen	nded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
1	CHENNAI	33020700504	CHENNAI HIGH SCHOOL STRAHANS ROAD
2	CHENNAI	33020801214	CHENNAI HIGH SCHOOL KANNIYAPPA NAGAR
3	CHENNAI	33020501303	CHENNAI HIGH SCHOOL KILPAUK
4	CHENNAI	33020401103	CHENNAI HIGH SCHOOL NAMMALWARPET CHENNAI-12
5	CHENNAI	33020100207	CHENNAI HIGH SCHOOL, KODUNGAIYUR, CHENNAI 118
6	CHENNAI	33020301002	CHS AMMAIAMMAL ST
7	CHENNAI	33020600101	CHS CHINTADRIPET
8	CHENNAI	33020300806	CHS COOKS ROAD
9	CHENNAI	33020100206	CHS ERUKKANCHERY
10	CHENNAI	33020300502	CHS GANESAPURAM
11	CHENNAI	33020600405	CHS GOYYATHOPE
12	CHENNAI	33020601203	CHS IRUSAPPA STREET
13	CHENNAI	33020900302	CHS JAFFERKHANPET
14	CHENNAI	33020301904	CHS NP KOIL ST AT SHARMA NAGAR
15	CHENNAI	33020700305	CHS PADAVATTAMMAN KOIL ST
16	CHENNAI	33020400804	CHS SOMAIYA RAJAH ST
17	CHENNAI	33020501803	CHS THIRUVALLUVARPURAM
18	CHENNAI	33020301704	CHS WALLTAX ROAD
19	CHENNAI	33020900211	CHSS MGR NAGAR
20	CHENNAI	33020400301	GHS BV COLONY
21	CHENNAI	33020100208	GHS KODUNGAIYUR
22	CHENNAI	33020801709	GOVT GIRLS HIGH SCH TNAGAR
23	CHENNAI	33020401513	GOVT HS VILLIWAKKAM
24	CHENNAI	33020201309	GOVT MUSLIM GIRLS HS
25	CHENNAI	33020600205	GOVT. MUSLIM HIGHER SECONDARY SCHOOL
26	COIMBATORE	33121202203	ADW HSS THONDAMUTHUR
27	COIMBATORE	33120400902	CHS KOVILMEDU
28	COIMBATORE	33120500123	CHS VARADHARAJAPURAM
29	COIMBATORE	33121103807	GGHS NEGAMAM
30	COIMBATORE	33121400186	GGHSS VALPARAI
31	COIMBATORE	33120600405	GHS DEVARAYAPURAM
32	COIMBATORE	33120501302	GHS IDIGARAI
33	COIMBATORE	33120300606	GHS NARASIMMANAICKENPALAYAM
34	COIMBATORE	33122100805	GHS PALLAPALAYAM
35	COIMBATORE	33122100103	GHS RASIPALAYAM
36	COIMBATORE	33120600904	GHS SEMMEDU
37	COIMBATORE	33120701706	GHSS Diwansapudur
38	COIMBATORE	33120601004	GHSS MADVARAYAPURAM
39	COIMBATORE	33120200704	GHSS MALUMICHAMPATTI

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
40	COIMBATORE	33120902706	GHSS MUTHUGOUNDENUR
41	COIMBATORE	33120600602	GHSS NARASIPURAM
42	COIMBATORE	33121701106	GHSS OOMAPALAYAM
43	COIMBATORE	33120601305	GHSS SENNANUR
44	COIMBATORE	33120701001	GHSS SOMANTHURAI CHITTUR
45	COIMBATORE	33120201406	GHSS-PICHANUR
46	COIMBATORE	33121500809	GOVERNMENT HIGH SCHOOL PONNEGOUNDENPUDUR
47	COIMBATORE	33121102702	GOVERNMENT HIGH SCHOOL PULIYAMPATTI
48	COIMBATORE	33121400187	GOVERNMENT HIGH SCHOOL ROTTIKADAI
49	COIMBATORE	33121102810	GOVERNMENT HIGHER SECONDARY SCHOOL MANNUR RAMANATHAPURAM
50	COIMBATORE	33122001005	GOVERNMENT HIGHER SECONDARY SCHOOL SENJERIMALAIADIPALAYAM
51	COIMBATORE	33120600108	GOVERNMENT HIGHER SECONDARY SCHOOL, KALVEERAMPALAYAM
52	COIMBATORE	33120300404	GOVT HIGH SCHOOL NO 4 VEERAPANDI
53	COIMBATORE	33120701212	M C GGHSS KOTTUR
54	COIMBATORE	33121202904	SVGHSS SAMATHUR
55	CUDDALORE	33180204403	GGHS, PUDHUPETTAI
56	CUDDALORE	33180905002	GHS, OTTIMEDU
57	CUDDALORE	33180908602	GHS GANGAIKONDAN COLONY
58	CUDDALORE	33180504711	GHS K.NELLIKUPPAM
59	CUDDALORE	33180201002	GHS KANDARAKOTTAI
60	CUDDALORE	33180504710	GHS KANNITAMILNADU
61	CUDDALORE	33181002003	GHS KAVARAPATTU
62	CUDDALORE	33180504006	GHS KO.CHATHIRAM
63	CUDDALORE	33180708003	GHS PERIYANESALUR
64	CUDDALORE	33180703402	GHS VADAKARAI
65	CUDDALORE	33181001503	GHS VELANGIPATTU
66	CUDDALORE	33180204602	GHS,PALUR
67	CUDDALORE	33180901202	GHSS KAMMAPURAM
68	CUDDALORE	33181003504	GHSS- KODIPALLAM
69	CUDDALORE	33180707602	GHSS KOVILUR
70	CUDDALORE	33180702203	GHSS PELANDURAI
71	CUDDALORE	33180701302	GHSS POOLAMPADI
72	CUDDALORE	33180800204	GOVERNMENT GIRLS HIGH SCHOOL,THOLUDUR
73	CUDDALORE	33180600610	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL- MANGALAMPETTAI
74	CUDDALORE	33181001403	GOVERNMENT HIGH SCHOOL - AYEEPURAM
75	CUDDALORE	33180300104	GOVERNMENT HIGH SCHOOL ANGUCHETTIPALAYAM
76	CUDDALORE	33180300802	GOVERNMENT HIGH SCHOOL KEEZHAKUPPAM
77	CUDDALORE	33180303304	GOVERNMENT HIGH SCHOOL POONGUNAM

	List of 865 secondary	schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
78	CUDDALORE	33180808202	GOVERNMENT HIGH SCHOOL,ORANGUR
79	CUDDALORE	33180300605	GOVERNMENT HIGH SCHOOL-KATTUKOODALUR
80	CUDDALORE	33181401805	GOVERNMENT HIGHER SECONDARY SCHOOL SRINEDUNCHERI
81	CUDDALORE	33180800802	GOVERNMENT HIGHER SECONDARY SCHOOL , KEELAKALPOONDI
82	CUDDALORE	33181201203	GOVERNMENT HIGHER SECONDARY SCHOOL- KANUR
83	CUDDALORE	33180301704	GOVERNMENT HIGHER SECONDARY SCHOOL MARUNGUR
84	CUDDALORE	33180303502	GOVERNMENT HIGHER SECONDARY SCHOOL PERIYAKATTUPALAYAM
85	CUDDALORE	33180808103	GOVERNMENT HIGHER SECONDARY SCHOOL, ADARI
86	CUDDALORE	33180804902	GOVERNMENT HIGHER SECONDARY SCHOOL, E.KEERANUR
87	CUDDALORE	33180802102	GOVT.HIGHER SECONDARY SCHOOL, MANGALORE
88	CUDDALORE	33180104930	SRI VARADHAM GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL - VENUGOPALAPURAM
89	DHARMAPURI	33050800102	GHS A VELAMPATTI
90	DHARMAPURI	33050801002	GHS CHINNAKUPPAM
91	DHARMAPURI	33050316503	GHS CHINNAMBALLI
92	DHARMAPURI	33050302302	GHS CHINNAVATHALAPURAM
93	DHARMAPURI	33050211901	GHS DHATHANAYAKANPATTY
94	DHARMAPURI	33050303602	GHS ERRAPATTI
95	DHARMAPURI	33050404101	GHS GOLASANAHALLI
96	DHARMAPURI	33050104502	GHS LAKKIYAMPATTI GIRLS
97	DHARMAPURI	33050317002	GHS OOTAMALAI
98	DHARMAPURI	33050212402	GHS PALAVADI
99	DHARMAPURI	33050311001	GHS PALLIPATTI
100	DHARMAPURI	33050807602	GHS PETHATHAMPATTI
101	DHARMAPURI	33050314202	GHS SEELANAYAKKANOOR
102	DHARMAPURI	33050812602	GHS SIKKALURE
103	DHARMAPURI	33050212702	GHS THAMMANAMPATTI
104	DHARMAPURI	33050315202	GHS THIRUMALVADI
105	DHARMAPURI	33050409602	GHSS PANJAPPALLI
106	DHARMAPURI	33050504102	GHSS JAKKASAMUDRAM
107	DHARMAPURI	33050608802	GHSS JALIPUDUR
108	DHARMAPURI	33050506903	GHSS KAMALAPURAM
109	DHARMAPURI	33050504902	GHSS KANNIPATTI
110	DHARMAPURI	33050307602	GHSS MANGARAI
111	DHARMAPURI	33050812702	GHSS SITLINGI
112	DINDIGUL	33131300803	GHS, K.PUDHUPATTI
113	DINDIGUL	33130602206	GHS, VATHIPATTI

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
114	DINDIGUL	33130901309	GHS,AYAKUDI
115	DINDIGUL	33130500506	GHS,KAVUNJI
116	DINDIGUL	33130501207	GHS,KILAKKUCHETTIPATTI
117	DINDIGUL	33131402005	GHS,MARAMBADI
118	DINDIGUL	33130500803	GHS,POOLATHUR
119	DINDIGUL	33130500210	GHS,VILPATTI
120	DINDIGUL	33130500404	GHSS, MANNAVANUR
121	DINDIGUL	33130500302	GHSS,POOMPARAI
122	DINDIGUL	33130600902	GOVT HSS ,SAMUTHRAPATTI
123	DINDIGUL	33131201009	GOVT.H.SCHOOL,PORULUR
124	DINDIGUL	33130600406	GOVT.HSS.,KOSUKURICHI
125	ERODE	33100101204	ANMGHS MUHASIPUDUR
126	ERODE	33100700301	GGHSS, CHITHODE
127	ERODE	33100105701	GHS KUPPICHIPALAYAM
128	ERODE	33100100905	GHS KURICHI
129	ERODE	33100102409	GHS KURUMBAPALAYAM
130	ERODE	33101203011	GHS,VADUGAPATTI
131	ERODE	33100200205	GHSS ATHANI
132	ERODE	33100701901	GHSS BP. AGRAHARAM
133	ERODE	33100301502	GHSS PERIYAPULIYUR
134	ERODE	33100102413	GHSS VELLITHIRUPUR
135	ERODE	33100301713	GHSS, AYYAMPALAYAM
136	ERODE	33101600205	GOVERNMENT HIGH SCHOOL, CHIKKARASAMPALAYAM
137	ERODE	33101600107	GOVERNMENT HIGH SCHOOL, VEDARNAGAR,PUTHUVADAVALLI
138	ERODE	33101601223	GOVERNMENT HIGHER SECONDARY SCHOOL, KALKADAMBUR
139	ERODE	33101801901	GOVT. GIRLS HIGHER SEC SCHOOL, T.N.PALAYAM
140	ERODE	33100800507	GOVT. HIGH SCHOOL, K.METTUPALAYAM
141	ERODE	33101402307	GOVT. HIGH SCHOOL, PATTIMANIAKARANPALAYAM
142	ERODE	33101402308	GOVT. HIGH SCHOOL, SEMMAMPALAYAM
143	ERODE	33100401707	GOVT. HIGH SCHOOL, UTHANDIYUR
144	ERODE	33101601220	GOVT. HIGHER SEC. SCHOOL, BASUVANAPURAM
145	ERODE	33101402306	GOVT. HIGHER SEC. SCHOOL, VEMANDAMPALAYAM
146	ERODE	33101601416	MUNICIPAL HIGH SCHOOL, RANGASAMUDHIRAM
147	ERODE	33100801704	MUNICIPAL HIGHER SEC.SCHOOL, MODACHUR
148	KANCHEEPURAM	33031402203	ADW High School, Palavakkam
149	KANCHEEPURAM	33030601903	ADWHSS THAIYUR
150	KANCHEEPURAM	33030705203	Arignar Anna Municipal Boys Higher Secondary School
151	KANCHEEPURAM	33031400402	GHS COWLBAZAR
152	KANCHEEPURAM	33030602704	GHS ILLALUR
153	KANCHEEPURAM	33030606107	GHS PAIYANOOR

	List of 865 secondary	schools recommend	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
154	KANCHEEPURAM	33030701503	GHS, KANDIGAI
155	KANCHEEPURAM	33031400702	GHS, KARAPAKKAM
156	KANCHEEPURAM	33030702103	GHS, KAYARAMBEDU
157	KANCHEEPURAM	33030700502	GHS, KOLAPAKKAM
158	KANCHEEPURAM	33030405502	GHS, MAGANYAM
159	KANCHEEPURAM	33031100202	GHS, SITHANDIMANDAPAM
160	KANCHEEPURAM	33030705127	GHS, THIRUKATCHUR
161	KANCHEEPURAM	33030506002	GHS,MANGADU
162	KANCHEEPURAM	33031101402	GHSS, KUNNANKULATHUR
163	KANCHEEPURAM	33030500902	GHSS IYYAPANTHANGAL
164	KANCHEEPURAM	33030501903	GHSS THIRUMUDIVAKKAM
165	KANCHEEPURAM	33030806003	GHSS VAYALUR
166	KANCHEEPURAM	33031104303	GHSS VEERANAKUNNAM
167	KANCHEEPURAM	33030805106	GHSS VENGAMBAKKAM
168	KANCHEEPURAM	33030606503	GHSS(G) THIRUPORUR
169	KANCHEEPURAM	33031401912	GHSS, KANNAGI NAGAR
170	KANCHEEPURAM	33030203103	GHSS, THENNERI
171	KANCHEEPURAM	33030805504	GHS-SOORADIMANGALAM
172	KANCHEEPURAM	33031200107	GIRL GHSS CHEYYUR
173	KANCHEEPURAM	33031302902	GOVERNMENT HIGH SCHOOL - PUTHIRANKOTTAI
174	KANCHEEPURAM	33030701303	Government High School Kumizhi.
175	KANCHEEPURAM	33031101204	GOVERNMENT HIGH SCHOOL ONAMBAKKAM
176	KANCHEEPURAM	33031302804	GOVERNMENT HIGH SCHOOL- PONTHUR
177	KANCHEEPURAM	33030404005	GOVERNMENT HIGH SCHOOL SENGADU
178	KANCHEEPURAM	33031105603	GOVERNMENT HIGH SCHOOL ZAMIN ENDATHUR
179	KANCHEEPURAM	33031004902	GOVERNMENT HIGH SCHOOL, NEDUNGAL.
180	KANCHEEPURAM	33031002205	GOVERNMENT HIGH SCHOOL, RAMAPURAM.
181	KANCHEEPURAM	33031003802	GOVERNMENT HIGH SCHOOL, VADAMANIPAKKAM.
182	KANCHEEPURAM	33031007003	GOVERNMENT HIGHER SECONDARY SCHOOL, MORAPAKKAM.
183	KANCHEEPURAM	33031305302	GOVERNMENT HIGHER SECONDARY SCHOOL, VENNANGUPATTU
			GOVERNMENT HIGHER SECONDARY SCHOOL. PANRUTTI
184	KANCHEEPURAM	33030406303	- 631 604.
185	KANCHEEPURAM	33031302504	GOVERNMENT HR SEC SCHOOL, KAYAPAKKAM.
186	KANCHEEPURAM	33031303402	GOVT HIGH SCHOOL - ANDARKUPPAM
187	KANCHEEPURAM	33031301402	GOVT HIGH SCHOOL, INDALUR
188	KANCHEEPURAM	33030802602	GOVT HR SEC SCHOOL PANDUR
189	KANCHEEPURAM	33031107504	GOVT(ADW)HIGH SCHOOL IRUMBEDU
190	KANCHEEPURAM	33031404402	JMKS GHS LAKSHMIPURAM
191	KANCHEEPURAM	33030903326	MPB GOVT GIRLS HR SEC SCHOOL EAST TAMBARAM
192	KANCHEEPURAM	33030903223	MPL HSS HASTHINAPURAM

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
193	KANCHEEPURAM	33030903255	MPL HSS ZAMIN ROYAPET
194	KANCHEEPURAM	33030903149	Municipal High School, Alandur
195	KANNIYAKUMARI	33300700206	G H S KALIAKKAVILAI
196	KANNIYAKUMARI	33300700207	G H S MECODE
197	KANNIYAKUMARI	33300700110	GHS CHEMMANKALAI
198	KANNIYAKUMARI	33300400405	GHS CHERAMANGALAM
199	KANNIYAKUMARI	33300203104	GHS IRULLAPPAPURAM
200	KANNIYAKUMARI	33300200915	GHS KANAGAPPAPURAM
201	KANNIYAKUMARI	33300500515	GHS KUMARAPURAM
202	KANNIYAKUMARI	33300200109	GHS MAHADANAPURAM
203	KANNIYAKUMARI	33300203402	GHS MELASOORANKUDI
204	KANNIYAKUMARI	33300700111	GHS MELPURAM
205	KANNIYAKUMARI	33300500606	GHS PEYANKUZHI
206	KANNIYAKUMARI	33300300405	GHS PUTHERI
207	KANNIYAKUMARI	33300500605	GHS(GIRLS),ERANIEL
208	KANNIYAKUMARI	33300600707	GHS. ERAVIPUTHOORKADAI
209	KANNIYAKUMARI	33300600706	GHS. VEEYANOOR
210	KANNIYAKUMARI	33300101104	GHS-ANANTHAPURAM, KADUKARAI (POST)
211	KANNIYAKUMARI	33300101314	GHS-ARAL KUMARAPURAM
212	KANNIYAKUMARI	33300101202	GHS-ERACHAKULAM
213	KANNIYAKUMARI	33300101004	GHS-POTTIYOOR
214	KANNIYAKUMARI	33300300306	GHS-PUTHOOR
215	KANNIYAKUMARI	33300300506	GHSS PERUVILAI
216	KANNIYAKUMARI	33300300204	GHSS THENGAMPUTHOOR
217	KANNIYAKUMARI	33300100304	GHS-THIRUPATHISARAM
218	KANNIYAKUMARI	33300100303	GHS-VELLAMADAM
219	KANNIYAKUMARI	33300202602	GOVERNMENT HIGH SCHOOL EZHAKARAM
220	KANNIYAKUMARI	33300101008	GOVT ADI DRAVIDAR WELFARE HIGHER SECONDARY SCHOOL VAZHAYATHUVAYAL
221	KANNIYAKUMARI	33300200613	GOVT.HIGH SCHOOL , NALLOOR
222	KANNIYAKUMARI	33300204504	K.N.S.K.GHS OZHUGINASERY
223	KANNIYAKUMARI	33300100512	PJ GHS (G)-BHOOTHAPANDI
224	KANNIYAKUMARI	33300205002	SLB GOVT.(G) HIGH SCHOOL -NAGERCOIL
225	KARUR	33140200402	G.HIGH SCHOOL, KOYAMPALLI
226	KARUR	33140501107	GHS, METTU THIRUKAMPULIYUR
227	KARUR	33140501206	GHS MAYANUR
228	KARUR	33140501403	GHS, KATTALAI
229	KARUR	33140702103	GHS, NACHALUR
230	KARUR	33140601607	GHS, NALLURANPATTY
231	KARUR	33140600805	GHS, THENNILAI-KADAVOOR
232	KARUR	33140500106	GHSS, VENGAMPATTY
233	KARUR	33140800108	GHSS, G.UDAIYAPATTY

	List of 865 secondar	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
234	KARUR	33140701705	GHSS, INUNGUR
235	KARUR	33140601709	GHSS, PALAVIDUTHI
			GOVERNMENT GIRLS HIGHER
236	KARUR	33140202409	SECONDARY.SCHOOL,VELLIYANAI
			GOVERNMENT HIGHER SECONDARY SCHOOL,
237	KARUR	33140500409	PUNAVASIPATTY
			GOVERNMENT HIGHER SECONDARY SCHOOL,
238	KARUR	33140502704	SENGULAM
239	KARUR	33140802002	GOVERNMENT HIGHER SECONDARY SCHOOL, ALATHUR
240	KARUR	33140202609	GOVERNMENT HIGHER SECONDARY SCHOOL,PORANI
241	KARUR	33140300307	GOVT GIRLS HIGH SCHOOL,ARAVAKURICHI
242	KARUR	33140101406	GOVT.GIRLS.HIGHER SECONDARY SCHOOL, VANGAL
243	KARUR	33140101206	GOVT.HIGH.SCHOOL,N.PUDUR
244	KARUR	33140200704	GOVT.HIGH.SCHOOL,PALLAPALAYAM
245	KARUR	33140102509	MPL KUMARAN HIGH SCH,KARUR
246	KRISHNAGIRI	33311100802	GHS BALEGULI
247	KRISHNAGIRI	33311201302	GHS BALETHOTTAM
248	KRISHNAGIRI	33311001102	GHS BELLARAMPALLI
249	KRISHNAGIRI	33311202902	GHS EMAKKALNATHAM
250	KRISHNAGIRI	33311111401	GHS GUNDALAPATTI
251	KRISHNAGIRI	33311205202	GHS JINJAMPATTI
252	KRISHNAGIRI	33311106203	GHS KADHIRIPURAM
253	KRISHNAGIRI	33311406502	GHS KAMANDODDI -TEL
254	KRISHNAGIRI	33311003902	GHS KAMMAMPALLI
255	KRISHNAGIRI	33311206302	GHS KARAKUPPAM
256	KRISHNAGIRI	33311206902	GHS KONDAPPANAYANAPALLI
257	KRISHNAGIRI	33311005502	GHS MEKALACHINNAMPALLI (GIRLS)
258	KRISHNAGIRI	33310910501	GHS N.VELLALAPATTY
259	KRISHNAGIRI	33310905802	GHS NAICKANUR
260	KRISHNAGIRI	33311805402	GHS ODDAPATTI
261	KRISHNAGIRI	33311210002	GHS OPPATHAVADI
262	KRISHNAGIRI	33311007702	GHS SOKKADI
263	KRISHNAGIRI	33310908802	GHS UPPARAPATTI
264	KRISHNAGIRI	33311215102	GHS VEPPALAMPATTI
265	KRISHNAGIRI	33311803706	GHS-GIRLS KUNNATHUR
266	KRISHNAGIRI	33310900602	GHSS ATHIPADI
267	KRISHNAGIRI	33311405802	GHSS HALESEEBAM
268	KRISHNAGIRI	33311802302	GHSS KANNANDAHALLI
269	KRISHNAGIRI	33310903502	GHSS KEELKUPPAM
270	KRISHNAGIRI	33310905402	GHSS MITTAPALLI
271	KRISHNAGIRI	33311108602	GHSS RAMAPURAM
272	KRISHNAGIRI	33311305002	GHSS, MANAVARANAPALLI

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
273	KRISHNAGIRI	33311504462	GHSS, MULLAINAGAR, HOSUR
274	KRISHNAGIRI	33311411503	GHSS-GIRLS SHOOLAGIRI
275	KRISHNAGIRI	33311307610	GHSS-GIRLS, VEPPANAPALLI
276	KRISHNAGIRI	33311100506	GOVT.GIRLS HS, ARASAMPATTI
277	KRISHNAGIRI	33311308203	GOVT.HS, NERALAGIRI
278	KRISHNAGIRI	33311401005	JNM GHS ATHIMUGAM
279	KRISHNAGIRI	33311107502	PBA GHS-GIRLS PANNANDUR
280	KRISHNAGIRI	33311410702	RAJAJI MEMORIAL GHS PERANDAPALLI -TEL
281	MADURAI	33240711401	CORPORATION BHARATHIAR HIGH SCHOOL, SELLUR
282	MADURAI	33241517103	CORPORATION BHARATHIDASANAR HR SEC SCHOOL, NEW MAHALIPATTI ROAD
283	MADURAI	33241517807	CORPORATION HIGH SCHOOL, ANUPPANADI
284	MADURAI	33241517312	CORPORATION HIGH SCHOOL, MUNICHALAI
285	MADURAI	33241517903	CORPORATION MANIMEGALAI GIRLS HIGH SCHOOL, KAMARAJAR SALAI
286	MADURAI	33241517001	CORPORATION MASATHIYAR GIRLS HR SEC SCHOOL, MANJANAKARA STREET
287	MADURAI	33241119108	CORPORATION NSSB GIRLS HR SEC SCHOOL, PALANGANATHAM
288	MADURAI	33240711307	CORPORATION PANDIAN NEDUNCHEZHIAN HR SEC SCHOOL, AR LINE
289	MADURAI	33241517206	CORPORATION THIRUVALLUVAR MAHAL HIGH SCHOOL, MADURAI
290	MADURAI	33241517306	CORPORATION UMARUPULAVAR HIGH SCHOOL, PERIYAPALAM
291	MADURAI	33241201101	GOVERNMENT KALLAR HIGH SCHOOL NALLUTHEVANPATTI
292	MADURAI	33241201401	GOVERNMENT KALLAR HIGH SCHOOL VAGURANI
293	MADURAI	33240900903	GOVERNMENT KALLAR HR SEC SCHOOL, PERUNGAMANALLUR
294	MADURAI	33240702406	GOVT ADW HIGH SCHOOL, ELUMBUR
295	MADURAI	33240101302	GOVT ADW HR SEC SCHOOL, ACHAMPATTI
296	MADURAI	33240600803	GOVT HIGH SCHOOL, MANGULAM
297	MADURAI	33240601802	GOVT HIGH SCHOOL, MATHUR
298	MADURAI	33240701006	GOVT HIGH SCHOOL, OOMACHIKULAM
299	MADURAI	33240500604	GOVT HIGH SCHOOL, SOKKAMPATTI
300	MADURAI	33240501502	GOVT HR SEC SCHOOL, CHOKKALINGAPURAM
301	MADURAI	33240606102	GOVT HR SEC SCHOOL, KALIMANGALAM
302	MADURAI	33240501003	GOVT HR SEC SCHOOL, MANGALAMPATTI
303	MADURAI	33240500402	GOVT HR SEC SCHOOL, POTTAPATTI
304	MADURAI	33240503002	GOVT HR SEC SCHOOL, SEKKIPATTI
305	MADURAI	33241301501	GOVT HR SEC SCHOOL, T.MULLIPALLAM

	List of 865 secondary	schools recommend	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
306	MADURAI	33240502002	GOVT HR SEC SCHOOL, THUMBAIPATTI
307	MADURAI	33240301502	GOVT HR SEC SCHOOL, VILLUR
308	MADURAI	33241202901	GOVT KALLAR HIGH SCHOOL, KARUKATTANPATTI
309	MADURAI	33241200302	GOVT KALLAR HIGH SCHOOL, SULIOCHANPATTI
310	MADURAI	33241101408	GOVT KALLAR HIGH SCHOOL, THANAKKANKULAM
311	MADURAI	33241200905	GOVT KALLAR HR SEC SCHOOL, A.POOCHIPATTI
312	MADURAI	33241200203	GOVT KALLAR HR SEC SCHOOL, K.PERUMALPATTI
313	MADURAI	33240900401	GOVT KALLAR HR SEC SCHOOL, POOSALAPURAM
314	MADURAI	33240203403	GOVT KALLAR HR SEC SCHOOL, V.KALLAPATTI
315	MADURAI	33240201008	GOVT KALLAR HR. SEC. SCHOOL, KOVILANGULAM
316	NAGAPATTINAM	33191002203	G(G)HSS VAITHEESWARANKOIL
317	NAGAPATTINAM	33190802504	GGHS, AKKUR
318	NAGAPATTINAM	33190601302	GHS ARUKATTUTHURAI
319	NAGAPATTINAM	33190500101	GHS AYMOOR
320	NAGAPATTINAM	33190600704	GHS KARUPPAMPULAM
321	NAGAPATTINAM	33190102403	GHS KURICHI
322	NAGAPATTINAM	33190602703	GHS MARUTHUR SOUTH
323	NAGAPATTINAM	33190400106	GHS SERUTHUR
324	NAGAPATTINAM	33190102303	GHS,VADAVOOR
325	NAGAPATTINAM	33190700405	GHSS (G) MANALMEDU
326	NAGAPATTINAM	33190601802	GHSS KODIYAKARAI
327	NAGAPATTINAM	33190701402	GHSS KORUKKAI
328	NAGAPATTINAM	33190401301	GHSS PALAKKURICHI
329	NAGAPATTINAM	33190600107	GHSS PUSHPAVANAM
330	NAGAPATTINAM	33190602205	GHSS SARABOJIRAJAPURAM
331	NAGAPATTINAM	33190602108	GHSS THANIKOTTAGAM
332	NAGAPATTINAM	33190601203	GHSS THOPPUTHURAI -MODEL
333	NAGAPATTINAM	33191100909	GOVERNMENT HIGH SCHOOL, THODUVAI
334	NAGAPATTINAM	33191000602	MPL HSS SIRKALI
335	NAMAKKAL	33091502402	GGHSS PANDAMANGALAM
336	NAMAKKAL	33090901003	GHS AYILPATTI
337	NAMAKKAL	33090700412	GHS CHANDRASEKARAPURAM
338	NAMAKKAL	33090101304	GHS KEERAMBUR
339	NAMAKKAL	33090100205	GHS MARURPATTI
340	NAMAKKAL	33090800303	GHS NO-3 KOMARAPALAYAM
341	NAMAKKAL	33090401504	GHS PAVITHRAM
342	NAMAKKAL	33090501202	GHS RAMANATHAPURAMPUDUR
343	NAMAKKAL	33090100902	GHS THALIGAI
344	NAMAKKAL	33090201011	GHSS ARIYURPUDUVALAVU
345	NAMAKKAL	33090101503	GHSS KONUR
346	NAMAKKAL	33090601902	GHSS PACHAL
347	NAMAKKAL	33091100706	GHSS VEPPADAI

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
348	NAMAKKAL	33091000404	GOVERNMENT HIGH SCHOOL, PATLUR
349	NAMAKKAL	33090700104	GOVERNMENT HIGHER SECONDARY SCHOOL- R.PATTANAM
350	PERAMBALUR	33160204203	GGHSS KUNNAM
351	PERAMBALUR	33160605303	GHS ADHANUR
352	PERAMBALUR	33160604902	GHS KOLATHUR
353	PERAMBALUR	33160403202	GHS LADAPURAM
354	PERAMBALUR	33160200702	GHSS - S.ADUTHURAI
355	PERAMBALUR	33160302503	GHSS ANUKKUR
356	PERAMBALUR	33160201603	GHSS KEELAPERAMBALUR
357	PERAMBALUR	33160401803	GHS-VELLUR
358	PUDUKKOTTAI	33220204004	GHSS.MARUTHANTHALAI
359	PUDUKKOTTAI	33221003104	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, ARIMALAM
360	PUDUKKOTTAI	33220304704	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL, VIRALIMALAI
361	PUDUKKOTTAI	33220606704	GOVERNMENT HIGH SCHOOL S.KULAVAIPATTI
362 363	PUDUKKOTTAI PUDUKKOTTAI	33221001704 33221001204	GOVERNMENT HIGH SCHOOL, OTHAIPULIKKUDIYIRUPPU GOVERNMENT HIGH SCHOOL, POSAMPATTI
364	PUDUKKOTTAI	332213001204	GOVERNMENT HIGH SCHOOL, AMARADAKKI.
365	PUDUKKOTTAI	33221300102	GOVERNMENT HIGH SCHOOL, AMARADARKI.
366	PUDUKKOTTAI	33220603805	GOVERNMENT HIGH SCHOOL, KOTHAKKOTTAI
367	PUDUKKOTTAI	33220603503	GOVERNMENT HIGH SCHOOL, PALLATHIVIDUTHI
368	PUDUKKOTTAI	33220600904	GOVERNMENT HIGH SCHOOL, PULLANVIDUTHY
369	PUDUKKOTTAI	33220602702	GOVERNMENT HIGH SCHOOL, SENTHANGUDI
370	PUDUKKOTTAI	33220104604	GOVERNMENT HIGHER SECONDARY SCHOOL PULIYUR
371	PUDUKKOTTAI	33220303005	GOVERNMENT HIGHER SECONDARY SCHOOL SEVALPATTI
372	PUDUKKOTTAI	33220301704	GOVERNMENT HIGHER SECONDARY SCHOOL, MANGUDI
373	PUDUKKOTTAI	33220502110	GOVERNMENT HIGHER SECONDARY SCHOOL, VADAVALAM.
374	PUDUKKOTTAI	33220605904	GOVERNMENT HIGHER SECONDARY SCHOOL,ARAYAPPATTI
375	PUDUKKOTTAI	33220602905	GOVERNMENT HIGHER SECONDARY SCHOOL,MANGADU
376	PUDUKKOTTAI	33220603905	GOVERNMENT HIGHER SECONDARY SCHOOL,MANJANVIDUTHI
377	PUDUKKOTTAI	33220501504	GOVERNMENT HIGHER SECONDARY SCHOOL,PUTHAMBUR.
378	PUDUKKOTTAI	33221102205	GOVT HIGH SCHOOL , ERUKKALAKOTTAI
379	PUDUKKOTTAI	33221302804	GOVT HIGH SCHOOL PONBETHI

	List of 865 secondary	schools recommend	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
380	PUDUKKOTTAI	33221304104	GOVT HIGH SCHOOL THALANUR
381	PUDUKKOTTAI	33221105003	GOVT HIGH SCHOOL, AYINGUDI SOUTH
382	PUDUKKOTTAI	33220506701	GOVT HIGH SCHOOL, GANDHINAGAR
383	PUDUKKOTTAI	33221101304	GOVT HIGH SCHOOL, PERIYALUR EAST
384	PUDUKKOTTAI	33221101903	GOVT HIGH SCHOOL, VALLAVARI EAST
385	PUDUKKOTTAI	33221100504	GOVT HIGH SCHOOL,NARPAVALASENGAMARI
386	PUDUKKOTTAI	33221108603	GOVT HIGH SCHOOL,SUNAIYAKKADU
387	PUDUKKOTTAI	33220200103	GOVT HIGH SCHOOL,THIRUNALLUR
388	PUDUKKOTTAI	33221204106	GOVT. GIRLS HR. SEC. SCHOOL, AMMAPATTINAM
389	PUDUKKOTTAI	33221203202	GOVT. HIGH SCHOOL, GOPALAPURAM
390	PUDUKKOTTAI	33220704509	GOVT.HIGH SCHOOL, KEELAPATTI (M)
391	PUDUKKOTTAI	33220702607	GOVT.HIGH SCHOOL, PALLAVARAYANPATHAI
392	PUDUKKOTTAI	33220505501	MUNICIPAL HIGH SCHOOL, KAMARAJAPURAM.
393	RAMANATHAPURAM	33270506703	GOVERNMENT HIGH SCHOOL, KILIYUR
394	RAMANATHAPURAM	33270502902	GOVERNMENT HIGH SCHOOL, SIRUVAYAL
395	RAMANATHAPURAM	33270503102	GOVERNMENT HIGH SCHOOL, KULATHUR
396	RAMANATHAPURAM	33270603002	GOVERNMENT HIGH SCHOOL, PAMMANENDAL
			GOVERNMENT HIGHER SECONDARY SCHOOL,
397	RAMANATHAPURAM	33270504202	KARADARNTHAKUDI
398	RAMANATHAPURAM	33270606608	GOVERNMENT HIGHER SECONDARY SCHOOL, KOTTAIMEDU, KAMUTHI
399	RAMANATHAPURAM	33270605702	GOVERNMENT HIGHER SECONDARY SCHOOL, KOVILANGULAM
400	RAMANATHAPURAM	33270611002	GOVERNMENT HIGHER SECONDARY SCHOOL, MANDALAMANICKAM
401	RAMANATHAPURAM	33270612702	GOVERNMENT HIGHER SECONDARY SCHOOL, RAMASAMYPATTI
402	RAMANATHAPURAM	33271105402	GOVERNMENT HIGHER SECONDARY SCHOOL, SATHANKULAM
403	RAMANATHAPURAM	33271005802	GOVERNMENT HIGHER SECONDARY SCHOOL, THINAIKULAM
404	RAMANATHAPURAM	33271005702	GOVERNMENT HIGHER SECONDARY SCHOOL, THIRUPPULLANI
405	RAMANATHAPURAM	33270204102	GOVERNMENT HIGHER SECONDARY SCHOOL, UPPOOR
406	SALEM	33081302338	ADW HSS AMBEDKAR NAGAR, ATTUR
407	SALEM	33080500808	G.G.H.S.KONGANAPURAM
408	SALEM	33080400815	G.H.S.S., K.K.NAGAR
409	SALEM	33080100403	GBHS SENTHARAPATTI
410	SALEM	33080302204	GGHS,DHARAPURAM
411	SALEM	33081200205	GHS ADAIYUR
412	SALEM	33081800307	GHS ARA KULLAMPATTI
413	SALEM	33081601104	GHS BUKKAMPATTY

	List of 865 secondary	schools recommend	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
414	SALEM	33081201305	GHS DHATHAPURAM
415	SALEM	33080102203	GHS KADAMBUR
416	SALEM	33081301413	GHS NARASINGAPURAM
417	SALEM	33081301907	GHS RAMANAICKENPALAYAM
418	SALEM	33081802403	GHS VADUGAPATTI
419	SALEM	33082004402	GHS VELLAKKADAI
420	SALEM	33080801602	GHS, ATTAVANAIPOOLAVARI
421	SALEM	33080804702	GHS, CHINNASEERAGAPADI
422	SALEM	33080301707	GHS, DEEVATTIPATTI
423	SALEM	33081401402	GHS, MINNAMPALLI
424	SALEM	33080300314	GHS, RAMAMOORTHI NAGAR
425	SALEM	33080900502	GHS,VEDUGATHAMPATTI
426	SALEM	33081800308	GHSS ARA CHETTIPATTI
427	SALEM	33080800902	GHSS MURUNGAPATTI
428	SALEM	33081800113	GHSS NATTUVAMPALAYAM
429	SALEM	33081300604	GHSS THANDAVARAYAPURAM
430	SALEM	33081601409	GHSS VELLAR
431	SALEM	33081200811	GHSS VELLARIVELLI
432	SALEM	33081401002	GHSS, KOOTTATHUPATTI
433	SALEM	33080700702	GHSS, UNATHUR
434	SALEM	33081702304	GHSS,PANAKATTUR
435	SALEM	33080300607	GHSS,PERIYA VADAGAMPATTI
436	SALEM	33080602203	GOVT HIGH SCHOOL GAJJALNAICKENPATTI
437	SALEM	33080600205	GOVT HSS NEIKARAPATTI
438	SALEM	33081500417	GOVT. HIGH SCHOOL, KARUNGALLUR
439	SALEM	33081500206	GOVT. HIGH SCHOOL,CHETTIUR
440	SALEM	33081500906	GOVT. HIGH SCHOOL,MATHAIYANKUTTAI
441	SALEM	33081500605	GOVT. HR. SEC. SCHOOL,SANAVOOR
442	SALEM	33081400502	GOVT. TRIBAL HIGHER SECONDARY SCHOOL, ARUNOOTHUMALAI
443	SALEM	33081902903	GTR HR. SEC. SCHOOL, VELLIGOUNDANUR
444	SALEM	33080102009	GTR HS ODAIKATTUPUTHUR
445	SALEM	33080204302	GTRHSS, KARIYAKOILVALAVU
446	SALEM	33082103504	MHS PUDHU STREET KITCHIPALAYAM
447	SALEM	33082101201	MHS SAGADEVAPURAM
448	SALEM	33082102207	MHS SHEVAPET
449	SIVAGANGAI	33231203607	ADW.GOVT.HIGH.SCHOOL, ATHIKARAM
450	SIVAGANGAI	33230212302	GHS,K.CHOCKANATHAPURAM
451	SIVAGANGAI	33230212502	GOVT HS KARUMANTHAKUDI
452	SIVAGANGAI	33230505414	GOVT (G) HIGH SCHOOL ILAYANGUDI
453	SIVAGANGAI	33231000114	GOVT GIRLS HIGH SCHOOL A KALAPPUR
454	SIVAGANGAI	33230211102	GOVT GIRLS HS PAGANERI

	List of 865 secondary	y schools recommen	ded for smart classrooms, Tamil Nadu: 2021-22
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME
455	SIVAGANGAI	33230903902	GOVT HIGH SCHOOL T PUTHUPATTI
456	SIVAGANGAI	33230904901	GOVT HIGH SCHOOL THENMAPATTU
457	SIVAGANGAI	33230600905	GOVT HIGH SCHOOl, PULIYAL
458	SIVAGANGAI	33230504002	GOVT HIGHER SEC SCHOOL SATHANOOR
459	SIVAGANGAI	33231001402	GOVT HIGHER SECONDARY SCHOOL KIRUNGAKOTTAI
460	SIVAGANGAI	33230300304	GOVT HR SEC SCHOOL CHINNAKANNANUR
461	SIVAGANGAI	33231106101	GOVT HS VALASAIPATTI
462	SIVAGANGAI	33231105801	GOVT HSS KATTUKUDIPATTI
463	SIVAGANGAI	33230104405	GOVT HSS MARUTHUPANDIYAR NAGAR
464	SIVAGANGAI	33231105901	GOVT HSS PULUTHIPATTI
465	SIVAGANGAI	33231106001	GOVT HSS ULAGAMPATTI
466	SIVAGANGAI	33230803203	GOVT HSS, MITHIRAVAYAL
467	SIVAGANGAI	33230800202	GOVT HSS, O.SIRUVAYAL
468	SIVAGANGAI	33230600105	GOVT. HIGHER SECONDARY SCHOOL, PERIYAKARAI
469	SIVAGANGAI	33230501501	GOVT. HSS MUNAIVENDRI
470	SIVAGANGAI	33230903805	SATHAPPA GOVT HSS NERKKUPPAI
471	THANJAVUR	33211000802	ADI DRAVIDAR WELFARE HIGH SCHOOL - NALLADAI
			ADI DRAVIDAR WELFARE HIGH SCHOOL - THIRUMALAI
472	THANJAVUR	33211001403	RAJAPURAM
			ADI DRAVIDAR WELFARE HIGH SCHOOL-
473	THANJAVUR	33210403302	MUTHUVEERAKANDIYANPATTI
474	THANJAVUR	33210402905	ADI DRAVIDAR WELFARE HIGH SCHOOL-PUDUKUDDI
475	THANJAVUR	33211503202	ADWHS NADUVIKURCHI
476	THANJAVUR	33210104102	CHSS-ANNANAGAR
477	THANJAVUR	33210103302	CORPORATION HIGH SCHOOL- NEELAGIRI
478	THANJAVUR	33210102104	CORPORATION HIGHER SECONDARY SCHOOL-THENKEEL ALANGAM
479	THANJAVUR	33210504003	D.A. GOVERNMENT. HIGHER. SEC.ONDARY SCHOOL - PONNAPPUR WEST
480	THANJAVUR	33210501102	GHS - KAKKARAI
481	THANJAVUR	33210501302	GHS - KANNANTHANKUDI (EAST)
482	THANJAVUR	33211104704	GHS - THIRUVAIPADI
483	THANJAVUR	33211303202	GHS - VATTAKUDI
484	THANJAVUR	33211400508	GHS KONTRAIKADU
485	THANJAVUR	33211503102	GHS NADIYAM
486	THANJAVUR	33211401302	GHS PAINGAL
487	THANJAVUR	33211505405	GHS PUTHUTHERU
488	THANJAVUR	33211202502	GHS- SENDANKADU
489	THANJAVUR	33211505102	GHS SETHUBAVACHATRAM
490	THANJAVUR	33211203002	GHS- T.MELAKADU
491	THANJAVUR	33211506304	GHS VILANKULAM
492	THANJAVUR	33211200104	GHS-ALADIKKUMULAI

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22									
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME						
493	THANJAVUR	33211200302	GHS-ENATHI						
494	THANJAVUR	33210601203	GHS-KILAMANGALAM						
495	THANJAVUR	33210704902	GHSS - CHOLAPURAM						
496	THANJAVUR	33211501602	GHSS KARISAVAYAL						
497	THANJAVUR	33211504805	GHSS MALLIPATTINAM						
498	THANJAVUR	33211502503	GHSS- MANAKKADU						
499	THANJAVUR	33211203102	GHSS- THAMBIKKOTTAI -VADAKADU						
500	THANJAVUR	33211204809	GHSS-ADIRAMPATTINAM GIRLS						
501	THANJAVUR	33211202702	GHS-SOORAPPALLAM						
502	THANJAVUR	33211202103	GHSS-PUDUKOTTAI ULLUR						
503	THANJAVUR	33210601902	GHSS-URANIPURAM(VETTUVAKOTTAI)						
504	THANJAVUR	33210500503	GOVERNMENT HIGH SCHOOL - ADHANAKKOTTAI						
505	THANJAVUR	33210505802	GOVERNMENT HIGH SCHOOL - ORATHANADU PUDUR						
506	THANJAVUR	33210504104	GOVERNMENT HIGH SCHOOL - POOVATHUR						
507	THANJAVUR	33210401203	GOVERNMENT HIGH SCHOOL -KOVILADI						
508	THANJAVUR	33210301203	GOVERNMENT HIGH SCHOOL- VARAGOOR						
509	THANJAVUR	33211201203	GOVERNMENT HIGH SCHOOL-NAMBIVAYAL						
510	THANJAVUR	33211204716	GOVT (ADW) HSS-PATTUKKOTTAI						
511	THANJAVUR	33210205503	GOVT ADW HS - MANOJIPATTI						
512	THANJAVUR	33210505707	GOVT H SCHOOL - VELLUR						
513	THANJAVUR	33210502002	GOVT HIGH SCHOOL - KAVARAPPATTU						
514	THANJAVUR	33210602702	GOVT HIGH SCHOOL-SANKARANATHAR KUDIKADU						
515	THANJAVUR	33210503204	GOVT. MPN HIGH SCHOOL OKKANADU MELAIYUR						
516	THE NILGIRIS	33110400926	GHS AROTTUPARAI						
517	THE NILGIRIS	33110101808	GHS GIRLS MANJOOR KUNDAH						
518	THE NILGIRIS	33110201012	GHS HULICAL						
519	THE NILGIRIS	33110400409	GHS KAYYUNNI						
520	THE NILGIRIS	33110200424	GHS MANJACOMBAI						
521	THE NILGIRIS	33110401206	GHS PADANTHORAI						
522	THE NILGIRIS	33110300509	GHS SHOLURMATTAM						
523	THE NILGIRIS	33110200423	GHS THUTHURMATTAM						
524	THE NILGIRIS	33110200922	GHS YELLANALLI						
525	THE NILGIRIS	33110400408	GHS(G) ERUMAD						
526	THE NILGIRIS	33110400710	GOVERNMENT HIGH SCHOOL MASINAGUDI						
527	THE NILGIRIS	33110100608	GOVERNMENT HIGH SCHOOL, EBBANAD						
528	THENI	33250201536	10TH WARD MPL HS, BODINAYAKANUR						
529	THENI	33250500317	GHSS - MURUKKODAI						
530	THENI	33250500209	GHSS - MANTHISUNAI						
531	THENI	33250500102	GHSS - RAJENDRANAGAR						
532	THENI	33250800914	GOVERNMENTT HIGH SCHOOL - U.AMMAPATTY						
533	THENI	33250100504	GOVT HS, ANUPPAPATTI						
534	THENI	33250101409	GOVT HS, ASARIPATTI						

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22										
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME							
535	THENI	33250601207	GOVT HS, T.KALLIPATTI							
536	THENI	33250500502	GOVT HS, THUMMAKUNDU							
537	THENI	33250400806	GOVT HSS, HIGHWAVYS							
538	THENI	33250601302	GOVT HSS, THAMARAIKULAM							
539	THENI	33250600712	GOVT HSS, VAIGAIDAM							
540	THENI	33250500520	GOVT HSS, VAIKKALPARAI							
541	THENI	33250200510	GOVT KALLAR HS, B.ANAIKARAIPATTY							
542	THENI	33250700704	GOVT KALLAR HSS, ANNANJI							
543	THENI	33250301306	GOVT KALLAR HSS, MARKEYANKOTTAI							
544	THENI	33250100313	GOVT KALLAR HSS, MUTHANAMPATTY							
545	THENI	33250700503	S.R.G. GOVT HS, SRIRENGAPURAM							
546	THOOTHUKKUDI	33281206605	GHS M.KOTTUR							
547	THOOTHUKKUDI	33280201803	GHSS KONGARAYAKURUCHI							
548	THOOTHUKKUDI	33280306703	GHSS MUKKANI							
549	THOOTHUKKUDI	33280203302	GHSS RAMANUJAMPUDUR							
550	THOOTHUKKUDI	33280304705	GHSS SIVAKALAI							
551	THOOTHUKKUDI	33281207002	GHSS VEMBUR							
			GOVERNMENT HIGHER SECONDARY SCHOOL							
552	THOOTHUKKUDI	33280200406	KEELAPOOVANI							
			GOVERNMENT HIGHER SECONDARY SCHOOL							
553	THOOTHUKKUDI	33280200508	SEKKARAKKUDI							
554	THOOTHUKKUDI	33280202407	GOVT. H.S.ANAVARATHANALLUR							
555	THOOTHUKKUDI	33280510812	PERUNTHALAIVAR KAMARAJAR GOVERNMENT HIGHER SECONDARY SCHOOL, THERIKUDIYIRUPPU							
556	THOOTHUKKUDI	33280103802	SEENA VAANA GHSS							
557	TIRUCHIRAPPALLI	33150901403	CORPORATION HR SEC SCHOOL, E.B ROAD, TRICHY-8							
558	TIRUCHIRAPPALLI	33151301306	GADWHS, SIKKATHAMBUR							
559	TIRUCHIRAPPALLI	33150700903	GHS KOTTATHUR							
560	TIRUCHIRAPPALLI	33150701103	GHS NORTH SITHAMBUR							
561	TIRUCHIRAPPALLI	33150701204	GHS SUKKAMPATTI							
562	TIRUCHIRAPPALLI	33150701502	GHS THINNANUR							
563	TIRUCHIRAPPALLI	33150300804	GHS, EDUMALAI							
564	TIRUCHIRAPPALLI	33151501807	GHS, NETTAVELAMPATTY							
565	TIRUCHIRAPPALLI	33150802902	GHS, PUNJAI SANGENTHI							
566	TIRUCHIRAPPALLI	33150300209	GHS, S.KANNANOOR							
567	TIRUCHIRAPPALLI	33151600909	GHS, SADAYAMPATTY							
568	TIRUCHIRAPPALLI	33151502002	GHS, SIRUNAVALLUR							
569	TIRUCHIRAPPALLI	33150801802	GHS,OOTATHUR							
570	TIRUCHIRAPPALLI	33150700302	GHSS AMOOR							
571	TIRUCHIRAPPALLI	33151601409	GHSS, ONTHAMPATTY							
572	TIRUCHIRAPPALLI	33151402004	GHSS, THUMBALAM							
573	TIRUCHIRAPPALLI	33150303502	GHSS, VALAIYUR							

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
574	TIRUCHIRAPPALLI	33150800102	GHSS,KALLAGAM			
575	TIRUCHIRAPPALLI	33150500709	GHSS,KANNUDAYANPATTI			
576	TIRUCHIRAPPALLI	33150603703	GHSS,Sevalpatti			
577	TIRUCHIRAPPALLI	33150601702	GHSS,Uthukkuli			
578	TIRUCHIRAPPALLI	33151101002	GOVT HIGH SCHOOL, M.K.KOTTAI			
579	TIRUCHIRAPPALLI	33150501805	GOVT HS, ANAMPATTY			
580	TIRUCHIRAPPALLI	33150501101	GOVT HS, MALAIYADIPATTY			
581	TIRUCHIRAPPALLI	33150901704	VISCOUNTESS GOSHEN GOVT. GIRLS MUSLIM HSS, TRICHY			
582	TIRUNELVELI	33292104002	Bharathiar Mpl. HS, Tirunelveli			
583	TIRUNELVELI	33290904302	G(ADW)HSS,THULUKKARPATTI			
584	TIRUNELVELI	33290209909	GHS - MANIMUTHAR			
585	TIRUNELVELI	33290908002	GHS,NARASINGANALLUR			
586	TIRUNELVELI	33291404316	GHSS KUTTAM			
587	TIRUNELVELI	33290703103	GHSS MELAPAVOOR			
588	TIRUNELVELI	33291003003	GHSS NADUVAKURICHI			
589	TIRUNELVELI	33290204903	GHSS, VELLANGULI			
590	TIRUNELVELI	33290500402	GHSS,KASIDARMAM			
591	TIRUNELVELI	33290902102	GHSS,PALAMADAI			
			GOVERNMENT ADI DRAVIDAR WELFARE HIGH			
592	TIRUNELVELI	33291204611	SCHOOL, MUNNERPALLAM			
593	TIRUNELVELI	33290600402	GOVT HIGH SCHOOL PADMANERI			
594	TIRUNELVELI	33290304301	GOVT HIGH SCHOOL POTTAL			
595	TIRUNELVELI	33290508405	GOVT HIGH SCHOOL, VELAYUTHAPURAM			
596	TIRUNELVELI	33290702408	GOVT HR SEC SCHOOL -VINAITHEERTHANADARPATTI - 627808			
597	TIRUNELVELI	33291106210	GOVT HSS THALAPATHYSAMUDRAM			
598	TIRUNELVELI	33290900907	GOVT HSS,VADAKKU CHELIYANALLUR			
599	TIRUNELVELI	33290104007	Govt. HSS, Maranthai			
600	TIRUNELVELI	33290508403	GOVT.HSS,URMELAZHAGIAN			
601	TIRUVALLUR	33011400306	A. M. K GOVT (G) HSS,AMMAYARKUPPAM			
602	TIRUVALLUR	33010504302	ADI DRIVIDA WELFARE HIGH SCHOOL MELMANAGAR			
603	TIRUVALLUR	33010903002	ADW HIGH SCH, MITTAMALLEE			
604	TIRUVALLUR	33010911906	AVADI MUN HIGH SCHOOL,TM VOYAL			
605	TIRUVALLUR	33010506202	AVADI MUNICIPAL HIGH SCHOOL AVADI			
606	TIRUVALLUR	33010507402	AVADI MUNICIPAL HIGH SCHOOL PATTABIRAM CHATHRAM			
607	TIRUVALLUR	33010307302	GGHS MANAVALANAGAR			
608	TIRUVALLUR	33010607803	GH GOVT HSS,PERUMBEDU			
609	TIRUVALLUR	33011106304	GHS - AMIRTHAPURAM			
610	TIRUVALLUR	33010602102	GHS - PAZAYANAPPALAYAM			
611	TIRUVALLUR	33010810002	GHS S R KANDIGAI			

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
612	TIRUVALLUR	33010609302	GHS, SUBBA REDDY PALAYAM			
613	TIRUVALLUR	33010504904	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL POONAMALLEE			
614	TIRUVALLUR	33010502802	GOVERNMENT HIGH SCHOOL NAZARATHPET			
615	TIRUVALLUR	33010500405	GOVERNMENT HIGH SCHOOL SEMBARAMBAKKAM			
616	TIRUVALLUR	33010910105	GOVT (B) HIGH, MUGAPAIR EAST			
617	TIRUVALLUR	33011301903	GOVT (G) HS, ATHIMANJERIPET			
618	TIRUVALLUR	33010706602	GOVT (G) HSS, ARANI			
619	TIRUVALLUR	33011002702	GOVT (G) HSS, NARAVARIKUPPAM			
620	TIRUVALLUR	33011308203	GOVT (G) HSS, PALLIPAT			
621	TIRUVALLUR	33011205302	GOVT ADW HS, PERIYAKALAKATTUR			
622	TIRUVALLUR	33010409401	GOVT B HSS, UTHUKOTTAI			
623	TIRUVALLUR	33010302003	GOVT HIGH SCHOOL KOOVAM			
624	TIRUVALLUR	33011005703	GOVT HIGH SCHOOL, A.S.NAGAR			
625	TIRUVALLUR	33010405003	GOVT HIGH SCHOOL, PALAVAKKAM			
626	TIRUVALLUR	33010407502	GOVT HIGH SCHOOL, THANDALAM			
627	TIRUVALLUR	33010407202	GOVT HIGH SCHOOL, THIRUKKANDALAM			
628	TIRUVALLUR	33010911102	GOVT HIGHER SECONDARY SCHOOL, ALAPAKKAM			
629	TIRUVALLUR	33010408802	GOVT HIGHER SECONDARY SCHOOL, VENGAL			
630	TIRUVALLUR	33011303503	GOVT HS, NEDIYAM			
631	TIRUVALLUR	33011404903	GOVT HS,PERIYANAGAPOONDI			
632	TIRUVALLUR	33011405703	GOVT HS,RAJANAGARAM			
633	TIRUVALLUR	33010803702	GOVT HSS A N KANDIGAI			
634	TIRUVALLUR	33010800503	GOVT HSS ARAMBAKKAM			
635	TIRUVALLUR	33010901602	GOVT HSS, LAKSHMIPURAM			
636	TIRUVALLUR	33010901502	GOVT HSS, PAMMADUKULAM			
637	TIRUVALLUR	33011406703	GOVT HSS,SRIKALIKAPURAM			
638	TIRUVALLUR	33011407104	GOVT HSS,VANGANOOR			
639	TIRUVALLUR	33011407302	GOVT HSS,VEDIYANGADU			
640	TIRUVALLUR	33010811303	GOVT WEL HSS THERVOY			
641	TIRUVALLUR	33010303602	GOVT.GIRLS HR.SEC.SCHOOL PERAMBAKKAM-631402			
642	TIRUVALLUR	33010102003	GOVT.HIGH.SCHOOL,PAKKAM			
643	TIRUVALLUR	33010300802	GOVTGHS KADAMBATHUR			
644	TIRUVALLUR	33011401103	GOVTHSS, BALAPURAM			
645	TIRUVALLUR	33010105902	KMN&BROS MUNICIPAL HIGHER SEC ,SATHYAMURTHY STREET			
646	TIRUVALLUR	33011006802	MUN HIGH SCHOOL, KALADIPET			
647	TIRUVALLUR	33010911802	MUN HIGH SCHOOL,ATHIPET			
648	TIRUVALLUR	33011004302	MUN HSS, LAKSHMIPURAM			
649	TIRUVALLUR	33010908102	MUN.HSS KORATTUR			
650	TIRUVANNAMALAI	33061801001	FOREST HSS JAMUNAMARATHUR			
651	TIRUVANNAMALAI	33061605103	GGHSS MELPALLIPATTU			

	List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME				
652	TIRUVANNAMALAI	33061708101	GGHSS THANIPADI				
653	TIRUVANNAMALAI	33061707202	GHS (GIRLS) SATHANUR				
654	TIRUVANNAMALAI	33061708801	GHS (GIRLS) VANAPURAM				
655	TIRUVANNAMALAI	33060700301	GHS ADHANOOR				
656	TIRUVANNAMALAI	33060500501	GHS AMUDUR				
657	TIRUVANNAMALAI	33061501101	GHS C.GENGAMPATTU				
658	TIRUVANNAMALAI	33061601801	GHS C.SORPANANDAL				
659	TIRUVANNAMALAI	33061701701	GHS EDATHANUR				
660	TIRUVANNAMALAI	33061302201	GHS KARIKALAMBADI				
661	TIRUVANNAMALAI	33061604802	GHS MELCHENGAM				
662	TIRUVANNAMALAI	33061503102	GHS MELNACHIPATTU				
663	TIRUVANNAMALAI	33060604901	GHS MELPATHI				
664	TIRUVANNAMALAI	33061605401	GHS MELRAVANDAVADI				
665	TIRUVANNAMALAI	33060303901	GHS METTU ECHUR				
666	TIRUVANNAMALAI	33060405301	GHS NAMATHODU				
667	TIRUVANNAMALAI	33061705301	GHS NARAYANAKUPPAM				
668	TIRUVANNAMALAI	33060505501	GHS NELLIYANKULAM				
669	TIRUVANNAMALAI	33060605601	GHS NERKUNAM				
670	TIRUVANNAMALAI	33061105302	GHS RANDAM				
671	TIRUVANNAMALAI	33061706801	GHS S.GUDALUR				
672	TIRUVANNAMALAI	33060506302	GHS SALAVEDU				
673	TIRUVANNAMALAI	33060506402	GHS SALUKKAI				
674	TIRUVANNAMALAI	33060206103	GHS THIRUMANI				
675	TIRUVANNAMALAI	33061505301	GHS THORAPADI				
676	TIRUVANNAMALAI	33060206801	GHS VADUGAPATTU				
677	TIRUVANNAMALAI	33060407801	GHS VALLAM				
678	TIRUVANNAMALAI	33060407901	GHS VAYALUR				
679	TIRUVANNAMALAI	33061602401	GHSS ELANGUNNI				
680	TIRUVANNAMALAI	33060700401	GHSS AGRAPALAYAM				
681	TIRUVANNAMALAI	33061500501	GHSS AMMAPALAYAM				
682	TIRUVANNAMALAI	33060900501	GHSS ATHIMOOR				
683	TIRUVANNAMALAI	33060701301	GHSS- IRUMBEDU				
684	TIRUVANNAMALAI	33061301501	GHSS IYNGUNAM				
685	TIRUVANNAMALAI	33061502301	GHSS KARAPATTU				
686	TIRUVANNAMALAI	33060904102	GHSS KUPPAM				
687	TIRUVANNAMALAI	33061003701	GHSS LADAVARAM				
688	TIRUVANNAMALAI	33060504701	GHSS MARUDADU				
689	TIRUVANNAMALAI	33061502701	GHSS- MASHAR				
690	TIRUVANNAMALAI	33061004401	GHSS MELSHOLANKUPPAM				
691	TIRUVANNAMALAI	33061705001	GHSS MOTHAKKAL				
692	TIRUVANNAMALAI	33060405701	GHSS NEDUNGUNAM				
693	TIRUVANNAMALAI	33061504301	GHSS PANAIOLAIPADI				

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
694	TIRUVANNAMALAI	33061706601	GHSS RAYANDAPURAM			
695	TIRUVANNAMALAI	33060907201	GHSS RENUKONDAPURAM			
696	TIRUVANNAMALAI	33061105601	GHSS SANARAPALAYAM			
697	TIRUVANNAMALAI	33061504702	GHSS(GIRLS) PUDUPALAYAM			
698	TIRUVANNAMALAI	33061600503	GHSS-ANDIPATTI			
699	TIRUVARUR	33200801102	GGHSS,KOTTUR			
700	TIRUVARUR	33201000103	GHS ALANGADU			
701	TIRUVARUR	33200100702	GHS- CHANDRASEKARAPURAM			
702	TIRUVARUR	33200901804	GHS KATCHANAM			
703	TIRUVARUR	33200404505	GHS, MAPPILAIKUPPAM			
704	TIRUVARUR	33200701203	GHS, PERAMBUR			
705	TIRUVARUR	33200604504	GHS, VADAPATHIMANGALAM			
706	TIRUVARUR	33200500903	GHS,KOTTARAKUDI			
707	TIRUVARUR	33200802904	GHS,MELAPANAIYUR			
708	TIRUVARUR	33200601903	GHS,MOOVANALLUR			
709	TIRUVARUR	33200604204	GHS,THULASENDRAPURAM			
710	TIRUVARUR	33200203803	GHSS ENNAKKUDI			
711	TIRUVARUR	33200504602	GHSS, KODIKKALPALAYAM			
712	TIRUVARUR	33200701001	GHSS, MUNNAVALKOTTAI			
713	TIRUVARUR	33200404702	GHSS, PANANGUDI			
714	TIRUVARUR	33200304702	GHSS,KATTUR			
715	VELLORE	33040701702	AAGHSS DHAMARAIPAKKAM			
716	VELLORE	33040300608	G(G)HSS GURUVARAJAPET			
717	VELLORE	33040300709	G(G)HSS NARASINGAPURAM(MINNAL)			
718	VELLORE	33040205803	G(G)HSS NEMILI			
719	VELLORE	33041404206	GGHSS, LATHERI			
720	VELLORE	33040707105	GGHSS KALAVAI			
721	VELLORE	33041505112	GGHSS NELLOREPET (G)			
722	VELLORE	33041401603	GHS , PANAMADANGI			
723	VELLORE	33041600102	GHS, PASMARPENTA			
724	VELLORE	33041700304	GHS AGARAM			
725	VELLORE	33041702904	GHS AGARAMCHERI			
726	VELLORE	33041703419	GHS AMBUR			
727	VELLORE	33041701502	GHS ASANAMBUT			
728	VELLORE	33041600501	GHS BALUR			
729	VELLORE	33041101202	GHS EDAYANSATHU			
730	VELLORE	33040300107	GHS GANGAPURAM			
731	VELLORE	33041602703	GHS GOLLAKUPPAM			
732	VELLORE	33040705202	GHS IRUNGUR			
733	VELLORE	33041902304	GHS K BANDARAPALLI			
734	VELLORE	33040702604	GHS KANIYANUR			
735	VELLORE	33041802603	GHS MALAIREDDIYUR			

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
736	VELLORE	33040900806	GHS MELMANAVUR			
737	VELLORE	33041603201	GHS MELSANANKUPPAM			
738	VELLORE	33041102404	GHS MUNJURPET			
739	VELLORE	33041901607	GHS No. 1. KOTHUR			
740	VELLORE	33041600804	GHS PALLALAKUPPAM			
741	VELLORE	33041704103	GHS PERIYANKUPPAM			
742	VELLORE	33041901702	GHS THIMMAMPET			
743	VELLORE	33042001003	GHSS THAMALERIMUTHUR			
744	VELLORE	33041400103	GHSS, GUDIYATHAM RS			
745	VELLORE	33041501103	GHSS AGRAVARAM			
746	VELLORE	33042000804	GHSS ATHANAVUR			
747	VELLORE	33041801207	GHSS GIRISAMUDHIRAM			
748	VELLORE	33041504306	GHSS KALLAPADI			
749	VELLORE	33042001204	GHSS KETHANDAPATTI			
750	VELLORE	33041500406	GHSS KOTTAMITTAH			
751	VELLORE	33040101703	GHSS MOSUR			
752	VELLORE	33042100107	GHSS PALNANGKUPPAM			
753	VELLORE	33042202602	GHSS PERIYAKANNALAPATTI			
754	VELLORE	33040803405	GOVERNMENT HIGH SCHOOL, MELAKUPPAM			
755	VELLORE	33040403110	GOVT BOYS HSS SHOLINGHUR			
756	VELLORE	33040302006	GOVT GIRLS HSS BANAVARAM			
757	VELLORE	33042200403	GOVT GIRLS HSS GAJALNAYAKANPATTI			
758	VELLORE	33040303406	GOVT GIRLS HSS KAVERIPAKKAM			
759	VELLORE	33040501906	GOVT H S S, PULLIYANKANNU.			
760	VELLORE	33042002407	GOVT HIGH SCHOOL AGRAHARAM			
761	VELLORE	33040503402	GOVT HR. SEC. SCHOOL POONDI			
762	VELLORE	33042100109	GOVT HS ANNADAPATTI			
763	VELLORE	33040901806	GOVT HS ARIYUR			
764	VELLORE	33040503603	GOVT HS BAGAVELI			
765	VELLORE	33040502202	GOVT HS CHETTITHANGAL			
766	VELLORE	33042001205	GOVT HS CHINNAKAMIYAMPATTU			
767	VELLORE	33041200903	GOVT HS DEVICHETTIKUPPAM			
768	VELLORE	33041204104	GOVT HS ELAVAMBADI			
769	VELLORE	33040804102	GOVT HS KATHIYAVADI			
770	VELLORE	33040802304	GOVT HS MECHERI			
771	VELLORE	33042201204	GOVT HS PERIYAGARAM			
772	VELLORE	33040501905	GOVT HS SIPCOT			
773	VELLORE	33042101108	GOVT HS THIMMANAMATHUR			
774	VELLORE	33042000506	GOVT HS(G) JOLARPET			
775	VELLORE	33042100809	GOVT HSS BOMMIKUPPAM			
776	VELLORE	33042101605	GOVT HSS ANDIYAPPANOOR			
777	VELLORE	33041300405	GOVT HSS JANGALAPALLI			

	List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22								
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME						
778	VELLORE	33041902105	GOVT HSS JANGALAPURAM						
779	VELLORE	33042203805	GOVT HSS MATRAPALLI						
780	VELLORE	33040500504	GOVT. HR.SEC.SCHOOL VALLUVAMPAKKAM						
781	VELLORE	33041900914	GOVT. HSS. DHASIRIYAPPANUR						
782	VELLORE	33040504003	SD GOVT HSS THIRUPARKADAL						
783	VILLUPURAM	33071805502	GOVERNMENT HIGHER SECONDARY SCHOOL KUTHIRAICHANDAL						
784	VILLUPURAM	33071803102	GOVERNMENT HIGHER SECONDARY SCHOOL THAGAMTHERTHAPURAM						
785	VILLUPURAM	33071604508	GOVERNMENT GIRLS HIGH SCHOOL RISHIVANDIYAM						
786	VILLUPURAM	33071500108	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL SANKARAPURAM						
787	VILLUPURAM	33072102612	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL ELAVANASUR						
788	VILLUPURAM	33071404502	GOVERNMENT GIRLS HIGHER SECONDARY SCHOOL THIRUVENNAINALLUR						
789	VILLUPURAM	33071506904	GOVERNMENT HIGH SCHOOL PUDHUPALAPATTU						
790	VILLUPURAM	33070502102	GOVERNMENT HIGH SCHOOL CHENDUR						
791	VILLUPURAM	33071802602	GOVERNMENT HIGH SCHOOL KARUNTHALAKURICHI						
792	VILLUPURAM	33071302202	GOVERNMENT HIGH SCHOOL KOOVANUR						
793	VILLUPURAM	33071803202	GOVERNMENT HIGH SCHOOL PAKKAMPADI						
794	VILLUPURAM	33072106301	GOVERNMENT HIGH SCHOOL PALI						
795	VILLUPURAM	33070805502	GOVERNMENT HIGH SCHOOL PERUMBAKKAM						
796	VILLUPURAM	33071301502	GOVERNMENT HIGH SCHOOL PONNIYANDHAL						
797	VILLUPURAM	33071405202	GOVERNMENT HIGH SCHOOL SIRUMADURAI						
798	VILLUPURAM	33070201102	GOVERNMENT HIGH SCHOOL THADAGAM						
799	VILLUPURAM	33070204302	GOVERNMENT HIGH SCHOOL THUTHIPATTU						
800	VILLUPURAM	33070803704	GOVERNMENT HIGH SCHOOL (GIRLS) KEDAR						
801	VILLUPURAM	33070903402	GOVERNMENT HIGH SCHOOL (GIRLS) VIKARAVANDI						
802	VILLUPURAM	33071801703	GOVERNMENT HIGH SCHOOL AMMAYAGARAM						
803	VILLUPURAM	33071000204	GOVERNMENT HIGH SCHOOL ARASAMANGALAM						
804	VILLUPURAM	33071801502	GOVERNMENT HIGH SCHOOL ELAVADI						
805	VILLUPURAM	33072202203	GOVERNMENT HIGH SCHOOL IRUNDAI						
806	VILLUPURAM	33071001602	GOVERNMENT HIGH SCHOOL MARAGATHAPURAM						
807	VILLUPURAM	33070802503	GOVERNMENT HIGH SCHOOL MELKARANAI						
808	VILLUPURAM	33071800402	GOVERNMENT HIGH SCHOOL PAITHANTHURAI						
809	VILLUPURAM	33071601304	GOVERNMENT HIGH SCHOOL PERIYAKOLLIYUR						
810	VILLUPURAM	33071400802	GOVERNMENT HIGH SCHOOL PERIYASEVALAI						
811	VILLUPURAM	33071600202	GOVERNMENT HIGH SCHOOL SEERPADANALLUR						
812	VILLUPURAM	33070704102	GOVERNMENT HIGH SCHOOL SEMANGALAM						
813	VILLUPURAM	33072201605	GOVERNMENT HIGH SCHOOL VELUR						
814	VILLUPURAM	33071403702	GOVERNMENT HIGHER SECONDARY SCHOOL ARASUR						

List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22						
S. NO.	DISTRICT NAME	UDISE CODE	SCHOOLNAME			
815	VILLUPURAM	33071504902	GOVERNMENT HIGHER SECONDARY SCHOOL BRAMMAKUNDAM			
816	VILLUPURAM	33071405302	GOVERNMENT HIGHER SECONDARY SCHOOL ENATHIMANGALAM			
817	VILLUPURAM	33071404302	GOVERNMENT HIGHER SECONDARY SCHOOL MANAKKUPPAM			
818	VILLUPURAM	33071301202	GOVERNMENT HIGHER SECONDARY SCHOOL THIRUPALA PANDHAL			
819	VILLUPURAM	33071903302	GOVERNMENT HIGHER SECONDARY SCHOOL ASAKALATHUR			
820	VILLUPURAM	33072106702	GOVERNMENT HIGHER SECONDARY SCHOOL ASANUR			
821	VILLUPURAM	33070904503	GOVERNMENT HIGHER SECONDARY SCHOOL CHINTHAMANI			
822	VILLUPURAM	33071602302	GOVERNMENT HIGHER SECONDARY SCHOOL EDUTHANUR			
823	VILLUPURAM	33071700105	GOVERNMENT HIGHER SECONDARY SCHOOL EDUTHAVAINATHAM			
824	VILLUPURAM	33071404901	GOVERNMENT HIGHER SECONDARY SCHOOL EMAPPUR			
825	VILLUPURAM	33071602802	GOVERNMENT HIGHER SECONDARY SCHOOL KADUVANUR			
826	VILLUPURAM	33071700402	GOVERNMENT HIGHER SECONDARY SCHOOL KARADICHITHOOR			
827	VILLUPURAM	33071603702	GOVERNMENT HIGHER SECONDARY SCHOOL KEELPADI			
828	VILLUPURAM	33072105602	GOVERNMENT HIGHER SECONDARY SCHOOL KILIYUR			
829	VILLUPURAM	33070805702	GOVERNMENT HIGHER SECONDARY SCHOOL KONUR			
830	VILLUPURAM	33071902103	GOVERNMENT HIGHER SECONDARY SCHOOL KUTHAKUDI			
831	VILLUPURAM	33072105102	GOVERNMENT HIGHER SECONDARY SCHOOL M.KUNNATHUR			
832	VILLUPURAM	33071502803	GOVERNMENT HIGHER SECONDARY SCHOOL NEDUMANUR			
833	VILLUPURAM	33072202903	GOVERNMENT HIGHER SECONDARY SCHOOL PADUR			
834	VILLUPURAM	33070905402	GOVERNMENT HIGHER SECONDARY SCHOOL PAGANDAI			
835	VILLUPURAM	33071402602	GOVERNMENT HIGHER SECONDARY SCHOOL PERANGIYUR			
836	VILLUPURAM	33070902302	GOVERNMENT HIGHER SECONDARY SCHOOL PONNANKUPPAM			
837	VILLUPURAM	33071103203	GOVERNMENT HIGHER SECONDARY SCHOOL RAMPAKKAM			
838	VILLUPURAM	33071903404	GOVERNMENT HIGHER SECONDARY SCHOOL S.OHAIYUR			

	List of 865 secondary schools recommended for smart classrooms, Tamil Nadu: 2021-22								
S. NO.	DISTRICT NAME	UDISE CODE							
839	VILLUPURAM	33071400902	GOVERNMENT HIGHER SECONDARY SCHOOL SARAVANAMPAKKAM						
840	VILLUPURAM	33072205603	GOVERNMENT HIGHER SECONDARY SCHOOL SENDANADU						
841	VILLUPURAM	33072204903	GOVERNMENT HIGHER SECONDARY SCHOOL SENGURICHI						
842	VILLUPURAM	33071705102	GOVERNMENT HIGHER SECONDARY SCHOOL SOMANDARGUDI						
843	VILLUPURAM	33072107403	GOVERNMENT HIGHER SECONDARY SCHOOL VELLAIYUR						
844	VILLUPURAM	33071201303	GOVERNMENT HIGHER SECONDARY SCHOOL VILANDAI						
845	VILLUPURAM	33071102003	GOVERNMENTGIRLS HIGH SCHOOL SIRUVANTHADU						
846	VIRUDHUNAGAR	33260503205	GHS IRUNCHIRAI						
847	VIRUDHUNAGAR	33260904806	GHS VADAMALAPURAM						
848	VIRUDHUNAGAR	33260608918	GHSS (G), CHATRAPATTI						
849	VIRUDHUNAGAR	33260509502	GHSS ANAIKULAM						
850	VIRUDHUNAGAR	33260202604	GHSS CHATRAREDDIAPATTI						
851	VIRUDHUNAGAR	33260104707	GHSS CHETTIKURICHI						
852	VIRUDHUNAGAR	33260502903	GHSS KATTANOOR						
853	VIRUDHUNAGAR	33260602502	GHSS, NALLAMANAICKERPATTI						
854	VIRUDHUNAGAR	33260501002	GOVERNMENT HIGH SCHOOL PILLAIYARKULAM						
855	VIRUDHUNAGAR	33260300202	GOVERNMENT HIGH SCHOOL, KURANDI						
856	VIRUDHUNAGAR	33260302202	GOVERNMENT HIGHER SECONDARY SCHOOL P. PUDHUPATTI						
857	VIRUDHUNAGAR	33260203703	GOVERNMENT HIGHER SECONDARY SCHOOL, MEESALUR						
858	VIRUDHUNAGAR	33260610805	GOVERNMENT HIGHER SECONDARY SCHOOL, SIVALINGAPURAM						
859	VIRUDHUNAGAR	33260403004	GOVT HIGH SCHOOL MARAVARPERUNGUDI						
860	VIRUDHUNAGAR	33260501302	GOVT HIGH SCHOOL PULVOIKARAI						
861	VIRUDHUNAGAR	33260305606	GOVT HIGH SCHOOL THONUGAL						
862	VIRUDHUNAGAR	33260406303	GOVT HIGHER SECONDARY SCHOOL POOLANGAL						
863	VIRUDHUNAGAR	33260409311	GOVT HIGHER SECONDARY SCHOOL TAMILPADI						
864	VIRUDHUNAGAR	33260901208	S N (JUNIOR) G.H.S., VELLUR						
865	VIRUDHUNAGAR	33260409310	SETHUPATHI GOVT HIGHER SECONDARY SCHOOL TIRUCHULI						

Annexure-IX

					Spill-ove	r					nexure ix
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU				(Rs.in Lak			
	Particular		Budget Approved (Cumulative)		Cumulat	Cumulative Progress (Since Inception)		Spill Over			
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
Acce	ss & Rete	ntion		l	l	l	l		<u></u>		
Open	ning of Ne	ew / Upgraded Schools									
3		g of New / Upgraded Schools - condary)									
	3.2	2 Section School (Class IX - X)	23	1417.77	20	3	1417.77	3	0	3	0.00
		or Opening of New / led Schools - NR (Secondary)		1417.77			1417.77				0
6		g of New / Upgraded Schools - Secondary)									
	6.1	Higher Secondary School - Science Subject (XI - XII)	5	785.75	1	4	785.75	4	0	4	0.00
	6.5	Higher Secondary School - Science & Commerce Subject (XI - XII)	1	215.74	0	1	215.74	1	0	1	0.00
		or Opening of New / led Schools - NR (Hr.		1001.49			1001.49				0
Tota Scho	l for Ope	ning of New / Upgraded		2419.26			2419.26				0
Neta	ji Subhas	Chandra Avasiya Vidhyalaya		•	•	•	•		•		
10	10 Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (New) (Capacity 50) (Elementary)										
	10.1	Furniture/ Equipment (including kitchen)	2	10.00	2	0	10.00	0	0	0	0.00
	10.2	TLM and equipment including library books	2	7.00	2	0	7.00	0	0	0	0.00
	10.3	Bedding	2	5.00	2	0	5.00	0	0	0	0.00

					Spill-ove	·					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	.DU						(1	Rs.in Lakh)
		Particular		Approved ılative)	Cumulat	itive Progress (Since Inception)		Spill Over			
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	10.4	Construction of building (new)	2	197.40	0	2	197.40	2	0	2	0.00
	Bose Av	or Netaji Subhash Chandra vasiya Vidyalaya - NR (New) ity 50) (Elementary)		219.40			219.40				0
12	Vidyalay (Capacit	ubhash Chandra Bose Avasiya ya - NR (Previous Year) ty 50) (Elementary)									
	12.4	Replacement of bedding (once in 3 years)	100	0.75	0	100	0.75	100	0	100	0.00
	Bose Av	or Netaji Subhash Chandra vasiya Vidyalaya - NR ous Year) (Capacity 50) ntary)		0.75			0.75				0
16	Vidyalay	ubhash Chandra Bose Avasiya ya - NR (Previous Year) ty 100) (Elementary)									
	16.3	Bedding (New)	100	0.75	100	0	0.75	0	0	0	0.00
	16.4	Replacement of bedding (once in 3 years)	800	6.00	800	0	6.00	0	0	0	0.00
	Total for Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Previous Year) (Capacity 100) (Elementary)			6.75			6.75				0
	Total for Netaji Subhas Chandra Avasiya Vidhyalaya			226.90			226.90				0
Stren	gthening	of Existing Schools									
48		hening of Existing Schools (up est Class VIII) - NR									
	48.2	Additional Classrooms (Upto Class VIII)	878	9322.60	705	173	9322.60	173	0	173	0.00

					Spill-ove	r					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU						(1	Rs.in Lakh)
		Particular		Approved ılative)	Cumulat	ive Progres Inception)	s (Since		Spill	Over	
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	48.3	Boys Toilets	1777	1506.70	1747	30	1506.70	30	0	30	0.00
	48.4	Girls Toilets (Upto Class VIII)	2419	2527.70	2282	137	2527.70	137	0	137	0.00
	48.5	Drinking Water (Upto Class VIII)	686	613.72	673	13	613.72	13	0	13	0.00
	48.6 Boundary Wall 48.9 CWSN Toilets (Unto Class		10548	809.46	9358	1190	809.46	1190	0	1190	0.00
	48.9 CWSN Toilets (Upto Class VIII)		4015	6046.14	3701	314	6046.14	314	0	314	0.00
	48.10	Major Repair (Upto Class VIII)	747	1196.58	712	35	1196.58	35	0	35	0.00
	48.13	Ramps and Handrails	9799	6316.84	9739	60	6316.84	60	0	60	(0.00)
	48.42	Retrofitting of BRC Building	57	570.00	26	31	570.00	31	0	31	0.00
		or Strengthening of Existing s (up to Highest Class VIII) -		28909.74			28909.74				0.001
49		hening of Existing Schools (IX -		I			I				
	49.1	Computer Room	89	1546.44	24	65	1303.63	65	0	65	242.81
	49.2	Boys Toilet	207	936.92	27	180	924.90	180	0	180	12.02
	49.3	Library Room	93	2144.24	15	78	1690.80	78	0	78	453.44
	49.4	Lab Equipment (Sci Lab)	139	139.00	139	0	139.00	0	0	0	0.00
	49.5	Science Lab	139	2474.88	36	103	2075.33	103	0	103	399.55
	49.6	Art/Craft Room	113	1896.62	47	66	1662.65	66	0	66	233.97
	49.7	Toilets for CWSN	6	9.00	0	6	9.00	6	0	6	0.00
	49.8	Drinking Water	78	169.86	9	69	169.86	69	0	69	0.00
	49.9	Additional Classroom	104	1804.34	34	70	1407.10	70	0	70	397.24
	49.10	Removal of Architectural Barriers	360	360.00	150	210	360.00	210	0	210	0.00

					Spill-ove	r					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU						(1	Rs.in Lakh)
		Particular		Approved ılative)	Cumulat	ive Progres Inception)	s (Since		Spill (Over	
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	49.11	Girls Toilet	163	776.48	57	106	760.10	106	0	106	16.38
	49.15	Equipment for Resource Room	412	288.40	412	0	288.40	0	0	0	0.00
	Schools	or Strengthening of Existing s (IX - X) - NR		12546.18			10790.77				1755.41
50	XII) - NI										
	50.1	Library Room	75	1750.92	10	65	1355.70	65	0	65	395.22
	50.2	Lab Equipment (Sci Lab)	253	253.00	253	0	253.00	0	0	0	0.00
	50.3	Science Lab	35	579.95	11	24	579.95	24	0	24	0.00
	50.4	Drinking Water	67	152.48	12	55	152.48	55	0	55	0.00
	50.5	Additional Classroom	73	1239.96	22	51	992.66	51	0	51	247.30
	50.6	Physics Lab	67	1266.50	3	64	931.10	64	0	64	335.40
	50.7	Chemistry Lab	65	1232.40	0	65	897.00	65	0	65	335.40
	50.8	Biology Lab	86	1624.83	2	84	1196.55	84	0	84	428.28
	50.9	Art / Craft Room	95	1670.84	12	83	1337.99	83	0	83	332.85
	50.10	Boys Toilet	255	1197.64	120	135	1142.70	135	0	135	54.94
	50.11	Girls Toilet	308	1614.95	108	200	1529.45	200	0	200	85.50
	50.12	Removal of Architectural Barriers	424	424.00	160	264	424.00	264	0	264	0.00
	50.22	Computer Room	59	1059.64	0	59	777.03	59	0	59	282.61
	Schools	or Strengthening of Existing s (XI - XII) - NR		14067.11			11569.61				2497.5
51	Electrif	ication in Schools (Elementary)									
	51.1	Solar Panel	50	100.00	0	50	100.00	50	0	50	0.00
		or Electrification in Schools entary) - NR		100.00			100.00				0

			Spill-over	<u> </u>					
th:March TA	AMIL NA	DU						(I	Rs.in Lakh)
E		Approved llative)	Cumulat	ive Progres Inception)	s (Since				
Ph	hysical	Financial	Phys	sical	Financial		Physical		Financial
			Complete	In- progress		In- progress	Not Started	Total	
Secondary									
ostels	44	176.00	44	0	176.00	0	0	0	0.00
chool	416	1281.00	66	350	1165.44	350	0	350	115.56
n Schools dary) - NR		1457.00			1341.44				115.56
s (up to IR									
	205	703.00	191	14	703.00	14	0	14	0.00
est Class X		703.00			703.00				0
ng Schools		57783.03			53414.56				4368.471
		60429.19			56060.72				4368.471
re (upto									
	4786	24885.00	4786	0	24885.00	0	0	0	0.00
n /	4786	4937.70	4786	0	4937.70	0	0	0	0.00
	4786	1178.20	4786	0	1178.20	0	0	0	0.00
re & lass XII) -		31000.90			31000.90				0
es		31000.90			31000.90				0
ing)									
			31000.90	31000.90	31000.90	31000.90	31000.90 31000.90	31000.90 31000.90	31000.90 31000.90

					Spill-ove	r						
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU						(1	Rs.in Lakh)	
		Particular		Approved ulative)	Cumulat	ive Progres Inception)	•	Spill Over				
			Physical	Financial	Phys	sical	Financial		Physical		Financial	
					Complete	In- progress		In- progress	Not Started	Total		
	133.4	Support at Pre-Primary Level (New) (NR)	2381	1666.70	2381	0	1666.70	0	0	0	0.00	
	Recurr			1666.70			1666.70				0	
Tota	l for Տսթյ	oort at Pre-Primary Level		1666.70			1666.70				0	
Tota	l for Qua	lity Interventions		32667.60			32667.60				0	
Teacl	eacher Education								·			
	ivil Work :Strengthening of physical nfrastructure in TEI (SCERTs/DIETs/BITEs)											
139	SCERT -											
	139.1	Mathematics	1	4.00	0	1	4.00	1	0	1	0.00	
	139.2	Language/English Education	1	4.00	0	1	4.00	1	0	1	0.00	
	139.3	Education Technology/Computer	1	4.00	0	1	4.00	1	0	1	0.00	
	139.4	Social Studies	1	4.00	0	1	4.00	1	0	1	0.00	
	139.5	Science	1	4.00	0	1	4.00	1	0	1	0.00	
		or Establishment of Special SCERT - NR		20.00			20.00				0	
140	Infrastr	nening of Physical ucture for New Construction pansion of existing TEIs - NR										
	140.4	Repair & Maintenance	29	892.14	3	15	795.18	15	11	26	96.96	
	Infrasti and Exp	or Strengthening of Physical ructure for New Construction pansion of existing TEIs - NR		892.14			795.18				96.96	
150	Equipment's in Teacher Education Institutions - NR											
	150.2	DIETs	32	401.60	0	12	296.53	12	20	32	105.07	

					Spill-ove	r					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU						(1	Rs.in Lakh)
		Particular		Approved ılative)	Cumulat	ive Progres Inception)			Spill (Over	
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
		r Equipment's in Teacher on Institutions - NR		401.60			296.53				105.07
phys (SCE	ical infras RTs/DIET			1313.74			1111.71				202.03
Tech	Technology Support to TEIs										
142	Technol	ogy Support to TEIs (NR)									
	142.4	Hardware & Software Support	32	204.80	0	32	204.80	32	0	32	0.00
	TEIs (N			204.80			204.80				0
		nology Support to TEIs		204.80			204.80				0
		her Education		1518.54			1316.51				202.03
Gend	ler & Equi	ty									
Kastı	urba Gand	lhi Balika Vidyalaya (KGBVs)									
163	KGBV - '	Гуре - I (NR) (New) (Classes VI									
	163.9	Replacement of bedding (once in 3 years)	100	1.50	100	0	1.50	0	0	0	0.00
	(Classes	or KGBV - Type - I (NR) (New) s VI -VIII)		1.50			1.50				0
165	(Classes	Гуре - I (NR) (Previous Year) VI -VIII)									
	165.2	Boundary Wall	1420	88.20	1270	0	88.20	0	150	150	0.00
	165.7	Replacement of bedding (once in 3 years)	3900	78.00	150	150	78.00	150	3600	3750	0.00
	165.23	Construction of building - Major repair	5	25.15	0	5	25.15	5	0	5	0.00
	Total fo	r KGBV - Type - I (NR)		191.35			191.35				0

					Spill-ove	r					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	ADU	•					(1	Rs.in Lakh)
		Particular		Approved ulative)	Cumulat	ive Progres Inception)	s (Since		Spill (Over	
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	(Previo	us Year) (Classes VI -VIII)									
167	KGBV - 7 VI -X)	Гуре - II (NR) (New) (Classes									
	167.1	Construction of building (new)	4	369.18	0	4	369.18	4	0	4	0.00
	167.6	Bedding	150	3.00	90	0	3.00	0	60	60	0.00
		r KGBV - Type - II (NR) Classes VI -X)		372.18			372.18				0
169	(Classes										
	169.6	Bedding	60	1.20	60	0	1.20	0	0	0	0.00
	169.7	Replacement of bedding (once in 3 years)	200	4.00	200	0	4.00	0	0	0	0.00
	(Previo	r KGBV - Type - II (NR) us Year) (Classes VI -X)		5.20			5.20				0
171	KGBV - 7 VI -XII)	Гуре - III (NR) (New) (Classes									
	171.1	Construction of building (new) / Upgradation	4	343.36	0	4	343.36	4	0	4	0.00
	171.6	Bedding	120	2.40	120	0	2.40	0	0	0	0.00
		r KGBV - Type - III (NR) (Classes VI -XII)		345.76			345.76				0
173	KGBV - 7 (Classes	Гуре - III (NR) (Previous Year) VI -XII)							•		
	173.6	Bedding	80	1.60	80	0	1.60	0	0	0	0.00
	173.7	Replacement of bedding (once in 3 years)	300	6.00	300	0	6.00	0	0	0	0.00
		r KGBV - Type - III (NR) us Year) (Classes VI -XII)		7.60			7.60				0
175		Гуре - IV (NR) (New) (Classes									

					Spill-ove	r					
Fina	ncial Yea	r:2020-2021 Month:March	TAMIL NA	DU						(1	Rs.in Lakh)
		Particular		Approved ılative)	ve) Inception)			Spill Over			
			Physical	Financial	Phys	sical	Financial		Physical		Financial
					Complete	In- progress		In- progress	Not Started	Total	
	IX - XII)										
	175.6	Bedding	4400	88.00	4400	0	88.00	0	0	0	0.00
		or KGBV - Type - IV (NR) (Classes IX - XII)		88.00			88.00				0
(KGE	3Vs)	turba Gandhi Balika Vidyalaya		1011.59			1011.59				0
		der & Equity		1011.59			1011.59				0
Voca	Vocational Education										
		of Vocational Education at I higher Secondary									
210	Introdu	ction of VE in schools - NR									
	210.1	Tools, Equipment & Furniture (New)	184	970.99	184	0	970.99	0	0	0	0.00
	Total fo	or Introduction of VE in s - NR		970.99			970.99				0
214	Addition Schools										
	214.1	Tools, Equipment & Furniture (Existing Schools)	45	112.50	45	0	112.50	0	0	0	0.00
	Total for Addition of VE Course in Existing Schools - NR			112.50			112.50				0
Educ	l for Intr	oduction of Vocational Secondary and higher		1083.49			1083.49				0
		ational Education		1083.49			1083.49				0
Gran	nd Total			96710.41			92139.91				4570.501

	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
Scheme Name	Financial	Financial	Financial
Elementary Education	31826.93	31826.93	0.0010
Secondary Education	63364.94	58996.47	4368.47
Teacher Education	1518.54	1316.51	202.03
Total	96710.41	92139.91	4570.501

Major Component	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	60429.19	56060.72	4368.471
Quality Interventions	32667.60	32667.60	0
Teacher Education	1518.54	1316.51	202.03
Gender & Equity	1011.59	1011.59	0
Vocational Education	1083.49	1083.49	0
Total	96710.41	92139.91	4570.5010

Annexure-X

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
Access &	Opening of	5		Opening of New / Up	graded Sch	ools - Recu	irring (Seco	ndary)		-	•
Retention	New / Upgraded Schools		5.2	Recurring Cost - Secondary (Previous) (Samagra)	2	25.00000	50	2	25.00000	50	As per Prabandh Portal (30-5-2021) proposed 2 upgraded secondary schools (upgraded in 2020- 21) are functional with 165 enrollment. Considered @ Rs. 25 lakhs (as per norms) to meet out the cost of manpower and others
				Total of Opening of New / Upgraded Schools - Recurring (Secondary)			50			50	
		7		Opening of New / Upgrade	ed Schools - F	Recurring (Hr.	Secondary)				
			7.4	Recurring Cost - Hr. Sec. (Previous) (2 Stream) (Samagra)	1	55.00000	55	1	35.00000	35	Proposed 1 school (2 stream) is functional with 25 enrollment (as per Prabandh Portal) PTR in both streams (science stream PTR is about 2:1 and in commerce stream PTR is about 8:1) is very low. The upgraded school (GHSS Masinagudi) needs to fulfill PTR requirement by increasing the enrolment. There are 6 teachers deployed for 14 enrolled students in science stream and similarly 3 teachers for 25 students in commerce stream. The preceding information provided

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	,
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
											by the state.
				Total of Opening of New / Upgraded Schools - Recurring (Hr. Secondary)			55			35	
		Schoo		ng of New / Upgraded			105			85	
	Netaji Subhas Chandra Avasiya Vidhyalaya	12		Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Previous Year) (Capacity 50) (Elementary)							
			12. 1	Furniture/ Equipment (including kitchen)	100	0.02000	2	100	0.02000	2	Proposal for replacement of furniture after completion of three years for 2 residential school of 50 capacity in the district of Coimbatore and Tiruppur is recommended for 100 number of students (50 each

			Costi	ng Sheet						(Rs. in lakh)
	P	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
•										school)
			Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Previous Year) (Capacity 50) (Elementary)			2			2	
		13	Netaji Subhash Chandra Bose Avasiya Vidyala - Recurring (Previous Year) (Capacity 50) (Elementary)							

			Cost	ing Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		13.1	Food/Lodging per child per month	150	0.21600	32.4	150	0.11000	16.5	Out of existing 13 residential schools,3 (three) schools located in the district of Coimbatore, Tiruppur and Therunelveli are of 50 capacity and remaining 10 schools are of 100 capacity. (11 schools were sanctioned in 2010- 11 to 2017-18 and 2 were sanctioned in the year 2019-20 in the district Perambulur and Therunelvelli) Recommended for 3 operational residential schools (capacity-50). The unit cost is recommended for 6 months only as per actual number of 150 children.
		13.2	Stipend per child per month	150	0.02400	3.6	150	0.02400	3.6	Recommended unit cost as per norm for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment.
		13.3	Supplementary TLM, Stationery and other educational material	150	0.02500	3.75	150	0.01000	1.5	Recommended unit cost as per norm for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment and unit cost as approved in previous year AWP&B.

			Costi	ng Sheet						(Rs. in lakh)
	Pa	rticular			Proposal			1	Approval	-
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
·	·	13.4	1 Warden	3	3.24000	9.72	3	3.24000	9.72	Recommended one warden each for 3 existing/operational residential schools (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.5	4 Fulltime teachers as per RTE Norms	12	2.64000	31.68	12	2.64000	31.68	Recommended 4 full time teacher each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.7	3 Part time teachers	9	0.84000	7.56	9	0.84000	7.56	Recommended 3 part time teachers each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.8	1 Full Time Accountant	3	1.44000	4.32	3	1.44000	4.32	Recommended one full time Accountant each for 3 existing/operational residential school (Capacity-50). Recommended as proposed.

			Costi	ng Sheet						(Rs. in lakh)
		icular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		13.9	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	6	0.78000	4.68	6	0.78000	4.68	Recommended 2 support staff each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.10	1 Head Cook	3	0.96000	2.88	3	0.96000	2.88	Recommended one Asst. Cook each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.11	2 Assistant Cook	3	0.72000	2.16	3	0.66000	1.98	Recommended 2 Asst. Cook each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
		13.12	Specific Skill training	150	0.01000	1.5	150	0.00500	0.75	Recommended unit cost for 6 months only for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment. @ Rs. 500/head.
		13. 13	Electricity / water charges	3	0.50000	1.5	3	0.50000	1.5	Recommended unit cost as per norm for 3 numbers of existing/operational residential schools (Capacity-100) as per actual enrolment.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			13.14	Medical care/contingencies	150	0.01500	2.25	150	0.01500	2.25	Recommended unit cost as per norm for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment.
			13. 15	Maintenance	3	1.50000	4.5	3	1.50000	4.5	Recommended unit cost as per norm for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment and as approved in previous year AWP&B.
			13. 16	Miscellaneous	3	1.25000	3.75	3	1.25000	3.75	Recommended unit cost as per norm for 3 number of existing/operational residential schools (Capacity-50) as per actual enrolment.
			13.22	1 Sweeper cum Scavenger	3	0.48000	1.44	3	0.48000	1.44	Recommended one sweeper each for 3 existing/operational residential school (Capacity-50). Recommended same unit cost as approved in previous years AWP&B as per norm.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyala - Recurring (Previous Year) (Capacity 50) (Elementary)			117.69			98.61	
		16		Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Previous Year) (Capacity 100) (Elementary)							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			16.1	Furniture / Equipment (including kitchen equipment)	900	0.02000	18	900	0.02000	18	Proposal for replacement of furniture after completion of three years for 9 existing residential schools of 100 capacity is recommended as per norm for 900 number of students.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya - NR (Previous Year) (Capacity 100) (Elementary)			18			18	
		17		Netaji Subhash Chandra Bose Avasiya Vidyal - Recurring (Previous Year) (Capacity 100) (Elementary)							
			17.1	Food/Lodging per child per month	1000	0.21600	216	1000	0.11000	110	Out of 13 existing residential schools, 10 schools are of 100 capacity and 3 (three) schools are of 50 capacity located in the district of Coimbatore, Tiruppur and Therunelveli. (11 schools in 2010-11 to 2017-18 + 2 schools sanctioned in the year 2019-20 in the district- Perambulur and Therunelvelli) Recommended unit cost for 6 months for 10 operational residential schools (capacity-100) as per actual enrolment of 1000 children.

			Costi	ing Sheet						(Rs. in lakh)
	P	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		17.2	Stipend per child per month	1000	0.02400	24	1000	0.02400	24	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B
		17.3	Supplementary TLM, Stationery and other educational material	1000	0.01400	14	1000	0.01400	14	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B
		17.4	1 Warden	10	3.24000	32.4	10	3.24000	32.4	Recommended one warden each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
		17.6	4 - 5 Fulltime teachers as per RTE Norms	50	2.64000	132	50	2.64000	132	Recommended 4 full time teacher each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.

				Costi	ing Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	-		17.8	3 Part time teachers	30	0.84000	25.2	30	0.84000	25.2	Recommended three part time teacher each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
			17.9	1 Full time Accountant	10	1.44000	14.4	10	1.44000	14.4	Recommended one full time Accountant each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
			17.10	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	20	0.78000	15.6	20	0.78000	15.6	Recommended two support staff each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
			17.11	1 Head Cook	10	0.96000	9.6	10	0.96000	9.6	Recommended one head cook each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.

			Costi	ng Sheet						(Rs. in lakh)
	Pa	rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		17.12	2 Assistant Cook	20	0.72000	14.4	20	0.66000	13.2	Recommended two Asst. cook each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
		17.13	Specific Skill training	1000	0.01000	10	1000	0.00500	5	Recommended unit cost for 6 months only for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment of 1000 children. Advised the state to conduct this activity on through virtual mode.
		17.14	Electricity / water charges	10	1.00000	10	10	1.00000	10	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B
		17.15	Medical care/contingencies	1000	0.01500	15	1000	0.01500	15	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B.

				Costi	ng Sheet						(Rs. in lakh)
	P	articul	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			17. 16	Maintenance	10	3.00000	30	10	3.00000	30	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B.
			17. 17	Miscellaneous	10	2.50000	25	10	2.50000	25	Recommended unit cost as per norm for 10 number of existing/operational residential schools (Capacity-100) as per actual enrolment and as approved in previous year AWP&B
			17. 20	Provision of Rent	1	1.80000	1.8	1	1.80000	1.8	Recommended for i existing residential school only out 10 existing schools.(@Rs. 180000/ annum)
			17. 26	1 Sweeper cum Scavenger	10	0.48000	4.8	10	0.48000	4.8	Recommended one sweeper cum scavenger each for 10 existing/operational residential school (Capacity-100). Recommended same unit cost as approved in previous years AWP&B as per norm.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyal - Recurring (Previous Year) (Capacity 100) (Elementary)			594.2			482	
		45		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels)- NR (Existing) (Upgrd till XII)							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	•		45. 3	Furniture/ Equipment (including kitchen)	50	0.02000	1	50	0.02000	1	Recommended as proposed. One hostel at secondary level with 50 children is operational. (Furniture @ Rs. 2000/child).
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels)- NR (Existing) (Upgrd till XII)			1			1	
		46		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Upgradation till XII)							
			46.1	Stipend per child per month	50	0.02400	1.2	50	0.02400	1.2	Only one hostel is functioning with 50 children capacity (sanctioned in 2010-11) at secondary level (IX-XII) in Coimbatore district. Recommended unit cost as per norm and actual enrolment.
			46. 2	Supplementary TLM, Stationery and other educational Materials	50	0.02000	1	50	0.01000	0.5	Recommended for 50 number of children enrolled in one existing/operational hostel as per norm.
			46.3	1 Warden	1	1.68000	1.68	1	0.90000	0.9	Recommended one warden as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.

			Cost	ing Sheet						(Rs. in lakh)
	Pa	rticular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		46.5	1 Head Cook	1	0.96000	0.96	1	0.54000	0.54	Recommended one head cook as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.
		46.6	2 Assistant Cook	1	0.66000	0.66	1	0.42000	0.42	Recommended two Asst. Cook as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.
		46.7	Electricity / Water Charges	1	0.50000	0.5	1	0.50000	0.5	Recommended for one
		46.8	Medical Care / Contingencies	50	0.01500	0.75	50	0.01500	0.75	existing/operational hostel having 50 children enrolled.
		46. 9	Miscellaneous	1	1.25000	1.25	1	1.00000	1	Unit cost as per norm and as approved in
		46. 10	Maintenance	1	1.00000	1	1	0.50000	0.5	previous year AWP&B.
		46.11	Food/Lodging per child per month	50	0.21600	10.8	50	0.11000	5.5	Recommended for 50 number of children enrolled in one existing/operational hostel as per norm and as per previous year approval.Unit cost is recommended for 6 months. (Oct 2021 till march 2022)
		46.12	3 Part Time Teachers	3	0.84000	2.52	3	0.60000	1.8	Recommended 3 part time teacher as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			46. 13	1 Full Time Accountant	1	1.44000	1.44	1	1.44000	1.44	Recommended one full time Accountant as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.
			46. 14	2 Support Staff (Accountant / Assistant , Peon, Chowkidar)	2	0.78000	1.56	2	0.54000	1.08	Recommended two support staff as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.
			46. 19	1 Sweeper cum scavenger	1	0.24000	0.24	1	0.24000	0.24	Recommended one sweeper as per norm for one existing/operational hostel (Capacity-50) and unit cost is as per previous years approval of AWP&B.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - (Rec) (Existing) (Upgradation till XII)			25.56			16.37	
			of Netaji yalaya	Subhas Chandra Avasiya			758.45			617.98	
	Strengthening of Existing Schools	48		Strengthening of Existing Schools (up to Highest Class VIII) - NR							
			48. 3	Boys Toilets	839	3.53000	2961.67	115	3.00000	345	115 boys toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			48.4	Girls Toilets (Upto Class VIII)	185	3.65000	675.25	51	3.10000	158.1	51 girls toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes
			48. 9	CWSN Toilets (Upto Class VIII)	1604	2.20000	3528.8	446	1.80000	802.8	446 CWSN toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes
				Total of Strengthening of Existing Schools (up to Highest Class VIII) - NR			7165.72			1305.9	
		49		Strengthening of Existing Schools (IX - X) - NR							
			49.2	Boys Toilet	34	5.09000	173.06	25	4.10000	102.5	25 boys toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes.
			49.7	Toilets for CWSN	1388	2.20000	3053.6	451	1.80000	811.8	451CWSN toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			49.11	Girls Toilet	519	6.53000	3389.07	169	4.10000	692.9	169 girls toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes.
				Total of Strengthening of Existing Schools (IX - X) - NR			6615.73			1607.2	
		50		Strengthening of Existing Schools (XI - XII) - NR							
			50.10	Boys Toilet	72	5.09000	366.48	25	4.10000	102.5	25 boys toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes.
			50.11	Girls Toilet	154	6.53000	1005.62	90	4.10000	369	90 girls toilets recommended as per detailed analysis. The State may get done the remaining through alternate resources including convergence with other Govt. Schemes.
				Total of Strengthening of Existing Schools (XI - XII) - NR			1372.1			471.5	
		Total	of Streng	thening of Existing Schools			15153.55			3384.6	
	Transport & Escort Facilities	58		Transport / Escort Facility (Elementary)							

			Costi	ng Sheet						(Rs. in lakh)
		articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		58.1	Urban deprived children/children without adult protection	3635	0.05365	195.009	3635	0.03000	109.05	Recommended transport for 3635 children @ Rs.3000 for 5 months (assuming half the year schools may be closed Due to COVID-19 situation) for 121 (Approximately) habitations, based on the notified norms, State needs to furnish fresh Copy of notification regarding the transportation of children in these unserved habitations. Proper monitoring is to be ensured and target kept for the activity is to be achieved.
		58.2	Children in remote habitation	19408	0.05552	1077.531	19408	0.03000	582.24	Recommended transport for 19408 children @ Rs.3000 for 5 months (assuming half the year schools may be closed Due to COVID-19 situation) for 1108 (Approximately) habitations, based on the notified norms, State needs to furnish fresh Copy of notification regarding the transportation of children in these unserved habitations. Proper monitoring is to be ensured and target kept for the activity is to be achieved.

				Costi	ng Sheet						(Rs. in lakh)
	Pa	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	, and the second	59		Total of Transport / Escort Facility (Elementary) Transport / Escort			1272.54			691.29	
			59.1	Facility (Secondary) Transport & Escort Facilty	2305	0.07210	166.194	2303	0.03000	69.09	Recommended transport for 2303 children @ Rs.3000 for 5 months (assuming half the year schools may be closed Due to COVID-19 situation) for 153 (Approximately) habitations. Remaining 2 children not qualify as 1 school is upto class 5 std. State needs to furnish Copy of notification regarding the transportation of children in these unserved habitations. Proper monitoring is to be ensured and target kept for the activity is to be achieved.
				Total of Transport / Escort Facility (Secondary)			166.19			69.09	
		Total	of Trans	port & Escort Facilities			1438.73			760.38	
	Open Schooling System	69		Open Schools System for OoSC (NIOS/SIOS)							
			69.1	Support to Age Group 16- 19 (Upto Highest Class XII)	5584	0.02000	111.68	5584	0.02000	111.68	Recommended as proposed.
				Total of Open Schools System for OoSC (NIOS/SIOS)			111.68			111.68	
		Total	of Open	Schooling System			111.68			111.68	
	Total for Access &	Reten	tion				17567.41			4959.64	

				Costi	ng Sheet						(Rs. in lakh)
	Pa	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
RTE Entitlements	Reimbursement towards expenditure incurred for 25% of Admision under 12 (1)(c) RTE Act	60		Reimbursement of Fee							
	Att		60.1	Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009	365168	0.08308	30339.054	209343	0.08837	18499.0803	Recommended Rs. 18499.0803 lakh for 209343 children of classes 1-8 in 8324 Private Schools.
				Total of Reimbursement of Fee			30339.05			18499.08	
		expe	nditure in	ursement towards curred for 25% of er 12 (1)(c) RTE Act			30339.05			18499.08	
	Free Textbooks			Free Text Books							
			61.1	Text Books (Class I - II)	836882	0.00250	2092.205	836783	0.00250	2091.9575	As per U-DISE+2019- 20, 836783 students enrolled (class I- 398031 + class-II- 438752) considered @ Rs. 250/student.
			61 .2	Braille Books (Class I – II)	387	0.00250	0.969	387	0.00250	0.9675	considered as proposed 387 students @ Rs. 250/student
			61. 3	Large Print Books (Class I – II)	5002	0.00250	12.505	5002	0.00250	12.505	considered as proposed 5002 students @ Rs. 250/student
			61.4	Text Books (Class III - V)	1486464	0.00250	3716.161	1485920	0.00250	3714.8	As per U-DISE+2019- 20, 1485920 students enrolled (class III-484639 + class-IV-491596 + class V-509685) considered @ Rs.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	_										250/student.
			61 .5	Braille Books (Class III - V)	514	0.00250	1.286	514	0.00250	1.285	considered as proposed 514 students @ Rs. 250/student
			61. 6	Large Print Books (Class III - V)	6455	0.00250	16.135	6455	0.00250	16.1375	considered as proposed 6455 students @ Rs. 250/student
			61.7	Text Books (Class VI - VIII)	1948016	0.00400	7792.064	1943284	0.00400	7773.136	As per U-DISE+2019- 20, 1943284 students enrolled (class VI- 622740 + class-VII- 658854 + class VIII- 661690) considered @ Rs. 400/student.
			61 .8	Braille Books (Class VI – VIII)	386	0.00400	1.544	386	0.00400	1.544	Considered as proposed 386 students @ Rs. 400/student
			61 .9	Large Print Books (Class VI - VIII)	4680	0.00400	18.72	4680	0.00400	18.72	considered as proposed 4680 students @ Rs. 250/student
				Total of Free Text Books			13651.59			13631.05	
		Total	of Free T	extbooks			13651.59			13631.05	
	Free Uniforms	62		Uniform							
			62. 1	All Girls	1491105	0.00700	10437.735	1486363	0.00600	8918.178	As per U-DISE+ 2019- 20 total 1486363 girls students considered @ Rs. 600/student

				Costi	ng Sheet						(Rs. in lakh)
	Pa	articu	lar			Proposal				Approval	-
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			62. 2	ST Boys	45084	0.00700	315.588	44887	0.00600	269.322	As per U-DISE+ 2019- 20 total 44887 ST students considered @ Rs. 600/student
			62. 3	SC Boys	482837	0.00700	3379.859	482735	0.00600	2896.41	As per U-DISE+ 2019- 20 total 482735 SC students considered @ Rs. 600/student
			62.4	BPL Boys	917597	0.00700	6423.179	917597	0.00600	5505.582	Considered as proposed @ Rs. 600//student
				Total of Uniform			20556.36			17589.49	
		Total	of Free U	Iniforms			20556.36			17589.49	
	Special Training of Out of School Children (OoSC)	63		Special Training for OoSC - Non-Residential (Fresh)							
			63. 2	6 Months (Non- Residential - Fresh)	135	0.03000	4.05	135	0.03000	4.05	Recommended as proposed
			63.4	12 Month (Non- Residential - Fresh)	11371	0.06000	682.26	11371	0.04500	511.695	Recommended as proposed for 9 Months
				Total of Special Training for OoSC - Non- Residential (Fresh)			686.31			515.74	
		64		Special Training for OoSC - Residential (Fresh)							
			64 .4	12 Month (Residential - Fresh)	2016	0.20000	403.2	2016	0.04500	90.72	Recommended for 9 Months in non residential mode due to COVID-19
				Total of Special Training for OoSC - Residential (Fresh)			403.2			90.72	
		65		Special Training for OoSC - Non-Residential (Previous year)							
			65.4	12 Month (Non- Residential - Prev Year)	1357	0.06000	81.42	1357	0.04500	61.065	Recommended as proposed for 9 Months
				Total of Special Training			81.42			61.06	

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	-			for OoSC - Non- Residential (Previous year)							
		66		Special Training for OoSC - Residential (Previous year)							
			66.4	12 Month (Residential - Prev. Year)	800	0.20000	160	800	0.04500	36	Recommended for 9 Months in non residential mode due to COVID 19
				Total of Special Training for OoSC - Residential (Previous year)			160			36	
		67		Intervention for Migrant Children/ Seasonal Hostel (Non-Residential)							
			67. 2	6 Months (Non- Residential -Migrant)	1485	0.03000	44.55	1485	0.03000	44.55	Recommended as proposed
			67.4	12 Month (Non- Residential - Migrant)	329	0.06000	19.74	329	0.03000	9.87	Recommended for 6 Months as the intervention is for seasonal migraion.
				Total of Intervention for Migrant Children/ Seasonal Hostel (Non- Residential)			64.29			54.42	
			of Specia ren (OoS	l Training of Out of School			1395.22			757.95	
	Community Mobilization	98		Community Mobilization (Elementary)							
			98.1	Training of SMC/ SDMC	31214	0.03000	936.42	31214	0.03000	936.42	1.As per UDISE 2019- 20, 31214 Elementary schools are existing, 2.The State has to undertake training of the SMC/SMDC activities for getting key performance indicators as per the programmatic norms duly having specific plan.

	Costing Sheet Particular Proposal Approval										
	P	articu	lar		Proposal				I	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			98.4	Medial &Community Mobilization	31214	0.01500		31214	0.01500	468.21	1.As per UDISE 2019- 20, 31214 Elementary schools are existing 2.The State has to undertake community mobilization activities for getting key performance indicators as per the programmatic norms duly having specific plan.
				Total of Community Mobilization (Elementary)			1404.63			1404.63	
		99		Community Mobilization (Secondary)							
			99.1	SMDC Training	6177	0.03000	185.31	6177	0.03000	185.31	1.As per UDISE 2019- 20, 6177 Secondary schools are existing 2.The State has to undertake training of the SMC/SMDC activities for getting key performance indicators as per the programmatic norms duly having specific plan.

				Costi	Costing Sheet						(Rs. in lakh)
		articu	llar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			99.4	Media &Community Mobilization	6177	0.01500	92.655	6177	0.01500	92.655	1.As per UDISE 2019- 20, 6177 Secondary schools are existing, 2.The State has to undertake community mobilization activities for getting key performance indicators as per the programmatic norms duly having specific plan.
				Total of Community Mobilization (Secondary)			277.96			277.96	
		Total	of Comm	unity Mobilization			1682.6			1682.6	
	Total for RTE Ent	itleme	nts				67624.82			52160.17	
Quality Interventions	Funds for Quality (LEP, Innovation,	72		Innovation Projects - (Elementary) (Recurring)							
	Guidance etc)		72.1	Fund for Safety and Security at School Level	31214	0.00500	156.07	31214	0.02000	624.28	Considered 31214 elementary schools @ Rs. 2000/school. Due to COVID pandemic the amount has increased from Rs. 500 to Rs. 2000
			72. 2	Holistic Report Card for Students (Elementary)	502443	0.00005	25.121	502443	0.00005	25.12215	Recommended as proposed @ Rs. 5//student
			72 .3	Orientation Programme for Teachers on Safety and Security	145138	0.01000	1451.38	145138	0.00500	725.69	Recommended 145138 teachers orientation on safety and Security @ Rs. 500/teacher on virtual mode.
			72.4	Shaala Siddhi	16520	0.00600	99.12	16520	0.00600	99.12	Recommended 16520 schools @ Rs. 600/school
				Total of Innovation Projects - (Elementary)			1731.69			1474.21	

				Costi	ng Sheet						(Rs. in lakh)
		articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				(Recurring)							
		74		Innovation Projects - Recurring (Secondary & Sr. Secondary)							
			74.2	Aptitude Test at School Level	1688493	0.00050	844.245	1518605	0.00050	759.3025	As per U-DISE+ 2019- 20, enrollment is 1518605 (Class IX=429263+ Class X- 407873+ Class XI- 349635+ Class XII- 331834) @ Rs. 50/student. The state would conduct Aptitude Test at School Level in ONLINE mode)
			74.3	Funds for Safety and Security	6177	0.00500	30.885	6177	0.02000	123.54	Due to COVID-19 pandemic the amount has increase from @ Rs.500/school to @ Rs. 2000/school for 6177 school.
			74.4	Orientation Programme for Teachers on safety and Security	79677	0.01000	796.77	79677	0.00500	398.385	Considered 79677 teachers @ Rs. 500/teacher for Orientation Programme for Teachers on safety and Security. It would conduct on virtual mode.
			74.6	Talent Search at school level	96000	0.00550	528	96000	0.00100	96	Considered the proposed intervention "Talent Search at school level" for 96000 students @ Rs.100/student. The test would be conducted on virtual mode.
				Total of Innovation Projects - Recurring (Secondary & Sr.			2199.9			1377.23	

	Costing Sheet Particular Proposal Approval										(Rs. in lakh)
	P	articu	ılar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				Secondary)							
		77		Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary)							
			77.20	Career Guidance / Councelling	13199	0.08000	1055.92	6177	0.05000	308.85	Considered 6177 govt secondary and senior secondary schools @ Rs. 5000/school (also approved in 2020-21) for selected subhead of the proposal 1.Artificial Intelligence based Tamil Nadu Student Platform (TNSP) portal with the link for short term certificate courses. 2.Conducting certificate courses through online 3.Training for selected talented students in 32 districts
			77. 117	Documentation of Best Practices on Shagun Portal	1	25.00000	25	1	25.00000	25	Considered Rs. 25 lakhs for Documentation of Best Practices on Shagun Portal
			77. 326	PINDICS	110889	0.00010	11.089	110889	0.00010	11.0889	Considered as proposed by the state
			77.402	Geographical skills	1380	0.16300	224.94	1380	0.01000	13.8	Considered 1380 government schools @ Rs. 1000/school for basic requirements like wall maps, Atlas, topo-sheet, campas, etc.

Costing Sheet										(Rs. in lakh)
	Proposal			Approval						
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		77.403	SCOPE	320	0.10000	32	32	1.00000	32	Considered the proposed intervention @ Rs. 1 lakh per district. Objectives of the proposed intervention SCOPE (Specific Concept Oriented programme) are to enhance Higher Secondary Students' understanding of concepts through experimentation, promoting learning through experimentation & promoting scientific inquiry. Mode of implementation are formation of subject wise State Expert Team, Orientation District level Resource Person and teachers; Documentation of SCOPE Projects at school level.

			Cost	ing Sheet						(Rs. in lakh)
	Pa	rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		77.40	1 14417 Helpline	32	19.46400	622.848	32	3.50000	112	Considered @ Rs.3.5 lakhs/district (the same unit cost was also approved in 2020-21). To redress query of students. Students can get career guidance counselling and psychological support through this helpline.
										Note the state would meet out the expenses from recommended amount (1) Toll free Telephone Charges for 12 months (2)Telephone& Internet Charges (3) Partial support to the related persons. The state would bear the remaining expenses.
		77.400		1	21.79000	21.79	1	21.79000	21.79	Recommended.The proposal is for implementation of Community Radio in Salem District on pilot basis where most of the area is deprived of Internet access either fully or partially.
		79	Total of Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary) Project Innovation -			1993.59			524.53	
			(Rec) - (State Specific) (Elementary)							

			Costi	ng Sheet						(Rs. in lakh)
	Pa	articular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79.60	Quality Monitoring Tool (QMTs)	45827	0.00020	9.1654	31214	0.00020	6.2428	Considered 31214 government elementary schools for external evaluation format @ Rs. 20/sch00l. The state may conduct in online mode due to covid situation
		79.6	B Teacher Appraisal Format (PINDICS)	191506	0.00010	19.1506	191506	0.00010	19.1506	Considered 191506 teachers including head teacher for self-evaluation at elementary level @ Rs. 10/teacher.
		79.13	Twining of School	16432	0.03000	492.96	16432	0.01000	164.32	Considered 16432 schools @ Rs. 1000/school to cover exchange of ideas, sharing of best practices, etc., and other activities among students/Teachers of different schools. In the COVID pandemic whole activities would be online and virtual mode. Hence the cost is @ Rs. 1000/school

			Cost	ing Sheet						(Rs. in lakh)
	Pa	rticular			Proposal				Approval	•
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79. 387	No Bag Day	1263550	0.00075	947.6625	1263550	0.00010	126.355	Under this proposal the state wants to conduct these major activities (1) Orientation training to the District Coordinators and one BRTE from the District: This training could be subsumed with other training programmes which are already recommended. (2) District level orientation training to one BRTE and Office in charge BRTE from each – block: Needs to subsume with other trainings which are already recommended. (3) Conducting block level training to one teacher from each school" Needs to subsume with other trainings which are already recommended (4) Conducting No bag day at schools (3 days – 1 day per Term): In the COVID-19 pandemic schools are closed. Therefore not possible to conduct bagless day (5) Conducting activity to assess the attainment and improvement level of the students: In virtual mode the state may conduct this activity and

		Cos	ting Sheet						(Rs. in lakh)
	Partic	cular		Proposal			1	Approval	
Major Component	Sub	Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
Component	Component								considered @Rs10/student for 1263550 students. (6) Making data entry on EMIS regarding KPI: It could be meet out from MMER

			Costi	ng Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79.473	MAUNAM - Mana Valamum Udal NAlamuM	5697	0.09838	560.47086	5697	0.03004	171.13788	The implementation strategy of the proposed intervention are to conduct of yoga classes for upper primary students all over the state for three months from June to August - 18 hours for an academic year (Two classes each of 90 minutes duration per week); In the COVID-19 pandemic, yoga classes and yoga competition at school and block level are not conducive. But the state may implement the proposed intervention through ONLINE/VIRTUAL mode; accordingly financial support has considered. Therefore or online classes considered for 3 months and Rs. 0.26 lakhs for Documentation & Monitoring

			Cost	ing Sheet						(Rs. in lakh)
	Pa	articular			Proposal			,	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79.474	Geographical Skill	1509	0.16300	245.967	1509	0.00700	10.563	Considered the proposed intervention "Geographical Skill" @ Rs. 700/school. The recommended unit cost is only for selected essential items i.e. wall maps (world, India and State), globe and topo-sheet. These selected items are as per syllabus of elementary schools.

			Cost	ting Sheet						(Rs. in lakh)
	Pa	rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79. 475	Magizh Kanitham	6948	0.01658	115.19784	6948	0.01500	104.22	Magizh Kanitham – A Gate Way to Fun Math'. The intervention is aimed at bringing about a pedagogical transition in the regular teaching of math with an intention of amplifying the conceptual comprehension of primary students on basic math skills. Targeted Group: Upper primary VI to VIII students of 6948 Government Upper Primary Schools. But due to COVID pandemic implementation would be on VIRTUAL MODE. Note: Proposed activities are (1) KRP- 124-3 day orientation for District level (2) RP-826- 2 day orientation for Block level (3) Teachers Training (One Teacher from each school)

			Costi	ng Sheet						(Rs. in lakh)
	Pa	articular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		79.483	Individualized therapeutic and Academic support for Home based CWSN students	7786	0.13788	1073.53368	7786	0.10000	778.6	It is a state specific pilot project for 7786 CwSN receiving Home Based Education. Here Children with profound disability require specialized materials unlike regular intervention materials. Specific interventions and devices for gross motor development, fine motor development, writing equipment, modified switches, specialized therapeutic services like Neuro developmental therapy, simple ramps, mobility equipment etc. will be provided to these 7786 CwSN. Further, Devices for activities for Daily Living Skills will be given. For example: Modified tooth brush, adapted closets, Modified Bathing Equipment, Feeding Equipment, Feeding Equipment, etc. Writing Grips, the Heavy weight Pen, The Grotto Grip Pencil, Grasp Trainer, Adaptive scissors, Orthotic Boots Walkers, Standing devices, Braces, Gait Trainers ,Finger Cushion Grips, Contracture Cushion, Anti-Spasticity Ball

				Costi	ng Sheet						(Rs. in lakh)
		articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
											Splint etc. will also be provided. These children will be provided these services with the support of therapists and Special Educators. The same is recommended for 7786 CwSN @ Rs.13000/- per CwSN. The state is further advised to document this activity and upload the success stories.
			79. 484	Vagupparai Nokkin (TNVN) Mobile app	31214	0.02555	797.5177	1	106.00000	106	recommended for CRC mobile app
				Total of Project Innovation - (Rec) - (State Specific) (Elementary)			4261.63			1486.59	3.13
		83		Project Kala Utsav (Secondary)							
			83.2	Kala Utsav	1	2.00000	2	1	12.00000	12	Recommended an amount of Rs 12.0 lakh as per norm ,for conducting kala utsav activities district ,state and National level. Due to ongoing Pandemic situation online participation should be taken up at national level.
				Total of Project Kala Utsav (Secondary)			2			12	
		93		LEP (Class VI - VIII)							
			93.1	Learning Enhancement/Enrichment Programme (Remedial Teaching)	315991	0.00500	1579.955	315991	0.00500	1579.955	Considered 315991 students @ Rs. 500/student for LEP
				Total of LEP (Class VI - VIII)			1579.96			1579.96	

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		94		LEP (Class IX - XII)							
			94.1	Learning Enhancement/Enrichment Programme (Remedial Teaching)	379651	0.00500	1898.255	379651	0.00500	1898.255	Considered 379651 (25%) students @ Rs. 500/student. Due to COVID pandemic the state would conduct LEP classes in VIRTUAL mode
				Total of LEP (Class IX - XII)			1898.26			1898.26	
		Innov	l of Funds vation, Gu	for Quality (LEP, idance etc)			13667.01			8352.77	
	Foundational Literacy and	86		Foundation Literacy & Numeracy (Elementary)							
	Numeracy		86.1	Teaching Learning Materials for implementation of Innovative pedagogies	1170218	0.00300	3510.654	1672018	0.00300	5016.054	State has proposed for students of class I to III. Recommended TLMs for 1672018 students of Grades 1 to 5 @ Rs. 300 per student for Work books/sheets, supplementary graded materials, School Readiness Modules, IEC activities, etc. State needs to ensure that a mechanism is put in place for monitoring the progress on KPIs identified.
			86.2	Teacher Resource Material/Activity Handbook	83133	0.00050	41.564	83133	0.00050	41.5665	Recommended @ Rs. 50 per teacher. This fund will be used for Materials/ Activity Handbooks developed by NCERT under specialized online NISHTHA training for FLN or State may develop their own.

				Costi	ng Sheet						(Rs. in lakh)
	Pa	rticula	ır			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			86.3	Capacity building of Teachers of Grades I to V (New)	43215	0.03000	1296.45	108275	0.01000	1082.75	Recommended @ Rs. 1000 per teacher for 108275 teachers as per UDISE+ 2019-20 of Govt and Govt. aided schools for Specialized online NISHTHA training for teachers of foundational years. A customized FLN package for teachers teaching at foundational stage of education (NISHTHA) will be designed covering teachers of early primary grades, to meet the specific content and pedagogical requirements. MoE will launch this programme in 2021 and NCERT will conduct the training programmes.
			86.4	Independent, periodic and holistic assessment of Students Total of Foundation	16	10.00000	160	16	10.00000	160	Implementation Guidelines shared by MoE. State need to follow the same for future plan of action. State is implementing FLN in a phased manner and in the 1st phase covering only 16 districts.
				Literacy & Numeracy (Elementary)			5008.67			6300.37	
		87		Formation of PMU (Elementary)							

			Cost	ting Sheet						(Rs. in lakh)
	Pa	rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		87.1	State Level	1	100.00000	100	1	50.00000	50	Recommended for setting-up of State PMU including subject experts/IT personnel/Data analysts etc. An Implementation Framework consisting of roadmaps and annual action plans for implementing of activities covering all the focus areas of FL&N Mission will be prepared by the respective State. The State is requested to provide details of plan of action and structure of PMU.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal			4	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			87. 2	District Level	16	24.00000	384	16	20.00000	320	Recommended for setting-up of District PMU in 16 districts in the 1st phase including subject experts/IT personnel/Data analysts etc. An Implementation Framework consisting of roadmaps and annual action plans for implementing of activities covering all the focus areas of FL&N Mission will be prepared by the respective State. The State is requested to provide details of plan of action and structure of PMU.
				Total of Formation of PMU (Elementary)			484			370	
			of Found	ational Literacy and			5492.67			6670.37	
	Training for In- service Teacher	107		In-Service Training (IX - XII)							
	and Head Teachers		107.1	Teachers Class IX to X (Government Schools)	46900	0.01500	703.5	46900	0.01000	469	Recommended as proposed @ Rs.1000/- per teacher for Online NISHTHA Training at Secondary level (Classes IX-X) for Government teachers.
			107.2	Teachers Class XI to XII (Government Schools)	34991	0.01500	524.865	31046	0.01000	310.46	Recommended as appraised @ Rs.1000/- per teacher for Online NISHTHA Training at Sr. Secondary level (Classes XI-XII) for Government teachers.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			107.3	Teachers Class IX to X (Government Aided Schools)	16935	0.01500	254.025	16935	0.01000	169.35	Recommended as proposed @ Rs.1000/- per teacher for Online NISHTHA Training at Secondary level (Classes IX-X) for Government Aided teachers.
			107.4	Teachers Class XI to XII (Government Aided Schools)	14277	0.01500	214.155	13131	0.01000	131.31	Recommended as appraised @ Rs.1000/- per teacher for Online NISHTHA Training at Senior Secondary level (Classes XI-XII) for Government Aided teachers.
			107.5	KRPs Training at State level (Class IX to X)	400	0.02000	8	400	0.01000	4	Recommended as proposed @ Rs.1000/- per KRP for Online NISHTHA Training at Secondary level.
				Total of In-Service Training (IX - XII)			1704.54			1084.12	
			 of Traini dead Teac	ng for In-service Teacher			1704.54			1084.12	
	Composite School Grant	118	Toda Toda	Annual Grant (up to Highest Class VIII)							
			118.1	School Grant - (Enrol > 30 and <=100)	12861	0.25000	3215.25	12796	0.25000	3199	s per U-DISE+ 2019- 20, recommended 12796 schools excluding zero enrollment schools @ Rs. 50000 per school. 10% of the amount is to be utilized for Swachhta Programs.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			118.2	School Grant - (Enrol > 100 and <= 250)	5773	0.50000	2886.5	5765	0.50000	2882.5	As per U-DISE+ 2019- 20, recommended 5765 schools excluding zero enrollment schools @ Rs. 50000 per school. 10% of the amount is to be utilized for Swachhta Programs.
			118.3	School Grant - (Enrol > 250 and <= 1000)	674	0.75000	505.5	674	0.75000	505.5	s per U-DISE+ 2019- 20, recommended 674 schools excluding zero enrollment schools @ Rs. 75000 per school. 10% of the amount is to be utilized for Swachhta Programs.
			118.4	School Grant - (Enrol > 1000)	6	1.00000	6	6	1.00000	6	s per U-DISE+ 2019- 20, recommended 6 schools excluding zero enrollment schools @ Rs. 100000 per school. 10% of the amount is to be utilized for Swachhta Programs.
			118.5	School Grant (Enrol >= 1 and <= 30)	11973	0.10000	1197.3	11973	0.10000	1197.3	As per U-DISE+ 2019- 20, recommended 11973 schools excluding zero enrollment schools @ Rs. 10000 per school. 10% of the amount is to be utilized for Swachhta Programs.
				Total of Annual Grant (up to Highest Class VIII)			7810.55			7790.3	
		119		Annual Grant (up to Highest Class X or XII)							
			119. 1	School Grant - (Enrol > 30 and <=100)	613	0.25000	153.25	613	0.25000	153.25	Considered 16 schools @ Rs. 25000/school

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal			4	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			119.2	School Grant - (Enrol > 100 and <= 250)	2279	0.50000	1139.5	2279	0.50000	1139.5	Considered 2279 schools @ Rs. 50000/school
			119. 3	School Grant - (Enrol > 250 and <= 1000)	2902	0.75000	2176.5	2902	0.75000	2176.5	Considered 16 schools @ Rs. 75000/school
			119.4	School Grant - (Enrol > 1000)	367	1.00000	367	367	1.00000	367	Considered 16 schools @ Rs. 100000/school
			119.5	School Grant (Enrol >= 1 and <= 30)	16	0.10000	1.6	16	0.10000	1.6	Considered 16 schools @ Rs. 10000/school (Enrol >= 1 and <= 30)
				Total of Annual Grant (up to Highest Class X or XII)			3837.85			3837.85	
		Total	of Compo	osite School Grant			11648.4			11628.15	
	Library Grants	120		Library Grant (upto Highest Class VIII)							
			120.1	Upper Primary Schools	6948	0.13000	903.24	6948	0.13000	903.24	Considered 6948 (U- DISE+) schools @ Rs. 13000/school
			120. 2	Primary Schools	24266	0.05000	1213.3	24266	0.05000	1213.3	Considered 24266 (U-DISE+) schools @ Rs. 5000/school
				Total of Library Grant (upto Highest Class VIII)			2116.54			2116.54	
		121		Library Grant (upto Highest Class XII)							
			121.1	Secondary Schools (Upto Class X)	3120	0.15000	468	3120	0.15000	468	Considered 3120 schools @ Rs. 15000/school
			121 .2	Senior Secondary School (Upto Class XII)	3057	0.20000	611.4	3057	0.20000	611.4	Considered 3057 schools @ Rs. 20000/school
				Total of Library Grant (upto Highest Class XII)			1079.4			1079.4	
		Total	of Librar	y Grants			3195.94			3195.94	
	Rastriya Aavishkar	124		Rashtriya Aavishkar Abhiyaan (Elementary)							

				Costi	ng Sheet						(Rs. in lakh)
	F	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	Abhiyan		124. 2	Quiz Competition	6948	0.00400	27.792	6948	0.00400	27.792	Considered the proposed intervention for 6948 elementary schools @ Rs. 400/school. Quiz competition would be conducted on VIRTUAL MODE.
				Total of Rashtriya Aavishkar Abhiyaan (Elementary)			27.79			27.79	
		125		Rashtriya Aaviskaar Abhiyan (Secondary)							
			125.1	Science Exhibition / Book Fair	32	1.00000	32	32	1.00000	32	Considered @ Rs. 1 lakh per district. Due to COVID-19 pandemic the proposed intervention would be implemented on virtual mode.
			125. 2	Quiz Competition	9234	0.00500	46.17	6177	0.00500	30.885	As per U-DISE+2019- 20, there are 6177 secondary and Senior secondary government schools and considered @ Rs. 500/school. Quiz Competition would be conducted on virtual mode.

				Costi	ing Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			125.6	Science Kit	1509	0.10947	165.191	1509	0.10947	165.19023	Considered 1509 Govt. schools @ Rs.10945/school NCERT kits. Note: From 2018-19 to 2020-21, total 4008 (2018-19-1500 +2019=20-1000+ 2020-21-1508) schools are covered under science kits.
			125.11	School Mentoring by Higher Education Instititutes	120	0.10000	12	120	0.05000	6	Considered 120 schools @ Rs.5000/school (In view of covid circumstances). List of schools and affiliating Institutes to be provided. If possible the state may adopt nearest neighour strategy in the implementation of the proposed intervention.
				Total of Rashtriya Aaviskaar Abhiyan (Secondary)			255.36			234.08	
		Total	of Rastriy	ya Aavishkar Abhiyan			283.15			261.87	
	ICT and Digital Initiatives	127		Digital Hardware & Software (up to Highest Class VIII) - NR							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	_		127.1	Digital Hardware & Software (Type - I) (Elementary)	3477	6.40000	22252.8	1784	6.40000	11417.6	Recommended for 1784 schools @ a unit cost of Rs. 6.4 Lakh per school. The cost includes digital hardware, OS/software and furniture.
				Total of Digital Hardware & Software (up to Highest Class VIII) - NR			22252.8			11417.6	
		129		Digital Hardware & Software (upto Highest Class XII) - NR							
			129 .1	Digital Hardware & Software (Type - I) (Secondary & Sr. Secondary)	463	6.00000	2778	109	6.00000	654	Recommended for 109 schools @ a unit cost of Rs. 6.00 Lakh per school.
			129 .2	Smart Classroom (Type - II) (Secondary & Sr. Secondary)	2856	2.40000	6854.4	865	2.40000	2076	Recommended for 865 schools @ a unit cost of Rs. 2.4 Lakh per school for 2 smart classrooms.
			129. 5	Operating System / Softwares	463	0.20000	92.6	109	0.20000	21.8	Recommended for 109 schools @ a unit cost of Rs. 0.20 Lakh per school.
			129. 6	Furniture	463	0.20000	92.6	109	0.20000	21.8	Recommended for 109 schools @ a unit cost of Rs. 0.20 Lakh per school.
				Total of Digital Hardware & Software (upto Highest Class XII) - NR			9817.6			2773.6	
		130		Recurring Components (Digital Hardware & Software upto Highest Class XII)							
			130. 2	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I)	4786	0.60000	2871.6	4786	0.60000	2871.6	Recommended for 4786 functional schools.

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				(Existing)							
				Total of Recurring Components (Digital Hardware & Software upto Highest Class XII)			2871.6			2871.6	
		Total	of ICT an	d Digital Initiatives			34942			17062.8	
	Support at Pre- Primary Level	134		Pre-Primary (Recurring)							
			134.4	TLM for Children	47620	0.00500	238.1	47620	0.00500	238.1	Recommended for TLM to pre-primary children
			134. 16	Support to Pre-Primary (Existing)	2381	0.15529	369.74549	2381	0.10521	250.50501	Support recommended for existing pre primary children for development of ECCE curriculum, activity based learning resources and training of Master trainers as per NISHTHA FLN guidelines.
				Total of Pre-Primary (Recurring)			607.85			488.61	
		Total	of Suppo	rt at Pre-Primary Level			607.85			488.61	
	Academic support through	135		Provision for BRCs/URCs							
	BRC/URC/CRC		135.1	Financial Support for 1 Accountant-cum-support staff	773	2.13400	1649.582	773	1.94000	1499.62	Recommended salary as per the norms.
			135.2	Financial Support for 1 Data Entry Operator in position	343	1.80400	618.772	343	1.64000	562.52	Recommended salary as per the norms.
			135 .3	Financial Support for 1 MIS Coordinator in position	402	2.39800	963.996	402	2.18000	876.36	Recommended salary as per the norms.
			135.4	Financial Support for 2 Resource Persons for CWSN	804	2.40000	1929.6	804	1.92000	1543.68	Recommended salary as per the norms.

				Costi	ng Sheet						(Rs. in lakh)
	F	Particu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			135 .5	Financial Support for 6 Resource Persons at BRC	1910	7.30000	13943	1910	6.20000	11842	Recommended salary as per the norms.
			135.8	Meeting, TA	413	0.20000	82.6	413	0.20000	82.6	Recommended as proposed for 413 BRCs @ Rs.0.20 lakh per BRC.
			135. 9	Contingency Grant	413	0.50000	206.5	413	0.25000	103.25	Recommended as appraised for 413 BRCs @ Rs.0.25 lakh per BRC.
				Total of Provision for BRCs/URCs			19394.05			16510.03	
		137		Provisions for CRCs							
			137.4	Meeting, TA	4088	0.05000	204.4	4088	0.04000	163.52	Recommended as appraised for 4088 CRCs @ Rs.0.04 lakh per CRC.
			137. 5	Contingency Grant	4088	0.10000	408.8	4088	0.08000	327.04	Recommended as appraised for 4088 CRCs @ Rs.0.08 lakh per CRC.
			137.6	Financial Support for CRC Coordinator (one)	4074	7.30000	29740.2	4074	6.20000	25258.8	Recommended salary as per the norms.
			137.7	Mobility Support for CRC(Strengthening of CRC)	31214	0.01000	312.14	31187	0.01000	311.87	Recommended for 31187 Govt. schools @ Rs 1000 per school per year.
				Total of Provisions for CRCs			30665.54			26061.23	
		BRC/	'URC/CRC	mic support through			50059.59			42571.26	
	Total for Quality	Interve	entions				121601.16			91315.88	
Sports & Physical Education	Sports & Physical Education	122		Sports & Physical Education (upto Highest Class XII)							
			122.1	Sports & Physical Education (Secondary)	3120	0.25000	780	3120	0.25000	780	Considered 3120 schools @ Rs. 25000/school

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
•	•		122 .2	Sports & Physical Education (Sr. Secondary)	3057	0.25000	764.25	3057	0.25000	764.25	Considered 3057 schools @ Rs. 25000/school
				Total of Sports & Physical Education (upto Highest Class XII)			1544.25			1544.25	
		123		Sports & Physical Education (upto Highest Class VIII)							
			123 .1	Sports & Physical Education (Primary Schools)	24266	0.05000	1213.3	24266	0.05000	1213.3	Considered 24266 schools @ Rs. 5000/school
			123 .2	Sports & Physical Education (Upper Primary Schools)	6948	0.10000	694.8	6948	0.10000	694.8	Considered 24266 schools @ Rs. 10000/school
				Total of Sports & Physical Education (upto Highest Class VIII)			1908.1			1908.1	
		Total	of Sports	& Physical Education			3452.35			3452.35	
	Total for Sports &	& Physic	cal Educat	ion			3452.35			3452.35	
Teacher Education	Technology Support to TEIs	143		Technology Support to TEIs (Recurring)							
			143.2	DIETs (Technology Support)	32	2.40000	76.8	32	2.40000	76.8	Recommended as proposed for S32 DIETs @ Rs. 2.40 lakh per DIETs.
				Total of Technology Support to TEIs (Recurring)			76.8			76.8	
		Total	of Techn	ology Support to TEIs			76.8			76.8	
	Program & Activities including Faculty	144		Program & Activities including Faculty Development of Teacher Educators							

			Costi	ng Sheet						(Rs. in lakh)
		rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	Development of Teacher Educators	144.1	Program & Activities (DIET)	32	40.00000	1280	32	40.00000	1280	Recommended @ Rs 40.00 lakh per DIET for 32 DIETs. This fund will also be utilized for development of the State Curriculum Frameworks (SCFs)- for conducting activities such as consultations with stakeholders at the ditrict level, etc.
		144.2	Specific projects for Research activities (DIET)	32	10.00000	320	32	5.00000	160	Recommended @ Rs. 5.00 lakh per DIET for 32 functional DIETs. This fund will be utilized for conducting specific research activities such as action researches, small scale studies, etc.
		144.3	Program & Activities (SCERT)	1	40.00000	40	1	40.00000	40	Recommended @ Rs 40.00 lakh for SCERT. This fund will also be utilized for development of the State Curriculum Frameworks (SCFs)- for conducting activities such as consultations with stakeholders at the district level, etc.
		144.4	Specific programme for Research activities (SCERT)	1	10.00000	10	1	10.00000	10	Recommended @ Rs. 10.00 lakh for SCERT. This fund will be utilized for conducting specific research activities such as action researches, small scale studies, etc.
			Total of Program			1650			1490	

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
•	•			&Activities including Faculty Development of Teacher Educators							
			ty Develo	am & Activities including penent of Teacher			1650			1490	
	Assessment Cell	145		Assessment Cell							
	(SCERT)		145.1	SCERT	1	50.00000	50	1	40.00000	40	Recommended as appraised, for setting up of an assessment cell at the state level at SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc. NOTE: This amount is not to be utilized for hiring of staff and salary support.
				Total of Assessment Cell			50			40	
		Total	of Assess	ment Cell (SCERT)			50			40	
	Financial Support for Teacher	147		Financial Support for Salary in TEIs (Academic Posts)							

			Cost	ing Sheet						(Rs. in lakh)
	Pa	rticular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	Educators (TEIs)	147.1	DIETS	433	12.92328	5595.78	433	7.75400	3357.482	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the total filled up posts and provided for 433 Academic posts (26 Principal, 32 Vice Principal, 101 Sr. Lecturer and 274 Lecturers) in 32 functional DIETs.
		147.2	BITES	5	8.11700	40.585	5	4.87000	24.35	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the total filled up posts and provided for 5 Academic (Lecturers) posts in BITEs.
		147.3	SCERT/SIEs	29	15.29690	443.61	19	7.48790	142.2701	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the filled up post for 19 Academic faculties in SCERT (8 Assistant Professor and 11 Lecturer:After Upgradation). The remaining 18 Academic Posts were created and filled up before upgradation.
			Total of Financial Support for Salary in TEIs (Academic Posts)			6079.98			3524.1	

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			,	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		148		Para Academic Posts (Financial Support)							
			148.2	DIETS	69	8.40609	580.02	69	5.04362	348.00978	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the total filled up post and provided for 69 Para Academic posts (3 Wok Education Teacher, 26 Librarians, 12 Lab Assistant and, 28 Accountants)in 32 functional DIETs.
				Total of Para Academic Posts (Financial Support)			580.02			348.01	
		Total Educ	of Financators (TE	cial Support for Teacher			6660			3872.11	
	DIKSHA (National	151		DIKSHA (National Teacher Portal)							
	Teacher Portal)		151.2	Development of Digital Content	1	50.00000	50	1	50.00000	50	Progress: State has created 352 energized textbook. 16815 contents were developed and updated on DIKSHA portal. An amount of Rs. 50 lakh is recommended for content creation, development under DIKSHA.
				Total of DIKSHA (National Teacher Portal)			50			50	
		Porta		A (National Teacher			50			50	
	Annual Grant	152		Annual Grant for TEIs							

			Cos	ting Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	for TEIs	152	1 BITES	7	5.00000	35	7	5.00000	35	Recommended as proposed for 7 functional BITEs. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment's, stationary, office expenses, etc
		152	2 DIETS	32	20.00000	640	32	20.00000	640	Recommended as proposed for 32 functional DIETs. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment's, stationary, office expenses, etc

									(Rs. in lakh)		
	P	articu	ılar			Proposal			A	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			152. 3	SCERT	1	35.00000	35	1	35.00000	35	Recommended as proposed for the SCERT. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment's, stationary, office expenses, etc
				Total of Annual Grant for TEIs			710			710	
		Total	l of Annua	l Grant for TEIs			710			710	
	Total for Teacher		tion				9196.80			6238.91	
Financial Support for	Financial Support for	154		Financial Support for Salary - (Elementary)							
Teachers	Teachers (HMs/Teachers)		154.10	Financial Support for Teacher Salary (Elementary) Total of Financial	1	0.00001	0.00001	1	78869.49800	78869.498 78869.5	As per direction of the Ministry of Finance Government of India aggregate amount has been given in a single head. Rs. 78869.498 lakhs considered for elementary school teachers financial support in the current financial year 2021-22)
				Support for Salary - (Elementary)			U			78869.5	
		157		Financial Support for Teachers (Secondary)							

				Costi	ng Sheet						(Rs. in lakh)
		articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			157.8	Financial Support for Teacher Salary (Secondary)	1	0.00001	0.00001	1	38952.00000	38952	As per direction of the Ministry of Finance Government of India aggregate amount has given in a single head. Rs.38952lakhs considered for secondary school teachers financial support in the current financial year 2021-22
				Total of Financial Support for Teachers (Secondary)			0			38952	
			of Financ Teacher	rial Support for Teachers s)			0			117821.5	
	Total for Financia	al Supp	ort for Te				0.00			117821.50	
Gender & Equity	Kasturba Gandhi Balika Vidyalaya	165		KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)							
	(KĞBVs)		165. 7	Replacement of bedding (once in 3 years)	50	0.05000	2.5	50	0.02000	1	Recommended @Rs.2000/- per girl for 50 girls in one KGBV
				Total of KGBV - Type - I (NR) (Previous Year) (Classes VI -VIII)			2.5			1	
		166		KGBV - Type - I (Recurring) (Previous Year) (Classes VI -VIII)							
			166.1	Food/Lodging per child per month	3500	0.21600	756	3500	0.16200	567	Recommended @Rs.1800/- per girl per month for 9 months for existing 47 KGBVs (Total capacity- 3500 girls) [24 KGBVs with capacity - 50 girls in each KGBV and 23 KGBVs with capacity - 100 girls in each KGBV]

			Costi	ing Sheet						(Rs. in lakh)
	Pa	articular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166.2	Stipend per girl per month	3500	0.02400	84	3500	0.01800	63	Recommended @Rs.150/- per girl per month for existing 47 KGBVs (Total capacity- 3500 girls) [24 KGBVs with capacity - 50 girls in each KGBV and 23 KGBVs with capacity - 100 girls in each KGBV]
		166. 3	Supplementary TLM, Stationery and other educational material	3500	0.01000	35	3500	0.00500	17.5	Due to less expenditure recommended @Rs.500/- per girl per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166.4	1 Warden	47	3.24000	152.28	47	3.24000	152.28	Recommended @Rs.27000/- pm for existing 47 KGBVs (Total capacity- 3500 girls) (01 warden in each KGBV)
		166. 6	4 - 5 Full Time Teachers	211	2.64000	557.04	211	2.64000	557.04	Recommended @Rs.22000/- per month per teacher for existing 47 KGBVs (Total 211 full time teachers in 47 KGBVs) [96 FTT in 24 KGBVs (Capacity - 50 seats) and 115 FTT in 23 KGBVs (Capacity - 100 seats)]

			Cost	ing Sheet						(Rs. in lakh)
		icular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166.8	3 Part Time Teachers	141	0.84000	118.44	141	0.84000	118.44	Recommended @Rs.7000/- per month per teacher for existing 47 KGBVs (Total capacity- 3500 girls) (03 part time teachers in each KGBV)
		166. 9	1 Full Time Accountant	47	1.44000	67.68	47	1.44000	67.68	Recommended @Rs.12000/- pm for existing 47 KGBVs (Total capacity- 3500 girls) (01 accountant in each KGBV)
		166. 10	2 Support Staff – (Accountant/ Assistant, Peon, Chowkidar)	94	0.78000	73.32	94	0.78000	73.32	Recommended @Rs.6500/- per month per staff for existing 47 KGBVs (Total capacity- 3500 girls) (02 staff in each KGBV)
		166. 11	1 Head Cook	47	0.96000	45.12	47	0.96000	45.12	Recommended @Rs.8000/- pm for existing 47 KGBVs (Total capacity- 3500 girls) (01 head cook in each KGBV)
		166.12	2 Assistant Cook	70	0.72000	50.4	70	0.72000	50.4	Recommended @Rs.6000/- per month per assistant cook for existing 47 KGBVs (Total 70 assistant cooks in 47 KGBVs) [46 assistant cooks in 23 KGBVs (capacity - 100 seats) and 24 assistant cooks in 24 KGBVs (capacity - 50 seats)]

			Costi	ng Sheet						(Rs. in lakh)
		icular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		166. 13	Specific skill training per girl	3500	0.01000	35	3500	0.00200	7	Recommended @Rs.200/- per girl per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166.14	Electricity / Water Charges	3500	0.01000	35	47	0.67000	31.49	Recommended @Rs.67000/- per KGBV per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166. 15	Medical care / Contingencies	3500	0.01500	52.5	3500	0.01500	52.5	Recommended @Rs.1500/- per girl per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166. 16	Maintenance	3500	0.03000	105	47	1.00000	47	Recommended @Rs.1.00 lakh per KGBV per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166.17	Miscellaneous	3500	0.02500	87.5	47	0.50000	23.5	Recommended @Rs.50000/- per KGBV per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166.22	Physical / Self Defence	47	0.15000	7.05	47	0.05000	2.35	Recommended @Rs.5000/- per KGBV per annum for existing 47 KGBVs (Total capacity- 3500 girls)
		166. 30	1 House Keeping	47	0.48000	22.56	47	0.48000	22.56	Recommended @Rs.4000/- pm for existing 47 KGBVs (Total capacity- 3500 girls) (01 Sweeper in each KGBV)

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
-				Total of KGBV - Type - I (Recurring) (Previous Year) (Classes VI -VIII)			2283.89			1898.18	
		167		KGBV - Type - II (NR) (New) (Classes VI -X)							
			167.1	Construction of building (new)	1	105.00000	105	1	94.71000	94.71	Recommended as a part of strengthening of existing hostel to accommodate 50 more students from Class VI to X.
			167.4	Furniture/ Equipment (including kitchen)	130	0.02000	2.6	30	0.02000	0.6	Recommended @Rs.2000/- per girl for additional 30 girls in one newly upgraded KGBV (Pachery - Kallakurichi KGBV of Viluppuram district)
			167. 6	Bedding	30	0.05000	1.5	30	0.02000	0.6	Recommended @Rs.2000/- per girl for additional 30 girls in one newly upgraded KGBV (Pachery - Kallakurichi KGBV of Viluppuram district)
				Total of KGBV - Type - II (NR) (New) (Classes VI - X)			109.1			95.91	
		168		KGBV - Type - II (Recurring) (New) (Classes VI -X)							
			168.1	Food/Lodging per child per month	130	0.21600	28.08	130	0.16200	21.06	Recommended @Rs.1800/- per girl per month for 9 months for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)

			Cost	ing Sheet						(Rs. in lakh)	
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
_	-		168.2	Stipend per child per month	130	0.02400	3.12	130	0.01800	2.34	Recommended @Rs.150/- per girl per month for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
			168.3	Supplementary TLM, Stationery and other educational material	130	0.01000	1.3	130	0.00500	0.65	Recommended @Rs.500/- per girl per annum for for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
			168.4	1 Warden	1	3.24000	3.24	1	3.24000	3.24	Recommended @Rs.27000/- per month per warden for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
			168.5	4 - 5 Fulltime teachers	6	2.64000	15.84	6	2.64000	15.84	Recommended @Rs.22000/- per month per full time teacher for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)

			Cost	ing Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		168.7	3 Part time teachers	3	0.84000	2.52	3	0.84000	2.52	Recommended @Rs.7000/- per month per part time teacher for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.8	1 Full time Accountant	1	1.44000	1.44	1	1.44000	1.44	Recommended @Rs.12000/- per month per accountant for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.9	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	2	0.78000	1.56	2	0.78000	1.56	Recommended @Rs.6500/- per month per staff for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168. 10	1 Head Cook	1	0.96000	0.96	1	0.96000	0.96	Recommended @Rs.8000/- per month per head cook for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)

			Cost	ting Sheet						(Rs. in lakh)
	Pa	articular			Proposal			,	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	-	168.11	2 Assistant Cook	3	0.72000	2.16	3	0.72000	2.16	Recommended @Rs.6000/- per month per assistant cook for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.12	Specific Skill training	130	0.01000	1.3	130	0.00200	0.26	Recommended @Rs.200/- per girl per annum for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.13	Electricity / Water Charges	130	0.01000	1.3	1	1.00000	1	Recommended @Rs.1.00 lakh per KGBV per annum for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.14	Medical care / Contingencies	130	0.01500	1.95	130	0.01500	1.95	Recommended @Rs.1500/- per girl per annum for for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)

			Costi	ng Sheet						(Rs. in lakh)
	Pai	rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		168. 15	Maintenance	130	0.03000	3.9	1	1.00000	1	Recommended @Rs.1.00 lakh per KGBV per annum for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.16	Miscellaneous	130	0.02500	3.25	1	0.50000	0.5	Recommended @Rs.50000/- per KGBV per annum for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168.21	Physical / Self Defence	1	0.15000	0.15	1	0.05000	0.05	Recommended @Rs.5000/- per KGBV per annum for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
		168. 28	1 House Keeping	1	0.48000	0.48	1	0.48000	0.48	Recommended @Rs.4000/- per month per housekeeping staff for newly upgraded 01 KGBV (Total capacity- 130 girls) (Existing capacity 100 + additional 30)
			Total of KGBV - Type - II (Recurring) (New) (Classes VI -X)			72.55			57.01	200 · additional 50)
		169	KGBV - Type - II (NR) (Previous Year) (Classes VI -X)							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			169.1	Construction of building	1	105.00000	105	1	94.71000	94.71	Recommended as a part of strengthening of existing hostel to accommodate 50 more students from Class VI to X
			169.4	Furniture/ Equipment (including kitchen)	510	0.02000	10.2	210	0.02000	4.2	Recommended @Rs.2000/- per girl for additional 210 girls in 05 KGBVs, which were upgraded in 2019-20 & 2020- 21
			169.7	Replacement of bedding (once in 3 years)	100	0.05000	5	100	0.02000	2	Recommended @Rs.2000/- per girl 100 girls in 02 KGBVs (50 girls each KGBV)
				Total of KGBV - Type - II (NR) (Previous Year) (Classes VI -X)			120.2			100.91	
		170		KGBV - Type - II (Recurring) (Previous Year) (Classes VI -X)							
			170.1	Food/Lodging per child per month	510	0.21600	110.16	510	0.16200	82.62	Recommended @Rs.1800/- per girl per month for 9 months for existing 05 KGBVs (Total capacity- 510 girls) [02 KGBVs with capacity - 80 girls in each KGBV, 02 KGBVs with capacity 100 girls in each KGBV and 01 KGBV with capacity - 150 girls]

			Cost	ting Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		170.2	Stipend per child per month	510	0.02400	12.24	510	0.01800	9.18	Recommended @Rs.150/- per girl per month for existing 05 KGBVs (Total capacity- 510 girls) [02 KGBVs with capacity - 80 girls in each KGBV, 02 KGBVs with capacity 100 girls in each KGBV and 01 KGBV with capacity - 150 girls]
		170. 3	Supplementary TLM, Stationery and other educational material	510	0.01000	5.1	510	0.00500	2.55	Due to less expenditure recommended @Rs.500/- per girl per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170.4	1 Warden	5	3.24000	16.2	5	3.24000	16.2	Recommended @Rs.27000/- pm for existing 05 KGBVs (Total capacity- 510 girls) (01 warden in each KGBV)
		170. 5	4 - 5 Fulltime teachers	26	2.64000	68.64	26	2.64000	68.64	Recommended @Rs.22000/- per month per teacher for existing 05 KGBVs (Total 26 full time teachers in 05 KGBVs) [20 FTT in 04 KGBVs (Capacity - 80 & 100 seats) and 06 FTT in 01 KGBV (Capacity - 150 seats)]

			Cost	ing Sheet						(Rs. in lakh)
		ticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		170. 7	3 Part time teachers	15	0.84000	12.6	15	0.84000	12.6	Recommended @Rs.7000/- per month per teacher for existing 05 KGBVs (Total capacity- 510 girls) (03 part time teachers in each KGBV)
		170.8	1 Full time Accountant	5	1.44000	7.2	5	1.44000	7.2	Recommended @Rs.12000/- pm for existing 05 KGBVs (Total capacity- 510 girls) (01 accountant in each KGBV)
		170. 9	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	10	0.78000	7.8	10	0.78000	7.8	Recommended @Rs.6500/- per month per staff for existing 05 KGBVs (Total capacity- 510 girls) (02 staff in each KGBV)
		170. 10	1 Head Cook	5	0.96000	4.8	5	0.96000	4.8	Recommended @Rs.8000/- pm for existing 05 KGBVs (Total capacity- 510 girls) (01 head cook in each KGBV)
		170 .11	2 Assistant Cook	11	0.72000	7.92	11	0.72000	7.92	Recommended @Rs.6000/- per month per assistant cook for existing 05 KGBVs (Total 11 assistant cooks in 52 KGBVs) [08 assistant cooks in 04 KGBVs (capacity - 80 & 100 seats) and 03 assistant cooks in 01 KGBV (capacity - 150 seats)]

			Cost	ing Sheet						(Rs. in lakh)
		icular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		170. 12	Specific Skill training	510	0.01000	5.1	510	0.00200	1.02	Recommended @Rs.200/- per girl per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170. 13	Electricity / Water Charges	510	0.01000	5.1	5	1.00000	5	Recommended @Rs.1.00 lakh per KGBV per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170. 14	Medical care / Contingencies	510	0.01500	7.65	510	0.01500	7.65	Recommended @Rs.1500/- per girl per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170. 15	Maintenance	510	0.03000	15.3	5	1.00000	5	Recommended @Rs.1.00 lakh per KGBV per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170 .16	Miscellaneous	510	0.02500	12.75	5	0.50000	2.5	Recommended @Rs.50000/- per KGBV per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170. 21	Physical / Self Defence	5	0.15000	0.75	5	0.05000	0.25	Recommended @Rs.5000/- per KGBV per annum for existing 05 KGBVs (Total capacity- 510 girls)
		170. 31	1 House Keeping	5	0.48000	2.4	5	0.48000	2.4	Recommended @Rs.4000/- pm for existing 05 KGBVs (Total capacity- 510 girls) (01 Sweeper in each KGBV)

				Costi	ng Sheet						(Rs. in lakh)
	F	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	•			Total of KGBV - Type - II (Recurring) (Previous Year) (Classes VI -X)			301.71			243.33	
		171		KGBV - Type - III (NR) (New) (Classes VI -XII)							
			171. 1	Construction of building (new) / Upgradation	4	105.00000	420	4	94.71000	378.84	Recommended as a part of strengthening of existing hostel to accommodate 50 more students from Class VI to XII.
			171.4	Furniture/ Equipment (including kitchen)	520	0.02000	10.4	120	0.02000	2.4	Recommended @Rs.2000/- per girl for additional 120 girls in one newly upgraded 04 KGBVs (30 girls in each KGBV)
			171. 6	Bedding	120	0.05000	6	120	0.02000	2.4	Recommended @Rs.2000/- per girl for additional 120 girls in one newly upgraded 04 KGBVs (30 girls in each KGBV)
			171 .9	Replacement of bedding (once in 3 years)	50	0.05000	2.5	50	0.02000	1	Recommended @Rs.2000/- per girl for existing 50 girls in one KGBV
				Total of KGBV - Type - III (NR) (New) (Classes VI - XII)			438.9			384.64	
		172		KGBV - Type - III (Recurring) (New) (Classes VI -XII)							

			Costi	ng Sheet						(Rs. in lakh)
	Par	ticular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.1	Food/Lodging per child per month	520	0.21600	112.32	520	0.16200	84.24	Recommended @Rs.1800/- per girl per month for 9 months for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172. 2	Stipend per girl per month	520	0.02400	12.48	520	0.01800	9.36	Recommended @Rs.150/- per girl per month for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172. 3	Supplementary TLM, Stationery and other educational material	520	0.01000	5.2	520	0.00500	2.6	Recommended @Rs.500/- per girl per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172.4	1 Warden	4	3.24000	12.96	4	3.24000	12.96	Recommended @Rs.27000/- per month per warden for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (one warden in each

			Costi	ng Sheet						(Rs. in lakh)
	P	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.6	3 Part time teachers	12	0.84000	10.08	12	0.84000	10.08	Recommended @Rs.7000/- per month per part time teacher for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (03 part time teacher in each KGBV)
		172.7	1 Full time Accountant	4	1.44000	5.76	4	1.44000	5.76	Recommended @Rs.12000/- per month per accountant for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (one accountant in each KGBV)
		172.8	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	8	0.78000	6.24	8	0.78000	6.24	Recommended @Rs.6500/- per month per staff for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (02 support staff in each KGBV)

			Cos	ting Sheet						(Rs. in lakh)
	Pa	articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.9	1 Head Cook	4	0.96000	3.84	4	0.96000	3.84	Recommended @Rs.8000/- per month per head cook for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (one head cook in each KGBV)
		172.10	2 Assistant Cook	12	0.72000	8.64	12	0.72000	8.64	Recommended @Rs.6000/- per month per assistant cook for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (03 assistant cooks in each KGBV)
		172.12	Electricity / Water Charges	520	0.01000	5.2	4	1.00000	4	Recommended @Rs.1.00 lakh per KGBV per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)

			Cost	ing Sheet						(Rs. in lakh)
		articular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		172.13	Medical care / Contingencies	520	0.01500	7.8	520	0.01500	7.8	Recommended @Rs.1500/- per girl per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172.14	Maintenance	520	0.03000	15.6	4	1.00000	4	Recommended @Rs.1.00 lakh per KGBV per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172. 15	Miscellaneous	520	0.02500	13	4	0.50000	2	Recommended @Rs.50000/- per KGBV per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)
		172.20	Physical / Self Defence	4	0.15000	0.6	4	0.05000	0.2	Recommended @Rs.5000/- per KGBV per annum for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV)

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	llar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			172. 23	4 Full Time Teachers	24	2.64000	63.36	24	2.64000	63.36	Recommended @Rs.22000/- per month per full time teacher for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (06 full time teacher in each KGBV)
			172.30	1 HouseKeeping	4	0.48000	1.92	4	0.48000	1.92	Recommended @Rs.4000/- per month per housekeeping staff for newly upgraded 04 KGBVs (Total capacity- 520 girls) (Existing capacity 400 + additional 120, 130 seats in each KGBV) (one housekeeping staff in each KGBV)
				Total of KGBV - Type - III (Recurring) (New) (Classes VI -XII)			285			227	
		173		KGBV - Type - III (NR) (Previous Year) (Classes VI -XII)							
			173.4	Furniture/ Equipment (including kitchen)	500	0.02000	10	200	0.02000	4	Recommended @Rs.2000/- per girl for 200 additional girls in 04 KGBVs, which was upgraded in 2019-20 & 2020- 21
				Total of KGBV - Type - III (NR) (Previous Year) (Classes VI -XII)			10			4	
		174		KGBV - Type - III (Recurring) (Previous Year) (Classes VI -XII)							

			Costi	ng Sheet						(Rs. in lakh)
	Par	ticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		174.1	Food/Lodging per child per month	500	0.21600	108	500	0.16200	81	Recommended @Rs.1800/- per girl per month for 9 months for existing 04 KGBVs (Total capacity- 500 girls) [02 KGBVs with capacity - 100 girls in each KGBV and 02 KGBVs with capacity - 150 girls in each KGBV]
		174.2	Stipend per girl per month	500	0.02400	12	500	0.01800	9	Recommended @Rs.150/- per girl per month for existing 04 KGBVs (Total capacity- 500 girls) [02 KGBVs with capacity - 100 girls in each KGBV and 02 KGBVs with capacity - 150 girls in each KGBVI
		174. 3	Supplementary TLM, Stationery and other educational material	500	0.01000	5	500	0.00500	2.5	Due to less expenditure recommended @Rs.500/- per girl per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174.4	1 Warden	4	3.24000	12.96	4	3.24000	12.96	Recommended @Rs.27000/- pm for existing 04 KGBVs (Total capacity- 500 girls) (01 warden in each KGBV)

			Cost	ing Sheet						(Rs. in lakh)
		icular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		174.6	3 Part time teachers	12	0.84000	10.08	12	0.84000	10.08	Recommended @Rs.7000/- per month per teacher for existing 04 KGBVs (Total capacity- 500 girls) (03 part time teachers in each KGBV)
		174.7	1 Full time Accountant	4	1.44000	5.76	4	1.44000	5.76	Recommended @Rs.12000/- pm for existing 04 KGBVs (Total capacity- 500 girls) (01 accountant in each KGBV)
		174.8	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	8	0.78000	6.24	8	0.78000	6.24	Recommended @Rs.6500/- per month per staff for existing 04 KGBVs (Total capacity- 500 girls) (02 staff in each KGBV)
		174. 9	1 Head Cook	4	0.96000	3.84	4	0.96000	3.84	Recommended @Rs.8000/- pm for existing 04 KGBVs (Total capacity- 500 girls) (01 head cook in each KGBV)
		174.10	2 Assistant Cook	10	0.72000	7.2	10	0.72000	7.2	Recommended @Rs.6000/- per month per assistant cook for existing 04 KGBVs (Total 10 assistant cooks in 04 KGBVs) [04 assistant cooks in 02 KGBVs (capacity - 100 seats) and 06 assistant cooks in 02 KGBVs (capacity - 150 seats)]

			Costi	ng Sheet						(Rs. in lakh)
	P	articular			Proposal			,	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	•	174.11	Specific skill training per girl	500	0.01000	5	500	0.00200	1	Recommended @Rs.200/- per girl per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174.12	Electricity / Water Charges	500	0.01000	5	4	1.00000	4	Recommended @Rs.1.00 lakh per KGBV per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174.13	Medical care / Contingencies	500	0.01500	7.5	400	0.01500	6	Recommended @Rs.1500/- per girl per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174.14	Maintenance	500	0.03000	15	4	1.00000	4	Recommended @Rs.1.00 lakh per KGBV per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174 .15	Miscellaneous	500	0.02500	12.5	4	0.50000	2	Recommended @Rs.50000/- per KGBV per annum for existing 04 KGBVs (Total capacity- 500 girls)
		174.20	Physical / Self Defence	4	0.15000	0.6	4	0.05000	0.2	Recommended @Rs.5000/- per KGBV per annum for existing 04 KGBVs (Total capacity- 500 girls)

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	ılar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			174.23	4 Full Time Teachers	22	2.64000	58.08	22	2.64000	58.08	Recommended @Rs.22000/- per month per teacher for existing 04 KGBVs (Total 22 full time teachers in 04 KGBVs) [10 FTT in 02 KGBVs (Capacity - 100 seats) and 12 FTT in 02 KGBVs (Capacity - 150 seats)]
			174. 34	1 House Keeping	4	0.48000	1.92	4	0.48000	1.92	Recommended @Rs.4000/- pm for existing 04 KGBVs (Total capacity- 500 girls) (01 Sweeper in each KGBV)
				Total of KGBV - Type - III (Recurring) (Previous Year) (Classes VI -XII)			276.68			215.78	
		178		KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)							
			178.1	Food/Lodging per child per month	4400	0.21600	950.4	4400	0.16200	712.8	Recommended @Rs.1800/- per girl per month for 9 months for existing 44 KGBVs (Capacity - 100 girls in each KGBV)
			178.2	Stipend per girl per month	4400	0.02400	105.6	4400	0.01800	79.2	Recommended @Rs.150/- per girl per month for existing 44 KGBVs (Capacity - 100 girls in each KGBV)

			Cost	ing Sheet						(Rs. in lakh)
		rticular			Proposal				Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		178.3	Supplementary TLM, Stationery and other educational material	4400	0.02000	88	4400	0.00500	22	Recommended @Rs.500/- per girl per annum for existing 44 KGBVs (Capacity - 100 girls in each KGBV)
		178.5	1 Warden	44	1.20000	52.8	44	1.20000	52.8	Recommended @Rs.10000/- per month for existing 44 KGBVs (Capacity - 100 girls in each KGBV) (01 warden in each KGBV)
		178. 7	1 Chowkidar	44	0.66000	29.04	44	0.66000	29.04	Recommended @Rs.5500/- per month per chowkidar for existing 44 KGBVs (Capacity - 100 girls in each KGBV) (01 chowkidar in each KGBV)
		178.8	1 Head Cook	44	0.72000	31.68	44	0.72000	31.68	Recommended @Rs.6000/- per month per head cook for existing 44 KGBVs (Capacity - 100 girls in each KGBV) (01 head Cooks in each KGBV)
		178.9	2 Assistant Cook	88	0.54000	47.52	88	0.54000	47.52	Recommended @Rs.4500/- per month per assistant cook for existing 44 KGBVs (Capacity - 100 girls in each KGBV) (02 Assistant Cooks in each KGBV)
		178.11	Electricity / Water Charges	4400	0.01000	44	44	1.00000	44	Recommended @Rs.1.00 lakh per KGBV per annum for existing 44 KGBVs (Capacity - 100 girls in each KGBV)

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
	-		178. 12	Medical care / Contingencies	4400	0.01500	66	4400	0.01500	66	Recommended @Rs.1500/- per girl per annum for existing 44 KGBVs (Capacity - 100 girls in each KGBV)
			178. 13	Maintenance	4400	0.02000	88	44	1.00000	44	Recommended @Rs.1.00 lakh per KGBV per annum for existing 44 KGBVs (Capacity - 100 girls in each KGBV)
			178.14	Miscellaneous	4400	0.01500	66	44	0.50000	22	Recommended @Rs.50000/- per KGBV per annum for existing 44 KGBVs (Capacity - 100 girls in each KGBV)
			178. 23	House Keeping	44	0.48000	21.12	44	0.48000	21.12	Recommended @Rs.4000/- per month per staff for existing 44 KGBVs (Capacity - 100 girls in each KGBV) (One house keeping staff in each KGBV)
				Total of KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)			1590.16			1172.16	
			of Kastur laya (KGI	ba Gandhi Balika			5490.69			4399.92	
	Special Projects for Equity	185		Special Projects for Equity - (NR) (Secondary)							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
			185.1	Sanitary pad Vending & incinerator machines	1213	0.58300	707.179	318	0.32000	101.76	Sanitary pad vending machine and incinerator can be consider for 313 govt school of Aspiration and special focus districts where minimum girl enrolment is 40. 2 vending sanitary pad vending machine cum incinerator can be considered for 5 school where girl enrolment is more than 1000.Total 318 machines are recommended.
				Total of Special Projects for Equity - (NR) (Secondary)			707.18			101.76	
		187		Special Projects for Equity - (NR) (Elementary)							
			187.1	Sanitary pad Vending & incinerator machines	1965	0.58300	1145.595	566	0.32000	181.12	sanitary pad vending machine and incinerator can be considered for 566 govt. elementary schools of SFD and aspirational districts (as per udise 2019-20) where girl enrolment is more than 35.
				Total of Special Projects for Equity - (NR) (Elementary)			1145.6			181.12	
		190		Project- Girls Empowerment (Secondary)							

			Cost	ing Sheet						(Rs. in lakh)
	Part	icular			Proposal			1	Approval	
Major Component	Sub Component		Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
•		190.57	Adolescent Programme for Secondary students (Students overcoming Substance Abuse)	3057	0.02558	78.2	3057	0.02558	78.19806	Adolescent programme can be considered for proposed 3057 govt secondary and higher secondary schools (as per Udise 2019-20) @Rs. 0.02558 lakhs per school for internet and other online facilities with an estimated outlay of Rs78.19806 Lakhs. Seeing the condition of Covid-19 pandemic State is advice to run the campaign online/through air only.
		190.58	Evening care Centre for Tribal students	28215	0.06491	1831.437	28215	0.00332	93.6738	Project can be considered with Rs. 0.00332 Lakhs Per student cost for 28215 ST students from class 6 to 12. This cost includes learning material, Remuneration of Educational, Volunteers and cost of internet and other facilities. State is advise to do the programme through online mode as much as possible.
			Total of Project- Girls Empowerment (Secondary)			1909.64			171.87	

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		Total	of Specia	l Projects for Equity			3762.41			454.75	
	Total for Gender	& Equit	.y				9253.10			4854.67	
Inclusive Education	Provision for Children with Special Needs (CWSN)	191		Student Oriented Components (Pre- Primary) (District Level) (Recurring)							
			191 .1	Purchase/Development of age appropriate TLMs	429	0.05000	21.45	429	0.05000	21.45	Recommended as proposed
			191.2	Orientation of Principals, Pre-Primary teachers, Anganwadi workers, parents / guardians et	32	0.03000	0.96	32	0.03000	0.96	Recommended as proposed
				Total of Student Oriented Components (Pre-Primary) (District Level) (Recurring)			22.41			22.41	
				Student Oriented Components (Pre- Primary) (Block Level) (Recurring)							
			194. 3	Assistive Devices,Equipments and TLM	1538	0.01000	15.38	1538	0.01000	15.38	Recommended as proposed for 1538 CwSN
					Total of Student Oriented Components (Pre-Primary) (Block Level) (Recurring)			15.38			15.38
		196		Student Oriented Components (Pre- Primary) (Student Specific) (Recurring)							
			196.1	Escort Allowance	3803	0.01000	38.03	3803	0.00500	19.015	Recommended for the period of 5 months
			196.3	Braille Stationary Material (Inc. Embossed Charts, globes etc)	130	0.00500	0.65	130	0.00500	0.65	Recommended for 130 children with low vision and VI
		196.4	Providing Aids & Appliances	1408	0.01000	14.08	1408	0.01000	14.08	Recommended for 1408 CwSN with CP, MD and children with HI and VI etc.	
			196. 5	Story tellers for CWSN	32	0.60000	19.2	32	0.60000	19.2	Recommended as

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal			1	Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
-	-			including the usage of sign language							proposed
				Total of Student Oriented Components (Pre-Primary) (Student Specific) (Recurring)			71.96			52.94	
		197		Stipend for Girls (Pre- Primary) (Recurring)							
			197. 1	Stipend for Girls	1200	0.02000	24	1200	0.02000	24	Recommended for 1200 girls with special needs at Pre- primary level
				Total of Stipend for Girls (Pre-Primary) (Recurring)			24			24	
		198		Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)							
			198.1	Purchase/Development of instructional & Training materials	429	0.50000	214.5	429	0.50000	214.5	Recommended as proposed for 429 blocks
			198. 2	Sports & Exposure Visit	429	0.20000	85.8	429	0.20000	85.8	Recommended as proposed
			198. 3	Therapeutic Services	429	0.50000	214.5	429	0.50000	214.5	Recommended as proposed
			198.4	Orientation of Principals, Educational administrators, parents / guardians etc.	32	0.10000	3.2	32	0.10000	3.2	Recommended as proposed
			198. 5	In-service Training of Special Educators	2196	0.01500	32.94	2196	0.01500	32.94	Recommended as proposed for 2196 special educators
				Total of Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)			550.94			550.94	
		199		Student Oriented Components (Upto Highest Class - VIII) (Block Level) (Recurring)							

				Costi	ng Sheet						(Rs. in lakh)
	P	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
_			199. 1	Identification and Assessment (Medical Assessment Camps)	416	0.30000	124.8	416	0.10000	41.6	Recommended for 416 blocks @ Rs.10000/ per block as per the norm
			199. 2	Teacher Need Analysis for Training	2196	0.20000	439.2	2196	0.20000	439.2	Recommended as proposed
			199. 3	Gap Identification for OoSCwSN	413	0.05000	20.65	413	0.05000	20.65	Recommended as proposed
			199.4	Assistive Devices,Equipments and TLM	429	0.50000	214.5	429	0.50000	214.5	Recommended as proposed for 429 Blocks
			199. 5	Environment Building programme	413	0.05000	20.65	413	0.05000	20.65	Recommended as proposed
			199 .6	Helper/Ayas/Attendant	413	0.04000	16.52	413	0.02000	8.26	Recommended for the period of 6 months
				Total of Student Oriented Components (Upto Highest Class - VIII) (Block Level) (Recurring)			836.32			744.86	
		200		Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)	0			0			
			200.1	Escort Allowance	10358	0.03000	310.74	10358	0.01500	155.37	Recommended for the period of 6 months
			200.2	Transport Allowance	32370	0.03000	971.1	32370	0.01500	485.55	Recommended for the period of 6 months
			200.4	Braille Stationary Material (Inc. Embossed Charts, globes etc)	1220	0.01500	18.3	1220	0.01500	18.3	Recommended as proposed
			200. 5	Providing Aids & Appliances	9406	0.02000	188.12	9406	0.02000	188.12	Recommended as proposed
				Total of Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)			1488.26			847.34	
		201		Stipend for Girls (Upto Highest Class - VIII)							

				Costi	ng Sheet						(Rs. in lakh)
	F	Particu	ılar			Proposal				Approval	,
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
				(Recurring)							
			201. 1	Stipend for Girls	77549	0.02000	1550.98	77549	0.02000	1550.98	Recommended as proposed
				Total of Stipend for Girls (Upto Highest Class - VIII) (Recurring)			1550.98			1550.98	F - F
		202		Student Oriented Components (Upto Highest Class - XII) (District Level) (Recurring)							
			202.1	Purchase/Development of instructional & Training materials	413	0.10000	41.3	413	0.10000	41.3	Recommended as proposed
			202. 2	Sports & Exposure Visit	120	0.10000	12	120	0.10000	12	Recommended as proposed
			202. 3	Therapeutic Services	32	5.25000	168	32	5.25000	168	Recommended as proposed
			202. 5	In-service Training of Special Educators	205	0.01000	2.05	205	0.01000	2.05	Recommended as proposed
				Total of Student Oriented Components (Upto Highest Class - XII) (District Level) (Recurring)			223.35			223.35	
		203		Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)							
			203. 2	Teacher Need Analysis for Training	205	0.01000	2.05	205	0.01000	2.05	Recommended as proposed
			203.4	Assistive Devices,Equipments and TLM	413	0.10000	41.3	413	0.10000	41.3	Recommended for 413 blocks
			203.6	Helper/Ayas/Attendant	413	0.03000	12.39	413	0.01500	6.195	Recommended for the period of 6 months
				Total of Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)			55.74			49.54	

				Costi	ng Sheet						(Rs. in lakh)
	F	articu	lar			Proposal				Approval	
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		204		Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)	0			0			
			204.1	Escort Allowance	1010	0.02000	20.2	1010	0.01000	10.1	Recommended for the period of 6 months
			204 .2	Transport Allowance	7935	0.02000	158.7	7935	0.01000	79.35	Recommended for the period of 6 months
			204.4	Braille Stationary Material (Inc. Embossed Charts, globes etc)	4923	0.01000	49.23	4923	0.01000	49.23	Recommended as proposed
			204. 5	Providing Aids & Appliances	3270	0.01000	32.7	3270	0.01000	32.7	Recommended as proposed
			204. 6	Reader Allowance- For only VI and Low vision	907	0.01000	9.07	907	0.01000	9.07	Recommended as proposed
				Total of Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)			269.9			180.45	
		205		Stipend for Girls (Upto Highest Class - XII) (Recurring)							
			205 .1	Stipend for Girls	13407	0.02000	268.14	13407	0.02000	268.14	Recommended as proposed
				Total of Stipend for Girls (Upto Highest Class - XII) (Recurring)			268.14			268.14	
		206		Resource Support towards Salary (Upto Highest Class VIII) (Recurring)							
			206. 1	Financial Support (Previous Spl. Educators)	1392	2.40000	3340.8	1392	2.40000	3340.8	Recommended for 1392 existing special educators @ Rs.2.4 Lakh PA
				Total of Resource Support towards Salary (Upto Highest Class VIII) (Recurring)			3340.8			3340.8	

				Costi	ng Sheet						(Rs. in lakh)
	Particular					Proposal		Approval			
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks
		208		Strengthening Components under Inclusive Education (Upto Highest Class - XII) (NR)							
			208.1	Equipments for Resource Rooms	413	2.00000	826	413	2.00000	826	Recommended as proposed but the state is advised to share the procurement details and stus report
				Total of Strengthening Components under Inclusive Education (Upto Highest Class - XII) (NR)			826			826	
		209		Resource Support towards Salary (Upto Highest Class XII) (Recurring)							
			209. 1	Financial Support (Previous Spl. Educators)	205	3.00000	615	205	3.00000	615	Recommended as proposed
				Total of Resource Support towards Salary (Upto Highest Class XII) (Recurring)			615			615	
				ion for Children with			10159.18			9312.14	
	Total for Inclusiv		al Needs ((CWSN)			10159.18			9312.14	
Vocational Education	Introduction of Vocational	210		Introduction of VE in schools - NR			10107.10			7012111	
Zuication	Education at Secondary and higher Secondary		210.1	Tools, Equipment & Furniture (New)	120	5.00000	600	42	5.00000	210	May be considered for procurement of VE tools and equipment in - 42 Government Girls Higher Secondary schools
				Total of Introduction of VE in schools - NR			600			210	
		211		Recurring Support VE - New							

				Costi	ng Sheet						(Rs. in lakh)	
Particular					Proposal			Approval				
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
	•		211.1	Financial Support for Vocational Teacher/ Trainer (New)	240	2.40000	576	84	0.60000	50.4	Notional Support for 84 trainers to be recruited	
			211 .2	Financial Support for Resource Persons (New)	120	0.62500	75	42	0.10000	4.2	Recommended for 42 schools	
			211. 3	Raw material Grant for new school per course (New)	120	1.12500	135	42	0.25000	10.5	Recommended for 42 schools	
			211.4	Cost of providing Hands on Skill Training to Students (New)	120	0.60000	72	42	0.05000	2.1	Recommended for 42 schools	
			211.6	Office Expenses / Contingencies for New School (New)	120	0.50000	60	42	0.10000	4.2	Recommended for 42 schools	
			211.7	Induction training of Teachers VE - Teachers (10 Days)	240	0.10000	24	84	0.01000	0.84	For Induction training preferably in online mode	
				Total of Recurring Support VE - New			942			72.24		
		213		Recurring Support VE - Existing								
			213.1	Financial Support for Vocational Teacher/ Trainer (Existing)	367	2.40000	880.8	367	2.40000	880.8	Recommended support for 367 in position trainers.	
			213 .2	Financial Support for Resource Persons (Existing)	184	1.88511	346.86	184	0.09900	18.216	Recommended for 184 schools as per last year expenditure.	
			213. 3	Raw material grant for new school per course (Existing)	184	3.39320	624.348	184	0.74300	136.712	Recommended for 184 schools as per last year expenditure.	
			213.4	Cost of providing Hands Training Students (Existing)	184	1.80988	333.018	184	0.10000	18.4	Recommended limited funds for 184 schools. Last year expenditure is nil under this activity.	
			213. 5	Assessment and Certification Cost (Existing)	20040	0.00600	120.24	19971	0.00600	119.826	Recommended for students of class 10th and 12th.	
			213.6	Office Expenses / Contingencies for School (Existing)	184	1.50807	277.484	184	0.15810	29.0904	Recommended for 184 schools as per last year expenditure.	

				Costi	ng Sheet						(Rs. in lakh)	
	Particular						Proposal			Approval		
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	Remarks	
•	•		213.8	In-service Training of VE - Teachers (5 - Days) - (Existing)	367	0.05000	18.35	367	0.00500	1.835	For In-service training of in-position trainers preferably in online mode.	
				Total of Recurring Support VE - Existing			2601.1			1204.88		
		Educ		uction of Vocational econdary and higher			4143.1			1487.12		
	Total for Vocation						4143.10			1487.12		
Monitoring of the Scheme	Monitoring Information			Monitoring of the Scheme								
	System (MIS)		215.1	Management Information System (SDMIS & ShalaKosh)	12057823	0.00003	361.736	12057823	0.00003	361.73469	Recommended Rs. 3 per student for child tracking as state has an established child tracking system.	
			215 .2	Management Information System (Udise +)	12057823	0.00002	241.156	12057823	0.00002	241.15646	Recommended Rs. 2 per student as per UDISE.	
				Total of Monitoring of the Scheme			602.89			602.89		
		Total of Monitoring Informat (MIS)		oring Information System			602.89			602.89		
	Total for Monito	ring of t	the Schem	e			602.89			602.89		
Program Management	Program Management				Program Management (MMER - E.E / S.E. / T.E.)							
			217 .1	Program Management (MMMER - E.E / S.E. / T.E.)	1	8766.20600	19569.911	1	8766.20600	8766.206	3% of total outlay	
				Total of Program Management (MMER - E.E / S.E. / T.E.)			19569.91			8766.21		
		Tota	Total of Program Management				19569.91			8766.21		
	Total for Program	gement				19569.91			8766.21			
Total							263170.72			300971.48		
Generated as o	n Monday, June 28,	2021										

			Final Approval						
Schem	e Name		N	ON Recurring	Recurring	Total			
Elementary Edu	ucation			13511.08	217297.38	230808.46			
Secondary Edu	cation			5991.06	57933.05	63924.11			
Teacher Educat	tion			0	6238.91	6238.91			
To	otal			19502.14	281469.34	300971.48			
P	roposal		Final Approval						
Non recurring	Recurring	Tot	tal	Non recurring	Recurring	Total			
0.00	92.39	92.38		0	59.35	59.35			
	0.00	0.0	00	0	0	0			
84.92	8492.60	8577	7.52	0	5862.29	5862.29			
	0.00			0	0	0			
0.00	670.46	670	.46	0	317.27	317.27			
84.92	9255.45	9255	5.45	0	6238.91	6238.91			

Final Approval	
Major Component	Total
Access & Retention	4959.64
RTE Entitlements	52160.17
Quality Interventions	91315.88
Teacher Education	6238.91
Financial Support for Teachers	117821.5
Gender & Equity	4854.67
Inclusive Education	9312.14
Vocational Education	1487.12
Sports & Physical Education	3452.35
Monitoring of the Scheme	602.89
Program Management	8766.21
Total	300971.48